Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Active Classroom Bundle 1 Year includes all 4 Active Classroom programs w/ Unlimited Student Editions (all teachers in school 1yr)	10/20/2023	Social Studies School Service / Nystrom Education	DALLAS ISD	High School - Soc Studies	SOC_STUD_H	20,000	76	\$3,900.00	\$296,400.00
Advanced Quantitative Reasoning - Student Edition (E-book with Online Access for one school year)	10/12/2023	AQR Press, LLC	HOUSTON ISD	High School - Math	MATH_H	0	1,300	\$15.00	\$19,500.00
Advanced Quantitative Reasoning - Student Edition (Print with Online Access through SY 2025-26)	06/09/2023	AQR Press, LLC	FLORENCE ISD	High School - Math	MATH_H	0	25	\$99.00	\$2,475.00
Advanced Quantitative Reasoning - Teacher Edition (E-book with Online Access for one school year)	10/12/2023	AQR Press, LLC	HOUSTON ISD	High School - Math	MATH_H	1,300	25	\$25.00	\$625.00
Advanced Quantitative Reasoning - Teacher Edition (Print with Online Access through SY 2025-26)	06/09/2023	AQR Press, LLC	FLORENCE ISD	High School - Math	MATH_H	25	1	\$129.00	\$129.00
Algebraic Reasoning Student/Teacher Materials, Student Print Version (30 Students)	08/22/2023	Cosenza & Associates, LLC	BLANCO ISD	High School - Math	MATH_H	45	1	\$3,195.00	\$3,195.00
Algebraic Reasoning Student/Teacher Materials, Student e-Text (Through SY 2024-25)(30 Students)	05/22/2023	Cosenza & Associates, LLC	SANFORD-FRITCH ISD	High School - Math	MATH_H	30	1	\$1,340.00	\$1,340.00
Anatomy, Physiology, and Disease - Student Edition (Print) with Digital eText (Digital through SY 2024- 2025)	09/19/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WARREN ISD	High School - Other	HLTH_SCIENCE	0	24	\$110.97	\$2,663.28
Autentico 1 - Texas Student Edition (Print) with Digital Courseware (Digital through SY 2024-2025)	07/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	IRAAN-SHEFFIELD COLLEGIATE ISD	High School - LOTE	LOTE_EMH	0	35	\$69.97	\$2,448.95
Autentico 2 - Texas Student Edition (Print) with Digital Courseware (Digital through SY 2024-2025)	07/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	IRAAN-SHEFFIELD COLLEGIATE ISD	High School - LOTE	LOTE_EMH	0	30	\$69.97	\$2,099.10
Autentico 3 - Texas Student Edition (Print) with Digital Courseware (Digital through SY 2024-2025)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROBINSON ISD	High School - LOTE	LOTE_EMH	0	5	\$69.97	\$349.85

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
BIG IDEAS MATH 2015 TEXAS ALGEBRA 1 BLENDED 3 YEAR	08/25/2023	Big Ideas Learning, LLC	LAGO VISTA ISD	High School - Math	MATH_H	0	120	\$83.00	\$9,960.00
BIG IDEAS MATH 2015 TEXAS ALGEBRA 2 BLENDED 3 YEAR	08/25/2023	Big Ideas Learning, LLC	LAGO VISTA ISD	High School - Math	MATH_H	0	90	\$83.00	\$7,470.00
BIG IDEAS MATH 2015 TEXAS GEOMETRY BLENDED 3 YEAR	08/25/2023	Big Ideas Learning, LLC	LAGO VISTA ISD	High School - Math	MATH_H	0	110	\$83.00	\$9,130.00
BUSINESS AND PROFESSIONAL COMMUNICATION, TEXAS ESTUDENT EDITION (ONE-YEAR SUBSCRIPTION)	01/17/2024	McGraw-Hill School Division (Contract Vendor)	TEXAS SCH FOR THE BLIND & VISUALLY IMPAIRED	High School - Other	ARTS_AV_COMM	0	6	\$30.99	\$185.94
Basic Drama Projects (print) Theatre Arts Level I-IV	07/17/2023	Perfection Learning Corporation	TEXAS CITY ISD	High School - Fine Arts	FINE_ARTS_H	0	30	\$69.99	\$2,099.70
Benson Handwriting Grade 4 (2 year print consumable)	08/07/2023	Perfection Learning Corporation	WEST SABINE ISD	4th Grade	HANDWRITING	0	55	\$20.80	\$1,144.00
Benson Handwriting Grade 5 (2 year print consumable)	08/07/2023	Perfection Learning Corporation	WEST SABINE ISD	5th Grade	HANDWRITING	0	45	\$20.80	\$936.00
Benson Handwriting, Grade 1, slant manuscript (1 year print consumable)	09/08/2023	Perfection Learning Corporation	ARLINGTON CLASSICS ACADEMY	1st Grade	HANDWRITING	0	192	\$10.95	\$2,102.40
Benson Handwriting, Grade 1, slant manuscript (1 year print consumable)	07/06/2023	Perfection Learning Corporation	KENEDY COUNTY WIDE CSD	1st Grade	HANDWRITING	0	12	\$10.95	\$131.40
Benson Handwriting, Grade 1, slant manuscript (1 year print consumable)	07/06/2023	Perfection Learning Corporation	LITTLEFIELD ISD	1st Grade	HANDWRITING	0	90	\$10.95	\$985.50
Benson Handwriting, Grade 1, vertical manuscript (1 year print consumable)	06/08/2023	Perfection Learning Corporation	BOLING ISD	1st Grade	HANDWRITING	0	88	\$10.95	\$963.60
Benson Handwriting, Grade 2 Transition, slant manuscript/cursive (1 year print consumable)	09/08/2023	Perfection Learning Corporation	ARLINGTON CLASSICS ACADEMY	2nd Grade	HANDWRITING	0	192	\$10.95	\$2,102.40
Benson Handwriting, Grade 2 Transition, slant manuscript/cursive (1 year print consumable)	07/06/2023	Perfection Learning Corporation	KENEDY COUNTY WIDE CSD	2nd Grade	HANDWRITING	0	14	\$10.95	\$153.30
Benson Handwriting, Grade 2 Transition, slant manuscript/cursive (1 year print consumable)	09/19/2023	Perfection Learning Corporation	LITTLEFIELD ISD	2nd Grade	HANDWRITING	0	100	\$10.95	\$1,095.00
Benson Handwriting, Grade 3, slant manuscript/cursive (1	09/08/2023	Perfection Learning Corporation	ARLINGTON CLASSICS ACADEMY	3rd Grade	HANDWRITING	0	176	\$10.95	\$1,927.20

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
year print consumable)									
Benson Handwriting, Grade 3, slant manuscript/cursive (1 year print consumable)	06/08/2023	Perfection Learning Corporation	BOLING ISD	3rd Grade	HANDWRITING	0	88	\$10.95	\$963.60
Benson Handwriting, Grade 3, vertical manuscript/cursive (2 year print consumable)	08/07/2023	Perfection Learning Corporation	WEST SABINE ISD	3rd Grade	HANDWRITING	0	50	\$20.80	\$1,040.00
Benson Handwriting, Grade 4 (1 year print consumable)	09/08/2023	Perfection Learning Corporation	ARLINGTON CLASSICS ACADEMY	4th Grade	HANDWRITING	0	180	\$10.95	\$1,971.00
Benson Handwriting, Grade 4 (1 year print consumable)	06/08/2023	Perfection Learning Corporation	BOLING ISD	4th Grade	HANDWRITING	0	88	\$10.95	\$963.60
Benson Handwriting, Grade 4 (1 year print consumable)	10/09/2023	Perfection Learning Corporation	PRELUDE PREPARATORY CHARTER SCHOOL	4th Grade	HANDWRITING	0	22	\$10.95	\$240.90
Benson Handwriting, Grade 5 (1 year print consumable)	09/08/2023	Perfection Learning Corporation	ARLINGTON CLASSICS ACADEMY	5th Grade	HANDWRITING	0	180	\$10.95	\$1,971.00
Benson Handwriting, Grade K, slant manuscript (1 year print consumable)	09/08/2023	Perfection Learning Corporation	ARLINGTON CLASSICS ACADEMY	Kindergarten	HANDWRITING	0	176	\$10.95	\$1,927.20
Benson Handwriting, Grade K, slant manuscript (1 year print consumable)	07/06/2023	Perfection Learning Corporation	KENEDY COUNTY WIDE CSD	Kindergarten	HANDWRITING	0	14	\$10.95	\$153.30
Benson Handwriting, Grade K, slant manuscript (1 year print consumable)	07/06/2023	Perfection Learning Corporation	LITTLEFIELD ISD	Kindergarten	HANDWRITING	0	85	\$10.95	\$930.75
Big Ideas Math Algebra 1 Texas Teacher Resource Package 1 year	09/18/2023	Big Ideas Learning, LLC	BROCK ISD	High School - Math	MATH_H	60	2	\$220.00	\$440.00
Big Ideas Math Algebra 1 Texas Teacher Resource Package 3 YEAR	08/25/2023	Big Ideas Learning, LLC	LAGO VISTA ISD	High School - Math	MATH_H	120	2	\$340.00	\$680.00
Big Ideas Math Algebra 2 Texas Teacher Resource Package 3 Years	08/25/2023	Big Ideas Learning, LLC	LAGO VISTA ISD	High School - Math	MATH_H	90	2	\$340.00	\$680.00
Big Ideas Math Geometry Texas Teacher Resource Package 3 Year	08/25/2023	Big Ideas Learning, LLC	LAGO VISTA ISD	High School - Math	MATH_H	110	3	\$340.00	\$1,020.00
Biology Texas Extension (1 Year Digital License)	08/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EL PASO LEADERSHIP ACADEMY	High School - Science	SCIENCE_EMH	0	30	\$18.47	\$554.10
Biology Texas Extension (1 Year Print Hardcover + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	11/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MATAGORDA ISD	High School - Science	SCIENCE_EMH	0	10	\$95.47	\$954.70
CIRCLE Pre-K Curriculum	11/16/2023	Children's Learning Institute at The	PRIDDY ISD	Pre-	PRK_K_SYS	14	1	\$0.00	\$0.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
(Through SY 2028-29)		University of Texas Health Science Center at Houston		Kindergarten					
Chemistry Matter & Change Texas Student Edition Bundle (Print & 1 Yr Digital)	09/08/2023	McGraw-Hill School Division (Contract Vendor)	SAINT JO ISD	High School - Science	SCIENCE_EMH	0	3	\$80.97	\$242.91
Chemistry Texas Extension (1 Year Digital License)	08/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EL PASO LEADERSHIP ACADEMY	High School - Science	SCIENCE_EMH	0	30	\$17.97	\$539.10
Chemistry Texas Extension (1 Year Digital License)	10/05/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	JOAQUIN ISD	High School - Science	SCIENCE_EMH	0	70	\$17.97	\$1,257.90
Chemistry Texas Extension (1 Year Print Hardcover + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	11/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MATAGORDA ISD	High School - Science	SCIENCE_EMH	0	15	\$92.97	\$1,394.55
Communicating Through Graphic Design CTE Package Digital Class Set 30 student licenses through SY 2024- 2025	08/24/2023	Davis Publications	SPURGER ISD	High School - Other	ARTS_AV_COMM	30	1	\$499.95	\$499.95
CompuScholar: Windows Programming (One-Year Online Subscription, Campus Site License, Unlimited Students and Teachers)	10/20/2023	Compuscholar, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	High School - Other	INFO_TECH	0	2	\$2,000.00	\$4,000.00
DISCOVERING CAREERS - ONLINE LEARNING SUITE (1-YR SUBSCRIPTION)	12/20/2023	Goodheart-Willcox Company	ROCKSPRINGS ISD	7th Grade	CAREER_DEV_M	0	15	\$39.66	\$594.90
DISCOVERING CAREERS - ONLINE LEARNING SUITE (THROUGH SY 2024-2025)	10/06/2023	Goodheart-Willcox Company	GREENWOOD ISD	7th Grade	CAREER_DEV_M	0	100	\$79.35	\$7,935.00
DISCOVERING CAREERS - TEXT (THROUGH SY 2024- 2025)	07/25/2023	Goodheart-Willcox Company	SCHERTZ-CIBOLO-U CITY ISD	7th Grade	CAREER_DEV_M	0	35	\$69.00	\$2,415.00
Discovery Education Science Techbook - Earth and Space Science Digital (1YR)	07/06/2023	Discovery Education Inc	ATHENS ISD	High School - Science	SCIENCE_EMH	0	75	\$7.00	\$525.00
Discovery Education Science Techbook - Earth and Space Science Digital (1YR)	08/24/2023	Discovery Education Inc	GEORGE WEST ISD	High School - Science	SCIENCE_EMH	0	15	\$7.00	\$105.00
Dollars and Sense - Texas Digital eText (through SY 2024-2025)	10/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ECTOR COUNTY ISD	High School - Other	HUMAN_SERV	0	30	\$74.97	\$2,249.10
Drama Works! Complete System (1yr)	08/22/2023	Drama Education Network	CUSHING ISD	6th Grade	FINE_ARTS_EM	20	1	\$299.95	\$299.95

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Drama Works! Complete System Extended (thru SY 2026-2027)	07/20/2023	Drama Education Network	ABILENE ISD	High School - Fine Arts	FINE_ARTS_H	600	2	\$599.95	\$1,199.90
Drama Works! Complete System Extended (thru SY 2026-2027)	03/07/2024	Drama Education Network	ARLINGTON CLASSICS ACADEMY	6th Grade	FINE_ARTS_EM	150	1	\$599.95	\$599.95
Drama Works! Complete System Extended (thru SY 2026-2027)	06/30/2023	Drama Education Network	NEW CANEY ISD	7th Grade	FINE_ARTS_EM	60	2	\$599.95	\$1,199.90
Drama Works! Online (1yr)	07/10/2023	Drama Education Network	GARLAND ISD	6th Grade	FINE_ARTS_EM	1,500	14	\$99.95	\$1,399.30
Drama Works! Online Extended (thru SY 2026- 2027)	07/20/2023	Drama Education Network	ABILENE ISD	6th Grade	FINE_ARTS_EM	400	4	\$399.95	\$1,599.80
Drama Works! Online Extended (thru SY 2026- 2027)	07/21/2023	Drama Education Network	HOUSTON ISD	High School - Fine Arts	FINE_ARTS_H	54	54	\$399.95	\$21,597.30
Drama Works! Online Extended (thru SY 2026- 2027)	06/30/2023	Drama Education Network	NEW CANEY ISD	7th Grade	FINE_ARTS_EM	120	4	\$399.95	\$1,599.80
ENTREPRENEURSHIP BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	MARKETING	0	1	\$118.50	\$118.50
Electude Automotive Maintenance and Light Repair Edition (per-student, 1-year license)	07/27/2023	Electude USA, LLC	GARLAND ISD	High School - Other	TRANS_DIST_L	0	50	\$38.00	\$1,900.00
Electude Automotive Maintenance and Light Repair Edition (per-student, 1-year license)	07/27/2023	Electude USA, LLC	GARLAND ISD	High School - Other	TRANS_DIST_L	0	28	\$38.00	\$1,064.00
Electude Automotive Maintenance and Light Repair Edition (per-student, 1-year license)	11/20/2023	Electude USA, LLC	LEWISVILLE ISD	High School - Other	TRANS_DIST_L	0	75	\$38.00	\$2,850.00
Explorations in Art Grade 1 Digital Class Set- through SY 2026-2027 License-1 teacher license and 30 student accounts	06/30/2023	Davis Publications	KINGSVILLE ISD	1st Grade	FINE_ARTS_EM	150	3	\$877.95	\$2,633.85
Explorations in Art Grade 2 Digital Class Set- through SY 2026-2027 License-1 teacher license and 30 student accounts	06/30/2023	Davis Publications	KINGSVILLE ISD	2nd Grade	FINE_ARTS_EM	150	3	\$877.95	\$2,633.85

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Explorations in Art Grade 3 Digital Class Set- through SY	06/30/2023	Davis Publications	KINGSVILLE ISD	3rd Grade	FINE_ARTS_EM	200	3	\$877.95	\$2,633.85
2026-2027 License-1 teacher license and 30 student									
accounts									
Explorations in Art Grade 4 Digital Class Set- through SY	06/30/2023	Davis Publications	KINGSVILLE ISD	4th Grade	FINE_ARTS_EM	200	3	\$877.95	\$2,633.85
2026-2027 License-1 teacher license and 30 student									
accounts								*****	
Explorations in Art Grade 5 Digital Class Set- through SY 2026-2027 License	06/30/2023	Davis Publications	KINGSVILLE ISD	5th Grade	FINE_ARTS_EM	200	5	\$877.95	\$4,389.75
Explorations in Art Grade K	06/30/2023	Davis Publications	KINGSVILLE ISD	Kindergarten	FINE_ARTS_EM	100	3	\$458.95	\$1,376.85
Digital Class Set- through SY 2026-2027 License-1 teacher									
license and 30 student accounts									
Explorations in Art: A	08/29/2023	Davis Publications	ODEM-EDROY ISD	7th Grade	FINE_ARTS_EM	60	2	\$1,295.95	\$2,591.90
Personal Journey Digital Class Set- through SY 2026-									
2027 License-1 teacher license and 30 student									
accounts									
Explorations in Art: A Personal Journey Digital	08/07/2023	Davis Publications	ODEM-EDROY ISD	7th Grade	FINE_ARTS_EM	55	1	\$1,363.95	\$1,363.95
Class Set- through SY 2026-									
2027-1 teacher license and 55 student accounts									
ExploreLearning Science Gizmos - 1-Year Subscription	10/20/2023	ExploreLearning / LAZEL Inc	ECTOR COUNTY ISD	High School - Science	SCIENCE_EMH	65	1	\$499.00	\$499.00
ExploreLearning Science Gizmos - 1-Year Subscription	10/20/2023	ExploreLearning / LAZEL Inc	ECTOR COUNTY ISD	High School - Science	SCIENCE_EMH	70	1	\$499.00	\$499.00
ExploreLearning Science Gizmos - 1-Year Subscription	10/20/2023	ExploreLearning / LAZEL Inc	ECTOR COUNTY ISD	8th Grade	SCIENCE_EMH	75	1	\$499.00	\$499.00
ExploreLearning Science Gizmos - 1-Year Subscription	10/20/2023	ExploreLearning / LAZEL Inc	ECTOR COUNTY ISD	High School - Science	SCIENCE_EMH	60	1	\$499.00	\$499.00
FOUNDATIONS IN	06/12/2023	Ramsey Education (Dave	COLLEGE STATION ISD	High School -	FINANCE	1,000	4	\$2,000.00	\$8,000.00
PERSONAL FINANCE HIGH SCHOOL EDITION		Ramsey/Lampo)		Other					
ETEXT DIGITAL SITE									
LICENSE (1YR) (Serves up to 250 Students)									
FOUNDATIONS IN PERSONAL FINANCE	08/24/2023	Ramsey Education (Dave Ramsey/Lampo)	LOCKNEY ISD	High School - Other	FINANCE	28	1	\$399.98	\$399.98
HIGH SCHOOL EDITION		ramsey/Dampo)		Julio					
TEACHER MATERIAL	l	l						I	

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
(STUDENT MATERIAL SOLD SEPARATELY)									
FOUNDATIONS IN PERSONAL FINANCE: HIGH SCHOOL EDITION ETEXT DIGITAL STUDENT TEXT (1YR: TEACHER MATERIAL SOLD SEPARATELY)	08/24/2023	Ramsey Education (Dave Ramsey/Lampo)	LOCKNEY ISD	High School - Other	FINANCE	0	28	\$19.99	\$559.72
FOUNDATIONS OF FINANCIAL LITERACY BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	FINANCE	0	1	\$118.50	\$118.50
Food, Nutrition & Wellness, Texas Student Bundle (2Yrs Digital & Print)	08/30/2023	McGraw-Hill School Division (Contract Vendor)	PORT NECHES- GROVES ISD	High School - Other	HUMAN_SERV	0	5	\$52.68	\$263.40
Forensic Science - Student Edition (Print) with Digital eText (Digital through SY 2024-2025)	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLANCO ISD	High School - Other	LAW_PS_CORR	0	30	\$110.97	\$3,329.10
Forensic Science - Student Edition (Print) with Digital eText (Digital through SY 2024-2025)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HAWLEY ISD	High School - Other	LAW_PS_CORR	0	20	\$110.97	\$2,219.40
Forensic Science - Student Edition (Print) with Digital eText (Digital through SY 2024-2025)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WHEELER ISD	High School - Other	LAW_PS_CORR	0	8	\$110.97	\$887.76
Foundations in Personal Finance High School Edition 1 YR Fully Digital Campus License	07/17/2023	Ramsey Education (Dave Ramsey/Lampo)	VICTORIA ISD	High School - Soc Studies	SOC_STUD_H	600	2	\$2,000.00	\$4,000.00
Foundations in Personal Finance High School Edition Student Print Consumable with Digital (Through SY 2026-27)	09/22/2023	Ramsey Education (Dave Ramsey/Lampo)	KENEDY ISD	High School - Soc Studies	SOC_STUD_H	0	50	\$78.46	\$3,923.00
Foundations in Personal Finance: Print High School Edition 1 YR Print Consumable/ 1YR Digital	08/23/2023	Ramsey Education (Dave Ramsey/Lampo)	JONESBORO ISD	High School - Soc Studies	SOC_STUD_H	0	25	\$39.99	\$999.75
Foundations in Personal Finance: Print High School Edition 1 YR Print Consumable/ 1 YR Digital	08/24/2023	Ramsey Education (Dave Ramsey/Lampo)	RAPOPORT ACADEMY PUBLIC SCHOOL	High School - Soc Studies	SOC_STUD_H	0	25	\$39.99	\$999.75

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Frog Street Pre-K Dual Language (Through SY 2028- 29 for up to 22 students)	09/29/2023	Frog Street Press, LLC	ECTOR COUNTY ISD	Pre- Kindergarten	PRK_K_SYS	308	1	\$6,512.99	\$6,512.99
Frog Street Pre-K Dual Language (Through SY 2028- 29 for up to 22 students)	07/28/2023	Frog Street Press, LLC	GARLAND ISD	Pre- Kindergarten	PRK_K_SYS	308	2	\$6,512.99	\$13,025.98
Frog Street Pre-K Dual Language (Through SY 2028- 29 for up to 22 students)	10/06/2023	Frog Street Press, LLC	PECOS-BARSTOW- TOYAH ISD	Pre- Kindergarten	PRK_K_SYS	308	1	\$6,512.99	\$6,512.99
Frog Street Pre-K Dual Language (Through SY 2028- 29 for up to 22 students)	06/16/2023	Frog Street Press, LLC	ROMA ISD	Pre- Kindergarten	PRK_K_SYS	308	3	\$6,512.99	\$19,538.97
Frog Street Pre-K Dual Language (Through SY 2028- 29 for up to 22 students)	01/25/2024	Frog Street Press, LLC	ROUND ROCK ISD	Pre- Kindergarten	PRK_K_SYS	308	1	\$6,512.99	\$6,512.99
Frog Street Pre-K English (1 Year for up to 22 students)	08/29/2023	Frog Street Press, LLC	ODEM-EDROY ISD	Pre- Kindergarten	PRK_K_SYS	22	1	\$3,499.99	\$3,499.99
Frog Street Pre-K English (4 Years for up to 22 students)	10/09/2023	Frog Street Press, LLC	JONESBORO ISD	Pre- Kindergarten	PRK_K_SYS	22	1	\$4,828.99	\$4,828.99
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	09/29/2023	Frog Street Press, LLC	ECTOR COUNTY ISD	Pre- Kindergarten	PRK_K_SYS	487	1	\$5,512.99	\$5,512.99
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	07/28/2023	Frog Street Press, LLC	GARLAND ISD	Pre- Kindergarten	PRK_K_SYS	487	2	\$5,512.99	\$11,025.98
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	06/30/2023	Frog Street Press, LLC	HURST-EULESS- BEDFORD ISD	Pre- Kindergarten	PRK_K_SYS	487	4	\$5,512.99	\$22,051.96
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	08/24/2023	Frog Street Press, LLC	HURST-EULESS- BEDFORD ISD	Pre- Kindergarten	PRK_K_SYS	487	2	\$5,512.99	\$11,025.98
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	09/19/2023	Frog Street Press, LLC	LOCKHART ISD	Pre- Kindergarten	PRK_K_SYS	487	1	\$5,512.99	\$5,512.99
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	08/10/2023	Frog Street Press, LLC	MESQUITE ISD	Pre- Kindergarten	PRK_K_SYS	487	2	\$5,512.99	\$11,025.98
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	08/24/2023	Frog Street Press, LLC	MESQUITE ISD	Pre- Kindergarten	PRK_K_SYS	487	1	\$5,512.99	\$5,512.99
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	09/19/2023	Frog Street Press, LLC	MESQUITE ISD	Pre- Kindergarten	PRK_K_SYS	487	2	\$5,512.99	\$11,025.98
Frog Street Pre-K English (Through SY 2028-29 for up to 22 students)	09/19/2023	Frog Street Press, LLC	PEARLAND ISD	Pre- Kindergarten	PRK_K_SYS	487	1	\$5,512.99	\$5,512.99

Title	Transaction Date	Publisher		District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Frog Street Pre-K Spanish (Through SY 2028-29 for up to 22 students)	09/19/2023	Frog Street Press, LLC		LOCKHART ISD	Pre- Kindergarten	PRK_K_SYS	44	1	\$5,512.99	\$5,512.99
Frog Street Pre-K Spanish (Through SY 2028-29 for up to 22 students)	08/10/2023	Frog Street Press, LLC		ROUND ROCK ISD	Pre- Kindergarten	PRK_K_SYS	44	1	\$5,512.99	\$5,512.99
GUIDE TO GOOD FOOD BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	10/10/2023	Goodheart-Willcox Compar	ny	RISING STAR ISD	High School - Other	HUMAN_SERV	0	15	\$108.00	\$1,620.00
HMH Algebra 1 Texas Digital/Mobile Student Resource Package 3-Year Digital	07/26/2023	Houghton Mifflin F Depository	Harcourt	ECTOR COUNTY ISD	High School - Math	MATH_H	0	75	\$35.75	\$2,681.25
HMH Algebra 1 Texas Hybrid Consumable Student Resource Package 1-Year Print Consumable/1-Year Digital	05/31/2023	Houghton Mifflin F Depository	Harcourt	LEXINGTON ISD	High School - Math	MATH_H	0	25	\$39.70	\$992.50
HMH Algebra 1 Texas Hybrid Consumable Student Resource Package 1-Year Print Consumable/1-Year Digital	10/12/2023	Houghton Mifflin F Depository	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	High School - Math	MATH_H	0	75	\$39.70	\$2,977.50
HMH Algebra 1 Texas Hybrid Consumable Student Resource Package 1-Year Print Consumable/1-Year Digital	09/26/2023	Houghton Mifflin F Depository	Harcourt	RIVERCREST ISD	High School - Math	MATH_H	0	30	\$39.70	\$1,191.00
HMH Algebra 2 Texas Digital/Mobile Student Resource Package 1-Year Digital	12/01/2023	Houghton Mifflin F Depository	Harcourt	CRYSTAL CITY ISD	High School - Math	MATH_H	0	120	\$20.80	\$2,496.00
HMH Algebra 2 Texas Hybrid Consumable Student Resource Package 1-Year Print Consumable/1-Year Digital	10/12/2023	Houghton Mifflin F Depository	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	High School - Math	MATH_H	0	50	\$41.20	\$2,060.00
HMH Algebra 2 Texas Hybrid Hardcover Student Resource Package Print with 1-Year Digital	09/08/2023	Houghton Mifflin F Depository	Harcourt	CLARKSVILLE ISD	High School - Math	MATH_H	0	75	\$105.70	\$7,927.50
HMH Contemporary World Studies Texas Digital/Mobile Student Resource Package 1- Year	11/16/2023	Houghton Mifflin F Depository	Harcourt	LEXINGTON ISD	6th Grade	SOC_STUD_EM	0	80	\$17.70	\$1,416.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH Contemporary World Studies Texas Digital/Mobile Student Resource Package 1- Year	08/24/2023	Houghton Depository	Mifflin	Harcourt	ODEM-EDROY ISD	6th Grade	SOC_STUD_EM	0	65	\$17.70	\$1,150.50
HMH Contemporary World Studies Texas Digital/Mobile Student Resource Package 1- Year	08/25/2023	Houghton Depository	Mifflin	Harcourt	WOODSBORO ISD	6th Grade	SOC_STUD_EM	0	43	\$17.70	\$761.10
HMH Contemporary World Studies Texas Digital/Mobile Student Resource Package 2- Year	09/05/2023	Houghton Depository	Mifflin	Harcourt	SUNNYVALE ISD	6th Grade	SOC_STUD_EM	0	185	\$24.50	\$4,532.50
HMH Contemporary World Studies Texas Hybrid Student Resource Package Print/1- Year Digital	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	6th Grade	SOC_STUD_EM	0	50	\$64.00	\$3,200.00
HMH Contemporary World Studies Texas Hybrid Student Resource Package with Guided Reading Workbook 1- Year Print/1-Year Digital	07/06/2023	Houghton Depository	Mifflin	Harcourt	IRAAN-SHEFFIELD COLLEGIATE ISD	6th Grade	SOC_STUD_EM	0	35	\$67.40	\$2,359.00
HMH Geometry Texas Hybrid Consumable Student Resource Package 1-Year Print Consumable/1-Year Digital	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	High School - Math	MATH_H	0	20	\$40.45	\$809.00
HMH Go Math Texas Digital Classroom Package 1-Year Grade 6 (75 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	HAWLEY ISD	6th Grade	MATH_EM	75	1	\$750.00	\$750.00
HMH Go Math Texas Digital Classroom Package 1-Year Grade 7 (75 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	HAWLEY ISD	7th Grade	MATH_EM	75	1	\$750.00	\$750.00
HMH Go Math Texas Digital Classroom Package 1-Year Grade 8 (75 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	HAWLEY ISD	8th Grade	MATH_EM	75	1	\$750.00	\$750.00
HMH Go Math Texas Digital Classroom Package 3-Year Grade 6 (75 Students)	07/26/2023	Houghton Depository	Mifflin	Harcourt	ECTOR COUNTY ISD	6th Grade	MATH_EM	75	1	\$1,950.00	\$1,950.00
HMH Go Math Texas Digital Classroom Package 3-Year Grade 7 (75 Students)	07/26/2023	Houghton Depository	Mifflin	Harcourt	ECTOR COUNTY ISD	7th Grade	MATH_EM	55	1	\$1,950.00	\$1,950.00
HMH Go Math Texas Digital Classroom Package 3-Year Grade 8 (75 Students)	07/26/2023	Houghton Depository	Mifflin	Harcourt	ECTOR COUNTY ISD	8th Grade	MATH_EM	75	1	\$1,950.00	\$1,950.00
HMH Go Math Texas Print Classroom Package 1-Year Print/1-Year Digital Grade 6	08/22/2023	Houghton Depository	Mifflin	Harcourt	BLANCO ISD	6th Grade	MATH_EM	150	1	\$1,706.00	\$1,706.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
(75 Students)											
HMH Go Math Texas Print Classroom Package 1-Year Print/1-Year Digital Grade 6 (75 Students)	09/08/2023	Houghton Depository	Mifflin	Harcourt	CLARKSVILLE ISD	6th Grade	MATH_EM	150	1	\$1,706.00	\$1,706.00
HMH Go Math Texas Print Classroom Package 1-Year Print/1-Year Digital Grade 7 (75 Students)	09/08/2023	Houghton Depository	Mifflin	Harcourt	CLARKSVILLE ISD	7th Grade	MATH_EM	75	1	\$1,706.00	\$1,706.00
HMH Go Math Texas Print Classroom Package 1-Year Print/1-Year Digital Grade 8 (75 Students)	09/08/2023	Houghton Depository	Mifflin	Harcourt	CLARKSVILLE ISD	8th Grade	MATH_EM	75	1	\$1,706.00	\$1,706.00
HMH Go Math Texas Student Resource Package 1-Year Print/1-Year Digital Grade 6	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	6th Grade	MATH_EM	0	24	\$22.00	\$528.00
HMH Go Math Texas Student Resource Package 1-Year Print/1-Year Digital Grade 6	07/06/2023	Houghton Depository	Mifflin	Harcourt	COMFORT ISD	6th Grade	MATH_EM	0	92	\$22.00	\$2,024.00
HMH Go Math Texas Student Resource Package 1-Year Print/1-Year Digital Grade 6	05/31/2023	Houghton Depository	Mifflin	Harcourt	LEXINGTON ISD	6th Grade	MATH_EM	0	85	\$22.00	\$1,870.00
HMH Go Math Texas Student Resource Package 1-Year Print/1-Year Digital Grade 7	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	7th Grade	MATH_EM	0	30	\$22.00	\$660.00
HMH Go Math Texas Student Resource Package 1-Year Print/1-Year Digital Grade 7	07/06/2023	Houghton Depository	Mifflin	Harcourt	COMFORT ISD	7th Grade	MATH_EM	0	83	\$22.00	\$1,826.00
HMH Go Math Texas Student Resource Package 1-Year Print/1-Year Digital Grade 8	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	8th Grade	MATH_EM	0	30	\$22.00	\$660.00
HMH Go Math Texas Student Resource Package 1-Year Print/1-Year Digital Grade 8	07/06/2023	Houghton Depository	Mifflin	Harcourt	COMFORT ISD	8th Grade	MATH_EM	0	65	\$22.00	\$1,430.00
HMH Go Math Texas Student Resource Package 3-Year Print/3-Year Digital Grade 6	08/29/2023	Houghton Depository	Mifflin	Harcourt	ATHENS ISD	6th Grade	MATH_EM	0	230	\$44.00	\$10,120.00
HMH Go Math Texas Student Resource Package 3-Year Print/3-Year Digital Grade 7	08/29/2023	Houghton Depository	Mifflin	Harcourt	ATHENS ISD	7th Grade	MATH_EM	0	225	\$44.00	\$9,900.00
HMH Go Math Texas Student Resource Package 3-Year Print/3-Year Digital Grade 8	08/29/2023	Houghton Depository	Mifflin	Harcourt	ATHENS ISD	8th Grade	MATH_EM	0	250	\$44.00	\$11,000.00
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade 1	09/18/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	1st Grade	MATH_EM	112	1	\$516.00	\$516.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
(22 Students)											
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade 1 (22 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD	1st Grade	MATH_EM	112	1	\$516.00	\$516.00
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade 1 (22 Students)	05/31/2023	Houghton Depository	Mifflin	Harcourt	LEXINGTON ISD	1st Grade	MATH_EM	112	4	\$516.00	\$2,064.00
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade 2 (22 Students)	09/18/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	2nd Grade	MATH_EM	30	2	\$516.00	\$1,032.00
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade 3 (22 Students)	09/18/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	3rd Grade	MATH_EM	27	2	\$516.00	\$1,032.00
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade 4 (25 Students)	09/18/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	4th Grade	MATH_EM	36	2	\$576.00	\$1,152.00
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade 5 (25 Students)	09/18/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	5th Grade	MATH_EM	28	1	\$576.00	\$576.00
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade K (18 Students)	09/18/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	Kindergarten	MATH_EM	36	1	\$531.00	\$531.00
HMH Go Math! Texas Basic Classroom Package 1-Year Print/1-Year Digital Grade K (18 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD	Kindergarten	MATH_EM	36	1	\$531.00	\$531.00
HMH Go Math! Texas Basic Classroom Package 2-Year Print/2-Year Digital Grade 1 (22 Students)	09/26/2023	Houghton Depository	Mifflin	Harcourt	ALVARADO ISD	1st Grade	MATH_EM	44	2	\$867.00	\$1,734.00
HMH Go Math! Texas Basic Classroom Package 2-Year Print/2-Year Digital Grade 2 (22 Students)	09/26/2023	Houghton Depository	Mifflin	Harcourt	ALVARADO ISD	2nd Grade	MATH_EM	66	3	\$867.00	\$2,601.00
HMH Go Math! Texas Basic Student Resource Package 1- Year Print/1-Year Digital Grade 1	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	1st Grade	MATH_EM	0	24	\$20.00	\$480.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH Go Math! Texas Basic Student Resource Package 1- Year Print/1-Year Digital Grade 1	06/02/2023	Houghton Depository	Mifflin	Harcourt	CARTHAGE ISD	1st Grade	MATH_EM	0	220	\$20.00	\$4,400.00
HMH Go Math! Texas Basic Student Resource Package 1- Year Print/1-Year Digital Grade 2	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	2nd Grade	MATH_EM	0	24	\$20.00	\$480.00
HMH Go Math! Texas Basic Student Resource Package 1- Year Print/1-Year Digital Grade 3	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	3rd Grade	MATH_EM	0	24	\$20.00	\$480.00
HMH Go Math! Texas Basic Student Resource Package 1- Year Print/1-Year Digital Grade 4	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	4th Grade	MATH_EM	0	25	\$20.00	\$500.00
HMH Go Math! Texas Basic Student Resource Package 1- Year Print/1-Year Digital Grade 5	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	5th Grade	MATH_EM	0	25	\$20.00	\$500.00
HMH Go Math! Texas Basic Student Resource Package 1- Year Print/1-Year Digital Grade K	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	Kindergarten	MATH_EM	0	24	\$20.00	\$480.00
HMH Go Math! Texas Basic Student Resource Package 1- Year Print/1-Year Digital Grade K	06/02/2023	Houghton Depository	Mifflin	Harcourt	CARTHAGE ISD	Kindergarten	MATH_EM	0	220	\$20.00	\$4,400.00
HMH Go Math! Texas Basic Student Resource Package 3- Year Print/3-Year Digital Grade 1	07/17/2023	Houghton Depository	Mifflin	Harcourt	COLUMBUS ISD	1st Grade	MATH_EM	0	115	\$40.00	\$4,600.00
HMH Go Math! Texas Basic Student Resource Package 3- Year Print/3-Year Digital Grade 2	07/17/2023	Houghton Depository	Mifflin	Harcourt	COLUMBUS ISD	2nd Grade	MATH_EM	0	120	\$40.00	\$4,800.00
HMH Go Math! Texas Basic Student Resource Package 3- Year Print/3-Year Digital Grade 3	07/17/2023	Houghton Depository	Mifflin	Harcourt	COLUMBUS ISD	3rd Grade	MATH_EM	0	140	\$40.00	\$5,600.00
HMH Go Math! Texas Basic Student Resource Package 3- Year Print/3-Year Digital Grade 4	07/17/2023	Houghton Depository	Mifflin	Harcourt	COLUMBUS ISD	4th Grade	MATH_EM	0	115	\$40.00	\$4,600.00
HMH Go Math! Texas Basic Student Resource Package 3- Year Print/3-Year Digital	07/17/2023	Houghton Depository	Mifflin	Harcourt	COLUMBUS ISD	5th Grade	MATH_EM	0	115	\$40.00	\$4,600.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Grade 5											
HMH Go Math! Texas Basic Student Resource Package 3- Year Print/3-Year Digital Grade K	07/17/2023	Houghton Depository	Mifflin	Harcourt	COLUMBUS ISD	Kindergarten	MATH_EM	0	115	\$40.00	\$4,600.00
HMH Go Math! Texas Comprehensive Classroom Package 1-Year Print/1-Year Digital Grade 1 (22 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	1st Grade	MATH_EM	35	2	\$827.00	\$1,654.00
HMH Go Math! Texas Comprehensive Classroom Package 1-Year Print/1-Year Digital Grade 2 (22 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	2nd Grade	MATH_EM	40	2	\$827.00	\$1,654.00
HMH Go Math! Texas Comprehensive Classroom Package 1-Year Print/1-Year Digital Grade 3 (22 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	3rd Grade	MATH_EM	35	2	\$827.00	\$1,654.00
HMH Go Math! Texas Comprehensive Classroom Package 1-Year Print/1-Year Digital Grade 4 (25 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	4th Grade	MATH_EM	45	2	\$919.00	\$1,838.00
HMH Go Math! Texas Comprehensive Classroom Package 1-Year Print/1-Year Digital Grade 5 (25 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	5th Grade	MATH_EM	35	2	\$919.00	\$1,838.00
HMH Go Math! Texas Comprehensive Classroom Package 1-Year Print/1-Year Digital Grade K (18 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	Kindergarten	MATH_EM	25	2	\$707.00	\$1,414.00
HMH Go Math! Texas Digital Classroom Package 1- Year Grade 1 (22 Students)	09/26/2023	Houghton Depository	Mifflin	Harcourt	RIVERCREST ISD	1st Grade	MATH_EM	60	3	\$220.00	\$660.00
HMH Go Math! Texas Digital Classroom Package 1- Year Grade 2 (22 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD	2nd Grade	MATH_EM	20	1	\$220.00	\$220.00
HMH Go Math! Texas Digital Classroom Package 1- Year Grade 3 (22 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD	3rd Grade	MATH_EM	20	1	\$220.00	\$220.00
HMH Go Math! Texas Digital Classroom Package 1- Year Grade 4 (25 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD	4th Grade	MATH_EM	40	1	\$220.00	\$220.00
HMH Go Math! Texas Digital Classroom Package 1- Year Grade 4 (25 Students)	08/23/2023	Houghton Depository	Mifflin	Harcourt	MEYERSVILLE ISD	4th Grade	MATH_EM	40	1	\$220.00	\$220.00
HMH Go Math! Texas Digital Classroom Package 1-	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD	5th Grade	MATH_EM	40	1	\$220.00	\$220.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Year Grade 5 (25 Students)											
HMH Go Math! Texas Digital Classroom Package 1- Year Grade 5 (25 Students)	08/23/2023	Houghton Depository	Mifflin	Harcourt	MEYERSVILLE ISD	5th Grade	MATH_EM	40	1	\$220.00	\$220.00
HMH Go Math! Texas Digital Classroom Package 1- Year Grade K (18 Students)	09/26/2023	Houghton Depository	Mifflin	Harcourt	RIVERCREST ISD	Kindergarten	MATH_EM	60	3	\$180.00	\$540.00
HMH Go Math! Texas Print Classroom Package 1-Year Print/1-Year Digital Grade 2 (22 Students)	09/18/2023	Houghton Depository	Mifflin	Harcourt	FT DAVIS ISD	2nd Grade	MATH_EM	16	1	\$589.00	\$589.00
HMH Go Math! Texas Print Classroom Package 2-Year Print/2-Year Digital Grade 1 (22 Students)	12/01/2023	Houghton Depository	Mifflin	Harcourt	NAVARRO ISD	1st Grade	MATH_EM	44	2	\$690.50	\$1,381.00
HMH Go Math! Texas Print Classroom Package 2-Year Print/2-Year Digital Grade 2 (22 Students)	12/01/2023	Houghton Depository	Mifflin	Harcourt	NAVARRO ISD	2nd Grade	MATH_EM	44	2	\$690.50	\$1,381.00
HMH Go Math! Texas Print Classroom Package 2-Year Print/2-Year Digital Grade 3 (22 Students)	12/01/2023	Houghton Depository	Mifflin	Harcourt	NAVARRO ISD	3rd Grade	MATH_EM	22	1	\$690.50	\$690.50
HMH Go Math! Texas Print Classroom Package 2-Year Print/2-Year Digital Grade 4 (25 Students)	12/01/2023	Houghton Depository	Mifflin	Harcourt	NAVARRO ISD	4th Grade	MATH_EM	25	1	\$756.50	\$756.50
HMH Go Math! Texas Print Classroom Package 2-Year Print/2-Year Digital Grade 5 (25 Students)	12/01/2023	Houghton Depository	Mifflin	Harcourt	NAVARRO ISD	5th Grade	MATH_EM	25	1	\$756.50	\$756.50
HMH Go Math! Texas Print Classroom Package 2-Year Print/2-Year Digital Grade K (18 Students)	12/01/2023	Houghton Depository	Mifflin	Harcourt	NAVARRO ISD	Kindergarten	MATH_EM	44	2	\$701.00	\$1,402.00
HMH Go Math! Texas Print Classroom Package 3-Year Print/3-Year Digital Grade 1 (22 Students)	09/08/2023	Houghton Depository	Mifflin	Harcourt	GARNER ISD	1st Grade	MATH_EM	35	1	\$1,023.00	\$1,023.00
HMH Go Math! Texas Spanish Basic Classroom Package 1-Year Print/1-Year Digital Grade 4 (15 Students)	09/18/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	4th Grade	MATH_EM	2	1	\$556.00	\$556.00
HMH Go Math! Texas Spanish Basic Student Resource Package 1-Year	01/26/2024	Houghton Depository	Mifflin	Harcourt	DIVIDE ISD	1st Grade	MATH_EM	0	1	\$21.00	\$21.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Print/1-Year Digital Grade 1	Date							Serveu			Amount
HMH Go Math! Texas Spanish Basic Student Resource Package 1-Year Print/1-Year Digital Grade 3	10/12/2023	Houghton Depository	Mifflin	Harcourt	INGRAM ISD	3rd Grade	MATH_EM	0	1	\$21.00	\$21.00
HMH Into Literature Texas Comprehensive Student Resource Package with Hardcover Student Edition Plus with 5-Year Digital	10/20/2023	Houghton Depository	Mifflin	Harcourt	SER-NINOS CHARTER SCHOOL	High School - ELA	ENGLISH_H	0	60	\$128.50	\$7,710.00
Subscription Grade 10 HMH Into Literature Texas Comprehensive Student Resource Package with Hardcover Student Edition Plus with 5-Year Digital Subscription Grade 11	09/08/2023	Houghton Depository	Mifflin	Harcourt	GARNER ISD	High School - ELA	ENGLISH_H	0	20	\$128.50	\$2,570.00
HMH Into Literature Texas Comprehensive Student Resource Package with Hardcover Student Edition Plus with 5-Year Digital Subscription Grade 11	08/22/2023	Houghton Depository	Mifflin	Harcourt	MOUNT CALM ISD	High School - ELA	ENGLISH_H	0	10	\$128.50	\$1,285.00
HMH Into Literature Texas Comprehensive Student Resource Package with Hardcover Student Edition Plus with 5-Year Digital Subscription Grade 12	08/22/2023	Houghton Depository	Mifflin	Harcourt	MOUNT CALM ISD	High School - ELA	ENGLISH_H	0	6	\$128.50	\$771.00
HMH Into Literature Texas Comprehensive Student Resource Package with Write In Student Edition Plus 1- Year Print Consumable/1- Year Digital Subscription Grade 10	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	High School - ELA	ENGLISH_H	0	40	\$45.20	\$1,808.00
HMH Into Literature Texas Comprehensive Student Resource Package with Write In Student Edition Plus 1- Year Print Consumable/1- Year Digital Subscription Grade 12	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	High School - ELA	ENGLISH_H	0	30	\$45.20	\$1,356.00
HMH Into Literature Texas Comprehensive Student Resource Package with Write	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	High School - ELA	ENGLISH_H	0	42	\$45.20	\$1,898.40

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
In Student Edition Plus 1- Year Print Consumable/1- Year Digital Subscription Grade 9											
HMH Into Literature Texas Comprehensive Student Resource Package with Write In Student Edition Plus 2- Year Print Consumable/2- Year Digital Subscription Grade 10	10/26/2023	Houghton Depository	Mifflin	Harcourt	CRANE ISD	High School - ELA	ENGLISH_H	0	80	\$65.10	\$5,208.00
HMH Into Literature Texas Comprehensive Student Resource Package with Write In Student Edition Plus 2- Year Print Consumable/2- Year Digital Subscription Grade 11	10/26/2023	Houghton Depository	Mifflin	Harcourt	CRANE ISD	High School - ELA	ENGLISH_H	0	80	\$65.10	\$5,208.00
HMH Into Literature Texas Comprehensive Student Resource Package with Write In Student Edition Plus 2- Year Print Consumable/2- Year Digital Subscription Grade 12	10/26/2023	Houghton Depository	Mifflin	Harcourt	CRANE ISD	High School - ELA	ENGLISH_H	0	80	\$65.10	\$5,208.00
HMH Into Literature Texas Comprehensive Student Resource Package with Write In Student Edition Plus 2- Year Print Consumable/2- Year Digital Subscription Grade 9	10/26/2023	Houghton Depository	Mifflin	Harcourt	CRANE ISD	High School - ELA	ENGLISH_H	0	80	\$65.10	\$5,208.00
HMH Into Literature Texas Comprehensive Student Resource Package with Write-In Student Edition 1- Year Print Consumable/1- Year Digital Subscription Grade 6	07/06/2023	Houghton Depository	Mifflin	Harcourt	IRAAN-SHEFFIELD COLLEGIATE ISD	6th Grade	ELAR_M	0	35	\$39.55	\$1,384.25
HMH Into Literature Texas Comprehensive Student Resource Package with Write-In Student Edition 1- Year Print Consumable/1- Year Digital Subscription Grade 6	09/08/2023	Houghton Depository	Mifflin	Harcourt	SAINT JO ISD	6th Grade	ELAR_M	0	7	\$39.55	\$276.85

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH Into Literature Texas Comprehensive Student	10/11/2023	Houghton Depository	Mifflin	Harcourt	SPURGER ISD	6th Grade	ELAR_M	0	40	\$39.55	\$1,582.00
Resource Package with Write-In Student Edition 1-		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,									
Year Print Consumable/1- Year Digital Subscription Grade 6											
HMH Into Literature Texas	07/06/2023	Houghton	Mifflin	Harcourt	IRAAN-SHEFFIELD	7th Grade	ELAR_M	0	35	\$39.55	\$1,384.25
Comprehensive Student Resource Package with Write-In Student Edition 1-		Depository			COLLEGIATE ISD						
Year Print Consumable/1- Year Digital Subscription											
Grade 7 HMH Into Literature Texas	07/06/2023	Houghton	Mifflin	Harcourt	IRAAN-SHEFFIELD	8th Grade	ELAR_M	0	35	\$39.55	\$1,384.25
Comprehensive Student Resource Package with Write-In Student Edition 1-		Depository			COLLEGIATE ISD						
Year Print Consumable/1- Year Digital Subscription Grade 8											
HMH Into Literature Texas Comprehensive Student Resource Package with Write-In Student Edition 4- Year Print Consumable/4-	10/10/2023	Houghton Depository	Mifflin	Harcourt	RISING STAR ISD	6th Grade	ELAR_M	0	15	\$87.05	\$1,305.75
Year Digital Subscription Grade 6	10/10/2022	77 1	3.5'00'	**	Diable ent biab	7.1 C 1	ELAD M	0	1.5	007.05	Φ1 205 7 5
HMH Into Literature Texas Comprehensive Student Resource Package with Write-In Student Edition 4- Year Print Consumable/4- Year Digital Subscription Grade 7	10/10/2023	Houghton Depository	Mifflin	Harcourt	RISING STAR ISD	7th Grade	ELAR_M	0	15	\$87.05	\$1,305.75
HMH Into Literature Texas Comprehensive Student Resource Package with Write-In Student Edition 4- Year Print Consumable/4- Year Digital Subscription Grade 8	10/10/2023	Houghton Depository	Mifflin	Harcourt	RISING STAR ISD	8th Grade	ELAR_M	0	15	\$87.05	\$1,305.75
HMH Into Literature Texas Digital Learning Student Resource Package 1-Year Digital Subscription Grade 8	10/26/2023	Houghton Depository	Mifflin	Harcourt	VALERE PUBLIC SCHOOLS	8th Grade	ELAR_M	0	12	\$25.00	\$300.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH Into Literature Texas Digital Learning Student Resource Package Plus 2- Year Digital Subscription Grade 10	02/08/2024	Houghton Depository	Mifflin	Harcourt	VALERE PUBLIC SCHOOLS	High School - ELA	ENGLISH_H	0	35	\$42.50	\$1,487.50
HMH Into Literature Texas Digital Learning Student Resource Package Plus 2- Year Digital Subscription Grade 9	02/08/2024	Houghton Depository	Mifflin	Harcourt	VALERE PUBLIC SCHOOLS	High School - ELA	ENGLISH_H	0	40	\$42.50	\$1,700.00
HMH Into Literature Texas Digital Learning Student Resource Package with Novels Plus 2-Year Digital Subscription Grade 10	02/08/2024	Houghton Depository	Mifflin	Harcourt	VALERE PUBLIC SCHOOLS	High School - ELA	ENGLISH_H	0	35	\$57.50	\$2,012.50
HMH Into Literature Texas Digital Learning Student Resource Package with Novels Plus 2-Year Digital Subscription Grade 9	02/08/2024	Houghton Depository	Mifflin	Harcourt	VALERE PUBLIC SCHOOLS	High School - ELA	ENGLISH_H	0	40	\$57.50	\$2,300.00
HMH Into Literature Texas Digital Learning Student Resource Package with Novels/1-Year Digital Subscription Grade 8	10/26/2023	Houghton Depository	Mifflin	Harcourt	VALERE PUBLIC SCHOOLS	8th Grade	ELAR_M	0	12	\$31.80	\$381.60
HMH Into Literature Texas Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 6	07/13/2023	Houghton Depository	Mifflin	Harcourt	NEW WAVERLY ISD	6th Grade	ELAR_M	0	10	\$47.50	\$475.00
HMH Into Literature Texas Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 6	09/26/2023	Houghton Depository	Mifflin	Harcourt	SAN ISIDRO ISD	6th Grade	ELAR_M	0	16	\$47.50	\$760.00
HMH Into Literature Texas Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 7	09/26/2023	Houghton Depository	Mifflin	Harcourt	SAN ISIDRO ISD	7th Grade	ELAR_M	0	9	\$47.50	\$427.50
HMH Into Literature Texas Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 8	07/13/2023	Houghton Depository	Mifflin	Harcourt	NEW WAVERLY ISD	8th Grade	ELAR_M	0	10	\$47.50	\$475.00
HMH Into Literature Texas Premium Student Resource	09/26/2023	Houghton Depository	Mifflin	Harcourt	SAN ISIDRO ISD	8th Grade	ELAR_M	0	17	\$47.50	\$807.50

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Package 1-Year Print Consumable/1-Year Digital Subscription Grade 8											
HMH Into Literature Texas Premium Student Resource Package 4-Year Print Consumable/4-Year Digital Subscription Grade 8	08/24/2023	Houghton Depository	Mifflin	Harcourt	GARRISON ISD	8th Grade	ELAR_M	0	75	\$104.45	\$7,833.75
HMH Into Literature Texas Premium Student Resource Package with Grammar Practice Workbook Plus 5- Year Print Consumable/5- Year Digital Subscription Grade 11	05/31/2023	Houghton Depository	Mifflin	Harcourt	PRINGLE-MORSE CISD	High School - ELA	ENGLISH_H	0	6	\$146.00	\$876.00
HMH Into Literature Texas Premium Student Resource Package with Grammar Practice Workbook Plus 5- Year Print Consumable/5- Year Digital Subscription Grade 12	05/31/2023	Houghton Depository	Mifflin	Harcourt	PRINGLE-MORSE CISD	High School - ELA	ENGLISH_H	0	6	\$146.00	\$876.00
HMH Into Reading HMH Into Reading Texas Reading & Writing Workshop Premium Student Resource Package 4-Year Print Consumable/4-Year Digital Subscription Grade 2	08/23/2023	Houghton Depository	Mifflin	Harcourt	HAYS CISD	2nd Grade	ELAR_E	0	44	\$162.00	\$7,128.00
HMH Into Reading HMH Into Reading Texas Reading & Writing Workshop Premium Student Resource Package 4-Year Print Consumable/4-Year Digital Subscription Grade 2	11/03/2023	Houghton Depository	Mifflin	Harcourt	IRVING ISD	2nd Grade	ELAR_E	0	22	\$162.00	\$3,564.00
HMH Into Reading HMH Into Reading Texas Reading & Writing Workshop Premium Student Resource Package 4-Year Print Consumable/4-Year Digital Subscription Grade 4	10/06/2023	Houghton Depository	Mifflin	Harcourt	BLANCO ISD	4th Grade	ELAR_E	0	10	\$137.00	\$1,370.00
HMH Into Reading Texas Reading & Writing Workshop Comprehensive Student Resource Package 1-Year	08/24/2023	Houghton Depository	Mifflin	Harcourt	LA JOYA ISD	3rd Grade	ELAR_E	0	25	\$127.00	\$3,175.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Print/1-Year Digital											
Subscription Grade 3											
HMH Into Reading Texas	08/07/2023	Houghton	Mifflin	Harcourt	BUSHLAND ISD	1st Grade	ELAR_E	0	22	\$134.00	\$2,948.00
Reading & Writing Workshop		Depository									
Essential Student Resource											
Package 4-Year Digital											
Subscription Grade 1											
HMH Into Reading Texas	10/09/2023	Houghton	Mifflin	Harcourt	CLARKSVILLE ISD	1st Grade	ELAR_E	0	35	\$126.00	\$4,410.00
Reading & Writing Workshop		Depository									
Premium Student Resource											
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 1	00/20/2022	77 1.	3 5:001:		I I IOWA IGD	1 . 0 . 1	ELAD E	0	25	#12c 00	#2.150.00
HMH Into Reading Texas	09/28/2023	Houghton	Mifflin	Harcourt	LA JOYA ISD	1st Grade	ELAR_E	0	25	\$126.00	\$3,150.00
Reading & Writing Workshop Premium Student Resource		Depository									
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 1											
HMH Into Reading Texas	09/26/2023	Houghton	Mifflin	Harcourt	SAN ISIDRO ISD	1st Grade	ELAR_E	0	11	\$126.00	\$1,386.00
Reading & Writing Workshop	09/20/2023	Depository	WIIIIIII	пагсоції	SAN ISIDKO ISD	1st Grade	ELAK_E	0	11	\$120.00	\$1,360.00
Premium Student Resource		Depository									
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 1											
HMH Into Reading Texas	10/09/2023	Houghton	Mifflin	Harcourt	CLARKSVILLE ISD	2nd Grade	ELAR_E	0	45	\$126.00	\$5,670.00
Reading & Writing Workshop	10/05/2025	Depository	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Timeourt	CEI HOLD VILLE 15D	Ziid Gidde	EE/IIC_E		15	Ψ120.00	Ψ3,070.00
Premium Student Resource		Depository									
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 2											
HMH Into Reading Texas	10/18/2023	Houghton	Mifflin	Harcourt	PECOS-BARSTOW-	2nd Grade	ELAR_E	0	75	\$126.00	\$9,450.00
Reading & Writing Workshop		Depository			TOYAH ISD						
Premium Student Resource											
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 2											
HMH Into Reading Texas	09/26/2023	Houghton	Mifflin	Harcourt	SAN ISIDRO ISD	2nd Grade	ELAR_E	0	12	\$126.00	\$1,512.00
Reading & Writing Workshop		Depository									
Premium Student Resource											
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 2	10/00/2025	** 1.	3 4: 001:	**	CI A DIVOLUI I D ICD	2.16.1	ELAD E			#101.0C	04545 00
HMH Into Reading Texas	10/09/2023	Houghton	Mifflin	Harcourt	CLARKSVILLE ISD	3rd Grade	ELAR_E	0	45	\$101.00	\$4,545.00
Reading & Writing Workshop		Depository						1			
Premium Student Resource		1						1			
Package 1-Year Print		1						1			

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable/1-Year Digital											
Subscription Grade 3											
HMH Into Reading Texas	09/26/2023	Houghton	Mifflin	Harcourt	SAN ISIDRO ISD	3rd Grade	ELAR_E	0	8	\$101.00	\$808.00
Reading & Writing Workshop		Depository									
Premium Student Resource											
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 3											
HMH Into Reading Texas	10/09/2023	Houghton	Mifflin	Harcourt	CLARKSVILLE ISD	4th Grade	ELAR_E	0	45	\$101.00	\$4,545.00
Reading & Writing Workshop		Depository									
Premium Student Resource											
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 4	10/10/2022	**	2 51 0011		DEGGG D I DOMOVI	41.6.1	F7 4 D F		70	#101.00	45.050.00
HMH Into Reading Texas	10/18/2023	Houghton	Mifflin	Harcourt	PECOS-BARSTOW-	4th Grade	ELAR_E	0	50	\$101.00	\$5,050.00
Reading & Writing Workshop		Depository			TOYAH ISD						
Premium Student Resource											
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 4	00/26/2022	TT 1.	3 4: 001:	**	GAN IGIDDO IGD	41.0.1	EL AD E	0	1.7	#101.00	¢1.717.00
HMH Into Reading Texas	09/26/2023	Houghton	Mifflin	Harcourt	SAN ISIDRO ISD	4th Grade	ELAR_E	0	17	\$101.00	\$1,717.00
Reading & Writing Workshop Premium Student Resource		Depository									
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 4											
HMH Into Reading Texas	10/18/2023	Houghton	Mifflin	Harcourt	PECOS-BARSTOW-	5th Grade	ELAR E	0	50	\$101.00	\$5,050.00
Reading & Writing Workshop	10/16/2023	Depository	WIIIIIII	Harcourt	TOYAH ISD	Jui Grade	ELAK_E	U	50	\$101.00	\$5,050.00
Premium Student Resource		Depository			TOTAITISD						
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 5											
HMH Into Reading Texas	09/26/2023	Houghton	Mifflin	Harcourt	SAN ISIDRO ISD	5th Grade	ELAR E	0	12	\$101.00	\$1,212.00
Reading & Writing Workshop	07/20/2023	Depository		Timeourt	STILL ISIDICO ISD	Jui Grade	EE/ III_E		12	φ101.00	φ1,212.00
Premium Student Resource		Depository									
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade 5											
HMH Into Reading Texas	09/26/2023	Houghton	Mifflin	Harcourt	SAN ISIDRO ISD	Kindergarten	ELAR_E	0	8	\$126.00	\$1,008.00
Reading & Writing Workshop		Depository					_				,
Premium Student Resource											
Package 1-Year Print											
Consumable/1-Year Digital											
Subscription Grade K											
HMH Into Reading Texas	10/06/2023	Houghton	Mifflin	Harcourt	BLANCO ISD	3rd Grade	ELAR_E	0	5	\$137.00	\$685.00
Reading & Writing Workshop		Depository									
Premium Student Resource											

Title	Transaction	Publisher			District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
Package 4-Year Print	Date							Served			Amount
Consumable/4-Year Digital Subscription Grade 3											
HMH Into Reading Texas	08/23/2023	Houghton	Mifflin	Harcourt	HAYS CISD	3rd Grade	ELAR_E	0	110	\$137.00	\$15,070.00
	08/23/2023		MIIIIIII	Harcourt	HAYS CISD	3rd Grade	ELAR_E	0	110	\$137.00	\$15,070.00
Reading & Writing Workshop Premium Student Resource		Depository									
Package 4-Year Print											
Consumable/4-Year Digital											
Subscription Grade 3											
HMH Into Reading Texas	10/06/2023	Houghton	Mifflin	Harcourt	BLANCO ISD	5th Grade	ELAR E	0	10	\$137.00	\$1,370.00
Reading & Writing Workshop	10/00/2023	Depository	1411111111	Harcourt	BLANCO ISD	Jui Grade	LLAK_L		10	φ137.00	\$1,570.00
Premium Student Resource		Depository									
Package 4-Year Print											
Consumable/4-Year Digital											
Subscription Grade 5											
HMH ScienceFusion Texas	08/07/2023	Houghton	Mifflin	Harcourt	ODEM-EDROY ISD	1st Grade	SCIENCE EMH	80	1	\$450.00	\$450.00
Basic Classroom Package 1-		Depository					~~~~~		_	7 12 313 3	4 10 010 0
Year Print/1-Year Digital											
Grade 1 (22 Students)											
HMH ScienceFusion Texas	07/17/2023	Houghton	Mifflin	Harcourt	VANGUARD	1st Grade	SCIENCE EMH	80	5	\$450.00	\$2,250.00
Basic Classroom Package 1-		Depository			ACADEMY						, ,
Year Print/1-Year Digital		1 3									
Grade 1 (22 Students)											
HMH ScienceFusion Texas	08/07/2023	Houghton	Mifflin	Harcourt	ODEM-EDROY ISD	2nd Grade	SCIENCE_EMH	80	1	\$450.00	\$450.00
Basic Classroom Package 1-		Depository									
Year Print/1-Year Digital											
Grade 2 (22 Students)											
HMH ScienceFusion Texas	07/17/2023	Houghton	Mifflin	Harcourt	VANGUARD	2nd Grade	SCIENCE_EMH	80	7	\$450.00	\$3,150.00
Basic Classroom Package 1-		Depository			ACADEMY						
Year Print/1-Year Digital											
Grade 2 (22 Students)											
HMH ScienceFusion Texas	08/07/2023	Houghton	Mifflin	Harcourt	ODEM-EDROY ISD	3rd Grade	SCIENCE_EMH	79	2	\$501.00	\$1,002.00
Basic Classroom Package 1-		Depository									
Year Print/1-Year Digital											
Grade 3 (22 Students)	07/17/2022	TT 1.	y t. cci.	TT	VANGUARD	2.10.1	COURNICE EMIL	70	4	¢501.00	#2 004 00
HMH ScienceFusion Texas	07/17/2023	Houghton	Mifflin	Harcourt	ACADEMY	3rd Grade	SCIENCE_EMH	79	4	\$501.00	\$2,004.00
Basic Classroom Package 1- Year Print/1-Year Digital		Depository			ACADEM I						
Grade 3 (22 Students)											
HMH ScienceFusion Texas	08/07/2023	Houghton	Mifflin	Harcourt	ODEM-EDROY ISD	4th Grade	SCIENCE EMH	77	1	\$578.00	\$578.00
Basic Classroom Package 1-	00/07/2023	Depository	1711111111	marcourt	ODEM-EDIOLISM	4ui Giade	SCIENCE_ENIT	''	1	φ5/6.00	\$376.UU
Year Print/1-Year Digital		Depository									
Grade 4 (25 Students)						1					
HMH ScienceFusion Texas	07/17/2023	Houghton	Mifflin	Harcourt	VANGUARD	4th Grade	SCIENCE EMH	77	4	\$578.00	\$2,312.00
Basic Classroom Package 1-	0.71772023	Depository		- Im Coult	ACADEMY	Tur Grade	SCILI (CL_LITIII	''	7	ψ370.00	Ψ2,312.00
Year Print/1-Year Digital		2 opository									

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH ScienceFusion Texas Basic Classroom Package 1- Year Print/1-Year Digital Grade 5 (25 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	5th Grade	SCIENCE_EMH	12	2	\$632.00	\$1,264.00
HMH ScienceFusion Texas Basic Classroom Package 1- Year Print/1-Year Digital Grade 7 (75 Students)	05/31/2023	Houghton Depository	Mifflin	Harcourt	LEXINGTON ISD	7th Grade	SCIENCE_EMH	75	1	\$2,003.00	\$2,003.00
HMH ScienceFusion Texas Basic Classroom Package 1- Year Print/1-Year Digital Grade K (18 Students)	08/07/2023	Houghton Depository	Mifflin	Harcourt	ODEM-EDROY ISD	Kindergarten	SCIENCE_EMH	65	1	\$483.00	\$483.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 6	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	6th Grade	SCIENCE_EMH	0	30	\$25.00	\$750.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 6	08/22/2023	Houghton Depository	Mifflin	Harcourt	MALONE ISD	6th Grade	SCIENCE_EMH	0	10	\$25.00	\$250.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 6	10/12/2023	Houghton Depository	Mifflin	Harcourt	MALONE ISD	6th Grade	SCIENCE_EMH	0	1	\$25.00	\$25.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 6	08/07/2023	Houghton Depository	Mifflin	Harcourt	ODEM-EDROY ISD	6th Grade	SCIENCE_EMH	0	70	\$25.00	\$1,750.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 6	10/06/2023	Houghton Depository	Mifflin	Harcourt	PREMONT ISD	6th Grade	SCIENCE_EMH	0	6	\$25.00	\$150.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 7	08/28/2023	Houghton Depository	Mifflin	Harcourt	BLUFF DALE ISD	7th Grade	SCIENCE_EMH	0	30	\$25.00	\$750.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 7	08/22/2023	Houghton Depository	Mifflin	Harcourt	MALONE ISD	7th Grade	SCIENCE_EMH	0	10	\$25.00	\$250.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 7	10/12/2023	Houghton Depository	Mifflin	Harcourt	MALONE ISD	7th Grade	SCIENCE_EMH	0	1	\$25.00	\$25.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year	08/07/2023	Houghton Depository	Mifflin	Harcourt	ODEM-EDROY ISD	7th Grade	SCIENCE_EMH	0	70	\$25.00	\$1,750.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital Grade 7											
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 8	05/31/2023	Houghton Depository	Mifflin	Harcourt	LEXINGTON ISD	8th Grade	SCIENCE_EMH	0	95	\$25.00	\$2,375.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 8	08/22/2023	Houghton Depository	Mifflin	Harcourt	MALONE ISD	8th Grade	SCIENCE_EMH	0	10	\$25.00	\$250.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 8	10/12/2023	Houghton Depository	Mifflin	Harcourt	MALONE ISD	8th Grade	SCIENCE_EMH	0	1	\$25.00	\$25.00
HMH ScienceFusion Texas Basic Student Resource Package 1-Year Print/1-Year Digital Grade 8	08/07/2023	Houghton Depository	Mifflin	Harcourt	ODEM-EDROY ISD	8th Grade	SCIENCE_EMH	0	55	\$25.00	\$1,375.00
HMH ScienceFusion Texas Deluxe Classroom Package 1- Year Print/1-Year Digital Grade 6 (75 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	6th Grade	SCIENCE_EMH	50	1	\$2,107.00	\$2,107.00
HMH ScienceFusion Texas Deluxe Classroom Package 1- Year Print/1-Year Digital Grade 7 (75 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	7th Grade	SCIENCE_EMH	50	1	\$2,107.00	\$2,107.00
HMH ScienceFusion Texas Deluxe Classroom Package 1- Year Print/1-Year Digital Grade 8 (75 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	8th Grade	SCIENCE_EMH	55	1	\$2,107.00	\$2,107.00
HMH ScienceFusion Texas Deluxe Classroom Package with Leveled Reader Library and Core Inquiry Materials Kit 1-Year Print/1-Year Digital Grade 1 (22 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	1st Grade	SCIENCE_EMH	38	2	\$657.00	\$1,314.00
HMH ScienceFusion Texas Deluxe Classroom Package with Leveled Reader Library and Core Inquiry Materials Kit 1-Year Print/1-Year Digital Grade 2 (22 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	2nd Grade	SCIENCE_EMH	40	2	\$657.00	\$1,314.00
HMH ScienceFusion Texas Deluxe Classroom Package with Leveled Reader Library and Core Inquiry Materials Kit 1-Year Print/1-Year	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	3rd Grade	SCIENCE_EMH	30	2	\$767.00	\$1,534.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital Grade 3 (22 Students)											
HMH ScienceFusion Texas Deluxe Classroom Package with Leveled Reader Library and Core Inquiry Materials Kit 1-Year Print/1-Year Digital Grade 4 (25 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	4th Grade	SCIENCE_EMH	42	2	\$843.00	\$1,686.00
HMH ScienceFusion Texas Deluxe Classroom Package with Leveled Reader Library and Core Inquiry Materials Kit 1-Year Print/1-Year Digital Grade 5 (25 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	5th Grade	SCIENCE_EMH	35	2	\$882.00	\$1,764.00
HMH ScienceFusion Texas Deluxe Classroom Package with Leveled Reader Library and Core Inquiry Materials Kit 1-Year Print/1-Year Digital Grade K (18 Students)	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	Kindergarten	SCIENCE_EMH	22	2	\$570.00	\$1,140.00
HMH ScienceFusion Texas Deluxe Classroom Package with Leveled Reader Library, Core Inquiry Materials Kit, and Test Prep 1-Year Print/1- Year Digital Grade 5 (25 Students)	12/07/2023	Houghton Depository	Mifflin	Harcourt	CLARKSVILLE ISD	5th Grade	SCIENCE_EMH	50	2	\$928.00	\$1,856.00
HMH ScienceFusion Texas Deluxe Student Resource Package 1-Year Print/1-Year Digital Grade 6	01/02/2024	Houghton Depository	Mifflin	Harcourt	BRIDGEWAY PREPARATORY ACADEMY	6th Grade	SCIENCE_EMH	0	5	\$26.00	\$130.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 1	07/06/2023	Houghton Depository	Mifflin	Harcourt	KENEDY COUNTY WIDE CSD	1st Grade	SCIENCE_EMH	0	13	\$15.00	\$195.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 1	10/18/2023	Houghton Depository	Mifflin	Harcourt	PECOS-BARSTOW- TOYAH ISD	1st Grade	SCIENCE_EMH	0	60	\$15.00	\$900.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 1	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	1st Grade	SCIENCE_EMH	0	330	\$15.00	\$4,950.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 2	01/02/2024	Houghton Depository	Mifflin	Harcourt	BRIDGEWAY PREPARATORY ACADEMY	2nd Grade	SCIENCE_EMH	0	17	\$15.00	\$255.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 2	07/06/2023	Houghton Depository	Mifflin	Harcourt	KENEDY COUNTY WIDE CSD	2nd Grade	SCIENCE_EMH	0	14	\$15.00	\$210.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 2	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	2nd Grade	SCIENCE_EMH	0	330	\$15.00	\$4,950.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 3	01/02/2024	Houghton Depository	Mifflin	Harcourt	BRIDGEWAY PREPARATORY ACADEMY	3rd Grade	SCIENCE_EMH	0	16	\$17.00	\$272.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 3	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	3rd Grade	SCIENCE_EMH	0	308	\$17.00	\$5,236.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 4	01/02/2024	Houghton Depository	Mifflin	Harcourt	BRIDGEWAY PREPARATORY ACADEMY	4th Grade	SCIENCE_EMH	0	11	\$18.00	\$198.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 4	10/12/2023	Houghton Depository	Mifflin	Harcourt	MALONE ISD	4th Grade	SCIENCE_EMH	0	1	\$18.00	\$18.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 4	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	4th Grade	SCIENCE_EMH	0	300	\$18.00	\$5,400.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 5	01/02/2024	Houghton Depository	Mifflin	Harcourt	BRIDGEWAY PREPARATORY ACADEMY	5th Grade	SCIENCE_EMH	0	9	\$20.00	\$180.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 5	10/12/2023	Houghton Depository	Mifflin	Harcourt	MALONE ISD	5th Grade	SCIENCE_EMH	0	1	\$20.00	\$20.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 5	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	5th Grade	SCIENCE_EMH	0	300	\$20.00	\$6,000.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade K	07/06/2023	Houghton Depository	Mifflin	Harcourt	KENEDY COUNTY WIDE CSD	Kindergarten	SCIENCE_EMH	0	14	\$8.00	\$112.00
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year	10/18/2023	Houghton Depository	Mifflin	Harcourt	PECOS-BARSTOW- TOYAH ISD	Kindergarten	SCIENCE_EMH	0	230	\$8.00	\$1,840.00

Title	Transaction Date	Publisher			District		Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Print/1-Year Digital Grade K												
HMH ScienceFusion Texas Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade K	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY		Kindergarten	SCIENCE_EMH	0	306	\$8.00	\$2,448.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 2 (22 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD		2nd Grade	SCIENCE_EMH	280	1	\$285.00	\$285.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 2 (22 Students)	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY ARLINGTON	OF	2nd Grade	SCIENCE_EMH	280	8	\$285.00	\$2,280.00
HMH ScienceFusion Texas Digital Classroom Package 1- Year Grade 6 (75 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	HAWLEY ISD		6th Grade	SCIENCE_EMH	275	1	\$833.00	\$833.00
HMH ScienceFusion Texas Digital Classroom Package 1- Year Grade 6 (75 Students)	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY ARLINGTON	OF	6th Grade	SCIENCE_EMH	275	6	\$833.00	\$4,998.00
HMH ScienceFusion Texas Digital Classroom Package 1- Year Grade 7 (75 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	HAWLEY ISD		7th Grade	SCIENCE_EMH	300	1	\$833.00	\$833.00
HMH ScienceFusion Texas Digital Classroom Package 1- Year Grade 7 (75 Students)	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY ARLINGTON	OF	7th Grade	SCIENCE_EMH	300	3	\$833.00	\$2,499.00
HMH ScienceFusion Texas Digital Classroom Package 1- Year Grade 8 (75 Students)	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY ARLINGTON	OF	8th Grade	SCIENCE_EMH	225	3	\$833.00	\$2,499.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 1 (22 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD		1st Grade	SCIENCE_EMH	295	1	\$285.00	\$285.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 1 (22 Students)	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY ARLINGTON	OF	1st Grade	SCIENCE_EMH	295	14	\$285.00	\$3,990.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 3 (22 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD		3rd Grade	SCIENCE_EMH	280	1	\$292.00	\$292.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 3	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY	OF	3rd Grade	SCIENCE_EMH	280	7	\$292.00	\$2,044.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
(22 Students)					ARLINGTON						
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 4 (25 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD	4th Grade	SCIENCE_EMH	315	1	\$250.00	\$250.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 4 (25 Students)	08/23/2023	Houghton Depository	Mifflin	Harcourt	MEYERSVILLE ISD	4th Grade	SCIENCE_EMH	315	1	\$250.00	\$250.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 4 (25 Students)	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	4th Grade	SCIENCE_EMH	315	6	\$250.00	\$1,500.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 5 (25 Students)	06/30/2023	Houghton Depository	Mifflin	Harcourt	BLANKET ISD	5th Grade	SCIENCE_EMH	260	1	\$323.00	\$323.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 5 (25 Students)	08/23/2023	Houghton Depository	Mifflin	Harcourt	MEYERSVILLE ISD	5th Grade	SCIENCE_EMH	260	1	\$323.00	\$323.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade 5 (25 Students)	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	5th Grade	SCIENCE_EMH	260	6	\$323.00	\$1,938.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade K (18 Students)	09/29/2023	Houghton Depository	Mifflin	Harcourt	CRYSTAL CITY ISD	Kindergarten	SCIENCE_EMH	360	5	\$297.00	\$1,485.00
HMH ScienceFusion Texas Digital Classroom Package Print/1-Year Digital Grade K (18 Students)	09/13/2023	Houghton Depository	Mifflin	Harcourt	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	Kindergarten	SCIENCE_EMH	360	13	\$297.00	\$3,861.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade 1 (22 Students)	09/08/2023	Houghton Depository	Mifflin	Harcourt	GARNER ISD	1st Grade	SCIENCE_EMH	60	1	\$450.00	\$450.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade 1 (22 Students)	09/08/2023	Houghton Depository	Mifflin	Harcourt	GHOLSON ISD	1st Grade	SCIENCE_EMH	60	1	\$450.00	\$450.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade 2 (22 Students)	09/08/2023	Houghton Depository	Mifflin	Harcourt	GHOLSON ISD	2nd Grade	SCIENCE_EMH	80	1	\$450.00	\$450.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade 2 (22 Students)	06/26/2023	Houghton Depository	Mifflin	Harcourt	RIVERCREST ISD	2nd Grade	SCIENCE_EMH	80	1	\$450.00	\$450.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade 3 (22 Students)	06/26/2023	Houghton Depository	Mifflin	Harcourt	RIVERCREST ISD	3rd Grade	SCIENCE_EMH	60	1	\$495.00	\$495.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade 4 (25 Students)	06/26/2023	Houghton Depository	Mifflin	Harcourt	RIVERCREST ISD	4th Grade	SCIENCE_EMH	60	1	\$608.00	\$608.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade 5 (25 Students)	09/08/2023	Houghton Depository	Mifflin	Harcourt	GARNER ISD	5th Grade	SCIENCE_EMH	25	1	\$598.00	\$598.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade 8 (75 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	HAWLEY ISD	8th Grade	SCIENCE_EMH	75	1	\$1,847.00	\$1,847.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade K (18 Students)	06/26/2023	Houghton Depository	Mifflin	Harcourt	RIVERCREST ISD	Kindergarten	SCIENCE_EMH	77	3	\$273.00	\$819.00
HMH ScienceFusion Texas Print Classroom Package 1- Year Print/1-Year Digital Grade K (18 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	Kindergarten	SCIENCE_EMH	77	8	\$273.00	\$2,184.00
HMH ScienceFusion Texas Spanish Basic Classroom Package 1-Year Print/1-Year Digital Grade 2 (15 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	2nd Grade	SCIENCE_EMH	23	6	\$443.00	\$2,658.00
HMH ScienceFusion Texas Spanish Basic Classroom Package 1-Year Print/1-Year Digital Grade 3 (15 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	3rd Grade	SCIENCE_EMH	20	4	\$512.00	\$2,048.00
HMH ScienceFusion Texas Spanish Basic Classroom Package 1-Year Print/1-Year Digital Grade 4 (15 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	4th Grade	SCIENCE_EMH	21	11	\$602.00	\$6,622.00
HMH ScienceFusion Texas Spanish Basic Classroom Package 1-Year Print/1-Year Digital Grade 5 (15 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	5th Grade	SCIENCE_EMH	7	5	\$667.00	\$3,335.00
HMH ScienceFusion Texas Spanish Deluxe/Basic Student Resource Package 1-Year	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	1st Grade	SCIENCE_EMH	0	330	\$21.00	\$6,930.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Print/1-Year Digital Grade 1											
HMH ScienceFusion Texas Spanish Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 2	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	2nd Grade	SCIENCE_EMH	0	345	\$21.00	\$7,245.00
HMH ScienceFusion Texas Spanish Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 3	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	3rd Grade	SCIENCE_EMH	0	300	\$25.00	\$7,500.00
HMH ScienceFusion Texas Spanish Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 4	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	4th Grade	SCIENCE_EMH	0	315	\$31.00	\$9,765.00
HMH ScienceFusion Texas Spanish Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade 5	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	5th Grade	SCIENCE_EMH	0	105	\$35.00	\$3,675.00
HMH ScienceFusion Texas Spanish Deluxe/Basic Student Resource Package 1-Year Print/1-Year Digital Grade K	08/31/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	Kindergarten	ESL_EM	0	360	\$10.00	\$3,600.00
HMH ScienceFusion Texas Spanish Print Classroom Package 1-Year Print/1-Year Digital Grade 1 (15 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	1st Grade	SCIENCE_EMH	22	5	\$374.00	\$1,870.00
HMH ScienceFusion Texas Spanish Print Classroom Package 1-Year Print/1-Year Digital Grade K (15 Students)	07/17/2023	Houghton Depository	Mifflin	Harcourt	VANGUARD ACADEMY	Kindergarten	ESL_EM	24	8	\$247.00	\$1,976.00
HMH Texas History Texas Digital/Mobile Student Resource Package 1-Year	09/29/2023	Houghton Depository	Mifflin	Harcourt	ELGIN ISD	7th Grade	SOC_STUD_EM	0	410	\$18.00	\$7,380.00
HMH Texas History Texas Digital/Mobile Student Resource Package 1-Year	08/24/2023	Houghton Depository	Mifflin	Harcourt	ODEM-EDROY ISD	7th Grade	SOC_STUD_EM	0	70	\$18.00	\$1,260.00
HMH Texas History Texas Digital/Mobile Student Resource Package 1-Year	08/25/2023	Houghton Depository	Mifflin	Harcourt	WOODSBORO ISD	7th Grade	SOC_STUD_EM	0	40	\$18.00	\$720.00
HMH Texas History Texas Digital/Mobile Student Resource Package 2-Year	09/05/2023	Houghton Depository	Mifflin	Harcourt	SUNNYVALE ISD	7th Grade	SOC_STUD_EM	0	195	\$25.15	\$4,904.25
HMH Texas History Texas Hybrid Student Resource Package with Guided Reading Workbook 1-Year Print/1- Year Digital	07/06/2023	Houghton Depository	Mifflin	Harcourt	IRAAN-SHEFFIELD COLLEGIATE ISD	7th Grade	SOC_STUD_EM	0	35	\$69.70	\$2,439.50

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH The Americans Texas Digital/Mobile Student Resource Package 1-Year	09/29/2023	Houghton Depository	Mifflin	Harcourt	ELGIN ISD	High School - Soc Studies	SOC_STUD_H	0	325	\$20.80	\$6,760.00
HMH The Americans Texas Digital/Mobile Student Resource Package 1-Year	08/25/2023	Houghton Depository	Mifflin	Harcourt	WOODSBORO ISD	High School - Soc Studies	SOC_STUD_H	0	30	\$20.80	\$624.00
HMH The Americans Texas Digital/Mobile Student Resource Package 2-Year	08/23/2023	Houghton Depository	Mifflin	Harcourt	EAGLE PASS ISD	High School - Soc Studies	SOC_STUD_H	0	804	\$28.80	\$23,155.20
HMH The Americans Texas Digital/Mobile Student Resource Package 2-Year	06/30/2023	Houghton Depository	Mifflin	Harcourt	KINGSVILLE ISD	High School - Soc Studies	SOC_STUD_H	0	225	\$28.80	\$6,480.00
HMH The Americans Texas Hybrid Student Resource Package Print/1-Year Digital	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	High School - Soc Studies	SOC_STUD_H	0	40	\$95.95	\$3,838.00
HMH The Americans Texas Premium Student Resource Package 3-Year Print/3-Year Digital	08/23/2023	Houghton Depository	Mifflin	Harcourt	PRINGLE-MORSE CISD	High School - Soc Studies	SOC_STUD_H	0	7	\$102.00	\$714.00
HMH The Americans Texas Premium Student Resource Package with Jarrett Prep 1- Year Print/1-Year Digital	07/06/2023	Houghton Depository	Mifflin	Harcourt	IRAAN-SHEFFIELD COLLEGIATE ISD	High School - Soc Studies	SOC_STUD_H	0	35	\$110.10	\$3,853.50
HMH US History Texas Digital/Mobile Student Resource Package 1-Year	09/29/2023	Houghton Depository	Mifflin	Harcourt	ELGIN ISD	8th Grade	SOC_STUD_EM	0	425	\$18.00	\$7,650.00
HMH US History Texas Digital/Mobile Student Resource Package 1-Year	08/24/2023	Houghton Depository	Mifflin	Harcourt	ODEM-EDROY ISD	8th Grade	SOC_STUD_EM	0	55	\$18.00	\$990.00
HMH US History Texas Digital/Mobile Student Resource Package 1-Year	08/25/2023	Houghton Depository	Mifflin	Harcourt	WOODSBORO ISD	8th Grade	SOC_STUD_EM	0	30	\$18.00	\$540.00
HMH US History Texas Digital/Mobile Student Resource Package 2-Year	09/05/2023	Houghton Depository	Mifflin	Harcourt	SUNNYVALE ISD	8th Grade	SOC_STUD_EM	0	210	\$25.20	\$5,292.00
HMH US History Texas Digital/Mobile Student Resource Package with Jarrett Prep 1-Year Print/1-Year Digital	09/25/2023	Houghton Depository	Mifflin	Harcourt	ROCKSPRINGS ISD	8th Grade	SOC_STUD_EM	0	20	\$26.35	\$527.00
HMH US History Texas Premium Student Resource Package with Jarrett Prep 1- Year Print/1-Year Digital	07/06/2023	Houghton Depository	Mifflin	Harcourt	IRAAN-SHEFFIELD COLLEGIATE ISD	8th Grade	SOC_STUD_EM	0	35	\$91.90	\$3,216.50
HMH World Geography Texas Digital/Mobile Student Resource Package 1-Year	10/16/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	High School - Soc Studies	SOC_STUD_H	0	35	\$20.60	\$721.00

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
HMH World Geography Texas Digital/Mobile Student Resource Package 1-Year	09/29/2023	Houghton Depository	Mifflin	Harcourt	ELGIN ISD	High School - Soc Studies	SOC_STUD_H	0	450	\$20.60	\$9,270.00
HMH World Geography Texas Digital/Mobile Student Resource Package 1-Year	08/25/2023	Houghton Depository	Mifflin	Harcourt	WOODSBORO ISD	High School - Soc Studies	SOC_STUD_H	0	30	\$20.60	\$618.00
HMH World Geography Texas Digital/Mobile Student Resource Package 2-Year	08/23/2023	Houghton Depository	Mifflin	Harcourt	EAGLE PASS ISD	High School - Soc Studies	SOC_STUD_H	0	634	\$28.80	\$18,259.20
HMH World Geography Texas Digital/Mobile Student Resource Package 2-Year	06/30/2023	Houghton Depository	Mifflin	Harcourt	KINGSVILLE ISD	High School - Soc Studies	SOC_STUD_H	0	225	\$28.80	\$6,480.00
HMH World Geography Texas Digital/Mobile Student Resource Package 3-Year	02/27/2024	Houghton Depository	Mifflin	Harcourt	COLUMBUS ISD	High School - Soc Studies	SOC_STUD_H	0	120	\$37.35	\$4,482.00
HMH World Geography Texas Hybrid Student Resource Package Print/1- Year Digital	10/12/2023	Houghton Depository	Mifflin	Harcourt	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	High School - Soc Studies	SOC_STUD_H	0	45	\$85.00	\$3,825.00
HMH World Geography Texas Premium Student Resource Package 3-Year Print/3-Year Digital	08/10/2023	Houghton Depository	Mifflin	Harcourt	BENJAMIN ISD	High School - Soc Studies	SOC_STUD_H	0	15	\$99.60	\$1,494.00
HMH World History Texas Digital/Mobile Student Resource Package 1-Year	10/16/2023	Houghton Depository	Mifflin	Harcourt	AGUA DULCE ISD	High School - Soc Studies	SOC_STUD_H	0	15	\$20.60	\$309.00
HMH World History Texas Digital/Mobile Student Resource Package 1-Year	09/29/2023	Houghton Depository	Mifflin	Harcourt	ELGIN ISD	High School - Soc Studies	SOC_STUD_H	0	325	\$20.60	\$6,695.00
HMH World History Texas Digital/Mobile Student Resource Package 1-Year	08/25/2023	Houghton Depository	Mifflin	Harcourt	WOODSBORO ISD	High School - Soc Studies	SOC_STUD_H	0	40	\$20.60	\$824.00
HMH World History Texas Digital/Mobile Student Resource Package 2-Year	08/23/2023	Houghton Depository	Mifflin	Harcourt	EAGLE PASS ISD	High School - Soc Studies	SOC_STUD_H	0	705	\$28.80	\$20,304.00
HMH World History Texas Digital/Mobile Student Resource Package 2-Year	06/30/2023	Houghton Depository	Mifflin	Harcourt	KINGSVILLE ISD	High School - Soc Studies	SOC_STUD_H	0	225	\$28.80	\$6,480.00
HMH World History Texas Hybrid Student Resource Package Print/4-Year Digital	02/27/2024	Houghton Depository	Mifflin	Harcourt	COLUMBUS ISD	High School - Soc Studies	SOC_STUD_H	0	120	\$90.80	\$10,896.00
HMH World History Texas Premium Student Resource Package with Jarrett Prep 1- Year Print/1-Year Digital	07/06/2023	Houghton Depository	Mifflin	Harcourt	IRAAN-SHEFFIELD COLLEGIATE ISD	High School - Soc Studies	SOC_STUD_H	0	35	\$110.10	\$3,853.50
HMH ¡Arriba la Lectura! Texas Reading & Writing	09/29/2023	Houghton Depository	Mifflin	Harcourt	COTULLA ISD	1st Grade	SLAR_E	0	2	\$141.25	\$282.50

Title	Transaction Date	Publisher			District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Workshop Comprehensive Student Resource Package 1- Year Print/1-Year Digital Subscription Grade 1											
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Comprehensive Student Resource Package 1- Year Print/1-Year Digital Subscription Grade 2	09/29/2023	Houghton Depository	Mifflin	Harcourt	COTULLA ISD	2nd Grade	SLAR_E	0	2	\$141.25	\$282.50
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Comprehensive Student Resource Package 1- Year Print/1-Year Digital Subscription Grade 2	08/24/2023	Houghton Depository	Mifflin	Harcourt	LA JOYA ISD	2nd Grade	SLAR_E	0	120	\$141.25	\$16,950.00
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Comprehensive Student Resource Package 1- Year Print/1-Year Digital Subscription Grade 3	09/29/2023	Houghton Depository	Mifflin	Harcourt	COTULLA ISD	3rd Grade	SLAR_E	0	2	\$135.90	\$271.80
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Comprehensive Student Resource Package 1- Year Print/1-Year Digital Subscription Grade 4	09/29/2023	Depository		Harcourt	COTULLA ISD	4th Grade	SLAR_E	0	2	\$135.90	\$271.80
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Comprehensive Student Resource Package 1- Year Print/1-Year Digital Subscription Grade 4	08/24/2023	Depository		Harcourt	LA JOYA ISD	4th Grade	SLAR_E	0	120	\$135.90	\$16,308.00
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Comprehensive Student Resource Package 1- Year Print/1-Year Digital Subscription Grade 5	09/29/2023	Houghton Depository	Mifflin	Harcourt	COTULLA ISD	5th Grade	SLAR_E	0	2	\$135.90	\$271.80
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 1	09/19/2023	Houghton Depository	Mifflin	Harcourt	ARLINGTON ISD	1st Grade	SLAR_E	0	25	\$134.85	\$3,371.25

Title	Transaction	Publisher			District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
	Date							Served			Amount
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year	06/08/2023	Houghton Depository	Mifflin	Harcourt	FT SAM HOUSTON ISD	1st Grade	SLAR_E	0	5	\$134.85	\$674.25
Digital Subscription Grade 1											
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 2	08/23/2023	Houghton Depository	Mifflin	Harcourt	ARLINGTON ISD	2nd Grade	SLAR_E	0	25	\$134.85	\$3,371.25
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 2	09/19/2023	Houghton Depository	Mifflin	Harcourt	ARLINGTON ISD	2nd Grade	SLAR_E	0	50	\$134.85	\$6,742.50
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 2	06/08/2023	Houghton Depository	Mifflin	Harcourt	FT SAM HOUSTON ISD	2nd Grade	SLAR_E	0	5	\$134.85	\$674.25
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 3	06/08/2023	Houghton Depository	Mifflin	Harcourt	FT SAM HOUSTON ISD	3rd Grade	SLAR_E	0	5	\$108.10	\$540.50
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 4	06/08/2023	Houghton Depository	Mifflin	Harcourt	FT SAM HOUSTON ISD	4th Grade	SLAR_E	0	5	\$108.10	\$540.50
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade 5	06/08/2023	Houghton Depository	Mifflin	Harcourt	FT SAM HOUSTON ISD	5th Grade	SLAR_E	0	5	\$108.10	\$540.50
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year	08/23/2023	Houghton Depository	Mifflin	Harcourt	ARLINGTON ISD	Kindergarten	SLAR_E	0	25	\$134.85	\$3,371.25

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital Subscription Grade K	Date					Serveu			Amount
8									
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year	09/29/2023	Houghton Mifflin Harcourt Depository	COTULLA ISD	Kindergarten	SLAR_E	0	2	\$134.85	\$269.70
Digital Subscription Grade K									
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 1-Year Print Consumable/1-Year Digital Subscription Grade K	06/08/2023	Houghton Mifflin Harcourt Depository	FT SAM HOUSTON ISD	Kindergarten	SLAR_E	0	5	\$134.85	\$674.25
Texas Reading & Writing Workshop Premium Student Resource Package 3-Year Print Consumable/3-Year Digital Subscription Grade 1	03/11/2024	Houghton Mifflin Harcourt Depository	NORTHWEST ISD	1st Grade	SLAR_E	0	22	\$160.50	\$3,531.00
Texas Reading & Writing Workshop Premium Student Resource Package 3-Year Print Consumable/3-Year Digital Subscription Grade K	03/11/2024	Houghton Mifflin Harcourt Depository	NORTHWEST ISD	Kindergarten	SLAR_E	0	20	\$160.50	\$3,210.00
HMH ¡Arriba la Lectura! Texas Reading & Writing Workshop Premium Student Resource Package 4-Year Print Consumable/4-Year Digital Subscription Grade 1	09/26/2023	Houghton Mifflin Harcourt Depository	IRVING ISD	1st Grade	SLAR_E	0	110	\$173.35	\$19,068.50
HUMAN ANATOMY PHYSIOLOGY, TEXAS DIGITAL STUDENT BUNDLE (2-YEAR SUBSCRIPTION)	09/07/2023	McGraw-Hill School Division (Contract Vendor)	NAVARRO ISD	High School - Other	HLTH_SCIENCE	0	45	\$77.10	\$3,469.50
HUMAN ANATOMY & PHYSIOLOGY, TEXAS DIGITAL STUDENT BUNDLE (ONE-YEAR SUBSCRIPTION)	10/17/2023	McGraw-Hill School Division (Contract Vendor)	NUECES CANYON CISD	High School - Other	HLTH_SCIENCE	0	12	\$38.55	\$462.60
HORTICULTURE TODAY BUNDLE (TEXT + ONLINE LEARNING SUITE,	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	AG_FOOD_NATR	0	1	\$135.00	\$135.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
THROUGH SY 2024-2025)									
Handwriting Without Tears 1- yr print consumable: student workbook and journal. Grade 1. TE sold separately via component requisition on 1st	07/17/2023	Learning Without Tears (LWT)	HAWLEY ISD	1st Grade	HANDWRITING	0	60	\$9.95	\$597.00
yr bundle. Handwriting Without Tears 1- yr print consumable: student workbook and journal. Grade 2. TE sold separately via component requisition on 1st yr bundle.	07/17/2023	Learning Without Tears (LWT)	HAWLEY ISD	2nd Grade	HANDWRITING	0	60	\$9.95	\$597.00
Handwriting Without Tears 1- yr print consumable: student workbook and journal. Grade 3. TE sold separately via component requisition on 1st yr bundle.	07/17/2023	Learning Without Tears (LWT)	HAWLEY ISD	3rd Grade	HANDWRITING	0	68	\$9.95	\$676.60
Handwriting Without Tears 1- yr print consumable: student workbook and journal. Grade 4. TE sold separately via component requisition on 1st yr bundle.	07/17/2023	Learning Without Tears (LWT)	HAWLEY ISD	4th Grade	HANDWRITING	0	70	\$9.95	\$696.50
Handwriting Without Tears 1- yr print consumable: student workbook and journal. Grade 4. TE sold separately via component requisition on 1st yr bundle.	10/27/2023	Learning Without Tears (LWT)	KENEDY ISD	4th Grade	HANDWRITING	0	15	\$9.95	\$149.25
Handwriting Without Tears 1- yr print consumable: student workbook and journal. Grade 5. TE sold separately via component requisition on 1st yr bundle.	07/17/2023	Learning Without Tears (LWT)	HAWLEY ISD	5th Grade	HANDWRITING	0	70	\$9.95	\$696.50
Handwriting Without Tears 1st Grade (1 yr print consumable) 1st year bundle.	10/06/2023	Learning Without Tears (LWT)	BUENA VISTA ISD	1st Grade	HANDWRITING	0	20	\$9.95	\$199.00
Handwriting Without Tears 1st Grade (1 yr print consumable) 1st year bundle.	09/19/2023	Learning Without Tears (LWT)	EDEN CISD	1st Grade	HANDWRITING	0	22	\$9.95	\$218.90
Handwriting Without Tears 1st Grade (1 yr print consumable) 1st year bundle.	12/01/2023	Learning Without Tears (LWT)	FRIONA ISD	1st Grade	HANDWRITING	0	85	\$9.95	\$845.75

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Handwriting Without Tears 1st Grade (1 yr print consumable) 1st year bundle.	07/06/2023	Learning Without Tears (LWT)	IRAAN-SHEFFIELD COLLEGIATE ISD	1st Grade	HANDWRITING	0	20	\$9.95	\$199.00
Handwriting Without Tears 1st Grade (1 yr print consumable) 1st year bundle.	07/25/2023	Learning Without Tears (LWT)	KELTON ISD	1st Grade	HANDWRITING	0	12	\$9.95	\$119.40
Handwriting Without Tears 1st Grade (1 yr print consumable) 1st year bundle.	08/25/2023	Learning Without Tears (LWT)	PREMONT ISD	1st Grade	HANDWRITING	0	40	\$9.95	\$398.00
Handwriting Without Tears 1st Grade (1 yr print consumable) 1st year bundle.	10/12/2023	Learning Without Tears (LWT)	ZEPHYR ISD	1st Grade	HANDWRITING	0	13	\$9.95	\$129.35
Handwriting Without Tears 2 year print consumables, Grade 3	10/20/2023	Learning Without Tears (LWT)	LA VERNIA ISD	3rd Grade	HANDWRITING	0	10	\$18.50	\$185.00
Handwriting Without Tears 2022 updated version- 2 yr print consumable, Kindergarten	06/30/2023	Learning Without Tears (LWT)	LA VERNIA ISD	Kindergarten	HANDWRITING	0	232	\$18.50	\$4,292.00
Handwriting Without Tears 2022 updated version-2 yr print consumable, 1st grade	06/30/2023	Learning Without Tears (LWT)	LA VERNIA ISD	1st Grade	HANDWRITING	0	232	\$18.50	\$4,292.00
Handwriting Without Tears 2022 updated version-2 yr print consumable, 5th grade	06/30/2023	Learning Without Tears (LWT)	LA VERNIA ISD	5th Grade	HANDWRITING	0	251	\$18.50	\$4,643.50
Handwriting Without Tears 2nd Grade (1 yr print consumable) 1st year bundle.	10/06/2023	Learning Without Tears (LWT)	BUENA VISTA ISD	2nd Grade	HANDWRITING	0	20	\$9.95	\$199.00
Handwriting Without Tears 2nd Grade (1 yr print consumable) 1st year bundle.	07/25/2023	Learning Without Tears (LWT)	KELTON ISD	2nd Grade	HANDWRITING	0	12	\$9.95	\$119.40
Handwriting Without Tears 2nd Grade (1 yr print consumable) 1st year bundle.	08/25/2023	Learning Without Tears (LWT)	PREMONT ISD	2nd Grade	HANDWRITING	0	50	\$9.95	\$497.50
Handwriting Without Tears 2nd Grade (1 yr print consumable) 1st year bundle.	10/12/2023	Learning Without Tears (LWT)	ZEPHYR ISD	2nd Grade	HANDWRITING	0	22	\$9.95	\$218.90
Handwriting Without Tears 3rd Grade (1 yr print consumable) 1st year bundle.	10/06/2023	Learning Without Tears (LWT)	BUENA VISTA ISD	3rd Grade	HANDWRITING	0	20	\$9.95	\$199.00
Handwriting Without Tears 3rd Grade (1 yr print consumable) 1st year bundle.	07/25/2023	Learning Without Tears (LWT)	KELTON ISD	3rd Grade	HANDWRITING	0	12	\$9.95	\$119.40
Handwriting Without Tears 3rd Grade (1 yr print consumable) 1st year bundle.	08/25/2023	Learning Without Tears (LWT)	PREMONT ISD	3rd Grade	HANDWRITING	0	55	\$9.95	\$547.25

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Handwriting Without Tears 3rd Grade (1 yr print consumable) 1st year bundle.	10/12/2023	Learning Without Tears (LWT)	REFUGIO ISD	3rd Grade	HANDWRITING	0	55	\$9.95	\$547.25
Handwriting Without Tears 3rd Grade (1 yr print consumable) 1st year bundle.	10/12/2023	Learning Without Tears (LWT)	ZEPHYR ISD	3rd Grade	HANDWRITING	0	13	\$9.95	\$129.35
Handwriting Without Tears 4th Grade (1 yr print consumable) 1st year bundle.	07/25/2023	Learning Without Tears (LWT)	KELTON ISD	4th Grade	HANDWRITING	0	12	\$9.95	\$119.40
Handwriting Without Tears 4th Grade (1 yr print consumable) 1st year bundle.	08/25/2023	Learning Without Tears (LWT)	PREMONT ISD	4th Grade	HANDWRITING	0	120	\$9.95	\$1,194.00
Handwriting Without Tears Grade K,1-yr print consumable: student workbook and journal. TE sold separately via component requisition on 1st yr bundle.	07/17/2023	Learning Without Tears (LWT)	HAWLEY ISD	Kindergarten	HANDWRITING	0	60	\$9.95	\$597.00
Handwriting Without Tears Kindergarten (1 yr print consumable) 1st year bundle.	10/06/2023	Learning Without Tears (LWT)	BUENA VISTA ISD	Kindergarten	HANDWRITING	0	20	\$9.95	\$199.00
Handwriting Without Tears Kindergarten (1 yr print consumable) 1st year bundle.	12/01/2023	Learning Without Tears (LWT)	FRIONA ISD	Kindergarten	HANDWRITING	0	60	\$9.95	\$597.00
Handwriting Without Tears Kindergarten (1 yr print consumable) 1st year bundle.	07/25/2023	Learning Without Tears (LWT)	KELTON ISD	Kindergarten	HANDWRITING	0	12	\$9.95	\$119.40
Handwriting Without Tears Kindergarten (1 yr print consumable) 1st year bundle.	08/25/2023	Learning Without Tears (LWT)	PREMONT ISD	Kindergarten	HANDWRITING	0	60	\$9.95	\$597.00
Handwriting Without Tears Kindergarten (1 yr print consumable) 1st year bundle.	10/12/2023	Learning Without Tears (LWT)	ZEPHYR ISD	Kindergarten	HANDWRITING	0	15	\$9.95	\$149.25
Handwriting Without Tears Spanish 1-yr print consumables: student workbook and journal. Grade 4. TE sold separately via component requisition on 1st yr bundle.	10/27/2023	Learning Without Tears (LWT)	KENEDY ISD	4th Grade	SLAR_HNDWRTG	0	2	\$9.95	\$19.90
Handwriting Without Tears Transitional Kindergarten (1 yr print consumable). 1st year bundle	07/06/2023	Learning Without Tears (LWT)	IRAAN-SHEFFIELD COLLEGIATE ISD	Kindergarten	HANDWRITING	0	22	\$9.35	\$205.70
Handwriting Without Tears, 2022 updated version-1st grade, 1 yr print consumables,	07/17/2023	Learning Without Tears (LWT)	FABENS ISD	1st Grade	SLAR_HNDWRTG	0	80	\$9.95	\$796.00

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
1 11 0 11 11	Date					Served			Amount
bundle Spanish student									
edition and English journal.									
TE sold separately via component requisition on 2 yr									
consumable option									
Handwriting Without Tears,	07/17/2023	Learning Without Tears (LWT)	FABENS ISD	1st Grade	HANDWRITING	0	150	\$9.95	\$1,492.50
2022 updated version-1st	07/17/2023	Learning without Tears (LWT)	FADENS ISD	1st Grade	HANDWKITING	0	130	\$9.93	\$1,492.30
grade, 1 yr print consumables,									
bundle student edition and									
journal, TE sold separately									
via component requisition on									
2 yr consumable option									
Handwriting Without Tears,	09/05/2023	Learning Without Tears (LWT)	SUNNYVALE ISD	1st Grade	HANDWRITING	0	150	\$9.95	\$1,492.50
2022 updated version-1st	03/03/2023	Dearning Willout Tears (EWT)	SCHILL VILLE ISB	Tot Grade	THE CONTRIBUTE		130	Ψ7.75	φ1,192.30
grade, 1 yr print consumables,									
bundle student edition and									
journal, TE sold separately									
via component requisition on									
2 yr consumable option									
Handwriting Without Tears,	06/30/2023	Learning Without Tears (LWT)	LA VERNIA ISD	2nd Grade	HANDWRITING	0	295	\$18.50	\$5,457.50
2022 updated version-2 yr		, ,							
print consumable, 2nd grade									
Handwriting Without Tears,	06/30/2023	Learning Without Tears (LWT)	LA VERNIA ISD	3rd Grade	HANDWRITING	0	245	\$18.50	\$4,532.50
2022 updated version-2 yr									
print consumable, 3rd grade									
Handwriting Without Tears,	06/30/2023	Learning Without Tears (LWT)	LA VERNIA ISD	4th Grade	HANDWRITING	0	275	\$18.50	\$5,087.50
2022 updated version-2 yr									
print consumable, 4th grade									
Handwriting Without Tears,	07/17/2023	Learning Without Tears (LWT)	FABENS ISD	2nd Grade	HANDWRITING	0	150	\$9.95	\$1,492.50
2022 updated version-2nd									
grade, 1 yr print consumables,									
bundle student edition and									
journal, TE sold separately									
via component requisition on									
2 yr consumable option Handwriting Without Tears,	09/05/2023	Learning Without Tears (LWT)	SUNNYVALE ISD	2nd Grade	HANDWRITING	0	165	\$9.95	\$1,641.75
2022 updated version-2nd	09/03/2023	Learning without Tears (LWT)	SUNN I VALE ISD	Ziid Grade	HANDWRITING	0	103	\$9.93	\$1,041.73
grade, 1 yr print consumables,									
bundle student edition and									
journal, TE sold separately									
via component requisition on									
2 yr consumable option									
Handwriting Without Tears,	07/17/2023	Learning Without Tears (LWT)	FABENS ISD	3rd Grade	HANDWRITING	0	150	\$9.95	\$1,492.50
2022 updated version-3rd	2,,1,,2025			214 21442			150	47.75	ψ1,.> 2. 30
grade, 1 yr print consumables,									
bundle student edition and									
		1	i i	1		1			

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
via component requisition on						202100			
2 yr consumable optionn									
Handwriting Without Tears,	09/05/2023	Learning Without Tears (LWT)	SUNNYVALE ISD	3rd Grade	HANDWRITING	0	165	\$9.95	\$1,641.75
2022 updated version-3rd									
grade, 1 yr print consumables,									
bundle student edition and									
journal, TE sold separately									
via component requisition on									
2 yr consumable optionn									
Handwriting Without Tears,	07/17/2023	Learning Without Tears (LWT)	FABENS ISD	4th Grade	HANDWRITING	0	150	\$9.95	\$1,492.50
2022 updated version-4th									
grade, 1 yr print consumables,									
bundle student edition and									
journal, TE sold separately									
via component requisition on									
2 yr consumable option									
Handwriting Without Tears,	09/05/2023	Learning Without Tears (LWT)	SUNNYVALE ISD	4th Grade	HANDWRITING	0	180	\$9.95	\$1,791.00
2022 updated version-4th									
grade, 1 yr print consumables,									
bundle student edition and									
journal, TE sold separately									
via component requisition on									
2 yr consumable option	07/17/0002	I ' W'd (T (I WE)	EADENG IGD	5:1 C 1	TI A NIDWIDITING	0	150	¢0.05	¢1 400 50
Handwriting Without Tears,	07/17/2023	Learning Without Tears (LWT)	FABENS ISD	5th Grade	HANDWRITING	0	150	\$9.95	\$1,492.50
2022 updated version-5th									
grade, 1 yr print consumables, bundle student edition and									
journal, TE sold separately									
via component requisition on									
2 yr consumable option									
Handwriting Without Tears,	07/17/2023	Learning Without Tears (LWT)	FABENS ISD	Kindergarten	SLAR_HNDWRTG	0	80	\$9.95	\$796.00
2022 updated version-	07/17/2023	Learning without rears (LW1)	FABENS ISD	Kilidelgarten	SLAK_HNDWKIO	U	80	\$9.93	\$790.00
Kindergarten, 1 yr print									
consumables, bundle Spanish									
student edition and English									
journal. TE sold separately									
via component requisition on									
2 yr consumable option									
Handwriting Without Tears,	07/17/2023	Learning Without Tears (LWT)	FABENS ISD	Kindergarten	HANDWRITING	0	150	\$9.95	\$1,492.50
2022 updated version-		(2.17)					123	47.70	,.,2.50
Kindergarten, 1 yr print									
consumables, bundle student									
edition and journal, TE sold									
separately via component									
requisition on 2 yr									
consumable option			1						

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Handwriting Without Tears, 2022 updated version- Kindergarten, 1 yr print consumables, bundle student edition and journal, TE sold separately via component requisition on 2 yr	09/05/2023	Learning Without Tears (LWT)	SUNNYVALE ISD	Kindergarten	HANDWRITING	0	155	\$9.95	\$1,542.25
Consumable option Handwriting Without Tears, 2022 updated version-print consumable, 1st grade	08/23/2023	Learning Without Tears (LWT)	CENTERVILLE ISD	1st Grade	HANDWRITING	0	12	\$36.64	\$439.68
through SY 2026-27 Handwriting Without Tears, 2022 updated version-print consumable, 2nd grade, through SY 2026-27	08/23/2023	Learning Without Tears (LWT)	CENTERVILLE ISD	2nd Grade	HANDWRITING	0	12	\$36.64	\$439.68
Handwriting Without Tears, 2022 updated version-print consumable, 3rd grade, through SY 2026-27	08/23/2023	Learning Without Tears (LWT)	CENTERVILLE ISD	3rd Grade	HANDWRITING	0	15	\$36.64	\$549.60
Handwriting Without Tears, Spanish 1st Grade (1 yr print consumable) 1st year bundle.	12/01/2023	Learning Without Tears (LWT)	FRIONA ISD	1st Grade	SLAR_HNDWRTG	0	20	\$9.95	\$199.00
Handwriting Without Tears, Spanish Kindergarten (1 yr print consumable) 1st year bundle	12/01/2023	Learning Without Tears (LWT)	FRIONA ISD	Kindergarten	SLAR_HNDWRTG	0	20	\$9.95	\$199.00
HealthCenter21: Principles of Health Science (1-year subscription) for 51-100 student licenses	07/17/2023	Applied Educational Systems, Inc.	ROBINSON ISD	High School - Other	HLTH_SCIENCE	0	75	\$37.00	\$2,775.00
HealthCenter21: Principles of Health Science (1-year subscription) for over 300 student licenses	08/23/2023	Applied Educational Systems, Inc.	ALIEF ISD	High School - Other	HLTH_SCIENCE	0	450	\$24.00	\$10,800.00
Hole's Human Anatomy & Physiology Texas Student Bundle (2Yrs Digital & Print)	09/08/2023	McGraw-Hill School Division (Contract Vendor)	SAINT JO ISD	High School - Other	HLTH_SCIENCE	0	2	\$150.00	\$300.00
Hole's Human Anatomy & Physiology Texas Student Bundle (2Yrs Digital & Print)	10/12/2023	McGraw-Hill School Division (Contract Vendor)	ZEPHYR ISD	High School - Other	HLTH_SCIENCE	0	10	\$150.00	\$1,500.00
Holt McDougal Biology Texas Digital Classroom Package 1-Year (75 Students)	08/02/2023	Houghton Mifflin Harcourt Depository	HENRIETTA ISD	High School - Science	SCIENCE_EMH	295	1	\$900.00	\$900.00
Holt McDougal Biology Texas Digital Classroom Package 1-Year (75 Students)	09/07/2023	Houghton Mifflin Harcourt Depository	NAVARRO ISD	High School - Science	SCIENCE_EMH	295	4	\$900.00	\$3,600.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Holt McDougal Environmental Science Texas Deluxe Student Resource Package 1-Year Print/1-Year Digital	07/17/2023	Houghton Mifflin Hard Depository	ourt HAWLEY ISD	High School - Science	SCIENCE_EMH	0	20	\$99.00	\$1,980.00
Holt McDougal Environmental Science Texas Deluxe Student Resource Package 1-Year Print/1-Year Digital	10/20/2023	Houghton Mifflin Hard Depository	OUIT POSITIVE SOLUTIONS CHARTER SCHOOL	High School - Science	SCIENCE_EMH	0	4	\$99.00	\$396.00
Holt McDougal Environmental Science Texas Deluxe Student Resource Package 1-Year Print/1-Year Digital	10/20/2023	Houghton Mifflin Hard Depository	TEXAS EMPOWERMENT ACADEMY	High School - Science	SCIENCE_EMH	0	4	\$99.00	\$396.00
Holt McDougal Environmental Science Texas Digital Classroom Package 1- Year (75 Students)	09/29/2023	Houghton Mifflin Hard Depository	ourt COTULLA ISD	High School - Science	SCIENCE_EMH	105	1	\$900.00	\$900.00
Holt McDougal Environmental Science Texas Digital Classroom Package 1- Year (75 Students)	10/20/2023	Houghton Mifflin Hard Depository	ourt ECTOR COUNTY ISD	High School - Science	SCIENCE_EMH	105	1	\$900.00	\$900.00
Holt McDougal Modern Chemistry Texas Digital Classroom Package 1-Year (75 Students)	08/02/2023	Houghton Mifflin Hard Depository	ourt HENRIETTA ISD	High School - Science	SCIENCE_EMH	75	1	\$900.00	\$900.00
Holt McDougal Physics Texas Basic Student Resource Package Print/1-Year Digital	10/20/2023	Houghton Mifflin Hard Depository	ourt TEXAS EMPOWERMENT ACADEMY	High School - Science	SCIENCE_EMH	0	13	\$90.00	\$1,170.00
INTRODUCTION TO ANATOMY AND PHYSIOLOGY - ONLINE STUDENT CENTER (1-YR SUBSCRIPTION)	09/08/2023	Goodheart-Willcox Company	LEXINGTON ISD	High School - Other	HLTH_SCIENCE	0	19	\$45.00	\$855.00
INTRODUCTION TO ANATOMY AND PHYSIOLOGY ONLINE STUDENT CENTER (THROUGH SY 2024-2025)	10/31/2023	Goodheart-Willcox Company	BURKEVILLE ISD	High School - Other	HLTH_SCIENCE	0	18	\$90.75	\$1,633.50
INTRODUCTION TO ANATOMY AND PHYSIOLOGY - ONLINE STUDENT CENTER (THROUGH SY 2024-2025)	10/20/2023	Goodheart-Willcox Company	SANFORD-FRITCH ISD	High School - Other	HLTH_SCIENCE	0	15	\$90.75	\$1,361.25
INTRODUCTION TO ANATOMY AND	09/08/2023	Goodheart-Willcox Company	BOVINA ISD	High School - Other	HLTH_SCIENCE	0	15	\$78.96	\$1,184.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
PHYSIOLOGY - TEXT									
INTRODUCTION TO MEDICAL TERMINOLOGY - ONLINE LEARNING SUITE (1-YR	07/17/2023	Goodheart-Willcox Company	ROBINSON ISD	High School - Other	HLTH_SCIENCE	0	1	\$39.66	\$39.66
SUBSCRIPTION) INTRODUCTION TO MEDICAL TERMINOLOGY - ONLINE LEARNING SUITE (1-YR SUBSCRIPTION)	09/20/2023	Goodheart-Willcox Company	WYLIE ISD	High School - Other	HLTH_SCIENCE	0	25	\$39.66	\$991.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/20/2023	Learning.com	ABILENE ISD	3rd Grade	TECH_APP_EMH	0	1,170	\$8.50	\$9,945.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/20/2023	Learning.com	ABILENE ISD	5th Grade	TECH_APP_EMH	0	1,075	\$8.50	\$9,137.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/20/2023	Learning.com	ABILENE ISD	Kindergarten	TECH_APP_EMH	0	1,165	\$8.50	\$9,902.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/20/2023	Learning.com	ABILENE ISD	2nd Grade	TECH_APP_EMH	0	1,175	\$8.50	\$9,987.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/20/2023	Learning.com	ABILENE ISD	4th Grade	TECH_APP_EMH	0	1,040	\$8.50	\$8,840.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/20/2023	Learning.com	ABILENE ISD	1st Grade	TECH_APP_EMH	0	1,165	\$8.50	\$9,902.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	6th Grade	TECH_APP_EMH	0	200	\$8.50	\$1,700.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	Kindergarten	TECH_APP_EMH	0	160	\$8.50	\$1,360.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	5th Grade	TECH_APP_EMH	0	176	\$8.50	\$1,496.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
access)									
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	4th Grade	TECH_APP_EMH	0	176	\$8.50	\$1,496.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	3rd Grade	TECH_APP_EMH	0	176	\$8.50	\$1,496.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	2nd Grade	TECH_APP_EMH	0	176	\$8.50	\$1,496.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	1st Grade	TECH_APP_EMH	0	176	\$8.50	\$1,496.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	8th Grade	TECH_APP_EMH	0	170	\$8.50	\$1,445.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	ARLINGTON CLASSICS ACADEMY	7th Grade	TECH_APP_EMH	0	175	\$8.50	\$1,487.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/17/2023	Learning.com	BEAUMONT ISD	6th Grade	TECH_APP_EMH	0	944	\$8.50	\$8,024.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	10/18/2023	Learning.com	BIG SPRINGS CHARTER SCHOOL	6th Grade	TECH_APP_EMH	0	25	\$8.50	\$212.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/24/2023	Learning.com	BOLING ISD	7th Grade	TECH_APP_EMH	0	60	\$8.50	\$510.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/24/2023	Learning.com	BOLING ISD	6th Grade	TECH_APP_EMH	0	60	\$8.50	\$510.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/24/2023	Learning.com	BOLING ISD	8th Grade	TECH_APP_EMH	0	60	\$8.50	\$510.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/10/2023	Learning.com	BRADY ISD	6th Grade	TECH_APP_EMH	0	75	\$8.50	\$637.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	1st Grade	TECH_APP_EMH	0	52	\$8.50	\$442.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	6th Grade	TECH_APP_EMH	0	42	\$8.50	\$357.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	7th Grade	TECH_APP_EMH	0	64	\$8.50	\$544.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	4th Grade	TECH_APP_EMH	0	41	\$8.50	\$348.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	8th Grade	TECH_APP_EMH	0	61	\$8.50	\$518.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	2nd Grade	TECH_APP_EMH	0	41	\$8.50	\$348.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	3rd Grade	TECH_APP_EMH	0	44	\$8.50	\$374.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	Kindergarten	TECH_APP_EMH	0	40	\$8.50	\$340.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	BRUCEVILLE-EDDY ISD	5th Grade	TECH_APP_EMH	0	40	\$8.50	\$340.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	10/06/2023	Learning.com	EAGLE PASS ISD	2nd Grade	TECH_APP_EMH	0	2,655	\$8.50	\$22,567.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8	10/06/2023	Learning.com	EAGLE PASS ISD	6th Grade	TECH_APP_EMH	0	885	\$8.50	\$7,522.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
access)									
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	10/06/2023	Learning.com	EAGLE PASS ISD	5th Grade	TECH_APP_EMH	0	2,655	\$8.50	\$22,567.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	FLORENCE ISD	1st Grade	TECH_APP_EMH	0	80	\$8.50	\$680.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	FLORENCE ISD	5th Grade	TECH_APP_EMH	0	90	\$8.50	\$765.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	FLORENCE ISD	8th Grade	TECH_APP_EMH	0	15	\$8.50	\$127.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	FLORENCE ISD	7th Grade	TECH_APP_EMH	0	15	\$8.50	\$127.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	FLORENCE ISD	3rd Grade	TECH_APP_EMH	0	80	\$8.50	\$680.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	FLORENCE ISD	Kindergarten	TECH_APP_EMH	0	80	\$8.50	\$680.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	FLORENCE ISD	4th Grade	TECH_APP_EMH	0	85	\$8.50	\$722.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	FLORENCE ISD	2nd Grade	TECH_APP_EMH	0	80	\$8.50	\$680.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	6th Grade	TECH_APP_EMH	0	250	\$8.50	\$2,125.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	7th Grade	TECH_APP_EMH	0	250	\$8.50	\$2,125.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	2nd Grade	TECH_APP_EMH	0	250	\$8.50	\$2,125.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	Kindergarten	TECH_APP_EMH	0	250	\$8.50	\$2,125.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	5th Grade	TECH_APP_EMH	0	250	\$8.50	\$2,125.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	3rd Grade	TECH_APP_EMH	0	250	\$8.50	\$2,125.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	4th Grade	TECH_APP_EMH	0	250	\$8.50	\$2,125.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	8th Grade	TECH_APP_EMH	0	255	\$8.50	\$2,167.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	HUNTSVILLE ISD	1st Grade	TECH_APP_EMH	0	250	\$8.50	\$2,125.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	JIM NED CISD	2nd Grade	TECH_APP_EMH	0	150	\$8.50	\$1,275.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	JIM NED CISD	Kindergarten	TECH_APP_EMH	0	100	\$8.50	\$850.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	JIM NED CISD	1st Grade	TECH_APP_EMH	0	110	\$8.50	\$935.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/30/2023	Learning.com	JIM NED CISD	3rd Grade	TECH_APP_EMH	0	135	\$8.50	\$1,147.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8	09/19/2023	Learning.com	JUBILEE ACADEMIES	Kindergarten	TECH_APP_EMH	0	448	\$8.50	\$3,808.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
access)									
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/19/2023	Learning.com	JUBILEE ACADEMIES	5th Grade	TECH_APP_EMH	0	444	\$8.50	\$3,774.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/19/2023	Learning.com	JUBILEE ACADEMIES	6th Grade	TECH_APP_EMH	0	444	\$8.50	\$3,774.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/19/2023	Learning.com	JUBILEE ACADEMIES	7th Grade	TECH_APP_EMH	0	444	\$8.50	\$3,774.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/19/2023	Learning.com	JUBILEE ACADEMIES	8th Grade	TECH_APP_EMH	0	444	\$8.50	\$3,774.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/19/2023	Learning.com	JUBILEE ACADEMIES	1st Grade	TECH_APP_EMH	0	444	\$8.50	\$3,774.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/19/2023	Learning.com	JUBILEE ACADEMIES	2nd Grade	TECH_APP_EMH	0	444	\$8.50	\$3,774.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/19/2023	Learning.com	JUBILEE ACADEMIES	3rd Grade	TECH_APP_EMH	0	444	\$8.50	\$3,774.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/19/2023	Learning.com	JUBILEE ACADEMIES	4th Grade	TECH_APP_EMH	0	444	\$8.50	\$3,774.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	LAKE TRAVIS ISD	Kindergarten	TECH_APP_EMH	0	4,465	\$8.50	\$37,952.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	06/16/2023	Learning.com	MEYERSVILLE ISD	8th Grade	TECH_APP_EMH	0	100	\$8.50	\$850.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	3rd Grade	TECH_APP_EMH	0	54	\$8.50	\$459.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	8th Grade	TECH_APP_EMH	0	40	\$8.50	\$340.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	4th Grade	TECH_APP_EMH	0	54	\$8.50	\$459.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	5th Grade	TECH_APP_EMH	0	54	\$8.50	\$459.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	Kindergarten	TECH_APP_EMH	0	54	\$8.50	\$459.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	7th Grade	TECH_APP_EMH	0	40	\$8.50	\$340.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	1st Grade	TECH_APP_EMH	0	57	\$8.50	\$484.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	2nd Grade	TECH_APP_EMH	0	54	\$8.50	\$459.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	MIDLAND ACADEMY CHARTER SCHOOL	6th Grade	TECH_APP_EMH	0	40	\$8.50	\$340.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/07/2023	Learning.com	ODEM-EDROY ISD	8th Grade	TECH_APP_EMH	0	75	\$8.50	\$637.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	10/17/2023	Learning.com	PFLUGERVILLE ISD	1st Grade	TECH_APP_EMH	0	15,314	\$8.50	\$130,169.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	6th Grade	TECH_APP_EMH	0	1,918	\$8.50	\$16,303.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	Kindergarten	TECH_APP_EMH	0	1,686	\$8.50	\$14,331.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
access)									
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	7th Grade	TECH_APP_EMH	0	2,026	\$8.50	\$17,221.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	8th Grade	TECH_APP_EMH	0	2,026	\$8.50	\$17,221.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	3rd Grade	TECH_APP_EMH	0	2,069	\$8.50	\$17,586.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	5th Grade	TECH_APP_EMH	0	1,937	\$8.50	\$16,464.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	1st Grade	TECH_APP_EMH	0	1,782	\$8.50	\$15,147.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	4th Grade	TECH_APP_EMH	0	2,032	\$8.50	\$17,272.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	11/20/2023	Learning.com	PHARR-SAN JUAN- ALAMO ISD	2nd Grade	TECH_APP_EMH	0	1,883	\$8.50	\$16,005.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/10/2023	Learning.com	PREMONT ISD	6th Grade	TECH_APP_EMH	0	55	\$8.50	\$467.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	8th Grade	TECH_APP_EMH	0	170	\$8.50	\$1,445.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	7th Grade	TECH_APP_EMH	0	195	\$8.50	\$1,657.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	5th Grade	TECH_APP_EMH	0	110	\$8.50	\$935.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	6th Grade	TECH_APP_EMH	0	190	\$8.50	\$1,615.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	3rd Grade	TECH_APP_EMH	0	120	\$8.50	\$1,020.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	2nd Grade	TECH_APP_EMH	0	200	\$8.50	\$1,700.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	1st Grade	TECH_APP_EMH	0	360	\$8.50	\$3,060.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	Kindergarten	TECH_APP_EMH	0	450	\$8.50	\$3,825.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	09/08/2023	Learning.com	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	4th Grade	TECH_APP_EMH	0	110	\$8.50	\$935.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	SPLENDORA ISD	6th Grade	TECH_APP_EMH	0	410	\$8.50	\$3,485.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	SPLENDORA ISD	Kindergarten	TECH_APP_EMH	0	375	\$8.50	\$3,187.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	SPLENDORA ISD	5th Grade	TECH_APP_EMH	0	402	\$8.50	\$3,417.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	SPLENDORA ISD	3rd Grade	TECH_APP_EMH	0	380	\$8.50	\$3,230.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	SPLENDORA ISD	2nd Grade	TECH_APP_EMH	0	385	\$8.50	\$3,272.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8	08/02/2023	Learning.com	SPLENDORA ISD	1st Grade	TECH_APP_EMH	0	383	\$8.50	\$3,255.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
access)									
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/02/2023	Learning.com	SPLENDORA ISD	4th Grade	TECH_APP_EMH	0	365	\$8.50	\$3,102.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/23/2023	Learning.com	STOCKDALE ISD	7th Grade	TECH_APP_EMH	0	30	\$8.50	\$255.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/23/2023	Learning.com	STOCKDALE ISD	8th Grade	TECH_APP_EMH	0	30	\$8.50	\$255.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/23/2023	Learning.com	STOCKDALE ISD	6th Grade	TECH_APP_EMH	0	25	\$8.50	\$212.50
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	3rd Grade	TECH_APP_EMH	0	70	\$8.50	\$595.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	2nd Grade	TECH_APP_EMH	0	70	\$8.50	\$595.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	1st Grade	TECH_APP_EMH	0	70	\$8.50	\$595.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	8th Grade	TECH_APP_EMH	0	70	\$8.50	\$595.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	7th Grade	TECH_APP_EMH	0	70	\$8.50	\$595.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	6th Grade	TECH_APP_EMH	0	70	\$8.50	\$595.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	Kindergarten	TECH_APP_EMH	0	70	\$8.50	\$595.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	5th Grade	TECH_APP_EMH	0	70	\$8.50	\$595.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	07/06/2023	Learning.com	WASKOM ISD	4th Grade	TECH_APP_EMH	0	70	\$8.50	\$595.00
Inquiry Bundle, 1 year subscription for fewer than 20,000 student licenses (K-8 access)	08/24/2023	Learning.com	WESLACO ISD	Kindergarten	TECH_APP_EMH	0	6,620	\$8.50	\$56,270.00
Integrated Physics & Chemistry Texas Student Edition Bundle (Print & 1 Yr Digital)	08/22/2023	McGraw-Hill School Division (Contract Vendor)	GORMAN ISD	High School - Science	SCIENCE_EMH	0	10	\$80.97	\$809.70
Integrated Physics & Chemistry Texas Student Edition Bundle (Print & 1 Yr Digital)	09/14/2023	McGraw-Hill School Division (Contract Vendor)	SER-NINOS CHARTER SCHOOL	High School - Science	SCIENCE_EMH	0	60	\$80.97	\$4,858.20
Introduction to Culinary Arts - Student Edition (Print) + Workbook + Project-Based Learning Digital Course Through SY 2024-2025	09/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LAMAR CISD	High School - Other	HOSP_TOURISM	0	120	\$125.97	\$15,116.40
InvestiGator Club Prekindergarten Learning System Digital with print (22 students through 2028-2029)	06/02/2023	Robert-Leslie Publishing, The Early Childhood Company	NEW SUMMERFIELD ISD	Pre- Kindergarten	PRK_K_SYS	35	2	\$3,299.00	\$6,598.00
Istation Reading, 1 year	08/02/2023	Imagination Station Inc / istation	BRACKETT ISD	8th Grade	ELAR_M	0	45	\$29.00	\$1,305.00
Istation Reading, 1 year	08/02/2023	Imagination Station Inc / istation	BRACKETT ISD	6th Grade	ELAR_M	0	45	\$29.00	\$1,305.00
Istation Reading, 1 year	08/02/2023	Imagination Station Inc / istation	BRACKETT ISD	7th Grade	ELAR_M	0	45	\$29.00	\$1,305.00
Istation Reading, 1 year	08/24/2023	Imagination Station Inc / istation	BRACKETT ISD	5th Grade	ELAR_E	0	45	\$29.00	\$1,305.00
Istation Reading, 1 year	08/24/2023	Imagination Station Inc / istation	BRACKETT ISD	4th Grade	ELAR_E	0	45	\$29.00	\$1,305.00
Istation Reading, 1 year	08/24/2023	Imagination Station Inc / istation	BRACKETT ISD	3rd Grade	ELAR_E	0	45	\$29.00	\$1,305.00
Istation Reading, 1 year	08/24/2023	Imagination Station Inc / istation	BRACKETT ISD	2nd Grade	ELAR_E	0	45	\$29.00	\$1,305.00
Istation Reading, 1 year	08/24/2023	Imagination Station Inc / istation	BRACKETT ISD	1st Grade	ELAR_E	0	45	\$29.00	\$1,305.00
Istation Reading, 1 year	08/24/2023	Imagination Station Inc / istation	BRACKETT ISD	Kindergarten	ELAR_E	0	45	\$29.00	\$1,305.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Istation Reading, 1 year	05/26/2023	Imagination Station Inc / istation	MULLIN ISD	4th Grade	ELAR_E	0	10	\$29.00	\$290.00
Istation Reading, 1 year	05/26/2023	Imagination Station Inc / istation	MULLIN ISD	2nd Grade	ELAR_E	0	10	\$29.00	\$290.00
Istation Reading, 1 year	05/26/2023	Imagination Station Inc / istation	MULLIN ISD	1st Grade	ELAR_E	0	10	\$29.00	\$290.00
Istation Reading, 1 year	05/26/2023	Imagination Station Inc / istation	MULLIN ISD	3rd Grade	ELAR_E	0	5	\$29.00	\$145.00
Istation Reading, 1 year	05/26/2023	Imagination Station Inc / istation	MULLIN ISD	5th Grade	ELAR_E	0	8	\$29.00	\$232.00
Istation Reading, 1 year	05/26/2023	Imagination Station Inc / istation	MULLIN ISD	6th Grade	ELAR_M	0	8	\$29.00	\$232.00
Istation Reading, 1 year	05/26/2023	Imagination Station Inc / istation	MULLIN ISD	7th Grade	ELAR_M	0	15	\$29.00	\$435.00
Istation Reading, 1 year	08/22/2023	Imagination Station Inc / istation	MULLIN ISD	8th Grade	ELAR_M	0	12	\$29.00	\$348.00
Java Methods (1yr subscription)	07/28/2023	Skylight Publishing	GARLAND ISD	High School - Other	TECH_APP_EMH	0	83	\$33.95	\$2,817.85
Journalism: Publishing Across Media - Bundle (Text + Digital SE & TE through SY 2027-2028)	10/26/2023	Goodheart-Willcox Company	CRANE ISD	High School - ELA	ENGLISH_H	0	30	\$119.97	\$3,599.10
LIFESPAN DEVELOPMENT - ONLINE LEARNING SUITE (THROUGH SY 2024-2025)	07/06/2023	Goodheart-Willcox Company	HARLINGEN CISD	High School - Other	ED_TRAINING	0	27	\$90.75	\$2,450.25
LIFESPAN DEVELOPMENT BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	08/21/2023	Goodheart-Willcox Company	HARLINGEN CISD	High School - Other	ED_TRAINING	0	30	\$118.50	\$3,555.00
Learning Audio and Video Production - Student Edition (Print) with Digital eText (Digital through SY 2024-2025)	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	INGLESIDE ISD	High School - Other	ARTS_AV_COMM	0	20	\$105.97	\$2,119.40
Listos y Adelante Early Learning Comprehensive Dual Language Classroom Program Texas (Deluxe package includes: Spanish and English print material, manipulatives, 6-year Dual Language consumables, and 6-year Dual Language digital access for 20 students.)	08/24/2023	Benchmark Education	SPLENDORA ISD	Pre- Kindergarten	PRK_K_SYS	20	1	\$6,310.00	\$6,310.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
MODERN AUTOMOTIVE TECHNOLOGY - TEXT	06/30/2023	Goodheart-Willcox Company	KINGSVILLE ISD	High School - Other	TRANS_DIST_L	0	90	\$99.00	\$8,910.00
Mastering Competitive Debate hardcover/digital- through SY2027-2028- Student Edition and print/digital-through SY2027- 2028- Teacher Edition	09/14/2023	Perfection Learning Corporation	SER-NINOS CHARTER SCHOOL	High School - ELA	ENGLISH_H	0	60	\$64.95	\$3,897.00
Mathematical Models with Applications, Texas Edition- 3 years -Digital Only	09/08/2023	Cengage Learning Inc/Brooks/Cole (formerly Thomson Learning/Brooks-Cole)	CLARKSVILLE ISD	High School - Math	MATH_H	0	75	\$75.00	\$5,625.00
Mirrors & Windows: Connecting with Literature TX Print Student Package Grade 10 (print SE and print TX TE w/teacher digital resources) through SY 2027- 28	08/23/2023	Carnegie Learning, Inc. dba EMC Publishing LLC	CENTERVILLE ISD	High School - ELA	ENGLISH_H	0	15	\$119.95	\$1,799.25
Mirrors & Windows: Connecting with Literature TX Print Student Package Grade 9 (print SE and print TX TE w/teacher digital resources) through SY 2027- 28	08/23/2023	Carnegie Learning, Inc. dba EMC Publishing LLC	CENTERVILLE ISD	High School - ELA	ENGLISH_H	0	15	\$119.95	\$1,799.25
PHOTOGRAPHY: PORTFOLIO TO PROFESSION - TEXT	07/06/2023	Goodheart-Willcox Company	JUDSON ISD	High School - Other	ARTS_AV_COMM	0	25	\$78.96	\$1,974.00
PHOTOGRAPHY: PORTFOLIO TO PROFESSION BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	ARTS_AV_COMM	0	1	\$118.50	\$118.50
PRINCIPLES OF AGRICULTURE, FOOD, AND NATURAL RESOURCES BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	AG_FOOD_NATR	0	1	\$135.00	\$135.00
PRINCIPLES OF BUSINESS, MARKETING, AND FINANCE BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	BUS_MGMT_AD M	0	1	\$118.50	\$118.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
PRINCIPLES OF FOOD SCIENCE - ONLINE STUDENT CENTER (1-YR SUBSCRIPTION)	09/08/2023	Goodheart-Willcox Company	GANADO ISD	High School - Other	HOSP_TOURISM	0	10	\$48.30	\$483.00
PRINCIPLES OF FOOD SCIENCE - TEXT (THROUGH SY 2024-2025)	07/06/2023	Goodheart-Willcox Company	HARDIN ISD	High School - Other	HOSP_TOURISM	0	30	\$84.00	\$2,520.00
PRINCIPLES OF FOOD SCIENCE - TEXT (THROUGH SY 2024-2025)	09/08/2023	Goodheart-Willcox Company	WINNSBORO ISD	High School - Other	HOSP_TOURISM	0	25	\$84.00	\$2,100.00
PRINCIPLES OF FOOD SCIENCE BUNDLE (TEXT + ONLINE STUDENT CENTER, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	HOSP_TOURISM	0	1	\$126.00	\$126.00
PRINCIPLES OF INFORMATION TECHNOLOGY BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	INFO_TECH	0	1	\$120.00	\$120.00
PreK On My Way (20 students, includes one year consumables)	08/02/2023	Scholastic Inc.	BIRDVILLE ISD	Pre- Kindergarten	PRK_K_SYS	218	2	\$2,900.00	\$5,800.00
PreK On My Way (20 students, includes one year consumables)	06/08/2023	Scholastic Inc.	EVANT ISD	Pre- Kindergarten	PRK_K_SYS	218	1	\$2,900.00	\$2,900.00
PreK On My Way (20 students, includes one year consumables)	10/30/2023	Scholastic Inc.	LAMAR CISD	Pre- Kindergarten	PRK_K_SYS	218	1	\$2,900.00	\$2,900.00
PreK On My Way (20 students, includes one year consumables)	11/09/2023	Scholastic Inc.	LAMAR CISD	Pre- Kindergarten	PRK_K_SYS	218	4	\$2,900.00	\$11,600.00
PreK On My Way en español (20 estudiantes, incluye consumibles de un año)	08/02/2023	Scholastic Inc.	BIRDVILLE ISD	Pre- Kindergarten	PRK_K_SYS	26	1	\$2,900.00	\$2,900.00
Principles of Agriculture, Food & Natural Resources Texas Student Edition (Print) with Digital eText (Digital through SY 2024-2025)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	TEXAS CITY ISD	High School - Other	AG_FOOD_NATR	0	50	\$110.97	\$5,548.50
Principles of Arts, Audio and Video Technology and Communication - Texas Student Edition (Print) with Digital eText (Digital through SY 2024-2025)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROCKPORT-FULTON ISD	High School - Other	ARTS_AV_COMM	0	55	\$110.97	\$6,103.35

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Principles of Health Science - Texas Student Edition (Print) with Digital eText (Digital through SY 2024-2025)	01/17/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	FORT ELLIOTT CISD	High School - Other	HLTH_SCIENCE	0	15	\$110.97	\$1,664.55
Professional Communications - Student Edition (Print) with Digital eText Access (Digital through SY 2024-2025) + Workbook	01/05/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	CALVIN NELMS CHARTER SCHOOLS	High School - Other	ARTS_AV_COMM	0	45	\$110.97	\$4,993.65
Projects in Professional Communications (hardcover Student Edition and print/digital-through SY2027- 2028-Teacher Wraparound Edition)	12/13/2023	Perfection Learning Corporation	CRANE ISD	High School - ELA	ENGLISH_H	0	30	\$56.95	\$1,708.50
Projects in Professional Communications (hardcover Student Edition and print/digital-through SY2027- 2028-Teacher Wraparound Edition)	08/24/2023	Perfection Learning Corporation	NORTHSIDE ISD	High School - ELA	ENGLISH_H	0	75	\$56.95	\$4,271.25
QuaverMusic K-5 Texas Curriculum	06/02/2023	QuaverEd (formerly QuaverMusic, LLC)	COTULLA ISD	1st Grade	FINE_ARTS_EM	2,465	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	GARLAND ISD	Kindergarten	FINE_ARTS_EM	23,525	47	\$1,575.00	\$74,025.00
QuaverMusic K-5 Texas Curriculum	07/17/2023	QuaverEd (formerly QuaverMusic, LLC)	HAWLEY ISD	1st Grade	FINE_ARTS_EM	2,465	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	08/24/2023	QuaverEd (formerly QuaverMusic, LLC)	JIM NED CISD	1st Grade	FINE_ARTS_EM	2,465	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	08/22/2023	QuaverEd (formerly QuaverMusic,	OLTON ISD	1st Grade	FINE_ARTS_EM	2,465	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	PECOS-BARSTOW- TOYAH ISD	1st Grade	FINE_ARTS_EM	2,465	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	PECOS-BARSTOW- TOYAH ISD	3rd Grade	FINE_ARTS_EM	825	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	07/17/2023	QuaverEd (formerly QuaverMusic, LLC)	ROBINSON ISD	2nd Grade	FINE_ARTS_EM	325	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	07/17/2023	QuaverEd (formerly QuaverMusic, LLC)	ROBINSON ISD	1st Grade	FINE_ARTS_EM	2,465	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	WARREN ISD	Kindergarten	FINE_ARTS_EM	23,525	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	WARREN ISD	1st Grade	FINE_ARTS_EM	2,465	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	WARREN ISD	5th Grade	FINE_ARTS_EM	25	1	\$1,575.00	\$1,575.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	WARREN ISD	4th Grade	FINE_ARTS_EM	25	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	WARREN ISD	2nd Grade	FINE_ARTS_EM	325	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	WARREN ISD	3rd Grade	FINE_ARTS_EM	825	1	\$1,575.00	\$1,575.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	05/23/2023	QuaverEd (formerly QuaverMusic, LLC)	BOLING ISD	Kindergarten	FINE_ARTS_EM	16,350	1	\$5,450.00	\$5,450.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	BOVINA ISD	1st Grade	FINE_ARTS_EM	11,264	1	\$5,450.00	\$5,450.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	05/26/2023	QuaverEd (formerly QuaverMusic, LLC)	COLORADO ISD	1st Grade	FINE_ARTS_EM	11,264	1	\$5,450.00	\$5,450.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	10/26/2023	QuaverEd (formerly QuaverMusic, LLC)	CRANE ISD	Kindergarten	FINE_ARTS_EM	16,350	1	\$5,450.00	\$5,450.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	07/06/2023	QuaverEd (formerly QuaverMusic, LLC)	GEORGE WEST ISD	Kindergarten	FINE_ARTS_EM	16,350	1	\$5,450.00	\$5,450.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	07/06/2023	QuaverEd (formerly QuaverMusic, LLC)	HARLINGEN CISD	1st Grade	FINE_ARTS_EM	11,264	17	\$5,450.00	\$92,650.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	08/24/2023	QuaverEd (formerly QuaverMusic, LLC)	KARNES CITY ISD	3rd Grade	FINE_ARTS_EM	430	1	\$5,450.00	\$5,450.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	KINGSVILLE ISD	Kindergarten	FINE_ARTS_EM	16,350	3	\$5,450.00	\$16,350.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	07/06/2023	QuaverEd (formerly QuaverMusic, LLC)	LA JOYA ISD	Kindergarten	FINE_ARTS_EM	16,350	22	\$5,450.00	\$119,900.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	07/17/2023	QuaverEd (formerly QuaverMusic, LLC)	LUFKIN ISD	Kindergarten	FINE_ARTS_EM	16,350	4	\$5,450.00	\$21,800.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	09/19/2023	QuaverEd (formerly QuaverMusic, LLC)	STEPHEN F AUSTIN STATE UNIVERSITY CHARTER SCHOOL	1st Grade	FINE_ARTS_EM	11,264	1	\$5,450.00	\$5,450.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	07/17/2023	QuaverEd (formerly QuaverMusic, LLC)	TEXAS CITY ISD	Kindergarten	FINE_ARTS_EM	16,350	6	\$5,450.00	\$32,700.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	10/23/2023	QuaverEd (formerly QuaverMusic, LLC)	TEXAS SCHOOL OF THE ARTS	Kindergarten	FINE_ARTS_EM	16,350	1	\$5,450.00	\$5,450.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	06/30/2023	QuaverEd (formerly QuaverMusic, LLC)	TROUP ISD	Kindergarten	FINE_ARTS_EM	16,350	1	\$5,450.00	\$5,450.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	08/10/2023	QuaverEd (formerly QuaverMusic, LLC)	WEATHERFORD ISD	1st Grade	FINE_ARTS_EM	11,264	7	\$5,450.00	\$38,150.00
QuaverMusic K-5 Texas Curriculum (through SY 2026-2027)	12/29/2023	QuaverEd (formerly QuaverMusic, LLC)	WESLACO ISD	5th Grade	FINE_ARTS_EM	5,000	10	\$5,450.00	\$54,500.00
Raz-Plus ELL Texas Edition, Grade K-5 (1YR Digital) {Up to 36 Students}	07/17/2023	Learning A-Z, LLC	ROBINSON ISD	1st Grade	ELAR_E	175	8	\$257.44	\$2,059.52
Raz-Plus ELL Texas Edition, Grade K-5 (1YR Digital) {Up to 36 Students}	07/17/2023	Learning A-Z, LLC	ROBINSON ISD	2nd Grade	ELAR_E	175	9	\$257.44	\$2,316.96
Raz-Plus ELL Texas Edition, Grade K-5 (1YR Digital) {Up to 36 Students}	07/17/2023	Learning A-Z, LLC	ROBINSON ISD	3rd Grade	ELAR_E	175	9	\$257.44	\$2,316.96
Raz-Plus ELL Texas Edition, Grade K-5 (1YR Digital) {Up to 36 Students}	07/17/2023	Learning A-Z, LLC	ROBINSON ISD	4th Grade	ELAR_E	220	11	\$257.44	\$2,831.84
Raz-Plus ELL Texas Edition, Grade K-5 (1YR Digital) {Up to 36 Students}	07/17/2023	Learning A-Z, LLC	ROBINSON ISD	5th Grade	ELAR_E	190	9	\$257.44	\$2,316.96
Raz-Plus ELL Texas Edition, Grade K-5 (1YR Digital) {Up to 36 Students}	07/17/2023	Learning A-Z, LLC	ROBINSON ISD	Kindergarten	ELAR_E	175	9	\$257.44	\$2,316.96
Ready to Advance Early Learning Program Texas (Deluxe package includes: all print material, manipulatives, 6 year of consumables, and 6 years digital access for 20 students.)	09/19/2023	Benchmark Education	SPLENDORA ISD	Pre- Kindergarten	PRK_K_SYS	85	2	\$4,010.00	\$8,020.00
Ready to Advance Early Learning Program Texas (Deluxe package includes: all print material, manipulatives, 6 year of consumables, and 6 years digital access for 20 students.)	10/17/2023	Benchmark Education	SPLENDORA ISD	Pre- Kindergarten	PRK_K_SYS	85	1	\$4,010.00	\$4,010.00
Ready to Advance Early Learning Program Texas (Deluxe package includes: all print material, manipulatives, 6 year of consumables, and 6 years digital access for 20	09/19/2023	Benchmark Education	TULIA ISD	Pre- Kindergarten	PRK_K_SYS	85	1	\$4,010.00	\$4,010.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
students.)									
Real Life Financial Mathematics (1 YR) Student edition (Teacher edition must be purchased separately.)	08/28/2023	Decker & Associates, Inc.	BLUFF DALE ISD	High School - Other	FINANCE	0	20	\$35.00	\$700.00
Real Life Financial Mathematics (1 YR) Student edition (Teacher edition must be purchased separately.)	08/10/2023	Decker & Associates, Inc.	CUMBY COLLEGIATE ISD	High School - Other	FINANCE	0	10	\$35.00	\$350.00
Real Life Financial Mathematics (1 YR) Student edition (Teacher edition must be purchased separately.)	08/02/2023	Decker & Associates, Inc.	UTOPIA ISD	High School - Other	FINANCE	0	10	\$35.00	\$350.00
Real Life Financial Mathematics (1 YR) Teacher edition (Student edition must be purchased separately.)	08/28/2023	Decker & Associates, Inc.	BLUFF DALE ISD	High School - Other	FINANCE	45	1	\$155.00	\$155.00
Real Life Financial Mathematics (1 YR) Teacher edition (Student edition must be purchased separately.)	08/10/2023	Decker & Associates, Inc.	CUMBY COLLEGIATE ISD	High School - Other	FINANCE	45	1	\$155.00	\$155.00
Real Life Financial Mathematics (1 YR) Teacher edition (Student edition must be purchased separately.)	08/02/2023	Decker & Associates, Inc.	UTOPIA ISD	High School - Other	FINANCE	45	1	\$155.00	\$155.00
SCHOOL TO CAREER BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	CAREER_DEV_H	0	1	\$118.50	\$118.50
STEMscopes 2.0 Biology, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/18/2023	Accelerate Learning Inc.	AGUA DULCE ISD	High School - Science	SCIENCE_EMH	0	36	\$23.95	\$862.20
STEMscopes 2.0 Biology, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	ARLINGTON CLASSICS ACADEMY	High School - Science	SCIENCE_EMH	0	160	\$23.95	\$3,832.00
STEMscopes 2.0 Biology, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	11/21/2023	Accelerate Learning Inc.	COLORADO ISD	High School - Science	SCIENCE_EMH	0	10	\$23.95	\$239.50
STEMscopes 2.0 Biology, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	High School - Science	SCIENCE_EMH	0	32	\$23.95	\$766.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
STEMscopes 2.0 Biology, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	High School - Science	SCIENCE_EMH	0	195	\$23.95	\$4,670.25
STEMscopes 2.0 Chemistry, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	High School - Science	SCIENCE_EMH	0	30	\$23.95	\$718.50
STEMscopes 2.0 Chemistry, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	High School - Science	SCIENCE_EMH	0	175	\$23.95	\$4,191.25
STEMscopes 2.0 Grade 1, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	1st Grade	SCIENCE_EMH	98	2	\$1,165.00	\$2,330.00
STEMscopes 2.0 Grade 1, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	05/26/2023	Accelerate Learning Inc.	MULLIN ISD	1st Grade	SCIENCE_EMH	98	1	\$1,165.00	\$1,165.00
STEMscopes 2.0 Grade 1, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	1st Grade	SCIENCE_EMH	98	1	\$1,165.00	\$1,165.00
STEMscopes 2.0 Grade 1, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	ARLINGTON CLASSICS ACADEMY	1st Grade	SCIENCE_EMH	0	176	\$16.25	\$2,860.00
STEMscopes 2.0 Grade 1, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	1st Grade	SCIENCE_EMH	0	140	\$16.25	\$2,275.00
STEMscopes 2.0 Grade 1, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/30/2023	Accelerate Learning Inc.	PALO PINTO ISD	1st Grade	SCIENCE_EMH	0	10	\$16.25	\$162.50
STEMscopes 2.0 Grade 1, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	08/02/2023	Accelerate Learning Inc.	ROBSTOWN ISD	1st Grade	SCIENCE_EMH	0	200	\$16.25	\$3,250.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
STEMscopes 2.0 Grade 1, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	1st Grade	SCIENCE_EMH	0	30	\$16.25	\$487.50
STEMscopes 2.0 Grade 1, Online + Print Spanish (1 Yr subscription/ 1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	1st Grade	SCIENCE_EMH	0	80	\$16.25	\$1,300.00
STEMscopes 2.0 Grade 2, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	2nd Grade	SCIENCE_EMH	98	2	\$1,440.00	\$2,880.00
STEMscopes 2.0 Grade 2, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	05/26/2023	Accelerate Learning Inc.	MULLIN ISD	2nd Grade	SCIENCE_EMH	98	1	\$1,440.00	\$1,440.00
STEMscopes 2.0 Grade 2, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	2nd Grade	SCIENCE_EMH	98	1	\$1,440.00	\$1,440.00
STEMscopes 2.0 Grade 2, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	ARLINGTON CLASSICS ACADEMY	2nd Grade	SCIENCE_EMH	0	176	\$16.25	\$2,860.00
STEMscopes 2.0 Grade 2, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	2nd Grade	SCIENCE_EMH	0	140	\$16.25	\$2,275.00
STEMscopes 2.0 Grade 2, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/30/2023	Accelerate Learning Inc.	PALO PINTO ISD	2nd Grade	SCIENCE_EMH	0	16	\$16.25	\$260.00
STEMscopes 2.0 Grade 2, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	08/02/2023	Accelerate Learning Inc.	ROBSTOWN ISD	2nd Grade	SCIENCE_EMH	0	200	\$16.25	\$3,250.00
STEMscopes 2.0 Grade 2, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	2nd Grade	SCIENCE_EMH	0	30	\$16.25	\$487.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
STEMscopes 2.0 Grade 2, Online + Print Spanish (1 Yr subscription/1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	2nd Grade	SCIENCE_EMH	0	80	\$16.25	\$1,300.00
STEMscopes 2.0 Grade 3, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	3rd Grade	SCIENCE_EMH	98	1	\$1,690.00	\$1,690.00
STEMscopes 2.0 Grade 3, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	05/26/2023	Accelerate Learning Inc.	MULLIN ISD	3rd Grade	SCIENCE_EMH	98	1	\$1,690.00	\$1,690.00
STEMscopes 2.0 Grade 3, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	3rd Grade	SCIENCE_EMH	98	1	\$1,690.00	\$1,690.00
STEMscopes 2.0 Grade 3, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	ARLINGTON CLASSICS ACADEMY	3rd Grade	SCIENCE_EMH	0	176	\$16.25	\$2,860.00
STEMscopes 2.0 Grade 3, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/08/2023	Accelerate Learning Inc.	CUMBY COLLEGIATE ISD	3rd Grade	SCIENCE_EMH	0	42	\$16.25	\$682.50
STEMscopes 2.0 Grade 3, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	3rd Grade	SCIENCE_EMH	0	140	\$16.25	\$2,275.00
STEMscopes 2.0 Grade 3, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/13/2023	Accelerate Learning Inc.	NEW WAVERLY ISD	3rd Grade	SCIENCE_EMH	0	80	\$16.25	\$1,300.00
STEMscopes 2.0 Grade 3, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/30/2023	Accelerate Learning Inc.	PALO PINTO ISD	3rd Grade	SCIENCE_EMH	0	15	\$16.25	\$243.75
STEMscopes 2.0 Grade 3, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	08/02/2023	Accelerate Learning Inc.	ROBSTOWN ISD	3rd Grade	SCIENCE_EMH	0	210	\$16.25	\$3,412.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
STEMscopes 2.0 Grade 3, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	3rd Grade	SCIENCE_EMH	0	165	\$16.25	\$2,681.25
STEMscopes 2.0 Grade 3, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	3rd Grade	SCIENCE_EMH	0	35	\$16.25	\$568.75
STEMscopes 2.0 Grade 3, Online + Print Spanish (1 Yr subscription/ 1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	3rd Grade	SCIENCE_EMH	0	80	\$16.25	\$1,300.00
STEMscopes 2.0 Grade 3, Online + Print Spanish (1 Yr subscription/ 1 Yr print consumable)	05/26/2023	Accelerate Learning Inc.	MULLIN ISD	3rd Grade	SCIENCE_EMH	0	1	\$16.25	\$16.25
STEMscopes 2.0 Grade 4, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	4th Grade	SCIENCE_EMH	98	1	\$1,690.00	\$1,690.00
STEMscopes 2.0 Grade 4, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	05/26/2023	Accelerate Learning Inc.	MULLIN ISD	4th Grade	SCIENCE_EMH	98	1	\$1,690.00	\$1,690.00
STEMscopes 2.0 Grade 4, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	4th Grade	SCIENCE_EMH	98	1	\$1,690.00	\$1,690.00
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	ARLINGTON CLASSICS ACADEMY	4th Grade	SCIENCE_EMH	0	176	\$16.25	\$2,860.00
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/08/2023	Accelerate Learning Inc.	CUMBY COLLEGIATE ISD	4th Grade	SCIENCE_EMH	0	32	\$16.25	\$520.00
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	4th Grade	SCIENCE_EMH	0	140	\$16.25	\$2,275.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/18/2023	Accelerate Learning Inc.	INGLESIDE ISD	4th Grade	SCIENCE_EMH	0	190	\$16.25	\$3,087.50
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/13/2023	Accelerate Learning Inc.	NEW WAVERLY ISD	4th Grade	SCIENCE_EMH	0	23	\$16.25	\$373.75
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/30/2023	Accelerate Learning Inc.	PALO PINTO ISD	4th Grade	SCIENCE_EMH	0	5	\$16.25	\$81.25
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	08/02/2023	Accelerate Learning Inc.	ROBSTOWN ISD	4th Grade	SCIENCE_EMH	0	200	\$16.25	\$3,250.00
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	4th Grade	SCIENCE_EMH	0	180	\$16.25	\$2,925.00
STEMscopes 2.0 Grade 4, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	4th Grade	SCIENCE_EMH	0	25	\$16.25	\$406.25
STEMscopes 2.0 Grade 4, Online + Print Spanish (1 Yr subscription/ 1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	4th Grade	SCIENCE_EMH	0	80	\$16.25	\$1,300.00
STEMscopes 2.0 Grade 5, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32), (1 Yr subscription/1 Yr print consumable)	07/17/2023	Accelerate Learning Inc.	FABENS ISD	5th Grade	SCIENCE_EMH	216	5	\$1,596.00	\$7,980.00
STEMscopes 2.0 Grade 5, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32), (1 Yr subscription/1 Yr print consumable)	05/26/2023	Accelerate Learning Inc.	MULLIN ISD	5th Grade	SCIENCE_EMH	216	1	\$1,596.00	\$1,596.00
STEMscopes 2.0 Grade 5, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32), (1 Yr subscription/1 Yr print consumable)	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	5th Grade	SCIENCE_EMH	216	1	\$1,596.00	\$1,596.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	ARLINGTON CLASSICS ACADEMY	5th Grade	SCIENCE_EMH	0	176	\$16.25	\$2,860.00
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/08/2023	Accelerate Learning Inc.	CUMBY COLLEGIATE ISD	5th Grade	SCIENCE_EMH	0	35	\$16.25	\$568.75
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/18/2023	Accelerate Learning Inc.	INGLESIDE ISD	5th Grade	SCIENCE_EMH	0	140	\$16.25	\$2,275.00
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/13/2023	Accelerate Learning Inc.	NEW WAVERLY ISD	5th Grade	SCIENCE_EMH	0	12	\$16.25	\$195.00
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/30/2023	Accelerate Learning Inc.	PALO PINTO ISD	5th Grade	SCIENCE_EMH	0	10	\$16.25	\$162.50
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	08/02/2023	Accelerate Learning Inc.	ROBSTOWN ISD	5th Grade	SCIENCE_EMH	0	200	\$16.25	\$3,250.00
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/20/2023	Accelerate Learning Inc.	ROCKSPRINGS ISD	5th Grade	SCIENCE_EMH	0	20	\$16.25	\$325.00
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	5th Grade	SCIENCE_EMH	0	195	\$16.25	\$3,168.75
STEMscopes 2.0 Grade 5, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	5th Grade	SCIENCE_EMH	0	20	\$16.25	\$325.00
STEMscopes 2.0 Grade 5, Online + Print Spanish (1 Yr subscription/ 1 Yr print consumable)	07/17/2023	Accelerate Learning Inc.	FABENS ISD	5th Grade	SCIENCE_EMH	0	80	\$16.25	\$1,300.00
STEMscopes 2.0 Grade 6, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32 (1 Yr subscription/1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	6th Grade	SCIENCE_EMH	89	1	\$1,841.40	\$1,841.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
STEMscopes 2.0 Grade 6, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32 (1 Yr subscription/1 Yr print consumable)	05/26/2023	Accelerate Learning Inc.	MULLIN ISD	6th Grade	SCIENCE_EMH	89	1	\$1,841.40	\$1,841.40
STEMscopes 2.0 Grade 6, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32 (1 Yr subscription/1 Yr print	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	6th Grade	SCIENCE_EMH	89	1	\$1,841.40	\$1,841.40
consumable) STEMscopes 2.0 Grade 6, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/18/2023	Accelerate Learning Inc.	AGUA DULCE ISD	6th Grade	SCIENCE_EMH	0	26	\$23.95	\$622.70
STEMscopes 2.0 Grade 6, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	05/23/2023	Accelerate Learning Inc.	BOLING ISD	6th Grade	SCIENCE_EMH	0	95	\$23.95	\$2,275.25
STEMscopes 2.0 Grade 6, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/08/2023	Accelerate Learning Inc.	CUMBY COLLEGIATE ISD	6th Grade	SCIENCE_EMH	0	32	\$23.95	\$766.40
STEMscopes 2.0 Grade 6, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/30/2023	Accelerate Learning Inc.	PALO PINTO ISD	6th Grade	SCIENCE_EMH	0	5	\$23.95	\$119.75
STEMscopes 2.0 Grade 6, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/30/2023	Accelerate Learning Inc.	ROCKSPRINGS ISD	6th Grade	SCIENCE_EMH	0	25	\$23.95	\$598.75
STEMscopes 2.0 Grade 6, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	6th Grade	SCIENCE_EMH	0	185	\$23.95	\$4,430.75
STEMscopes 2.0 Grade 6, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	6th Grade	SCIENCE_EMH	0	15	\$23.95	\$359.25
STEMscopes 2.0 Grade 6, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/17/2023	Accelerate Learning Inc.	ZAPATA COUNTY ISD	6th Grade	SCIENCE_EMH	0	265	\$23.95	\$6,346.75
STEMscopes 2.0 Grade 7, English Classroom Set (Includes Online, Print, and	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	7th Grade	SCIENCE_EMH	129	1	\$1,666.40	\$1,666.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Hands On Kit/class of 32)(1 Yr subscription/1 Yr print consumable)									
STEMscopes 2.0 Grade 7, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32)(1 Yr subscription/1 Yr print consumable)	05/26/2023	Accelerate Learning Inc.	MULLIN ISD	7th Grade	SCIENCE_EMH	129	1	\$1,666.40	\$1,666.40
STEMscopes 2.0 Grade 7, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32)(1 Yr subscription/1 Yr print consumable)	08/22/2023	Accelerate Learning Inc.	OLTON ISD	7th Grade	SCIENCE_EMH	129	1	\$1,666.40	\$1,666.40
STEMscopes 2.0 Grade 7, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32)(1 Yr subscription/1 Yr print consumable)	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	7th Grade	SCIENCE_EMH	129	1	\$1,666.40	\$1,666.40
STEMscopes 2.0 Grade 7, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/18/2023	Accelerate Learning Inc.	AGUA DULCE ISD	7th Grade	SCIENCE_EMH	0	34	\$23.95	\$814.30
STEMscopes 2.0 Grade 7, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	05/23/2023	Accelerate Learning Inc.	BOLING ISD	7th Grade	SCIENCE_EMH	0	95	\$23.95	\$2,275.25
STEMscopes 2.0 Grade 7, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/08/2023	Accelerate Learning Inc.	CUMBY COLLEGIATE ISD	7th Grade	SCIENCE_EMH	0	36	\$23.95	\$862.20
STEMscopes 2.0 Grade 7, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	7th Grade	SCIENCE_EMH	0	195	\$23.95	\$4,670.25
STEMscopes 2.0 Grade 7, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	7th Grade	SCIENCE_EMH	0	12	\$23.95	\$287.40
STEMscopes 2.0 Grade 7, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/17/2023	Accelerate Learning Inc.	ZAPATA COUNTY ISD	7th Grade	SCIENCE_EMH	0	265	\$23.95	\$6,346.75
STEMscopes 2.0 Grade 8, English Classroom Set	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	8th Grade	SCIENCE_EMH	110	1	\$1,766.40	\$1,766.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
(Includes Online, Print, and Hands On Kit/class of 32)(1 Yr subscription/1 Yr print consumable)	Date					Serveu			Amount
STEMscopes 2.0 Grade 8, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32)(1 Yr subscription/1 Yr print consumable)	08/22/2023	Accelerate Learning Inc.	OLTON ISD	8th Grade	SCIENCE_EMH	110	1	\$1,766.40	\$1,766.40
STEMscopes 2.0 Grade 8, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 32)(1 Yr subscription/1 Yr print consumable)	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	8th Grade	SCIENCE_EMH	110	1	\$1,766.40	\$1,766.40
STEMscopes 2.0 Grade 8, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/18/2023	Accelerate Learning Inc.	AGUA DULCE ISD	8th Grade	SCIENCE_EMH	0	38	\$23.95	\$910.10
STEMscopes 2.0 Grade 8, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	05/23/2023	Accelerate Learning Inc.	BOLING ISD	8th Grade	SCIENCE_EMH	0	95	\$23.95	\$2,275.25
STEMscopes 2.0 Grade 8, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/08/2023	Accelerate Learning Inc.	CUMBY COLLEGIATE ISD	8th Grade	SCIENCE_EMH	0	32	\$23.95	\$766.40
STEMscopes 2.0 Grade 8, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	8th Grade	SCIENCE_EMH	0	210	\$23.95	\$5,029.50
STEMscopes 2.0 Grade 8, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	8th Grade	SCIENCE_EMH	0	12	\$23.95	\$287.40
STEMscopes 2.0 Grade 8, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/17/2023	Accelerate Learning Inc.	ZAPATA COUNTY ISD	8th Grade	SCIENCE_EMH	0	265	\$23.95	\$6,346.75
STEMscopes 2.0 Kindergarten, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	Kindergarten	SCIENCE_EMH	74	2	\$1,065.00	\$2,130.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
STEMscopes 2.0 Kindergarten, English Classroom Set (Includes Online, Print, and Hands On Kit/class of 24), (1 Yr subscription/1 Yr print consumable)	09/26/2023	Accelerate Learning Inc.	PAINT ROCK ISD	Kindergarten	SCIENCE_EMH	74	1	\$1,065.00	\$1,065.00
STEMscopes 2.0 Kindergarten, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	ARLINGTON CLASSICS ACADEMY	Kindergarten	SCIENCE_EMH	0	160	\$16.25	\$2,600.00
STEMscopes 2.0 Kindergarten, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	Kindergarten	SCIENCE_EMH	0	140	\$16.25	\$2,275.00
STEMscopes 2.0 Kindergarten, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	08/02/2023	Accelerate Learning Inc.	ROBSTOWN ISD	Kindergarten	SCIENCE_EMH	0	180	\$16.25	\$2,925.00
STEMscopes 2.0 Kindergarten, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	10/26/2023	Accelerate Learning Inc.	VALERE PUBLIC SCHOOLS	Kindergarten	SCIENCE_EMH	0	25	\$16.25	\$406.25
STEMscopes 2.0 Kindergarten, Online + Print Spanish (1 Yr subscription/1 Yr print consumable)	06/08/2023	Accelerate Learning Inc.	FABENS ISD	Kindergarten	ESL_EM	0	80	\$16.25	\$1,300.00
STEMscopes 2.0 Physics, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	09/08/2023	Accelerate Learning Inc.	CLARKSVILLE ISD	High School - Science	SCIENCE_EMH	0	75	\$23.95	\$1,796.25
STEMscopes 2.0 Physics, Online + Print English (1 Yr subscription/ 1 Yr print consumable)	07/06/2023	Accelerate Learning Inc.	LIGHTHOUSE PUBLIC SCHOOLS	High School - Science	SCIENCE_EMH	0	30	\$23.95	\$718.50
STEMscopes 2.0, Basic Science Equipment Kit + Online, Grade 1 (1 Yr subscription/serves 24 students)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	1st Grade	SCIENCE_EMH	150	8	\$401.00	\$3,208.00
STEMscopes 2.0, Basic Science Equipment Kit + Online, Kindergarten (1 Yr subscription/serves 24 students)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	Kindergarten	SCIENCE_EMH	155	8	\$401.00	\$3,208.00
STEMscopes 2.0, Online + Basic Science Equipment Kit,	09/29/2023	Accelerate Learning Inc.	EAST FORT WORTH MONTESSORI	2nd Grade	SCIENCE_EMH	189	1	\$376.00	\$376.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Grade 2, per class of 24 students (1 Yr subscription/ 1 Yr reusable materials)			ACADEMY						
STEMscopes 2.0, Online + Basic Science Equipment Kit, Grade 2, per class of 24 students (1 Yr subscription/ 1 Yr reusable materials)	09/05/2023	Accelerate Learning Inc.	SUNNYVALE ISD	2nd Grade	SCIENCE_EMH	189	9	\$376.00	\$3,384.00
Spelling Connections Texas Edition © 2020 Grade 4 (Consumable Print, 1 Year)	05/30/2023	Zaner-Bloser, Inc.	RAPOPORT ACADEMY PUBLIC SCHOOL	4th Grade	SPELLING	0	70	\$17.99	\$1,259.30
Spelling Connections Texas Edition © 2020 Grade 6 (Consumable Print, 1 Year)	08/10/2023	Zaner-Bloser, Inc.	IRA ISD	6th Grade	SPELLING	0	23	\$17.99	\$413.77
SpringBoard Mathematics, Course 3 with print, Through SY 2025-2026	08/22/2023	The College Board	WYLIE ISD	8th Grade	MATH_EM	0	40	\$36.75	\$1,470.00
SpringBoard, English Language Arts, English I, 2021 Texas Edition - Digital Access Subscription (Through SY 2027-28)	08/10/2023	The College Board	TERRELL ISD	High School - ELA	ENGLISH_H	0	265	\$70.00	\$18,550.00
SpringBoard, English Language Arts, English I, 2021 Texas Edition - Digital Access Subscription with Print Consumable ELA SE (Through SY 2027-28)	08/31/2023	The College Board	VANGUARD ACADEMY	High School - ELA	ENGLISH_H	0	375	\$80.00	\$30,000.00
SpringBoard, English Language Arts, English II, 2021 Texas Edition - Digital Access Subscription (Through SY 2027-28)	08/10/2023	The College Board	TERRELL ISD	High School - ELA	ENGLISH_H	0	265	\$70.00	\$18,550.00
SpringBoard, English Language Arts, English II, 2021 Texas Edition - Digital Access Subscription with Print Consumable ELA SE (Through SY 2027-28)	08/31/2023	The College Board	VANGUARD ACADEMY	High School - ELA	ENGLISH_H	0	410	\$80.00	\$32,800.00
SpringBoard, English Language Arts, English III, 2021 Texas Edition - Digital Access Subscription with Print Consumable ELA SE (Through SY 2027-28)	08/31/2023	The College Board	VANGUARD ACADEMY	High School - ELA	ENGLISH_H	0	375	\$80.00	\$30,000.00
SpringBoard, English Language Arts, Grade 6, 2020	05/26/2023	The College Board	WYLIE ISD	6th Grade	ELAR_M	0	360	\$57.50	\$20,700.00

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
Texas Edition - Digital	Date					Served			Amount
Access Subscription									
(Through SY 2026-27)									
SpringBoard, English	06/30/2023	The College Board	ALEDO ISD	6th Grade	ELAR_M	0	65	\$67.50	\$4,387.50
Language Arts, Grade 6, 2020	00/30/2023	The Conege Board	ALLEO ISB	our Grade	EE/IK_W	· ·	03	Ψ07.50	ψ+,507.50
Texas Edition - Digital									
Access Subscription with									
Print Consumable ELA SE									
(Through SY 2026-27)									
SpringBoard, English	12/29/2023	The College Board	ALEDO ISD	6th Grade	ELAR_M	0	30	\$67.50	\$2,025.00
Language Arts, Grade 6, 2020									
Texas Edition - Digital									
Access Subscription with									
Print Consumable ELA SE									
(Through SY 2026-27)									
SpringBoard, English	09/26/2023	The College Board	CELINA ISD	6th Grade	ELAR_M	0	348	\$67.50	\$23,490.00
Language Arts, Grade 6, 2020									
Texas Edition - Digital									
Access Subscription with									
Print Consumable ELA SE									
(Through SY 2026-27)	0.7/2.7/2.02								
SpringBoard, English	05/26/2023	The College Board	WYLIE ISD	7th Grade	ELAR_M	0	360	\$57.50	\$20,700.00
Language Arts, Grade 7, 2020									
Texas Edition - Digital									
Access Subscription (Through SY 2026-27)									
SpringBoard, English	06/30/2023	The College Board	ALEDO ISD	7th Grade	ELAR_M	0	30	\$67.50	\$2,025.00
Language Arts, Grade 7, 2020	00/30/2023	The Conege Board	ALEDO ISD	/III Grade	ELAK_W	U	30	\$07.50	\$2,023.00
Texas Edition - Digital									
Access Subscription with									
Print Consumable ELA SE									
(Through SY 2026-27)									
SpringBoard, English	09/26/2023	The College Board	CELINA ISD	7th Grade	ELAR_M	0	352	\$67.50	\$23,760.00
Language Arts, Grade 7, 2020					_				
Texas Edition - Digital									
Access Subscription with									
Print Consumable ELA SE									
(Through SY 2026-27)									
SpringBoard, English	05/26/2023	The College Board	WYLIE ISD	8th Grade	ELAR_M	0	360	\$57.50	\$20,700.00
Language Arts, Grade 8, 2020									
Texas Edition - Digital									
Access Subscription									
(Through SY 2026-27)	0.5/20/2025		AT ED O YOU	21.6			44.5	0.57.50	40.000.70
SpringBoard, English	06/30/2023	The College Board	ALEDO ISD	8th Grade	ELAR_M	0	119	\$67.50	\$8,032.50
Language Arts, Grade 8, 2020									
Texas Edition - Digital									
Access Subscription with		I		1	1				

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Print Consumable ELA SE (Through SY 2026-27)									
SpringBoard, English Language Arts, Grade 8, 2020 Texas Edition - Digital Access Subscription with Print Consumable ELA SE (Through SY 2026-27)	12/29/2023	The College Board	ALEDO ISD	8th Grade	ELAR_M	0	30	\$67.50	\$2,025.00
SpringBoard, English Language Arts, Grade 8, 2020 Texas Edition - Digital Access Subscription with Print Consumable ELA SE (Through SY 2026-27)	09/26/2023	The College Board	CELINA ISD	8th Grade	ELAR_M	0	328	\$67.50	\$22,140.00
SpringBoard® Mathematics, Algebra 1 digital only, (1- Year Extension Price)	08/31/2023	The College Board	VANGUARD ACADEMY	High School - Math	MATH_H	0	400	\$13.25	\$5,300.00
SpringBoard® Mathematics, Algebra 1 with print, (1-Year Extension Price)	07/17/2023	The College Board	VANGUARD ACADEMY	High School - Math	MATH_H	0	430	\$14.25	\$6,127.50
SpringBoard® Mathematics, Algebra 1 with print, (1-Year Extension Price)	09/20/2023	The College Board	WYLIE ISD	High School - Math	MATH_H	0	200	\$14.25	\$2,850.00
SpringBoard® Mathematics, Geometry digital only, (2- Year Extension Price)	08/31/2023	The College Board	VANGUARD ACADEMY	High School - Math	MATH_H	0	350	\$23.75	\$8,312.50
SpringBoard® Mathematics, Geometry digital only, Through SY 2025-2026 (3- Year Extension Price)	08/10/2023	The College Board	LAGO VISTA ISD	High School - Math	MATH_H	0	70	\$34.00	\$2,380.00
SpringBoard® Mathematics, Geometry digital only, Through SY 2025-2026 (3- Year Extension Price)	08/22/2023	The College Board	NORTHWEST ISD	High School - Math	MATH_H	0	2,290	\$34.00	\$77,860.00
SpringBoard® Mathematics, Geometry with print, (1-Year Extension Price)	07/17/2023	The College Board	VANGUARD ACADEMY	High School - Math	MATH_H	0	350	\$14.75	\$5,162.50
SpringBoard® Mathematics, Precalculus digital only, Through SY 2025-2026 (3- Year Extension Price)	08/22/2023	The College Board	NORTHWEST ISD	High School - Math	MATH_H	0	540	\$34.00	\$18,360.00
StudySync Grade 10, Texas Standard Student Bundle Basic (5-Yr Consumable & 5- Yr Digital)	08/23/2023	McGraw-Hill School Division (Contract Vendor)	BLANKET ISD	High School - ELA	ENGLISH_H	0	15	\$95.25	\$1,428.75
StudySync Grade 11, Texas Standard Student Bundle	08/23/2023	McGraw-Hill School Division (Contract Vendor)	BLANKET ISD	High School - ELA	ENGLISH_H	0	10	\$95.25	\$952.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Basic (5-Yr Consumable & 5-Yr Digital)									
StudySync Grade 12, Texas Standard Student Bundle Basic (5-Yr Consumable & 5- Yr Digital)	08/23/2023	McGraw-Hill School Division (Contract Vendor)	BLANKET ISD	High School - ELA	ENGLISH_H	0	10	\$95.25	\$952.50
StudySync Grade 6, Texas Standard Student Bundle (4- Yr Consumable & 4-Yr Digital)	07/06/2023	McGraw-Hill School Division (Contract Vendor)	COMFORT ISD	6th Grade	ELAR_M	0	92	\$87.99	\$8,095.08
StudySync Grade 9, Texas Standard Student Bundle Basic (5-Yr Consumable & 5- Yr Digital)	08/23/2023	McGraw-Hill School Division (Contract Vendor)	BLANKET ISD	High School - ELA	ENGLISH_H	0	15	\$95.25	\$1,428.75
T'es branche? Level 2 Passport + Textbook (Through SY 2024-2025)	10/13/2023	Carnegie Learning, Inc. dba EMC Publishing LLC	COLLEGE STATION ISD	High School - LOTE	LOTE_EMH	0	8	\$160.65	\$1,285.20
TEACHING - ONLINE STUDENT CENTER (THROUGH SY 2024-2025)	10/09/2023	Goodheart-Willcox Company	HARLINGEN CISD	High School - Other	ED_TRAINING	0	10	\$86.25	\$862.50
TEACHING - TEXT	09/25/2023	Goodheart-Willcox Company	CUMBY COLLEGIATE ISD	High School - Other	ED_TRAINING	0	10	\$74.97	\$749.70
TEACHING - TEXT	07/06/2023	Goodheart-Willcox Company	JUDSON ISD	High School - Other	ED_TRAINING	0	30	\$74.97	\$2,249.10
TEACHING BUNDLE (TEXT + ONLINE STUDENT CENTER, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	ED_TRAINING	0	1	\$112.50	\$112.50
TELEVISION PRODUCTION BROADCAST JOURNALISM (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	ARTS_AV_COMM	0	1	\$118.50	\$118.50
TEXAS ¡Así se dice! LEVEL 1 ONLINE STUDENT CENTER (ONE-YEAR SUBSCRIPTION)	08/23/2023	McGraw-Hill School Division (Contract Vendor)	STERLING CITY ISD	High School - LOTE	LOTE_EMH	0	10	\$19.98	\$199.80
TEXAS ¡Así se dice! LEVEL 2 ONLINE STUDENT CENTER (ONE-YEAR SUBSCRIPTION)	08/10/2023	McGraw-Hill School Division (Contract Vendor)	JARRELL ISD	High School - LOTE	LOTE_EMH	0	125	\$19.98	\$2,497.50
TEXAS ¡Así se dice! Level I, Student Suite Bundle (2Yrs Digital and Print)	03/11/2024	McGraw-Hill School Division (Contract Vendor)	NEWMAN INTERNATIONAL ACADEMY ARLINGTON	High School - LOTE	LOTE_EMH	0	25	\$64.02	\$1,600.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
TEXAS ¡Así se dice! Level I, Student Suite Bundle (2Yrs Digital and Print)	07/17/2023	McGraw-Hill School Division (Contract Vendor)	VANGUARD ACADEMY	High School - LOTE	LOTE_EMH	0	300	\$64.02	\$19,206.00
THE CULINARY PROFESSIONAL - TEXT (THROUGH SY 2024-2025)	07/06/2023	Goodheart-Willcox Company	HARDIN ISD	High School - Other	HOSP_TOURISM	0	15	\$84.00	\$1,260.00
THE CULINARY PROFESSIONAL BUNDLE (TEXT + ONLINE LEARNING SUITE, THROUGH SY 2024-2025)	05/30/2023	Goodheart-Willcox Company	STERLING CITY ISD	High School - Other	HOSP_TOURISM	0	25	\$130.20	\$3,255.00
TPS Publishing Criminal Investigation CTE 10 x Hardback Student Edition in B&W 1 x Hardback Teacher Edition in B&W10 x Softback Workbook in B&W 1 x Teacher Digital Access for 1 yr to online components Assessment Database	08/28/2023	TPS Publishing, Inc.	BLUFF DALE ISD	High School - Other	LAW_PS_CORR	20	2	\$1,050.00	\$2,100.00
TPS Publishing Forensic Science CTE - Student Edition Hardback Black and White Print	06/30/2023	TPS Publishing, Inc.	BRAZOS COUNTY JJAEP	High School - Other	LAW_PS_CORR	0	1	\$133.36	\$133.36
TX Bundle: Agricultural Mechanics: Fundamentals & Applications, (One-year Subscription)	07/25/2023	Cengage Learning Inc	CUSHING ISD	High School - Other	AG_FOOD_NATR	0	22	\$90.00	\$1,980.00
TX Bundle: Century 21 Accounting: General Journal, Copyright Update, (One-year Subscription)	01/25/2024	Cengage Learning Inc	RANDOLPH FIELD ISD	High School - Other	FINANCE	0	11	\$90.00	\$990.00
TX Bundle: Century 21 Accounting: Multicolumn Journal, Copyright Update, (Three-year Subscription)	09/19/2023	Cengage Learning Inc	HARLINGEN CISD	High School - Other	FINANCE	0	30	\$125.00	\$3,750.00
TX Bundle: Century 21 Jr. Computer Applications with Keyboarding, (Three-year Subscription)	09/19/2023	Cengage Learning Inc	HARLINGEN CISD	High School - Other	BUS_MGMT_AD M	0	77	\$97.00	\$7,469.00
TX Contemporary World Cultures, Grade 6 Extension (Print Hardcover + 1 Year Digital License, Print Teacher Edition must be purchased separately)	11/03/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MEADOWLAND CHARTER DISTRICT	6th Grade	SOC_STUD_EM	0	5	\$71.00	\$355.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
TX Contemporary World Cultures, Grade 6 Extension (Print Hardcover + 1 Year Digital License, Print Teacher Edition must be purchased separately)	08/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	6th Grade	SOC_STUD_EM	0	550	\$71.00	\$39,050.00
TX Contemporary World Cultures, Grade 6 Extension (Print Hardcover + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	6th Grade	SOC_STUD_EM	0	25	\$73.50	\$1,837.50
TX Contemporary World Cultures, Grade 6 New Purchase (Print Hardcover + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/18/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BIG SPRINGS CHARTER SCHOOL	6th Grade	SOC_STUD_EM	0	10	\$84.97	\$849.70
TX Contemporary World Cultures, Grade 6 New Purchase (Print Hardcover + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/28/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLUFF DALE ISD	6th Grade	SOC_STUD_EM	0	30	\$84.97	\$2,549.10
TX Contemporary World Cultures, Grade 6 New Purchase (Print Hardcover + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/16/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LITTLE CYPRESS- MAURICEVILLE CISD	6th Grade	SOC_STUD_EM	0	30	\$84.97	\$2,549.10
TX Contemporary World Cultures, Grade 6 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VALERE PUBLIC SCHOOLS	6th Grade	SOC_STUD_EM	0	15	\$85.97	\$1,289.55
TX Contemporary World Cultures, Grade 6 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	02/08/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	VALERE PUBLIC SCHOOLS	6th Grade	SOC_STUD_EM	0	30	\$85.97	\$2,579.10
TX Digital Bundle: Sports and Entertainment Marketing, (One-year Subscription)	01/04/2024	Cengage Learning Inc	ROCKSPRINGS ISD	High School - Other	MARKETING	0	7	\$9.00	\$63.00
TX Economics Extension (2 Year Print Hardcover + 2	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	High School - Soc Studies	SOC_STUD_H	0	100	\$72.00	\$7,200.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Year Digital License, Print Teacher Edition must be purchased separately)									
TX Economics New Purchase (2 Year Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GREENWOOD ISD	High School - Soc Studies	SOC_STUD_H	0	40	\$80.97	\$3,238.80
TX History, Grade 7 Extension (Print Hardcover + 1 Year Digital License, Print Teacher Edition must be purchased separately)	08/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	7th Grade	SOC_STUD_EM	0	550	\$71.00	\$39,050.00
TX History, Grade 7 New Purchase (Print Hardcover + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/18/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BIG SPRINGS CHARTER SCHOOL	7th Grade	SOC_STUD_EM	0	10	\$84.97	\$849.70
TX History, Grade 7 New Purchase (Print Hardcover + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/28/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLUFF DALE ISD	7th Grade	SOC_STUD_EM	0	30	\$84.97	\$2,549.10
TX History, Grade 7 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VALERE PUBLIC SCHOOLS	7th Grade	SOC_STUD_EM	0	12	\$85.97	\$1,031.64
TX History, Grade 7 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	02/08/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	VALERE PUBLIC SCHOOLS	7th Grade	SOC_STUD_EM	0	30	\$85.97	\$2,579.10
TX Magruder's American Government Extension (2 Year Print Hardcover + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	High School - Soc Studies	SOC_STUD_H	0	100	\$72.00	\$7,200.00
TX Magruder's American Government New Purchase (1 Year Print Hardcover + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RANKIN ISD	High School - Soc Studies	SOC_STUD_H	0	6	\$80.97	\$485.82
TX Magruder's American Government New Purchase (2	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GREENWOOD ISD	High School - Soc Studies	SOC_STUD_H	0	40	\$80.97	\$3,238.80

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
V Divil I	Date					Served			Amount
Year Print Hardcover + 2									
Year Digital License, Print Teacher Edition included as									
per ratio purchase)									
TX US History 1877-Present	08/28/2023	Savvas Learning Company LLC	BLUFF DALE ISD	High School -	SOC_STUD_H	0	30	\$84.97	\$2,549.10
New Purchase (1 Year Print	06/26/2023	formerly Pearson K12 Learning	BLUTT DALE ISD	Soc Studies	30C_310D_11	U	30	\$64.97	\$2,549.10
Hardcover + 1 Year Digital		Tornierry Tearson K12 Learning		Soc Studies					
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX US History 1877-Present	09/08/2023	Savvas Learning Company LLC	GATEWAY CHARTER	High School -	SOC_STUD_H	0	29	\$84.97	\$2,464.13
New Purchase (1 Year Print		formerly Pearson K12 Learning	ACADEMY	Soc Studies				,	. ,
Hardcover + 1 Year Digital		, , ,							
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX US History 1877-Present	09/08/2023	Savvas Learning Company LLC	GREENWOOD ISD	High School -	SOC_STUD_H	0	85	\$85.97	\$7,307.45
New Purchase (2 Year Print		formerly Pearson K12 Learning		Soc Studies					
Hardcover + 2 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX US History Colonization	08/02/2023	Savvas Learning Company LLC	ROMA ISD	8th Grade	SOC_STUD_EM	0	550	\$71.00	\$39,050.00
through Reconstruction,		formerly Pearson K12 Learning							
Grade 8 Extension (Print									
Hardcover + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately) TX US History Colonization	10/18/2023	Savvas Learning Company LLC	BIG SPRINGS CHARTER	8th Grade	SOC STUD EM	0	10	\$84.97	\$849.70
through Reconstruction,	10/18/2023	formerly Pearson K12 Learning	SCHOOL	our Grade	SOC_STUD_EM	U	10	\$64.97	\$649.70
Grade 8 New Purchase (Print		Tormerly Pearson K12 Learning	SCHOOL						
Hardcover + 1 Year Digital									
License. Print Teacher									
Edition included as per ratio									
purchase)									
TX US History Colonization	08/28/2023	Savvas Learning Company LLC	BLUFF DALE ISD	8th Grade	SOC_STUD_EM	0	30	\$84.97	\$2,549.10
through Reconstruction,		formerly Pearson K12 Learning			~~~_~~	-		40.00	7-,0 1212
Grade 8 New Purchase (Print		,							
Hardcover + 1 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX US History Colonization	09/08/2023	Savvas Learning Company LLC	GATEWAY CHARTER	8th Grade	SOC_STUD_EM	0	37	\$84.97	\$3,143.89
through Reconstruction,		formerly Pearson K12 Learning	ACADEMY						
Grade 8 New Purchase (Print									
Hardcover + 1 Year Digital									

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
License, Print Teacher Edition included as per ratio purchase)	Dute					Served			121110 WHY
TX US History Colonization through Reconstruction, Grade 8 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VALERE PUBLIC SCHOOLS	8th Grade	SOC_STUD_EM	0	12	\$85.97	\$1,031.64
TX US History Colonization through Reconstruction, Grade 8 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	02/08/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	VALERE PUBLIC SCHOOLS	8th Grade	SOC_STUD_EM	0	30	\$85.97	\$2,579.10
TX World Culture & Geography Print & Digital Bundle (3-Yrs)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	6th Grade	SOC_STUD_EM	0	17	\$75.03	\$1,275.51
TX World Culture & Geography Print & Digital Bundle (3-Yrs)	10/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUSHING ISD	6th Grade	SOC_STUD_EM	0	50	\$75.03	\$3,751.50
TX World History New Purchase (2 Year Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GREENWOOD ISD	High School - Soc Studies	SOC_STUD_H	0	170	\$85.97	\$14,614.90
TX myWorld SS Building Our Community en español, Grade 3 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	09/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	COTULLA ISD	3rd Grade	SOC_STUD_EM	0	2	\$21.00	\$42.00
TX myWorld SS Building Our Community en español, Grade 3 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	3rd Grade	SOC_STUD_EM	0	1,000	\$21.00	\$21,000.00
TX myWorld SS Building Our Community en español, Grade 3 Extension (1 Year Print Consumable + 1 Year	05/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	3rd Grade	SOC_STUD_EM	0	50	\$21.00	\$1,050.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital License, Print Teacher Edition must be purchased separately)									
TX myWorld SS Building Our Community en español, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONROE ISD	3rd Grade	SOC_STUD_EM	0	380	\$38.97	\$14,808.60
TX myWorld SS Building Our Community en español, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EDINBURG CISD	3rd Grade	SOC_STUD_EM	0	25	\$38.97	\$974.25
TX myWorld SS Building Our Community en español, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	3rd Grade	SOC_STUD_EM	0	5	\$38.97	\$194.85
TX myWorld SS Building Our Community en español, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KINGSVILLE ISD	3rd Grade	SOC_STUD_EM	0	3	\$38.97	\$116.91
TX myWorld SS Building Our Community en español, Grade 3 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HARLINGEN CISD	3rd Grade	SOC_STUD_EM	0	15	\$24.47	\$367.05
TX myWorld SS Building Our Community en español, Grade 3 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LAMAR CISD	3rd Grade	SOC_STUD_EM	0	60	\$74.97	\$4,498.20
TX myWorld SS Building Our Community, Grade 3	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	3rd Grade	SOC_STUD_EM	0	1,650	\$17.50	\$28,875.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Extension (1 Year Print	Date					Sel ved			Amount
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/10/2023	Savvas Learning Company LLC	MERCEDES ISD	3rd Grade	SOC_STUD_EM	0	245	\$17.50	\$4,287.50
Our Community, Grade 3	00/10/2023	formerly Pearson K12 Learning	WERCEDES ISD	3rd Grade	SOC_STOD_EM	0	243	φ17.50	φ+,207.30
Extension (1 Year Print		Tornierry Tearson KTZ Learning							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	05/22/2023	Savvas Learning Company LLC	NORTHSIDE ISD	3rd Grade	SOC_STUD_EM	0	4.720	\$17.50	\$82,600.00
Our Community, Grade 3		formerly Pearson K12 Learning					-,	4 - 7 - 7	+,
Extension (1 Year Print		g							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/29/2023	Savvas Learning Company LLC	ODEM-EDROY ISD	3rd Grade	SOC_STUD_EM	0	65	\$17.50	\$1,137.50
Our Community, Grade 3		formerly Pearson K12 Learning							. ,
Extension (1 Year Print		, e							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	06/30/2023	Savvas Learning Company LLC	BLOOMING GROVE ISD	3rd Grade	SOC_STUD_EM	0	80	\$33.97	\$2,717.60
Our Community, Grade 3		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	06/02/2023	Savvas Learning Company LLC	BOLING ISD	3rd Grade	SOC_STUD_EM	0	88	\$33.97	\$2,989.36
Our Community, Grade 3		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/23/2023	Savvas Learning Company LLC	EAGLE PASS ISD	3rd Grade	SOC_STUD_EM	0	204	\$33.97	\$6,929.88
Our Community, Grade 3		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)	1					1			

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
TX myWorld SS Building Our Community, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EDINBURG CISD	3rd Grade	SOC_STUD_EM	0	2,300	\$33.97	\$78,131.00
TX myWorld SS Building Our Community, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ELYSIAN FIELDS ISD	3rd Grade	SOC_STUD_EM	0	70	\$33.97	\$2,377.90
TX myWorld SS Building Our Community, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	3rd Grade	SOC_STUD_EM	0	55	\$33.97	\$1,868.35
TX myWorld SS Building Our Community, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KINGSVILLE ISD	3rd Grade	SOC_STUD_EM	0	203	\$33.97	\$6,895.91
TX myWorld SS Building Our Community, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW WAVERLY ISD	3rd Grade	SOC_STUD_EM	0	66	\$33.97	\$2,242.02
TX myWorld SS Building Our Community, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PORT NECHES- GROVES ISD	3rd Grade	SOC_STUD_EM	0	300	\$33.97	\$10,191.00
TX myWorld SS Building Our Community, Grade 3 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher	05/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAPOPORT ACADEMY PUBLIC SCHOOL	3rd Grade	SOC_STUD_EM	0	68	\$33.97	\$2,309.96

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
Edition must be purchased	Date					Served			Amount
separately)									
TX myWorld SS Building	06/02/2023	Savvas Learning Company LLC	ROMA ISD	3rd Grade	SOC STUD EM	0	556	\$33.97	\$18,887.32
Our Community, Grade 3	00/02/2023	formerly Pearson K12 Learning	KOWA ISD	31d Grade	SOC_STOD_EM	· ·	330	ψ33.71	\$10,007.52
Extension (2 Year Print		Tornierry Tearson K12 Learning							
Consumable + 2 Year Digital									
License. Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	09/06/2023	Savvas Learning Company LLC	WESLACO ISD	3rd Grade	SOC_STUD_EM	0	1,389	\$33.97	\$47,184.33
Our Community, Grade 3		formerly Pearson K12 Learning					-,	722.7	,
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	09/15/2023	Savvas Learning Company LLC	BENJAMIN ISD	3rd Grade	SOC_STUD_EM	0	8	\$55.00	\$440.00
Our Community, Grade 3		formerly Pearson K12 Learning							
Extension (Print Hardcover +									
2 Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Building	01/02/2024	Savvas Learning Company LLC	BRIDGEWAY	3rd Grade	SOC_STUD_EM	0	16	\$21.97	\$351.52
Our Community, Grade 3		formerly Pearson K12 Learning	PREPARATORY						
New Purchase (1 Year Print			ACADEMY						
Consumable + 1 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase) TX myWorld SS Building	07/06/2023	C Ii C IIC	HARLINGEN CISD	21 C 1.	SOC STUD EM	0	20	\$21.97	¢420.40
Our Community, Grade 3	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HARLINGEN CISD	3rd Grade	SOC_STUD_EM	U	20	\$21.97	\$439.40
New Purchase (1 Year Print		Tormerly Pearson K12 Learning							
Consumable + 1 Year Digital									
License. Print Teacher									
Edition included as per ratio									
purchase)									
TX myWorld SS Building	07/06/2023	Savvas Learning Company LLC	IRAAN-SHEFFIELD	3rd Grade	SOC_STUD_EM	0	15	\$21.97	\$329.55
Our Community, Grade 3		formerly Pearson K12 Learning	COLLEGIATE ISD					7200	70-7.00
New Purchase (1 Year Print		g							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX myWorld SS Building	10/12/2023	Savvas Learning Company LLC	WARREN ISD	3rd Grade	SOC_STUD_EM	0	100	\$21.97	\$2,197.00
Our Community, Grade 3		formerly Pearson K12 Learning		1					
New Purchase (1 Year Print				1					
Consumable + 1 Year Digital									

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
T. D. (T. 1	Date					Served			Amount
License, Print Teacher									
Edition included as per ratio									
purchase)	00/02/2022	g I : G IIG	CENTED VIII I E ICO	2.10.1	GOG GTUD EM	0	4	¢<0.07	¢275.00
TX myWorld SS Building	08/23/2023	Savvas Learning Company LLC	CENTERVILLE ISD	3rd Grade	SOC_STUD_EM	0	4	\$68.97	\$275.88
Our Community, Grade 3		formerly Pearson K12 Learning							
New Purchase (4 Year Print Consumable + 4 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX myWorld SS Building	10/30/2023	Savvas Learning Company LLC	LAMAR CISD	3rd Grade	SOC_STUD_EM	0	25	\$66.97	\$1,674.25
Our Community, Grade 3	10/30/2023	formerly Pearson K12 Learning	LAWAR CISD	31d Grade	SOC_STOD_EM	0	23	\$00.97	\$1,074.23
New Purchase (Print		Tornierry Fearson K12 Learning							
Hardcover + 2 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX myWorld SS Building	09/29/2023	Savvas Learning Company LLC	COTULLA ISD	5th Grade	SOC_STUD_EM	0	2	\$23.00	\$46.00
Our Nation en español, Grade	07/27/2023	formerly Pearson K12 Learning	COTCLETTIOD	Sui Grade	SOC_STOD_EM		2	Ψ23.00	φ+0.00
5 Extension (1 Year Print		Tornierry Tearson KTZ Ecarning							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	5th Grade	SOC_STUD_EM	0	1.100	\$23.00	\$25,300.00
Our Nation en español, Grade		formerly Pearson K12 Learning					,		, -,
5 Extension (1 Year Print		, , ,							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/22/2023	Savvas Learning Company LLC	EDINBURG CISD	5th Grade	SOC_STUD_EM	0	30	\$41.97	\$1,259.10
Our Nation en español, Grade		formerly Pearson K12 Learning							
5 Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	07/06/2023	Savvas Learning Company LLC	HEARNE ISD	5th Grade	SOC_STUD_EM	0	5	\$41.97	\$209.85
Our Nation en español, Grade		formerly Pearson K12 Learning							
5 Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)	06/20/2022	Common Languina C. TT.C.	KINCOMITETOD	54h C 1	COC CELLD EX			¢41.07	6105.01
TX myWorld SS Building	06/30/2023	Savvas Learning Company LLC	KINGSVILLE ISD	5th Grade	SOC_STUD_EM	0	3	\$41.97	\$125.91
Our Nation en español, Grade		formerly Pearson K12 Learning		I	1				

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
5 Extension (2 Year Print	Date					Scrvcu			Amount
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/30/2023	Savvas Learning Company LLC	NORTHSIDE ISD	5th Grade	SOC_STUD_EM	0	125	\$25.97	\$3,246.25
Our Nation en español, Grade	00/30/2023	formerly Pearson K12 Learning	NORTHSIDE ISD	Sur Grade	SOC_STCB_EM		123	Ψ23.57	Ψ3,210.23
5 New Purchase (1 Year Print		Tormorry Tourson 1112 Dearning							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX myWorld SS Building	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	5th Grade	SOC_STUD_EM	0	1,700	\$19.00	\$32,300.00
Our Nation, Grade 5		formerly Pearson K12 Learning					,	,	, - ,
Extension (1 Year Print		,							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/10/2023	Savvas Learning Company LLC	MERCEDES ISD	5th Grade	SOC_STUD_EM	0	320	\$19.00	\$6,080.00
Our Nation, Grade 5		formerly Pearson K12 Learning							
Extension (1 Year Print									
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	05/22/2023	Savvas Learning Company LLC	NORTHSIDE ISD	5th Grade	SOC_STUD_EM	0	5,147	\$19.00	\$97,793.00
Our Nation, Grade 5		formerly Pearson K12 Learning							
Extension (1 Year Print									
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	10/12/2023	Savvas Learning Company LLC	PEGASUS SCHOOL OF	5th Grade	SOC_STUD_EM	0	20	\$19.00	\$380.00
Our Nation, Grade 5		formerly Pearson K12 Learning	LIBERAL ARTS AND						
Extension (1 Year Print			SCIENCES						
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)	06/20/2022	Comes Leaving Comes IIC	DI COMINIC CDOVE ICD	545 C 1-	COC CTUD EM		(0)	¢26.07	¢2 210 20
TX myWorld SS Building Our Nation, Grade 5	06/30/2023	Savvas Learning Company LLC	BLOOMING GROVE ISD	5th Grade	SOC_STUD_EM	0	60	\$36.97	\$2,218.20
		formerly Pearson K12 Learning							
Extension (2 Year Print Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
separatery)	J	I		I	I .	1	l l	ļ	

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
	Date					Served			Amount
TX myWorld SS Building	06/02/2023	Savvas Learning Company LLC	BOLING ISD	5th Grade	SOC_STUD_EM	0	100	\$36.97	\$3,697.00
Our Nation, Grade 5		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/29/2023	Savvas Learning Company LLC	CRANDALL ISD	5th Grade	SOC_STUD_EM	0	90	\$36.97	\$3,327.30
Our Nation, Grade 5		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)	00/02/2022	g I i g IIG	EACLE DAGGIGD	5.1.0.1	GOG GTUD EM	0	670	#26 D7	¢24.042.04
TX myWorld SS Building Our Nation, Grade 5	08/23/2023	Savvas Learning Company LLC	EAGLE PASS ISD	5th Grade	SOC_STUD_EM	0	672	\$36.97	\$24,843.84
Extension (2 Year Print		formerly Pearson K12 Learning							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/22/2023	Savvas Learning Company LLC	EDINBURG CISD	5th Grade	SOC_STUD_EM	0	2,300	\$36.97	\$85,031.00
Our Nation, Grade 5	00/22/2023	formerly Pearson K12 Learning	EDITORING CISE	3th Grade	SOC_STOD_EM	ı	2,300	Ψ30.77	φου,ου1.ου
Extension (2 Year Print		Tormorry Tourson 1112 Dearning							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	08/24/2023	Savvas Learning Company LLC	ELYSIAN FIELDS ISD	5th Grade	SOC_STUD_EM	0	70	\$36.97	\$2,587.90
Our Nation, Grade 5		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	06/30/2023	Savvas Learning Company LLC	HEARNE ISD	5th Grade	SOC_STUD_EM	0	55	\$36.97	\$2,033.35
Our Nation, Grade 5		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately) TX myWorld SS Building	06/30/2023	Corres Learning Compare LLC	KINGSVILLE ISD	5th Grade	SOC_STUD_EM	0	170	\$36.97	\$6,284.90
Our Nation, Grade 5	00/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KINGS VILLE ISD	5th Grade	SOC_STUD_EM	0	170	\$30.97	\$0,284.90
Extension (2 Year Print		Tornierry Pearson K12 Learning							
Consumable + 2 Year Digital									
License, Print Teacher									
License, Tillit Teacher	1	I .	I	1	I	1 1			

Edition must be purchased separately)	Date					Commed			A manust
separately)						Served			Amount
separatery)									
TX myWorld SS Building	07/06/2023	Savvas Learning Company LLC	NEW WAVERLY ISD	5th Grade	SOC STUD EM	0	71	\$36.97	\$2,624.87
Our Nation, Grade 5	07/00/2023	formerly Pearson K12 Learning	NEW WIVERET ISB	3th Grade	BOC_BTOD_EM	· ·	, 1	ψ30.71	Ψ2,024.07
Extension (2 Year Print		Tormerry Tearson 1812 Bearing							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	07/06/2023	Savvas Learning Company LLC	PORT NECHES-	5th Grade	SOC_STUD_EM	0	350	\$36.97	\$12,939.50
Our Nation, Grade 5		formerly Pearson K12 Learning	GROVES ISD						
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately) TX myWorld SS Building	06/02/2023	C Iin C II C	ROMA ISD	541- C 1-	COC CTUD EM	0	560	\$36.97	¢20.702.20
Our Nation, Grade 5	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	5th Grade	SOC_STUD_EM	0	360	\$30.97	\$20,703.20
Extension (2 Year Print		Tornierry Fearson K12 Learning							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	09/06/2023	Savvas Learning Company LLC	WESLACO ISD	5th Grade	SOC_STUD_EM	0	1,440	\$36.97	\$53,236.80
Our Nation, Grade 5		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately) TX myWorld SS Building	09/22/2022	C Ii C IIC	WEST OSO ISD	5th Grade	SOC_STUD_EM	0	140	\$36.97	¢£ 17£ 00
Our Nation, Grade 5	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WEST OSO ISD	5th Grade	SOC_STUD_EM	0	140	\$30.97	\$5,175.80
Extension (2 Year Print		Tornierry Tearson K12 Learning							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Building	01/02/2024	Savvas Learning Company LLC	BRIDGEWAY	5th Grade	SOC_STUD_EM	0	9	\$23.47	\$211.23
Our Nation, Grade 5 New		formerly Pearson K12 Learning	PREPARATORY						
Purchase (1 Year Print			ACADEMY						
Consumable + 1 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase.)	06/00/2022	g I : G III	COMAL ICD	54.0.1	GOG GTUD EM		22	¢22.47	ф 51 6.24
TX myWorld SS Building	06/08/2023	Savvas Learning Company LLC	COMAL ISD	5th Grade	SOC_STUD_EM	0	22	\$23.47	\$516.34
Our Nation, Grade 5 New Purchase (1 Year Print		formerly Pearson K12 Learning							

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase.)									
TX myWorld SS Building Our Nation, Grade 5 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase.)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HARLINGEN CISD	5th Grade	SOC_STUD_EM	0	100	\$23.47	\$2,347.00
TX myWorld SS Building Our Nation, Grade 5 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase.)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WARREN ISD	5th Grade	SOC_STUD_EM	0	37	\$23.47	\$868.39
TX myWorld SS Building Our Nation, Grade 5 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase.)	10/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LAMAR CISD	5th Grade	SOC_STUD_EM	0	60	\$71.97	\$4,318.20
TX myWorld SS Here We Are en español, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	09/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	COTULLA ISD	Kindergarten	SOC_STUD_EM	0	2	\$15.50	\$31.00
TX myWorld SS Here We Are en español, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	Kindergarten	SOC_STUD_EM	0	750	\$15.50	\$11,625.00
TX myWorld SS Here We Are en español, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	05/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	Kindergarten	SOC_STUD_EM	0	350	\$15.50	\$5,425.00
TX myWorld SS Here We Are en español, Grade K	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONROE ISD	Kindergarten	SOC_STUD_EM	0	380	\$25.97	\$9,868.60

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
Extension (2 Year Print	Date					Served			Amount
Consumable + 2 Year Digital									
License. Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Here We	10/12/2023	Savvas Learning Company LLC	CRANDALL ISD	Kindergarten	SOC_STUD_EM	0	30	\$25.97	\$779.10
Are en español, Grade K		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Here We	08/22/2023	Savvas Learning Company LLC	EDINBURG CISD	Kindergarten	SOC_STUD_EM	0	375	\$25.97	\$9,738.75
Are en español, Grade K		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Here We	07/06/2023	Savvas Learning Company LLC	HEARNE ISD	Kindergarten	SOC_STUD_EM	0	5	\$25.97	\$129.85
Are en español, Grade K	0770072023	formerly Pearson K12 Learning	TIETHA (E ISE	Timacigarten	BOC_BICD_EM	Ü	3	Ψ23.57	Ψ127.03
Extension (2 Year Print		Tormorry Tourson 1212 Ecurring							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Here We	06/30/2023	Savvas Learning Company LLC	KINGSVILLE ISD	Kindergarten	SOC_STUD_EM	0	3	\$25.97	\$77.91
Are en español, Grade K		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased separately)									
TX myWorld SS Here We	07/06/2023	Savvas Learning Company LLC	HARLINGEN CISD	Kindergarten	SOC_STUD_EM	0	100	\$17.97	\$1.797.00
Are en español, Grade K New	07/00/2023	formerly Pearson K12 Learning	HARLINGEN CISD	Kindergarten	SOC_STOD_EM	U	100	\$17.97	\$1,797.00
Purchase (1 Year Print		Tornierry Tearson KT2 Dearning							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase)									
TX myWorld SS Here We	08/30/2023	Savvas Learning Company LLC	NORTHSIDE ISD	Kindergarten	SOC_STUD_EM	0	66	\$17.97	\$1,186.02
Are en español, Grade K New		formerly Pearson K12 Learning							
Purchase (1 Year Print									
Consumable + 1 Year Digital									
License, Print Teacher									
Edition included as per ratio									
purchase)	1	I		I	I	l l		l l	

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
	Date					Served			Amount
TX myWorld SS Here We	09/29/2023	Savvas Learning Company LLC	LAMAR CISD	Kindergarten	SOC_STUD_EM	0	30	\$51.97	\$1,559.10
Are en español, Grade K New		formerly Pearson K12 Learning							
Purchase (Print Hardcover +									
2 Year Digital License, Print									
Teacher Edition included as									
per ratio purchase)								***	
TX myWorld SS Here We	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	Kindergarten	SOC_STUD_EM	0	1,400	\$13.00	\$18,200.00
Are, Grade K Extension (1		formerly Pearson K12 Learning							
Year Print Consumable + 1									
Year Digital License, Print Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	08/10/2023	Savvas Learning Company LLC	MERCEDES ISD	Kindergarten	SOC_STUD_EM	0	245	\$13.00	\$3,185.00
Are, Grade K Extension (1	08/10/2023	formerly Pearson K12 Learning	MERCEDES ISD	Kindergarten	SOC_STUD_EM	0	243	\$15.00	\$5,185.00
Year Print Consumable + 1		Tornierry Fearson K12 Learning							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	05/22/2023	Savvas Learning Company LLC	NORTHSIDE ISD	Kindergarten	SOC_STUD_EM	0	3,887	\$13.00	\$50,531.00
Are, Grade K Extension (1	03/22/2023	formerly Pearson K12 Learning	TORTHODE ISE	ramaergurten	BOC_BICD_EM	Ü	3,007	Ψ13.00	Ψ50,551.00
Year Print Consumable + 1		Tormorry Tourson 1112 Dourning							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	08/29/2023	Savvas Learning Company LLC	ODEM-EDROY ISD	Kindergarten	SOC_STUD_EM	0	60	\$13.00	\$780.00
Are, Grade K Extension (1		formerly Pearson K12 Learning							
Year Print Consumable + 1									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	06/30/2023	Savvas Learning Company LLC	BLOOMING GROVE ISD	Kindergarten	SOC_STUD_EM	0	60	\$21.97	\$1,318.20
Are, Grade K Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately) TX myWorld SS Here We	06/08/2023	Savvas Learning Company LLC	CONROE ISD	Vindonconton	SOC_STUD_EM	0	5,380	\$21.97	\$118.198.60
Are, Grade K Extension (2)	06/08/2023	formerly Pearson K12 Learning	CONROE ISD	Kindergarten	SOC_STUD_EM	0	5,380	\$21.97	\$118,198.00
Year Print Consumable + 2		Tormerly Pearson K12 Learning							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	08/22/2023	Savvas Learning Company LLC	EDINBURG CISD	Kindergarten	SOC_STUD_EM	0	2,200	\$21.97	\$48,334.00
Are, Grade K Extension (2	03/22/2023	formerly Pearson K12 Learning		12mder gurten	SSC_STOD_ENT		2,230	Ψ21.>/	ψ 10,55 1.00
Year Print Consumable + 2		,							
Year Digital License, Print									
Teacher Edition must be	1								

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
1 1 (1)	Date					Served			Amount
purchased separately)									
TX myWorld SS Here We	06/30/2023	Savvas Learning Company LLC	HEARNE ISD	Kindergarten	SOC_STUD_EM	0	65	\$21.97	\$1,428.05
Are, Grade K Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	06/30/2023	Savvas Learning Company LLC	KINGSVILLE ISD	Kindergarten	SOC_STUD_EM	0	100	\$21.97	\$2,197.00
Are, Grade K Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)	07/06/2022	g i c iii	NEW WAVEDLY ICD	TZ' 1	COC CTUD EM	0		¢21.07	¢1 204 11
TX myWorld SS Here We Are, Grade K Extension (2	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW WAVERLY ISD	Kindergarten	SOC_STUD_EM	0	63	\$21.97	\$1,384.11
Year Print Consumable + 2		Tornierry Pearson K12 Learning							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	07/06/2023	Savvas Learning Company LLC	PORT NECHES-	Kindergarten	SOC_STUD_EM	0	325	\$21.97	\$7,140.25
Are, Grade K Extension (2)	0770072023	formerly Pearson K12 Learning	GROVES ISD	Timacigarten	BOC_BICD_EM	Ü	323	Ψ21.57	ψ7,110.23
Year Print Consumable + 2		Tormerry Tearson 1812 Ecarming	GROVES ISB						
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	06/02/2023	Savvas Learning Company LLC	ROMA ISD	Kindergarten	SOC_STUD_EM	0	536	\$21.97	\$11,775.92
Are, Grade K Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	09/06/2023	Savvas Learning Company LLC	WESLACO ISD	Kindergarten	SOC_STUD_EM	0	1,145	\$21.97	\$25,155.65
Are, Grade K Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)	00/22/2022		WEGE OGO IGD	TZ' 1	GOG GTUD EM	0	1.40	¢21.07	#2.075.00
TX myWorld SS Here We	08/22/2023	Savvas Learning Company LLC	WEST OSO ISD	Kindergarten	SOC_STUD_EM	0	140	\$21.97	\$3,075.80
Are, Grade K Extension (2 Year Print Consumable + 2		formerly Pearson K12 Learning							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Here We	07/06/2023	Savvas Learning Company LLC	IRAAN-SHEFFIELD	Kindergarten	SOC_STUD_EM	0	22	\$15.97	\$351.34
Are. Grade K New Purchase	07/00/2023	formerly Pearson K12 Learning	COLLEGIATE ISD	Killucigartell	SOC_STOD_EN	0	22	φ13.97	φυυ1.04

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
Year Digital License, Print	Date					Served			Amount
Teacher Edition included as									
per ratio purchase)									
TX myWorld SS Here We	10/12/2023	Savvas Learning Company LLC	WARREN ISD	Kindergarten	SOC_STUD_EM	0	80	\$15.97	\$1,277.60
Are, Grade K New Purchase	10/12/2023	formerly Pearson K12 Learning	WARKENISD	Kilidelgarten	SOC_STOD_EM	U	80	\$13.97	\$1,277.00
(1 Year Print Consumable + 1		Tormerry Learson K12 Learning							
Year Digital License, Print									
Teacher Edition included as									
per ratio purchase)									
TX myWorld SS Making Our	09/29/2023	Savvas Learning Company LLC	COTULLA ISD	1st Grade	SOC STUD EMH	0	2	\$18.00	\$36.00
Way en español, Grade 1	03/23/2028	formerly Pearson K12 Learning	0010221122	Tot Grade	500_5105_2	Ü	_	Ψ10.00	Ψ20.00
Extension (1 Year Print		,							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	1st Grade	SOC_STUD_EMH	0	800	\$18.00	\$14,400.00
Way en español, Grade 1		formerly Pearson K12 Learning							
Extension (1 Year Print									
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)							100	***	
TX myWorld SS Making Our	07/25/2023	Savvas Learning Company LLC	SAN ANTONIO ISD	1st Grade	SOC_STUD_EMH	0	180	\$18.00	\$3,240.00
Way en español, Grade 1		formerly Pearson K12 Learning							
Extension (1 Year Print									
Consumable + 1 Year Digital									
License, Print Teacher Edition must be purchased									
separately)									
TX myWorld SS Making Our	06/08/2023	Savvas Learning Company LLC	CONROE ISD	1st Grade	SOC_STUD_EMH	0	380	\$31.97	\$12,148.60
Way en español, Grade 1	00/00/2023	formerly Pearson K12 Learning	CONKOL ISD	1st Grade	SOC_STOD_LWIII	U	360	Ψ31.77	\$12,140.00
Extension (2 Year Print		Tormorry Tourson 1112 Ecurining							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Making Our	10/12/2023	Savvas Learning Company LLC	CRANDALL ISD	1st Grade	SOC_STUD_EMH	0	10	\$31.97	\$319.70
Way en español, Grade 1		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Making Our	08/22/2023	Savvas Learning Company LLC	EDINBURG CISD	1st Grade	SOC_STUD_EMH	0	250	\$31.97	\$7,992.50
Way en español, Grade 1		formerly Pearson K12 Learning							
Extension (2 Year Print	İ				1				

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
C 11 . 2 V D' '-1	Date					Served			Amount
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)	07/06/2022	G I C IIG	THE A DATE TOD	1 . C . 1	COC CTUD FMI	0		¢21.07	¢150.05
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	HEARNE ISD	1st Grade	SOC_STUD_EMH	0	5	\$31.97	\$159.85
Way en español, Grade 1		formerly Pearson K12 Learning							
Extension (2 Year Print Consumable + 2 Year Digital									
Č .									
License, Print Teacher Edition must be purchased									
1									
separately) TX myWorld SS Making Our	06/30/2023	Covers Learning Comments LLC	KINGSVILLE ISD	1st Grade	SOC STUD EMH	0	3	\$31.97	\$95.91
	06/30/2023	Savvas Learning Company LLC	KINGS VILLE ISD	1st Grade	SOC_STUD_EMH	U	3	\$31.97	\$95.91
Way en español, Grade 1		formerly Pearson K12 Learning							
Extension (2 Year Print Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	HARLINGEN CISD	1st Grade	SOC_STUD_EMH	0	60	\$20.07	\$1,258.20
Way en español, Grade 1	07/06/2023	formerly Pearson K12 Learning	HARLINGEN CISD	1st Grade	SOC_STOD_EMIN	U	60	\$20.97	\$1,238.20
New Purchase (1 Year Print		Tormerry Fearson K12 Learning							
Consumable + 1 Year Digital									
License. Print Teacher									
Edition included as per ratio									
purchase)									
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	KENEDY COUNTY	1st Grade	SOC_STUD_EMH	0	15	\$15.00	\$225.00
Way, Grade 1 Extension (1	07/00/2023	formerly Pearson K12 Learning	WIDE CSD	1st Grade	SOC_STOD_ENTIT	U	13	\$15.00	\$223.00
Year Print Consumable + 1		Tornierry Tearson K12 Learning	WIDE CSD						
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	1st Grade	SOC_STUD_EMH	0	1,450	\$15.00	\$21,750.00
Way, Grade 1 Extension (1	01/00/2028	formerly Pearson K12 Learning	2.110 111102	15t Grade	500_5105_2	Ü	1,.00	Ψ15.00	Ψ21,700.00
Year Print Consumable + 1		Tormorry Tourson 1112 Ecuring							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	08/10/2023	Savvas Learning Company LLC	MERCEDES ISD	1st Grade	SOC_STUD_EMH	0	345	\$15.00	\$5,175.00
Way, Grade 1 Extension (1		formerly Pearson K12 Learning						,	, , , , , , , , , , , , , , , , , , , ,
Year Print Consumable + 1		,							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	05/22/2023	Savvas Learning Company LLC	NORTHSIDE ISD	1st Grade	SOC_STUD_EMH	0	2,759	\$15.00	\$41,385.00
Way, Grade 1 Extension (1		formerly Pearson K12 Learning					*		,
Year Print Consumable + 1									
Year Digital License, Print									

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
Teacher Edition must be	Date					Served			Amount
purchased separately)									
TX myWorld SS Making Our	08/29/2023	Savvas Learning Company LLC	ODEM-EDROY ISD	1st Grade	SOC STUD EMH	0	70	\$15.00	\$1,050.00
Way, Grade 1 Extension (1	06/29/2023	formerly Pearson K12 Learning	ODEM-EDROT ISD	1st Grade	SOC_STOD_EMIT	U	70	\$15.00	\$1,050.00
Year Print Consumable + 1		Tornierry Tearson K12 Learning							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	10/12/2023	Savvas Learning Company LLC	PEGASUS SCHOOL OF	1st Grade	SOC_STUD_EMH	0	15	\$15.00	\$225.00
Way, Grade 1 Extension (1		formerly Pearson K12 Learning	LIBERAL ARTS AND				_	,	,
Year Print Consumable + 1			SCIENCES						
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	06/30/2023	Savvas Learning Company LLC	BLOOMING GROVE ISD	1st Grade	SOC_STUD_EMH	0	70	\$27.97	\$1,957.90
Way, Grade 1 Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	06/08/2023	Savvas Learning Company LLC	CONROE ISD	1st Grade	SOC_STUD_EMH	0	5,705	\$27.97	\$159,568.85
Way, Grade 1 Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)	00/02/0002		E. C. E. D. C. LOD	1.0.1	GOG GETTE FLAT	0	650	#27.07	#10.404. 2 6
TX myWorld SS Making Our	08/23/2023	Savvas Learning Company LLC	EAGLE PASS ISD	1st Grade	SOC_STUD_EMH	0	658	\$27.97	\$18,404.26
Way, Grade 1 Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2 Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	08/22/2023	Savvas Learning Company LLC	EDINBURG CISD	1st Grade	SOC STUD EMH	0	2.250	\$27.97	\$62,932.50
Way, Grade 1 Extension (2	06/22/2023	formerly Pearson K12 Learning	EDINBUKO CISD	1st Grade	SOC_STOD_EMIT	U	2,230	\$21.91	\$02,932.30
Year Print Consumable + 2		Tornierry Tearson K12 Learning							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	06/30/2023	Savvas Learning Company LLC	HEARNE ISD	1st Grade	SOC STUD EMH	0	65	\$27.97	\$1,818.05
Way, Grade 1 Extension (2		formerly Pearson K12 Learning						,	. ,
Year Print Consumable + 2		,							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	06/30/2023	Savvas Learning Company LLC	KINGSVILLE ISD	1st Grade	SOC_STUD_EMH	0	200	\$27.97	\$5,594.00
Way, Grade 1 Extension (2		formerly Pearson K12 Learning							•
Year Print Consumable + 2		1							

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
W. Dividit	Date					Served			Amount
Year Digital License, Print									
Teacher Edition must be									
purchased separately)	07/06/2022		NEW WAVEDLY IOD	1 . 0 . 1	GOC CTUD EMIL	0	50	¢27.07	¢1.650.00
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	NEW WAVERLY ISD	1st Grade	SOC_STUD_EMH	0	59	\$27.97	\$1,650.23
Way, Grade 1 Extension (2 Year Print Consumable + 2		formerly Pearson K12 Learning							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	PORT NECHES-	1st Grade	SOC STUD EMH	0	270	\$27.97	\$7,551.90
Way, Grade 1 Extension (2	07/00/2023	formerly Pearson K12 Learning	GROVES ISD	1st Grade	SOC_STOD_EMIT	0	270	\$21.91	\$1,551.50
Year Print Consumable + 2		Tornierry Tearson K12 Learning	GROVES ISD						
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	06/02/2023	Savvas Learning Company LLC	ROMA ISD	1st Grade	SOC_STUD_EMH	0	606	\$27.97	\$16,949.82
Way, Grade 1 Extension (2	00,00,000	formerly Pearson K12 Learning			~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	_		7=1.57	+,
Year Print Consumable + 2		,							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	09/06/2023	Savvas Learning Company LLC	WESLACO ISD	1st Grade	SOC_STUD_EMH	0	1,405	\$27.97	\$39,297.85
Way, Grade 1 Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS Making Our	01/02/2024	Savvas Learning Company LLC	BRIDGEWAY	1st Grade	SOC_STUD_EMH	0	13	\$18.97	\$246.61
Way, Grade 1 New Purchase		formerly Pearson K12 Learning	PREPARATORY						
(1 Year Print Consumable + 1			ACADEMY						
Year Digital License, Print									
Teacher Edition included as									
per ratio purchase)	07/06/2022		HADI DICENI CICO	1 . 0 . 1	GOC CTUD EMIL	0	45	¢10.07	#052.65
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	HARLINGEN CISD	1st Grade	SOC_STUD_EMH	0	45	\$18.97	\$853.65
Way, Grade 1 New Purchase (1 Year Print Consumable + 1		formerly Pearson K12 Learning							
Year Digital License, Print									
Teacher Edition included as									
per ratio purchase)									
TX myWorld SS Making Our	07/06/2023	Savvas Learning Company LLC	IRAAN-SHEFFIELD	1st Grade	SOC STUD EMH	0	12	\$18.97	\$227.64
Way, Grade 1 New Purchase	0.7700/2023	formerly Pearson K12 Learning	COLLEGIATE ISD	150 51440	SOC_STOD_EMIT		12	Ψ10.77	Ψ227.04
(1 Year Print Consumable + 1									
Year Digital License, Print									
Teacher Edition included as									
per ratio purchase)									
TX myWorld SS Making Our	10/12/2023	Savvas Learning Company LLC	WARREN ISD	1st Grade	SOC_STUD_EMH	0	95	\$18.97	\$1,802.15
Way, Grade 1 New Purchase		formerly Pearson K12 Learning				1			

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
(1 Year Print Consumable + 1	Date					Serveu			Amount
Year Digital License, Print									
Teacher Edition included as									
per ratio purchase)									
TX myWorld SS Making Our	08/23/2023	Savvas Learning Company LLC	CENTERVILLE ISD	1st Grade	SOC_STUD_EMH	0	4	\$53.97	\$215.88
Way, Grade 1 New Purchase	06/23/2023	formerly Pearson K12 Learning	CENTER VILLE ISD	1st Grade	SOC_STOD_EMIT	U	4	φ33.91	\$213.00
(4 Year Print Consumable + 4		Tornierry Tearson K12 Learning							
Year Digital License, Print									
Teacher Edition included as									
per ratio purchase)									
TX myWorld SS Making Our	10/30/2023	Savvas Learning Company LLC	LAMAR CISD	1st Grade	SOC_STUD_EMH	0	40	\$55.97	\$2,238.80
Way, Grade 1 New Purchase	10/30/2023	formerly Pearson K12 Learning	Er ivii ik Cibb	1st Grade	SOC_STOD_EMILI	· ·	10	ψ33.77	Ψ2,230.00
(Print Hardcover + 2 Year		Tormorry Tourson 1112 Dearning							
Digital License, Print Teacher									
Edition included as per ratio									
purchase)									
TX myWorld SS We Are	09/29/2023	Savvas Learning Company LLC	COTULLA ISD	4th Grade	SOC_STUD_EM	0	2	\$21.00	\$42.00
Texas en español, Grade 4		formerly Pearson K12 Learning							,
Extension (1 Year Print		,							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS We Are	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	4th Grade	SOC_STUD_EM	0	950	\$21.00	\$19,950.00
Texas en español, Grade 4		formerly Pearson K12 Learning							
Extension (1 Year Print									
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS We Are	05/22/2023	Savvas Learning Company LLC	NORTHSIDE ISD	4th Grade	SOC_STUD_EM	0	50	\$21.00	\$1,050.00
Texas en español, Grade 4		formerly Pearson K12 Learning							
Extension (1 Year Print									
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased separately)									
TX myWorld SS We Are	07/25/2023	Savvas Learning Company LLC	SAN ANTONIO ISD	4th Grade	SOC_STUD_EM	0	440	\$21.00	\$9,240.00
Texas en español, Grade 4	07/23/2023	formerly Pearson K12 Learning	SAN ANTONIO ISD	4th Grade	SOC_STOD_EM	U	440	\$21.00	\$9,240.00
Extension (1 Year Print		formerly rearson K12 Learning							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS We Are	06/08/2023	Savvas Learning Company LLC	CONROE ISD	4th Grade	SOC_STUD_EM	0	380	\$38.97	\$14,808.60
Texas en español, Grade 4	03/00/2023	formerly Pearson K12 Learning	201.ROB IDD	Till Grade	SOC_BIOD_EM	ı	230	Ψ30.21	Ψ11,000.00
Extension (2 Year Print	1	Table 1 Table		1					

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)									
TX myWorld SS We Are Texas en español, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EDINBURG CISD	4th Grade	SOC_STUD_EM	0	30	\$38.97	\$1,169.10
TX myWorld SS We Are Texas en español, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	4th Grade	SOC_STUD_EM	0	5	\$38.97	\$194.85
TX myWorld SS We Are Texas en español, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KINGSVILLE ISD	4th Grade	SOC_STUD_EM	0	3	\$38.97	\$116.91
TX myWorld SS We Are Texas en español, Grade 4 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HARLINGEN CISD	4th Grade	SOC_STUD_EM	0	15	\$24.47	\$367.05
TX myWorld SS We Are Texas en español, Grade 4 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	4th Grade	SOC_STUD_EM	0	154	\$24.47	\$3,768.38
TX myWorld SS We Are Texas en español, Grade 4 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/04/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	4th Grade	SOC_STUD_EM	0	22	\$24.47	\$538.34

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
TX myWorld SS We Are Texas, Grade 4 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GRAPE CREEK ISD	4th Grade	SOC_STUD_EM	0	100	\$17.50	\$1,750.00
TX myWorld SS We Are Texas, Grade 4 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	4th Grade	SOC_STUD_EM	0	1,550	\$17.50	\$27,125.00
TX myWorld SS We Are Texas, Grade 4 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MERCEDES ISD	4th Grade	SOC_STUD_EM	0	270	\$17.50	\$4,725.00
TX myWorld SS We Are Texas, Grade 4 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	05/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	4th Grade	SOC_STUD_EM	0	5,368	\$17.50	\$93,940.00
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLOOMING GROVE ISD	4th Grade	SOC_STUD_EM	0	70	\$33.97	\$2,377.90
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BOLING ISD	4th Grade	SOC_STUD_EM	0	88	\$33.97	\$2,989.36
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	4th Grade	SOC_STUD_EM	0	338	\$33.97	\$11,481.86
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EDINBURG CISD	4th Grade	SOC_STUD_EM	0	2,250	\$33.97	\$76,432.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
purchased separately)									
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ELYSIAN FIELDS ISD	4th Grade	SOC_STUD_EM	0	70	\$33.97	\$2,377.90
purchased separately) TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	4th Grade	SOC_STUD_EM	0	60	\$33.97	\$2,038.20
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KINGSVILLE ISD	4th Grade	SOC_STUD_EM	0	215	\$33.97	\$7,303.55
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	09/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NAVARRO ISD	4th Grade	SOC_STUD_EM	0	210	\$33.97	\$7,133.70
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW WAVERLY ISD	4th Grade	SOC_STUD_EM	0	75	\$33.97	\$2,547.75
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PORT NECHES- GROVES ISD	4th Grade	SOC_STUD_EM	0	330	\$33.97	\$11,210.10
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	05/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAPOPORT ACADEMY PUBLIC SCHOOL	4th Grade	SOC_STUD_EM	0	68	\$33.97	\$2,309.96
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	4th Grade	SOC_STUD_EM	0	650	\$33.97	\$22,080.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Year Digital License, Print Teacher Edition must be purchased separately)									
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	TEXAS SCHOOL OF THE ARTS	4th Grade	SOC_STUD_EM	0	24	\$33.97	\$815.28
TX myWorld SS We Are Texas, Grade 4 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	09/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WESLACO ISD	4th Grade	SOC_STUD_EM	0	1,335	\$33.97	\$45,349.95
TX myWorld SS We Are Texas, Grade 4 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	01/02/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	BRIDGEWAY PREPARATORY ACADEMY	4th Grade	SOC_STUD_EM	0	11	\$21.97	\$241.67
TX myWorld SS We Are Texas, Grade 4 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HARLINGEN CISD	4th Grade	SOC_STUD_EM	0	18	\$21.97	\$395.46
TX myWorld SS We Are Texas, Grade 4 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SAINT JO ISD	4th Grade	SOC_STUD_EM	0	1	\$21.97	\$21.97
TX myWorld SS We Are Texas, Grade 4 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WARREN ISD	4th Grade	SOC_STUD_EM	0	95	\$21.97	\$2,087.15
TX myWorld SS We Are Texas, Grade 4 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LAMAR CISD	4th Grade	SOC_STUD_EM	0	45	\$66.97	\$3,013.65
TX myWorld SS We Explore People en español, Grade 2	09/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	COTULLA ISD	2nd Grade	SOC_STUD_EM	0	2	\$18.00	\$36.00

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
Extension (1 Year Print	Date					Served			Amount
Consumable + 1 Year Digital									
License. Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS We Explore	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	2nd Grade	SOC_STUD_EM	0	900	\$18.00	\$16,200.00
People en español, Grade 2		formerly Pearson K12 Learning							
Extension (1 Year Print									
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately) TX myWorld SS We Explore	06/08/2023	Come Louis Come IIC	CONROE ISD	2nd Grade	COC CTUD EM	0	380	\$31.97	\$12,148.60
People en español, Grade 2	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONKOE ISD	2nd Grade	SOC_STUD_EM	U	380	\$31.97	\$12,148.00
Extension (2 Year Print		Tornierry Pearson K12 Learning							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS We Explore	10/12/2023	Savvas Learning Company LLC	CRANDALL ISD	2nd Grade	SOC_STUD_EM	0	20	\$31.97	\$639.40
People en español, Grade 2		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased separately)									
TX myWorld SS We Explore	08/22/2023	Savvas Learning Company LLC	EDINBURG CISD	2nd Grade	SOC_STUD_EM	0	75	\$31.97	\$2,397.75
People en español, Grade 2	06/22/2023	formerly Pearson K12 Learning	EDINDUKO CISD	Ziid Grade	SOC_STOD_EM	U	73	φ31.97	\$2,391.13
Extension (2 Year Print		Tornierry Tearson KT2 Dearning							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS We Explore	07/06/2023	Savvas Learning Company LLC	HEARNE ISD	2nd Grade	SOC_STUD_EM	0	5	\$31.97	\$159.85
People en español, Grade 2		formerly Pearson K12 Learning							
Extension (2 Year Print									
Consumable + 2 Year Digital License, Print Teacher									
Edition must be purchased									
separately)									
TX myWorld SS We Explore	06/30/2023	Savvas Learning Company LLC	KINGSVILLE ISD	2nd Grade	SOC_STUD_EM	0	3	\$31.97	\$95.91
People en español, Grade 2		formerly Pearson K12 Learning					5		Ψ,υ.,,1
Extension (2 Year Print		, , , , , , , , , , , , , , , , , , , ,							
Consumable + 2 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
TX myWorld SS We Explore People en español, Grade 2 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HARLINGEN CISD	2nd Grade	SOC_STUD_EM	0	100	\$20.97	\$2,097.00
TX myWorld SS We Explore People en español, Grade 2 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	2nd Grade	SOC_STUD_EM	0	66	\$20.97	\$1,384.02
TX myWorld SS We Explore People en español, Grade 2 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LAMAR CISD	2nd Grade	SOC_STUD_EM	0	15	\$62.97	\$944.55
TX myWorld SS We Explore People, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	2nd Grade	SOC_STUD_EM	0	1,550	\$15.00	\$23,250.00
TX myWorld SS We Explore People, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MERCEDES ISD	2nd Grade	SOC_STUD_EM	0	245	\$15.00	\$3,675.00
TX myWorld SS We Explore People, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	05/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	2nd Grade	SOC_STUD_EM	0	4,250	\$15.00	\$63,750.00
TX myWorld SS We Explore People, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	08/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ODEM-EDROY ISD	2nd Grade	SOC_STUD_EM	0	70	\$15.00	\$1,050.00
TX myWorld SS We Explore People, Grade 2 Extension (1	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PEGASUS SCHOOL OF LIBERAL ARTS AND	2nd Grade	SOC_STUD_EM	0	15	\$15.00	\$225.00

	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
	Date		2 222 2 22 2			Served			Amount
Year Print Consumable + 1			SCIENCES						
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS We Explore	06/30/2023	Savvas Learning Company LLC	BLOOMING GROVE ISD	2nd Grade	SOC_STUD_EM	0	80	\$27.97	\$2,237.60
People, Grade 2 Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS We Explore	06/02/2023	Savvas Learning Company LLC	BOLING ISD	2nd Grade	SOC_STUD_EM	0	88	\$27.97	\$2,461.36
People, Grade 2 Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS We Explore	06/08/2023	Savvas Learning Company LLC	CONROE ISD	2nd Grade	SOC_STUD_EM	0	5,685	\$27.97	\$159,009.45
People, Grade 2 Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS We Explore	08/23/2023	Savvas Learning Company LLC	EAGLE PASS ISD	2nd Grade	SOC_STUD_EM	0	392	\$27.97	\$10,964.24
People, Grade 2 Extension (2		formerly Pearson K12 Learning							
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS We Explore	08/22/2023	Savvas Learning Company LLC	EDINBURG CISD	2nd Grade	SOC_STUD_EM	0	2,250	\$27.97	\$62,932.50
People, Grade 2 Extension (2		formerly Pearson K12 Learning					•		
Year Print Consumable + 2		, , ,							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS We Explore	06/30/2023	Savvas Learning Company LLC	HEARNE ISD	2nd Grade	SOC STUD EM	0	65	\$27.97	\$1,818.05
People, Grade 2 Extension (2		formerly Pearson K12 Learning							, ,
Year Print Consumable + 2		,							
Year Digital License, Print									
Teacher Edition must be									
purchased separately)									
TX myWorld SS We Explore	06/30/2023	Savvas Learning Company LLC	KINGSVILLE ISD	2nd Grade	SOC_STUD_EM	0	200	\$27.97	\$5,594.00
People, Grade 2 Extension (2		formerly Pearson K12 Learning					_30	T,	,
Year Print Consumable + 2									
Year Digital License, Print									
Teacher Edition must be						1		l l	

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
TX myWorld SS We Explore People, Grade 2 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW WAVERLY ISD	2nd Grade	SOC_STUD_EM	0	59	\$27.97	\$1,650.23
TX myWorld SS We Explore People, Grade 2 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PORT NECHES- GROVES ISD	2nd Grade	SOC_STUD_EM	0	320	\$27.97	\$8,950.40
TX myWorld SS We Explore People, Grade 2 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	05/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAPOPORT ACADEMY PUBLIC SCHOOL	2nd Grade	SOC_STUD_EM	0	68	\$27.97	\$1,901.96
TX myWorld SS We Explore People, Grade 2 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	2nd Grade	SOC_STUD_EM	0	520	\$27.97	\$14,544.40
TX myWorld SS We Explore People, Grade 2 Extension (2 Year Print Consumable + 2 Year Digital License, Print Teacher Edition must be purchased separately)	09/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WESLACO ISD	2nd Grade	SOC_STUD_EM	0	1,398	\$27.97	\$39,102.06
TX myWorld SS We Explore People, Grade 2 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	01/02/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	BRIDGEWAY PREPARATORY ACADEMY	2nd Grade	SOC_STUD_EM	0	17	\$18.97	\$322.49
TX myWorld SS We Explore People, Grade 2 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HARLINGEN CISD	2nd Grade	SOC_STUD_EM	0	75	\$18.97	\$1,422.75
TX myWorld SS We Explore People, Grade 2 New Purchase (1 Year Print	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	IRAAN-SHEFFIELD COLLEGIATE ISD	2nd Grade	SOC_STUD_EM	0	17	\$18.97	\$322.49

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)									
TX myWorld SS We Explore People, Grade 2 New Purchase (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WARREN ISD	2nd Grade	SOC_STUD_EM	0	100	\$18.97	\$1,897.00
TX myWorld SS We Explore People, Grade 2 New Purchase (4 Year Print Consumable + 4 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CENTERVILLE ISD	2nd Grade	SOC_STUD_EM	0	10	\$53.97	\$539.70
TX myWorld SS We Explore People, Grade 2 New Purchase (Print Hardcover + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LAMAR CISD	2nd Grade	SOC_STUD_EM	0	70	\$55.97	\$3,917.90
TeenCoder: Java Programming (1YR Courseware)	07/06/2023	Compuscholar, Inc.	HARLINGEN CISD	High School - Other	TECH_APP_EMH	0	11	\$35.00	\$385.00
TeenCoder: Windows Programming C# (1YR Digital Courseware)	10/20/2023	Compuscholar, Inc.	ECTOR COUNTY ISD	High School - Other	TECH_APP_EMH	0	150	\$35.00	\$5,250.00
TeenCoder: Windows Programming C# (1YR Digital Courseware)	07/06/2023	Compuscholar, Inc.	HARLINGEN CISD	High School - Other	TECH_APP_EMH	0	25	\$35.00	\$875.00
Texas Algebra I Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	08/28/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLUFF DALE ISD	High School - Math	MATH_H	0	20	\$25.97	\$519.40
Texas Algebra I Extension (3 Year Digital License)	10/16/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	AGUA DULCE ISD	High School - Math	MATH_H	0	45	\$34.97	\$1,573.65
Texas Algebra I Extension (3 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	High School - Math	MATH_H	0	250	\$34.97	\$8,742.50
Texas Algebra I Extension (3 Year Digital License)	08/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CANTON ISD	High School - Math	MATH_H	0	150	\$34.97	\$5,245.50
Texas Algebra I Extension (3 Year Digital License)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CANTON ISD	High School - Math	MATH_H	0	30	\$34.97	\$1,049.10

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Algebra I Extension (3 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	High School - Math	MATH_H	0	1,217	\$34.97	\$42,558.49
Texas Algebra I Extension (3 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARBLE FALLS ISD	High School - Math	MATH_H	0	250	\$34.97	\$8,742.50
Texas Algebra I Extension (3 Year Digital License)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PECOS-BARSTOW- TOYAH ISD	High School - Math	MATH_H	0	280	\$34.97	\$9,791.60
Texas Algebra I Extension (3 Year Digital License)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SAN DIEGO ISD	High School - Math	MATH_H	0	125	\$34.97	\$4,371.25
Texas Algebra I Extension (3 Year Digital License)	09/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VALLEY VIEW ISD	High School - Math	MATH_H	0	75	\$34.97	\$2,622.75
Texas Algebra I Extension (3 Year Digital License)	08/11/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VEGA ISD	High School - Math	MATH_H	0	28	\$34.97	\$979.16
Texas Algebra I Extension (3 Year Print Consumable + 3 Year Digital License, Print Teacher Edition must be purchased separately)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PORT NECHES- GROVES ISD	High School - Math	MATH_H	0	425	\$43.97	\$18,687.25
Texas Algebra I Extension (3 Year Print Consumable + 3 Year Digital License, Print Teacher Edition must be purchased separately)	06/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RIVERCREST ISD	High School - Math	MATH_H	0	80	\$43.97	\$3,517.60
Texas Algebra I Extension (3 Year Print Consumable + 3 Year Digital License, Print Teacher Edition must be purchased separately)	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	High School - Math	MATH_H	0	180	\$43.97	\$7,914.60
Texas Algebra I New Purchase (3 Year Print Consumable + HC Homework Helper + 3 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/11/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VEGA ISD	High School - Math	MATH_H	0	5	\$71.47	\$357.35
Texas Algebra I Student Bundle Bundle (1-Yr Digital & Print)	06/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BOVINA ISD	High School - Math	MATH_H	0	20	\$76.20	\$1,524.00
Texas Algebra I Student Bundle Bundle (1-Yr Digital & Print)	05/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	VANGUARD ACADEMY	High School - Math	MATH_H	0	25	\$76.20	\$1,905.00
Texas Algebra I Student Bundle Bundle (1-Yr Digital & Print)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ZEPHYR ISD	High School - Math	MATH_H	0	23	\$76.20	\$1,752.60
Texas Algebra I Student Digital and Print Bundle (3- Yrs)	02/22/2024	School Education Group, a division of The McGraw-Hill Companies, Inc.	BOVINA ISD	High School - Math	MATH_H	0	12	\$78.72	\$944.64

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Algebra I Student Digital and Print Bundle (3- Yrs)	08/22/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	COOPER ISD	High School - Math	MATH_H	0	30	\$78.72	\$2,361.60
Texas Algebra I Student Digital and Print Bundle (3- Yrs)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	High School - Math	MATH_H	0	25	\$78.72	\$1,968.00
Texas Algebra I Student Digital and Print Bundle (3- Yrs)	11/15/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PROGRESO ISD	High School - Math	MATH_H	0	150	\$78.72	\$11,808.00
Texas Algebra II Extension (1 Year Digital License)	09/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ELGIN ISD	High School - Math	MATH_H	0	370	\$21.47	\$7,943.90
Texas Algebra II Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be	08/28/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLUFF DALE ISD	High School - Math	MATH_H	0	20	\$25.97	\$519.40
purchased separately) Texas Algebra II Extension (3 Year Digital License)	10/16/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	AGUA DULCE ISD	High School - Math	MATH_H	0	45	\$34.97	\$1,573.65
Texas Algebra II Extension (3 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	High School - Math	MATH_H	0	275	\$34.97	\$9,616.75
Texas Algebra II Extension (3 Year Digital License)	08/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CANTON ISD	High School - Math	MATH_H	0	165	\$34.97	\$5,770.05
Texas Algebra II Extension (3 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	High School - Math	MATH_H	0	750	\$34.97	\$26,227.50
Texas Algebra II Extension (3 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARBLE FALLS ISD	High School - Math	MATH_H	0	200	\$34.97	\$6,994.00
Texas Algebra II Extension (3 Year Digital License)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PECOS-BARSTOW- TOYAH ISD	High School - Math	MATH_H	0	175	\$34.97	\$6,119.75
Texas Algebra II Extension (3 Year Digital License)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SAN DIEGO ISD	High School - Math	MATH_H	0	100	\$34.97	\$3,497.00
Texas Algebra II Extension (3 Year Digital License)	09/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VALLEY VIEW ISD	High School - Math	MATH_H	0	75	\$34.97	\$2,622.75
Texas Algebra II Extension (3 Year Digital License)	08/11/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VEGA ISD	High School - Math	MATH_H	0	28	\$34.97	\$979.16
Texas Algebra II Extension (3 Year Print Consumable + 3 Year Digital License, Print Teacher Edition must be purchased separately)	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	High School - Math	MATH_H	0	90	\$43.97	\$3,957.30
Texas Algebra II New Purchase (3 Year Print Consumable + HC Homework Helper + 3 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/11/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VEGA ISD	High School - Math	MATH_H	0	5	\$71.47	\$357.35

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Algebra II Print and Digital Student Bundle (3- Yrs)	10/04/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FABENS ISD	High School - Math	MATH_H	0	50	\$78.72	\$3,936.00
Texas Algebra II Print and Digital Student Bundle (3- Yrs)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	GARNER ISD	High School - Math	MATH_H	0	20	\$78.72	\$1,574.40
Texas Algebra II Print and Digital Student Bundle (3- Yrs)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	High School - Math	MATH_H	0	20	\$78.72	\$1,574.40
Texas Algebra II Print and Digital Student Bundle (3- Yrs)	11/15/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PROGRESO ISD	High School - Math	MATH_H	0	150	\$78.72	\$11,808.00
Texas Algebra II Student Bundle (1-Yr Digital & Print)	06/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ADVANTAGE ACADEMY	High School - Math	MATH_H	0	50	\$76.20	\$3,810.00
Texas Algebra II Student Bundle (1-Yr Digital & Print)	08/24/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW WAVERLY ISD	High School - Math	MATH_H	0	10	\$76.20	\$762.00
Texas Algebra II Student Bundle (1-Yr Digital & Print)	05/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	VANGUARD ACADEMY	High School - Math	MATH_H	0	100	\$76.20	\$7,620.00
Texas Algebra II Student Bundle (1-Yr Digital & Print)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ZEPHYR ISD	High School - Math	MATH_H	0	17	\$76.20	\$1,295.40
Texas Community Studies Weekly - History -Spanish 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	3rd Grade	SOC_STUD_EM	0	50	\$10.95	\$547.50
Texas Community Studies Weekly - History -Spanish 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	3rd Grade	SOC_STUD_EM	0	5,000	\$10.95	\$54,750.00
Texas Community Studies Weekly - History -Spanish 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	3rd Grade	SOC_STUD_EM	0	215	\$10.95	\$2,354.25
Texas Community Studies Weekly - History -Spanish 1 Year Digital/1 Year Consumable	10/16/2023	Studies Weekly, Inc.	ELGIN ISD	3rd Grade	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Community Studies Weekly - History -Spanish 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	3rd Grade	SOC_STUD_EM	0	1,300	\$10.95	\$14,235.00
Texas Community Studies Weekly - History -Spanish 1 Year Digital/1 Year	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	3rd Grade	SOC_STUD_EM	0	58	\$10.95	\$635.10

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable									
Texas Community Studies Weekly - History -Spanish 1 Year Digital/1 Year Consumable	05/26/2023	Studies Weekly, Inc.	MULLIN ISD	3rd Grade	SOC_STUD_EM	0	1	\$10.95	\$10.95
Texas Community Studies Weekly - History -Spanish 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	3rd Grade	SOC_STUD_EM	0	48	\$10.95	\$525.60
Texas Community Studies Weekly - History -Spanish 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	3rd Grade	SOC_STUD_EM	0	70	\$19.90	\$1,393.00
Texas Contemporary World Cultures, Grade 6 Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GANADO ISD	6th Grade	SOC_STUD_EM	0	54	\$16.00	\$864.00
Texas Contemporary World Cultures, Grade 6 Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	6th Grade	SOC_STUD_EM	0	230	\$29.97	\$6,893.10
Texas Contemporary World Cultures, Grade 6 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	6th Grade	SOC_STUD_EM	0	1,050	\$29.97	\$31,468.50
Texas Contemporary World Cultures, Grade 6 Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	6th Grade	SOC_STUD_EM	0	60	\$29.97	\$1,798.20
Texas Contemporary World Cultures, Grade 6 Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KINGSVILLE ISD	6th Grade	SOC_STUD_EM	0	200	\$29.97	\$5,994.00
Texas Economics Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GANADO ISD	High School - Soc Studies	SOC_STUD_H	0	44	\$14.50	\$638.00
Texas Economics Extension (1 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	High School - Soc Studies	SOC_STUD_H	0	1,725	\$14.50	\$25,012.50
Texas Economics Extension (1 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LITTLE CYPRESS- MAURICEVILLE CISD	High School - Soc Studies	SOC_STUD_H	0	100	\$14.50	\$1,450.00
Texas Economics Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	High School - Soc Studies	SOC_STUD_H	0	115	\$25.97	\$2,986.55
Texas Economics Extension (2 Year Digital License)	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONROE ISD	High School - Soc Studies	SOC_STUD_H	0	3,859	\$25.97	\$100,218.23
Texas Economics Extension (2 Year Digital License)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$25.97	\$519.40
Texas Economics Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	High School - Soc Studies	SOC_STUD_H	0	200	\$25.97	\$5,194.00
Texas Economics Extension (2 Year Digital License)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GREENWOOD ISD	High School - Soc Studies	SOC_STUD_H	0	45	\$25.97	\$1,168.65

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Economics Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	High School - Soc Studies	SOC_STUD_H	0	53	\$25.97	\$1,376.41
Texas Economics Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARBLE FALLS ISD	High School - Soc Studies	SOC_STUD_H	0	200	\$25.97	\$5,194.00
Texas Economics Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW BOSTON ISD	High School - Soc Studies	SOC_STUD_H	0	85	\$25.97	\$2,207.45
Texas Economics Extension (4 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SONORA ISD	High School - Soc Studies	SOC_STUD_H	0	45	\$45.00	\$2,025.00
Texas Economics Student Bundle (1-Yr Digital and Print)	10/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BRACKETT ISD	High School - Soc Studies	SOC_STUD_H	0	30	\$71.01	\$2,130.30
Texas Economics Student Bundle (1-Yr Digital and Print)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	High School - Soc Studies	SOC_STUD_H	0	4	\$71.01	\$284.04
Texas Economics Student Bundle (1-Yr Digital and Print)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	High School - Soc Studies	SOC_STUD_H	0	18	\$71.01	\$1,278.18
Texas Economics Student Bundle (2-Yr Digital and Print)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CALVIN NELMS CHARTER SCHOOLS	High School - Soc Studies	SOC_STUD_H	0	20	\$73.02	\$1,460.40
Texas Economics Student Bundle (2-Yr Digital and Print)	10/17/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FRIONA ISD	High School - Soc Studies	SOC_STUD_H	0	70	\$73.02	\$5,111.40
Texas Economics Student Bundle (2-Yr Digital and Print)	11/15/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PROGRESO ISD	High School - Soc Studies	SOC_STUD_H	0	150	\$73.02	\$10,953.00
Texas Economics Student Bundle (2-Yr Digital and Print)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STERLING CITY ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$73.02	\$1,460.40
Texas Geometry Digital and Print Student Bundle (3-Yrs)	10/04/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FABENS ISD	High School - Math	MATH_H	0	25	\$78.72	\$1,968.00
Texas Geometry Digital and Print Student Bundle (3-Yrs)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	High School - Math	MATH_H	0	20	\$78.72	\$1,574.40
Texas Geometry Digital and Print Student Bundle (3-Yrs)	11/15/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PROGRESO ISD	High School - Math	MATH_H	0	150	\$78.72	\$11,808.00
Texas Geometry Extension (1 Year Digital License)	09/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ELGIN ISD	High School - Math	MATH_H	0	250	\$21.47	\$5,367.50
Texas Geometry Extension (1 Year Digital License)	10/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARSHALL ISD	High School - Math	MATH_H	0	425	\$21.47	\$9,124.75
Texas Geometry Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be	08/28/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLUFF DALE ISD	High School - Math	MATH_H	0	20	\$25.97	\$519.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
purchased separately)									
Texas Geometry Extension (3 Year Digital License)	10/16/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	AGUA DULCE ISD	High School - Math	MATH_H	0	45	\$34.97	\$1,573.65
Texas Geometry Extension (3 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	High School - Math	MATH_H	0	250	\$34.97	\$8,742.50
Texas Geometry Extension (3 Year Digital License)	08/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CANTON ISD	High School - Math	MATH_H	0	105	\$34.97	\$3,671.85
Texas Geometry Extension (3 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	High School - Math	MATH_H	0	750	\$34.97	\$26,227.50
Texas Geometry Extension (3 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARBLE FALLS ISD	High School - Math	MATH_H	0	250	\$34.97	\$8,742.50
Texas Geometry Extension (3 Year Digital License)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PECOS-BARSTOW- TOYAH ISD	High School - Math	MATH_H	0	225	\$34.97	\$7,868.25
Texas Geometry Extension (3 Year Digital License)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SAN DIEGO ISD	High School - Math	MATH_H	0	120	\$34.97	\$4,196.40
Texas Geometry Extension (3 Year Digital License)	08/11/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VEGA ISD	High School - Math	MATH_H	0	28	\$34.97	\$979.16
Texas Geometry Extension (3 Year Print Consumable + 3 Year Digital License, Print Teacher Edition must be purchased separately)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PRINGLE-MORSE CISD	High School - Math	MATH_H	0	10	\$43.97	\$439.70
Texas Geometry Extension (3 Year Print Consumable + 3 Year Digital License, Print Teacher Edition must be purchased separately)	06/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROMA ISD	High School - Math	MATH_H	0	150	\$43.97	\$6,595.50
Texas Geometry New Purchase (2 Year Print Consumable + HC Homework Helper + 2 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GREENWOOD ISD	High School - Math	MATH_H	0	110	\$65.47	\$7,201.70
Texas Geometry New Purchase (3 Year Print Consumable + HC Homework Helper + 3 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/11/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VEGA ISD	High School - Math	MATH_H	0	5	\$71.47	\$357.35
Texas Geometry Student Bundle (1-Yr Digital & Print)	06/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ADVANTAGE ACADEMY	High School - Math	MATH_H	0	50	\$76.20	\$3,810.00
Texas Geometry Student Bundle (1-Yr Digital & Print)	06/08/2023	School Education Group, a division of The McGraw-Hill Companies,	BOVINA ISD	High School - Math	MATH_H	0	15	\$76.20	\$1,143.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
		Inc.							
Texas Geometry Student Bundle (1-Yr Digital & Print)	05/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	VANGUARD ACADEMY	High School - Math	MATH_H	0	50	\$76.20	\$3,810.00
Texas Geometry Student Bundle (1-Yr Digital & Print)	10/12/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ZEPHYR ISD	High School - Math	MATH_H	0	5	\$76.20	\$381.00
Texas Health Skills for High School - Digital Classroom Subscription (4yr) - English and Spanish	01/25/2024	Goodheart-Willcox Company	ALEDO ISD	High School - Other	HEALTH_EMH	0	1	\$75.27	\$75.27
Texas Health Skills for High School - Print Textbook + Digital Classroom Subscription (4yr) - English and Spanish	01/25/2024	Goodheart-Willcox Company	BLOOMINGTON ISD	High School - Other	HEALTH_EMH	0	80	\$105.12	\$8,409.60
Texas Health Skills for High School - Print Textbook + Digital Classroom Subscription (4yr) - English and Spanish	06/30/2023	Goodheart-Willcox Company	BRAZOS COUNTY JJAEP	High School - Other	HEALTH_EMH	0	2	\$105.12	\$210.24
Texas Health Skills for High School - Print Textbook + Digital Classroom Subscription (7yr) - English and Spanish	10/06/2023	Goodheart-Willcox Company	GREENWOOD ISD	High School - Other	HEALTH_EMH	0	45	\$118.02	\$5,310.90
Texas Health Skills for High School - Print Textbook + Digital Classroom Subscription (7yr) - English and Spanish	10/20/2023	Goodheart-Willcox Company	IRVING ISD	High School - Other	HEALTH_EMH	0	15	\$118.02	\$1,770.30
Texas Health Skills for Middle School - Print Textbook + Digital Classroom Subscription (8yr) - English and Spanish	11/16/2023	Goodheart-Willcox Company	BLOOMINGTON ISD	7th Grade	HEALTH_EMH	0	35	\$118.65	\$4,152.75
Texas Health Skills for Middle School - Print Textbook + Instructor Access	06/30/2023	Goodheart-Willcox Company	SANDS CISD	6th Grade	HEALTH_EMH	0	72	\$96.48	\$6,946.56
Texas History Digital Student Bundle (2-Yr)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CALVIN NELMS CHARTER SCHOOLS	7th Grade	SOC_STUD_EM	0	45	\$24.99	\$1,124.55
Texas History Digital Student Bundle (2-Yr)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	7th Grade	SOC_STUD_EM	0	26	\$24.99	\$649.74

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas History Digital Student Bundle (2-Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ECTOR COUNTY ISD	7th Grade	SOC_STUD_EM	0	70	\$24.99	\$1,749.30
Texas History Digital Student Bundle (2-Yr)	10/17/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FRIONA ISD	7th Grade	SOC_STUD_EM	0	82	\$24.99	\$2,049.18
Texas History Digital Student Bundle (2-Yr)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	7th Grade	SOC_STUD_EM	0	24	\$24.99	\$599.76
Texas History Digital Student Bundle (2-Yr)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	JARRELL ISD	7th Grade	SOC_STUD_EM	0	300	\$24.99	\$7,497.00
Texas History Digital Student Bundle (2-Yr)	06/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LA VERNIA ISD	7th Grade	SOC_STUD_EM	0	260	\$24.99	\$6,497.40
Texas History Digital Student Bundle (2-Yr)	05/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW BOSTON ISD	7th Grade	SOC_STUD_EM	0	75	\$24.99	\$1,874.25
Texas History Digital Student Bundle (2-Yr)	09/19/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PILOT POINT ISD	7th Grade	SOC_STUD_EM	0	125	\$24.99	\$3,123.75
Texas History Digital Student Bundle (2-Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	7th Grade	SOC_STUD_EM	0	155	\$24.99	\$3,873.45
Texas History Digital Student Bundle (2-Yr)	12/13/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	SLATON ISD	7th Grade	SOC_STUD_EM	0	100	\$24.99	\$2,499.00
Texas History Student Bundle (1-Yr Digital & Print)	10/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BRACKETT ISD	7th Grade	SOC_STUD_EM	0	45	\$71.01	\$3,195.45
Texas History Student Bundle (1-Yr Digital & Print)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	7th Grade	SOC_STUD_EM	0	10	\$71.01	\$710.10
Texas History Student Bundle (1-Yr Digital & Print)	07/25/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUSHING ISD	7th Grade	SOC_STUD_EM	0	25	\$71.01	\$1,775.25
Texas History Student Bundle (1-Yr Digital & Print)	07/21/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	HENRIETTA ISD	7th Grade	SOC_STUD_EM	0	24	\$71.01	\$1,704.24
Texas History Student Bundle (1-Yr Digital & Print)	10/12/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	7th Grade	SOC_STUD_EM	0	50	\$71.01	\$3,550.50
Texas History Student Bundle (2-Yr Digital and Print)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STERLING CITY ISD	7th Grade	SOC_STUD_EM	0	25	\$73.02	\$1,825.50
Texas History Student Digital	07/13/2023	School Education Group, a division	NEW WAVERLY ISD	7th Grade	SOC_STUD_EM	0	105	\$36.48	\$3,830.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Bundle (3 Yrs)		of The McGraw-Hill Companies, Inc.							
Texas History, Grade 7 Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GANADO ISD	7th Grade	SOC_STUD_EM	0	50	\$16.00	\$800.00
Texas History, Grade 7 Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	7th Grade	SOC_STUD_EM	0	225	\$29.97	\$6,743.25
Texas History, Grade 7 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	7th Grade	SOC_STUD_EM	0	1,030	\$29.97	\$30,869.10
Texas History, Grade 7 Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	7th Grade	SOC_STUD_EM	0	50	\$29.97	\$1,498.50
Texas History, Grade 7 Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KINGSVILLE ISD	7th Grade	SOC_STUD_EM	0	155	\$29.97	\$4,645.35
Texas Interactive Science en español, Grade 1 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KILLEEN ISD	1st Grade	SCIENCE_EMH	0	25	\$20.47	\$511.75
Texas Interactive Science en español, Grade 1 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	1st Grade	SCIENCE_EMH	0	800	\$20.47	\$16,376.00
Texas Interactive Science en español, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	01/26/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	DIVIDE ISD	2nd Grade	SCIENCE_EMH	0	1	\$20.47	\$20.47
Texas Interactive Science en español, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	2nd Grade	SCIENCE_EMH	0	900	\$20.47	\$18,423.00
Texas Interactive Science en español, Grade 3 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	INGRAM ISD	3rd Grade	SCIENCE_EMH	0	1	\$22.47	\$22.47

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Interactive Science en español, Grade 3 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	3rd Grade	SCIENCE_EMH	0	1,000	\$22.47	\$22,470.00
Texas Interactive Science en español, Grade 4 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	4th Grade	SCIENCE_EMH	0	950	\$22.47	\$21,346.50
Texas Interactive Science en español, Grade 5 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	5th Grade	SCIENCE_EMH	0	1,100	\$23.97	\$26,367.00
Texas Interactive Science en español, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	Kindergarten	ESL_EM	0	750	\$17.97	\$13,477.50
Texas Interactive Science, Grade 1 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CROSBYTON CISD	1st Grade	SCIENCE_EMH	0	30	\$18.97	\$569.10
Texas Interactive Science, Grade 1 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DIVIDE ISD	1st Grade	SCIENCE_EMH	0	7	\$18.97	\$132.79
Texas Interactive Science, Grade 1 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/25/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DR M L GARZA- GONZALEZ CHARTER SCHOOL	1st Grade	SCIENCE_EMH	0	20	\$18.97	\$379.40
Texas Interactive Science, Grade 1 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	1st Grade	SCIENCE_EMH	0	1,450	\$18.97	\$27,506.50

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
purchase)	Date					Served			Amount
purchase)									
Texas Interactive Science, Grade 1 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio	09/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SANTA ROSA ISD	1st Grade	SCIENCE_EMH	0	55	\$18.97	\$1,043.35
purchase)								*10.15	****
Texas Interactive Science, Grade 2 Extension (1 Year Digital License)	08/25/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DR M L GARZA- GONZALEZ CHARTER SCHOOL	2nd Grade	SCIENCE_EMH	0	20	\$19.47	\$389.40
Texas Interactive Science, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	11/14/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BRIDGEWAY PREPARATORY ACADEMY	2nd Grade	SCIENCE_EMH	0	17	\$18.97	\$322.49
Texas Interactive Science, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DIVIDE ISD	2nd Grade	SCIENCE_EMH	0	5	\$18.97	\$94.85
Texas Interactive Science, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	2nd Grade	SCIENCE_EMH	0	1,550	\$18.97	\$29,403.50
Texas Interactive Science, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SANTA ROSA ISD	2nd Grade	SCIENCE_EMH	0	65	\$18.97	\$1,233.05
Texas Interactive Science, Grade 3 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DIVIDE ISD	3rd Grade	SCIENCE_EMH	0	5	\$21.47	\$107.35
Texas Interactive Science, Grade 3 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	3rd Grade	SCIENCE_EMH	0	1,650	\$21.47	\$35,425.50

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
	Date					Served			Amount
Texas Interactive Science,	09/26/2023	Savvas Learning Company LLC	SANTA ROSA ISD	3rd Grade	SCIENCE_EMH	0	60	\$21.47	\$1,288.20
Grade 3 Extension (1 Year		formerly Pearson K12 Learning							
Print Consumable + 1 Year									
Digital License, Print Teacher									
Edition included as per ratio									
purchase)	00/04/0000		DITABLE 10D	41.0.1	GOTENIOE EN III		0	#21 47	Φ171.7¢
Texas Interactive Science,	08/24/2023	Savvas Learning Company LLC	DIVIDE ISD	4th Grade	SCIENCE_EMH	0	8	\$21.47	\$171.76
Grade 4 Extension (1 Year Print Consumable + 1 Year		formerly Pearson K12 Learning							
Digital License, Print Teacher									
Edition included as per ratio									
purchase)									
Texas Interactive Science,	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	4th Grade	SCIENCE EMH	0	1,550	\$21.47	\$33,278.50
Grade 4 Extension (1 Year	07/00/2023	formerly Pearson K12 Learning	LAJOTAISD	4ui Grade	SCIENCE_EWIT	0	1,550	\$21.47	\$33,276.30
Print Consumable + 1 Year		Tormerry Learson K12 Learning							
Digital License, Print Teacher									
Edition included as per ratio									
purchase)									
Texas Interactive Science,	10/20/2023	Savvas Learning Company LLC	NORTH TEXAS	4th Grade	SCIENCE_EMH	0	25	\$21.47	\$536.75
Grade 4 Extension (1 Year	10,20,2020	formerly Pearson K12 Learning	COLLEGIATE	Tur Grade	SOIDI (OD_DIVITI	Ů	20	Ψ21	φυσοιτυ
Print Consumable + 1 Year		,	ACADEMY						
Digital License, Print Teacher									
Edition included as per ratio									
purchase)									
Texas Interactive Science,	09/26/2023	Savvas Learning Company LLC	SANTA ROSA ISD	4th Grade	SCIENCE_EMH	0	60	\$21.47	\$1,288.20
Grade 4 Extension (1 Year		formerly Pearson K12 Learning							
Print Consumable + 1 Year									
Digital License, Print Teacher									
Edition included as per ratio									
purchase)									
Texas Interactive Science,	08/24/2023	Savvas Learning Company LLC	BIG SANDY ISD	5th Grade	SCIENCE_EMH	0	60	\$23.47	\$1,408.20
Grade 5 Extension (1 Year		formerly Pearson K12 Learning							
Print Consumable + 1 Year									
Digital License, Print Teacher									
Edition included as per ratio									
purchase) Texas Interactive Science,	08/24/2023	Savvas Learning Company LLC	DIVIDE ISD	5th Grade	SCIENCE EMH	0	7	\$23.47	\$164.29
Grade 5 Extension (1 Year	08/24/2023	formerly Pearson K12 Learning	DIVIDE ISD	5th Grade	SCIENCE_EMH	0	/	\$23.47	\$104.29
Print Consumable + 1 Year		Tornierry Fearson K12 Learning							
Digital License, Print Teacher									
Edition included as per ratio									
purchase)									
Texas Interactive Science,	07/06/2023	Savvas Learning Company LLC	LA JOYA ISD	5th Grade	SCIENCE EMH	0	1,700	\$23.47	\$39,899.00
Grade 5 Extension (1 Year	3., 33, 2023	formerly Pearson K12 Learning		3 3	SCILL CE_LIMIT		1,700	Ψ23.17	427,077.00
Print Consumable + 1 Year		, , , , , , , , , , , , , , , , , , ,							
Digital License, Print Teacher									
Edition included as per ratio	1			1	ĺ				

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
purchase)	Date					Served			Amount
purchase)									
Texas Interactive Science, Grade 5 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio	09/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SANTA ROSA ISD	5th Grade	SCIENCE_EMH	0	65	\$23.47	\$1,525.55
purchase)									
Texas Interactive Science, Grade 5 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ZEPHYR ISD	5th Grade	SCIENCE_EMH	0	6	\$23.47	\$140.82
Texas Interactive Science, Grade 6 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	10/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BRACKETT ISD	6th Grade	SCIENCE_EMH	0	50	\$21.47	\$1,073.50
Texas Interactive Science, Grade 6 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/14/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	COMQUEST ACADEMY	6th Grade	SCIENCE_EMH	0	1	\$21.47	\$21.47
Texas Interactive Science, Grade 6 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DIVIDE ISD	6th Grade	SCIENCE_EMH	0	1	\$21.47	\$21.47
Texas Interactive Science, Grade 6 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EL PASO LEADERSHIP ACADEMY	6th Grade	SCIENCE_EMH	0	60	\$21.47	\$1,288.20
Texas Interactive Science, Grade 7 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/14/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	COMQUEST ACADEMY	7th Grade	SCIENCE_EMH	0	1	\$21.97	\$21.97
Texas Interactive Science, Grade 7 Extension (1 Year Print Consumable + 1 Year	08/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EL PASO LEADERSHIP ACADEMY	7th Grade	SCIENCE_EMH	0	60	\$21.97	\$1,318.20

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital License, Print Teacher Edition included as per ratio purchase)									
Texas Interactive Science, Grade 8 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/14/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	COMQUEST ACADEMY	8th Grade	SCIENCE_EMH	0	1	\$21.47	\$21.47
Texas Interactive Science, Grade 8 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EL PASO LEADERSHIP ACADEMY	8th Grade	SCIENCE_EMH	0	60	\$21.47	\$1,288.20
Texas Interactive Science, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DIVIDE ISD	Kindergarten	SCIENCE_EMH	0	7	\$15.97	\$111.79
Texas Interactive Science, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	Kindergarten	SCIENCE_EMH	0	1,400	\$15.97	\$22,358.00
Texas Interactive Science, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition included as per ratio purchase)	09/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SANTA ROSA ISD	Kindergarten	SCIENCE_EMH	0	60	\$15.97	\$958.20
Texas Magruder's American Government Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GANADO ISD	High School - Soc Studies	SOC_STUD_H	0	37	\$14.50	\$536.50
Texas Magruder's American Government Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	High School - Soc Studies	SOC_STUD_H	0	115	\$25.97	\$2,986.55
Texas Magruder's American Government Extension (2 Year Digital License)	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONROE ISD	High School - Soc Studies	SOC_STUD_H	0	3,492	\$25.97	\$90,687.24
Texas Magruder's American Government Extension (2 Year Digital License)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$25.97	\$519.40
Texas Magruder's American Government Extension (2	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	High School - Soc Studies	SOC_STUD_H	0	200	\$25.97	\$5,194.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Year Digital License)									
Texas Magruder's American Government Extension (2 Year Digital License)	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EDINBURG CISD	High School - Soc Studies	SOC_STUD_H	0	1,811	\$25.97	\$47,031.67
Texas Magruder's American Government Extension (2 Year Digital License)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GREENWOOD ISD	High School - Soc Studies	SOC_STUD_H	0	45	\$25.97	\$1,168.65
Texas Magruder's American Government Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	High School - Soc Studies	SOC_STUD_H	0	53	\$25.97	\$1,376.41
Texas Magruder's American Government Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARBLE FALLS ISD	High School - Soc Studies	SOC_STUD_H	0	200	\$25.97	\$5,194.00
Texas Magruder's American Government Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW BOSTON ISD	High School - Soc Studies	SOC_STUD_H	0	85	\$25.97	\$2,207.45
Texas Magruder's American Government Extension (2 Year Digital License)	05/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	High School - Soc Studies	SOC_STUD_H	0	2,885	\$25.97	\$74,923.45
Texas Magruder's American Government Extension (4 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SONORA ISD	High School - Soc Studies	SOC_STUD_H	0	45	\$45.00	\$2,025.00
Texas Math Models with Applications MyMathLab (1 Year Digital License)	08/28/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLUFF DALE ISD	High School - Math	MATH_H	0	20	\$52.47	\$1,049.40
Texas Math Models with Applications MyMathLab (3 Year Digital License)	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EDINBURG CISD	High School - Math	MATH_H	0	630	\$82.47	\$51,956.10
Texas Math Models with Applications MyMathLab (3 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARBLE FALLS ISD	High School - Math	MATH_H	0	100	\$82.47	\$8,247.00
Texas Math Models with Applications MyMathLab (3 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PORT NECHES- GROVES ISD	High School - Math	MATH_H	0	185	\$82.47	\$15,256.95
Texas Math Standard Student Bundle, Course 1 (1 Yr Consumable & 1 Yr Digital)	06/30/2023	McGraw-Hill School Division (Contract Vendor)	ADVANTAGE ACADEMY	6th Grade	MATH_EM	0	70	\$24.90	\$1,743.00
Texas Math Standard Student Bundle, Course 1 (1 Yr Consumable & 1 Yr Digital)	07/06/2023	McGraw-Hill School Division (Contract Vendor)	LA JOYA ISD	6th Grade	MATH_EM	0	1,500	\$24.90	\$37,350.00
Texas Math Standard Student Bundle, Course 1 (1 Yr Consumable & 1 Yr Digital)	09/28/2023	McGraw-Hill School Division (Contract Vendor)	LA JOYA ISD	6th Grade	MATH_EM	0	300	\$24.90	\$7,470.00
Texas Math Standard Student Bundle, Course 1 (1 Yr	07/25/2023	McGraw-Hill School Division (Contract Vendor)	ZEPHYR ISD	6th Grade	MATH_EM	0	22	\$24.90	\$547.80

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable & 1 Yr Digital)									
Texas Math Standard Student Bundle, Course 1 (3 Yr Consumable & 3 Yr Digital)	07/06/2023	McGraw-Hill School Division (Contract Vendor)	VICTORIA ISD	6th Grade	MATH_EM	0	1,010	\$60.00	\$60,600.00
Texas Math Standard Student Bundle, Course 2 (1 Yr Consumable & 1 Yr Digital)	06/30/2023	McGraw-Hill School Division (Contract Vendor)	ADVANTAGE ACADEMY	7th Grade	MATH_EM	0	100	\$24.90	\$2,490.00
Texas Math Standard Student Bundle, Course 2 (1 Yr Consumable & 1 Yr Digital)	07/06/2023	McGraw-Hill School Division (Contract Vendor)	LA JOYA ISD	7th Grade	MATH_EM	0	1,500	\$24.90	\$37,350.00
Texas Math Standard Student Bundle, Course 2 (1 Yr Consumable & 1 Yr Digital)	07/25/2023	McGraw-Hill School Division (Contract Vendor)	ZEPHYR ISD	7th Grade	MATH_EM	0	18	\$24.90	\$448.20
Texas Math Standard Student Bundle, Course 2 (3 Yr Consumable & 3 Yr Digital)	07/06/2023	McGraw-Hill School Division (Contract Vendor)	VICTORIA ISD	7th Grade	MATH_EM	0	1,010	\$60.00	\$60,600.00
Texas Math Standard Student Bundle, Course 3 (1 Yr Consumable & 1 Yr Digital)	06/30/2023	McGraw-Hill School Division (Contract Vendor)	ADVANTAGE ACADEMY	8th Grade	MATH_EM	0	100	\$24.90	\$2,490.00
Texas Math Standard Student Bundle, Course 3 (1 Yr Consumable & 1 Yr Digital)	07/06/2023	McGraw-Hill School Division (Contract Vendor)	LA JOYA ISD	8th Grade	MATH_EM	0	1,800	\$24.90	\$44,820.00
Texas Math Standard Student Bundle, Course 3 (3 Yr Consumable & 3 Yr Digital)	07/06/2023	McGraw-Hill School Division (Contract Vendor)	VICTORIA ISD	8th Grade	MATH_EM	0	1,090	\$60.00	\$65,400.00
Texas Precalculus Graphical Numerical Algebraic MyMathLab (3 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	High School - Math	MATH_H	0	35	\$82.47	\$2,886.45
Texas Precalculus Graphical Numerical Algebraic MyMathLab (3 Year Digital License)	08/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CANTON ISD	High School - Math	MATH_H	0	60	\$82.47	\$4,948.20
Texas Precalculus Student Bundle (1-Yr Digital & Print)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	SAINT JO ISD	High School - Math	MATH_H	0	1	\$111.30	\$111.30
Texas Precalculus Student Bundle (1-Yr Digital & Print)	05/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	VANGUARD ACADEMY	High School - Math	MATH_H	0	40	\$111.30	\$4,452.00
Texas Precalculus Student Bundle (1-Yr Digital & Print)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ZEPHYR ISD	High School - Math	MATH_H	0	10	\$111.30	\$1,113.00
Texas Science, Biology Digital Courseware (1YR)	11/21/2023	Edusmart	PREMONT ISD	High School - Science	SCIENCE_EMH	0	37	\$10.00	\$370.00
Texas Science, Grade 1	08/23/2023	Edusmart	CHANNELVIEW ISD	1st Grade	SCIENCE_EMH	0	695	\$3.00	\$2,085.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital Courseware Bundle (English+Spanish) (1YR)									
Texas Science, Grade 1 Digital Courseware Bundle (English+Spanish) (1YR)	11/21/2023	Edusmart	PREMONT ISD	1st Grade	SCIENCE_EMH	0	33	\$3.00	\$99.00
Texas Science, Grade 2 Digital Courseware Bundle (English+Spanish) (1YR)	08/23/2023	Edusmart	CHANNELVIEW ISD	2nd Grade	SCIENCE_EMH	0	680	\$3.00	\$2,040.00
Texas Science, Grade 2 Digital Courseware Bundle (English+Spanish) (1YR)	11/21/2023	Edusmart	PREMONT ISD	2nd Grade	SCIENCE_EMH	0	55	\$3.00	\$165.00
Texas Science, Grade 3 Digital Courseware Bundle (English+Spanish) (1YR)	08/23/2023	Edusmart	CHANNELVIEW ISD	3rd Grade	SCIENCE_EMH	0	675	\$5.00	\$3,375.00
Texas Science, Grade 3 Digital Courseware Bundle (English+Spanish) (1YR)	11/21/2023	Edusmart	PREMONT ISD	3rd Grade	SCIENCE_EMH	0	62	\$5.00	\$310.00
Texas Science, Grade 4 Digital Courseware Bundle (English+Spanish) (1YR)	08/23/2023	Edusmart	CHANNELVIEW ISD	4th Grade	SCIENCE_EMH	0	710	\$5.00	\$3,550.00
Texas Science, Grade 4 Digital Courseware Bundle (English+Spanish) (1YR)	11/21/2023	Edusmart	PREMONT ISD	4th Grade	SCIENCE_EMH	0	67	\$5.00	\$335.00
Texas Science, Grade 5 Digital Courseware Bundle (English+Spanish) (1YR)	08/23/2023	Edusmart	CHANNELVIEW ISD	5th Grade	SCIENCE_EMH	0	670	\$8.00	\$5,360.00
Texas Science, Grade 5 Digital Courseware Bundle (English+Spanish) (1YR)	11/21/2023	Edusmart	PREMONT ISD	5th Grade	SCIENCE_EMH	0	48	\$8.00	\$384.00
Texas Science, Grade 6 Digital Courseware (1YR)	11/21/2023	Edusmart	PREMONT ISD	6th Grade	SCIENCE_EMH	0	50	\$5.00	\$250.00
Texas Science, Grade 7 Digital Courseware (1YR)	11/21/2023	Edusmart	PREMONT ISD	7th Grade	SCIENCE_EMH	0	61	\$5.00	\$305.00
Texas Science, Grade 8 Digital Courseware (1YR)	11/21/2023	Edusmart	PREMONT ISD	8th Grade	SCIENCE_EMH	0	52	\$8.00	\$416.00
Texas Science, Grade K Digital Courseware Bundle (English+Spanish) (1YR)	08/23/2023	Edusmart	CHANNELVIEW ISD	Kindergarten	SCIENCE_EMH	0	630	\$3.00	\$1,890.00
Texas Studies Weekly First Grade-Spanish 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	1st Grade	SOC_STUD_EMH	0	50	\$10.95	\$547.50
Texas Studies Weekly First Grade-Spanish 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	1st Grade	SOC_STUD_EMH	0	5,200	\$10.95	\$56,940.00
Texas Studies Weekly First Grade-Spanish 1 Year	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	1st Grade	SOC_STUD_EMH	0	160	\$10.95	\$1,752.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital/1 Year Consumable									
Texas Studies Weekly First Grade-Spanish 1 Year Digital/1 Year Consumable	10/16/2023	Studies Weekly, Inc.	ELGIN ISD	1st Grade	SOC_STUD_EMH	0	48	\$10.95	\$525.60
Texas Studies Weekly First Grade-Spanish 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	1st Grade	SOC_STUD_EMH	0	1,352	\$10.95	\$14,804.40
Texas Studies Weekly First Grade-Spanish 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	1st Grade	SOC_STUD_EMH	0	136	\$10.95	\$1,489.20
Texas Studies Weekly First Grade-Spanish 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	1st Grade	SOC_STUD_EMH	0	48	\$10.95	\$525.60
Texas Studies Weekly First Grade-Spanish 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	1st Grade	SOC_STUD_EMH	0	70	\$19.90	\$1,393.00
Texas Studies Weekly Kindergarten-Spanish 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	Kindergarten	SOC_STUD_EM	0	50	\$10.95	\$547.50
Texas Studies Weekly Kindergarten-Spanish 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	Kindergarten	SOC_STUD_EM	0	5,100	\$10.95	\$55,845.00
Texas Studies Weekly Kindergarten-Spanish 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	Kindergarten	SOC_STUD_EM	0	170	\$10.95	\$1,861.50
Texas Studies Weekly Kindergarten-Spanish 1 Year Digital/1 Year Consumable	10/16/2023	Studies Weekly, Inc.	ELGIN ISD	Kindergarten	SOC_STUD_EM	0	48	\$10.95	\$525.60
Texas Studies Weekly Kindergarten-Spanish 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	Kindergarten	SOC_STUD_EM	0	1,352	\$10.95	\$14,804.40
Texas Studies Weekly Kindergarten-Spanish 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	Kindergarten	SOC_STUD_EM	0	84	\$10.95	\$919.80
Texas Studies Weekly Kindergarten-Spanish 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	Kindergarten	SOC_STUD_EM	0	48	\$10.95	\$525.60
Texas Studies Weekly Kindergarten-Spanish 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	Kindergarten	SOC_STUD_EM	0	70	\$19.90	\$1,393.00
Texas Studies Weekly Second Grade-Spanish 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	2nd Grade	SOC_STUD_EM	0	50	\$10.95	\$547.50
Texas Studies Weekly Second Grade-Spanish 1 Year	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	2nd Grade	SOC_STUD_EM	0	5,200	\$10.95	\$56,940.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital/1 Year Consumable									
Texas Studies Weekly Second Grade-Spanish 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	2nd Grade	SOC_STUD_EM	0	185	\$10.95	\$2,025.75
Texas Studies Weekly Second Grade-Spanish 1 Year Digital/1 Year Consumable	10/16/2023	Studies Weekly, Inc.	ELGIN ISD	2nd Grade	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Studies Weekly Second Grade-Spanish 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	2nd Grade	SOC_STUD_EM	0	1,352	\$10.95	\$14,804.40
Texas Studies Weekly Second Grade-Spanish 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	2nd Grade	SOC_STUD_EM	0	146	\$10.95	\$1,598.70
Texas Studies Weekly Second Grade-Spanish 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	2nd Grade	SOC_STUD_EM	0	48	\$10.95	\$525.60
Texas Studies Weekly Second Grade-Spanish 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	FRIONA ISD	2nd Grade	SOC_STUD_EM	0	20	\$19.90	\$398.00
Texas Studies Weekly Second Grade-Spanish 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	2nd Grade	SOC_STUD_EM	0	70	\$19.90	\$1,393.00
Texas Studies Weekly- Spanish 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	4th Grade	SOC_STUD_EM	0	50	\$10.95	\$547.50
Texas Studies Weekly- Spanish 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	4th Grade	SOC_STUD_EM	0	4,950	\$10.95	\$54,202.50
Texas Studies Weekly- Spanish 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	4th Grade	SOC_STUD_EM	0	215	\$10.95	\$2,354.25
Texas Studies Weekly- Spanish 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	4th Grade	SOC_STUD_EM	0	1,404	\$10.95	\$15,373.80
Texas Studies Weekly- Spanish 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	4th Grade	SOC_STUD_EM	0	63	\$10.95	\$689.85
Texas Studies Weekly- Spanish 1 Year Digital/1 Year Consumable	06/30/2023	Studies Weekly, Inc.	LA VERNIA ISD	4th Grade	SOC_STUD_EM	0	13	\$10.95	\$142.35
Texas Studies Weekly- Spanish 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	4th Grade	SOC_STUD_EM	0	48	\$10.95	\$525.60
Texas Studies Weekly- Spanish 2 Year Digital/2 Year	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	4th Grade	SOC_STUD_EM	0	70	\$19.90	\$1,393.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable									
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	ADVANTAGE ACADEMY	2nd Grade	SOC_STUD_EM	0	100	\$10.95	\$1,095.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	AGUA DULCE ISD	2nd Grade	SOC_STUD_EM	0	33	\$10.95	\$361.35
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	BOVINA ISD	2nd Grade	SOC_STUD_EM	0	43	\$10.95	\$470.85
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	10/12/2023	Studies Weekly, Inc.	BRADY ISD	2nd Grade	SOC_STUD_EM	0	70	\$10.95	\$766.50
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	2nd Grade	SOC_STUD_EM	0	942	\$10.95	\$10,314.90
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	CHILTON ISD	2nd Grade	SOC_STUD_EM	0	45	\$10.95	\$492.75
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	11/01/2023	Studies Weekly, Inc.	CLARKSVILLE ISD	2nd Grade	SOC_STUD_EM	0	40	\$10.95	\$438.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	2nd Grade	SOC_STUD_EM	0	5,200	\$10.95	\$56,940.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	2nd Grade	SOC_STUD_EM	0	235	\$10.95	\$2,573.25
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	10/16/2023	Studies Weekly, Inc.	ELGIN ISD	2nd Grade	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/26/2023	Studies Weekly, Inc.	EXCELSIOR ISD	2nd Grade	SOC_STUD_EM	0	18	\$10.95	\$197.10

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	2nd Grade	SOC_STUD_EM	0	3,120	\$10.95	\$34,164.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	GARLAND ISD	2nd Grade	SOC_STUD_EM	0	1,352	\$10.95	\$14,804.40
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	10/09/2023	Studies Weekly, Inc.	GARNER ISD	2nd Grade	SOC_STUD_EM	0	32	\$10.95	\$350.40
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	GHOLSON ISD	2nd Grade	SOC_STUD_EM	0	20	\$10.95	\$219.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	HAWLEY ISD	2nd Grade	SOC_STUD_EM	0	60	\$10.95	\$657.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	2nd Grade	SOC_STUD_EM	0	235	\$10.95	\$2,573.25
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	KOPPERL ISD	2nd Grade	SOC_STUD_EM	0	20	\$10.95	\$219.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	07/25/2023	Studies Weekly, Inc.	LEON ISD	2nd Grade	SOC_STUD_EM	0	60	\$10.95	\$657.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	LOCKNEY ISD	2nd Grade	SOC_STUD_EM	0	23	\$10.95	\$251.85
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	MEADOWLAND CHARTER DISTRICT	2nd Grade	SOC_STUD_EM	0	3	\$10.95	\$32.85
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	MIAMI ISD	2nd Grade	SOC_STUD_EM	0	18	\$10.95	\$197.10
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year	08/14/2023	Studies Weekly, Inc.	MOTLEY COUNTY ISD	2nd Grade	SOC_STUD_EM	0	14	\$10.95	\$153.30

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital/1 Year Consumable									
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	05/26/2023	Studies Weekly, Inc.	MULLIN ISD	2nd Grade	SOC_STUD_EM	0	10	\$10.95	\$109.50
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	2nd Grade	SOC_STUD_EM	0	260	\$10.95	\$2,847.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	03/11/2024	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	2nd Grade	SOC_STUD_EM	0	205	\$10.95	\$2,244.75
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	ODEM-EDROY ISD	2nd Grade	SOC_STUD_EM	0	67	\$10.95	\$733.65
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/19/2023	Studies Weekly, Inc.	RICARDO ISD	2nd Grade	SOC_STUD_EM	0	75	\$10.95	\$821.25
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	RICHLAND SPRINGS ISD	2nd Grade	SOC_STUD_EM	0	12	\$10.95	\$131.40
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	06/30/2023	Studies Weekly, Inc.	ROBSTOWN ISD	2nd Grade	SOC_STUD_EM	0	220	\$10.95	\$2,409.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	08/02/2023	Studies Weekly, Inc.	TROY ISD	2nd Grade	SOC_STUD_EM	0	145	\$10.95	\$1,587.75
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	10/26/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	2nd Grade	SOC_STUD_EM	0	30	\$10.95	\$328.50
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	2nd Grade	SOC_STUD_EM	0	60	\$10.95	\$657.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	11/16/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	2nd Grade	SOC_STUD_EM	0	18	\$10.95	\$197.10

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	2nd Grade	SOC_STUD_EM	0	1,104	\$10.95	\$12,088.80
Texas Studies Weekly: Connecting My Communities STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	WYLIE ISD	2nd Grade	SOC_STUD_EM	0	100	\$10.95	\$1,095.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	10/26/2023	Studies Weekly, Inc.	BLOOMINGTON ISD	2nd Grade	SOC_STUD_EM	0	85	\$19.90	\$1,691.50
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	07/25/2023	Studies Weekly, Inc.	COLUMBUS ISD	2nd Grade	SOC_STUD_EM	0	125	\$19.90	\$2,487.50
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	FRIONA ISD	2nd Grade	SOC_STUD_EM	0	90	\$19.90	\$1,791.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	06/30/2023	Studies Weekly, Inc.	LA VERNIA ISD	2nd Grade	SOC_STUD_EM	0	295	\$19.90	\$5,870.50
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	LAKE TRAVIS ISD	2nd Grade	SOC_STUD_EM	0	850	\$19.90	\$16,915.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	2nd Grade	SOC_STUD_EM	0	250	\$19.90	\$4,975.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	08/02/2023	Studies Weekly, Inc.	MARTINS MILL ISD	2nd Grade	SOC_STUD_EM	0	37	\$19.90	\$736.30
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	PARADISE ISD	2nd Grade	SOC_STUD_EM	0	115	\$19.90	\$2,288.50
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year Digital/2 Year Consumable	09/19/2023	Studies Weekly, Inc.	RAYMONDVILLE ISD	2nd Grade	SOC_STUD_EM	0	70	\$19.90	\$1,393.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 2 Year	07/06/2023	Studies Weekly, Inc.	SWEETWATER ISD	2nd Grade	SOC_STUD_EM	0	150	\$19.90	\$2,985.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital/2 Year Consumable									
Texas Studies Weekly: Connecting My Communities STREAMLINED 4 Year Digital/4 Year Consumable	06/25/2023	Studies Weekly, Inc.	KLONDIKE ISD	2nd Grade	SOC_STUD_EM	0	24	\$39.00	\$936.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 4 Year Digital/4 Year Consumable	05/30/2023	Studies Weekly, Inc.	MILES ISD	2nd Grade	SOC_STUD_EM	0	45	\$39.00	\$1,755.00
Texas Studies Weekly: Connecting My Communities STREAMLINED 4 Year Digital/4 Year Consumable	06/08/2023	Studies Weekly, Inc.	WOODSBORO ISD	2nd Grade	SOC_STUD_EM	0	40	\$39.00	\$1,560.00
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	ADVANTAGE ACADEMY	Kindergarten	SOC_STUD_EM	0	80	\$10.95	\$876.00
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	AGUA DULCE ISD	Kindergarten	SOC_STUD_EM	0	18	\$10.95	\$197.10
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	07/06/2023	Studies Weekly, Inc.	BOLING ISD	Kindergarten	SOC_STUD_EM	0	88	\$10.95	\$963.60
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	BOVINA ISD	Kindergarten	SOC_STUD_EM	0	30	\$10.95	\$328.50
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	Kindergarten	SOC_STUD_EM	0	902	\$10.95	\$9,876.90
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	06/02/2023	Studies Weekly, Inc.	CARTHAGE ISD	Kindergarten	SOC_STUD_EM	0	216	\$10.95	\$2,365.20
Texas Studies Weekly: My Home and School Community STREAMLINED	10/06/2023	Studies Weekly, Inc.	CHILTON ISD	Kindergarten	SOC_STUD_EM	0	45	\$10.95	\$492.75

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
1 Year Digital/1 Year									
Consumable								***	
Texas Studies Weekly: My	11/01/2023	Studies Weekly, Inc.	CLARKSVILLE ISD	Kindergarten	SOC_STUD_EM	0	30	\$10.95	\$328.50
Home and School Community STREAMLINED									
1 Year Digital/1 Year									
Consumable									
Texas Studies Weekly: My	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	Kindergarten	SOC_STUD_EM	0	5,500	\$10.95	\$60,225.00
Home and School		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		<i>3 3</i>			- ,	,	, ,
Community STREAMLINED									
1 Year Digital/1 Year									
Consumable									
Texas Studies Weekly: My	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	Kindergarten	SOC_STUD_EM	0	255	\$10.95	\$2,792.25
Home and School									
Community STREAMLINED									
1 Year Digital/1 Year									
Consumable Texas Studies Weekly: My	09/26/2023	Studies Weekly, Inc.	EXCELSIOR ISD	Kindergarten	SOC_STUD_EM	0	14	\$10.95	\$153.30
Home and School	09/20/2023	Studies weekly, Inc.	EACELSION ISD	Kindergarten	SOC_STUD_EM	0	14	\$10.93	\$133.30
Community STREAMLINED									
1 Year Digital/1 Year									
Consumable									
Texas Studies Weekly: My	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	Kindergarten	SOC_STUD_EM	0	2,236	\$10.95	\$24,484.20
Home and School									
Community STREAMLINED									
1 Year Digital/1 Year									
Consumable									
Texas Studies Weekly: My	07/17/2023	Studies Weekly, Inc.	GARLAND ISD	Kindergarten	SOC_STUD_EM	0	1,872	\$10.95	\$20,498.40
Home and School									
Community STREAMLINED									
1 Year Digital/1 Year Consumable									
Texas Studies Weekly: My	10/09/2023	Studies Weekly, Inc.	GARNER ISD	Kindergarten	SOC_STUD_EM	0	36	\$10.95	\$394.20
Home and School	10/09/2023	Studies Weekly, Inc.	GARNER ISD	Kindergarten	SOC_STOD_EM	0	30	\$10.93	\$394.20
Community STREAMLINED									
1 Year Digital/1 Year									
Consumable									
Texas Studies Weekly: My	09/08/2023	Studies Weekly, Inc.	GHOLSON ISD	Kindergarten	SOC_STUD_EM	0	20	\$10.95	\$219.00
Home and School									
Community STREAMLINED									
1 Year Digital/1 Year									
Consumable Texas Studies Weekly: My	07/17/2022	Ctr. di Wr. dalar Tr	HAWLEV ICD	IZ:dt	COC CTUD EM		(0)	¢10.05	¢.c=7.00
Home and School	07/17/2023	Studies Weekly, Inc.	HAWLEY ISD	Kindergarten	SOC_STUD_EM	0	60	\$10.95	\$657.00
Community STREAMLINED									
1 Year Digital/1 Year									
Consumable									
Communic	ı	1	ı	ı	ı			Į.	

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
	Date	G. P. W. 11 T	HONGEON IGE	77' 1	GOO GETTE EN	Served	7.1	¢10.05	Amount
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	Kindergarten	SOC_STUD_EM	0	74	\$10.95	\$810.30
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	KOPPERL ISD	Kindergarten	SOC_STUD_EM	0	20	\$10.95	\$219.00
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	07/25/2023	Studies Weekly, Inc.	LEON ISD	Kindergarten	SOC_STUD_EM	0	55	\$10.95	\$602.25
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	LOCKNEY ISD	Kindergarten	SOC_STUD_EM	0	27	\$10.95	\$295.65
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	MIAMI ISD	Kindergarten	SOC_STUD_EM	0	11	\$10.95	\$120.45
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	08/14/2023	Studies Weekly, Inc.	MOTLEY COUNTY ISD	Kindergarten	SOC_STUD_EM	0	15	\$10.95	\$164.25
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	Kindergarten	SOC_STUD_EM	0	250	\$10.95	\$2,737.50
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	03/11/2024	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	Kindergarten	SOC_STUD_EM	0	210	\$10.95	\$2,299.50
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	ODEM-EDROY ISD	Kindergarten	SOC_STUD_EM	0	62	\$10.95	\$678.90
Texas Studies Weekly: My Home and School	09/19/2023	Studies Weekly, Inc.	RICARDO ISD	Kindergarten	SOC_STUD_EM	0	55	\$10.95	\$602.25

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Community STREAMLINED 1 Year Digital/1 Year Consumable									
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	RICHLAND SPRINGS ISD	Kindergarten	SOC_STUD_EM	0	8	\$10.95	\$87.60
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	06/30/2023	Studies Weekly, Inc.	ROBSTOWN ISD	Kindergarten	SOC_STUD_EM	0	120	\$10.95	\$1,314.00
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	08/02/2023	Studies Weekly, Inc.	TROY ISD	Kindergarten	SOC_STUD_EM	0	130	\$10.95	\$1,423.50
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	10/26/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	Kindergarten	SOC_STUD_EM	0	25	\$10.95	\$273.75
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	Kindergarten	SOC_STUD_EM	0	50	\$10.95	\$547.50
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	11/16/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	Kindergarten	SOC_STUD_EM	0	21	\$10.95	\$229.95
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	Kindergarten	SOC_STUD_EM	0	1,032	\$10.95	\$11,300.40
Texas Studies Weekly: My Home and School Community STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	WYLIE ISD	Kindergarten	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Studies Weekly: My Home and School Community STREAMLINED 2 Year Digital/2 Year	07/25/2023	Studies Weekly, Inc.	COLUMBUS ISD	Kindergarten	SOC_STUD_EM	0	120	\$19.90	\$2,388.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable									
Texas Studies Weekly: My Home and School Community STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	CROSBY ISD	Kindergarten	SOC_STUD_EM	0	485	\$19.90	\$9,651.50
Texas Studies Weekly: My Home and School Community STREAMLINED 2 Year Digital/2 Year Consumable	06/30/2023	Studies Weekly, Inc.	LA VERNIA ISD	Kindergarten	SOC_STUD_EM	0	240	\$19.90	\$4,776.00
Texas Studies Weekly: My Home and School Community STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	LAKE TRAVIS ISD	Kindergarten	SOC_STUD_EM	0	850	\$19.90	\$16,915.00
Texas Studies Weekly: My Home and School Community STREAMLINED 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	Kindergarten	SOC_STUD_EM	0	250	\$19.90	\$4,975.00
Texas Studies Weekly: My Home and School Community STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	PARADISE ISD	Kindergarten	SOC_STUD_EM	0	85	\$19.90	\$1,691.50
Texas Studies Weekly: My Home and School Community STREAMLINED 2 Year Digital/2 Year Consumable	09/19/2023	Studies Weekly, Inc.	RAYMONDVILLE ISD	Kindergarten	SOC_STUD_EM	0	20	\$19.90	\$398.00
Texas Studies Weekly: My Home and School Community STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	SWEETWATER ISD	Kindergarten	SOC_STUD_EM	0	75	\$19.90	\$1,492.50
Texas Studies Weekly: My Home and School Community STREAMLINED 4 Year Digital/4 Year Consumable	06/25/2023	Studies Weekly, Inc.	KLONDIKE ISD	Kindergarten	SOC_STUD_EM	0	24	\$39.00	\$936.00
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	ADVANTAGE ACADEMY	1st Grade	SOC_STUD_EMH	0	80	\$10.95	\$876.00

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
	Date					Served			Amount
Texas Studies Weekly: My	09/18/2023	Studies Weekly, Inc.	AGUA DULCE ISD	1st Grade	SOC_STUD_EMH	0	21	\$10.95	\$229.95
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable									
Texas Studies Weekly: My	07/06/2023	Studies Weekly, Inc.	BOLING ISD	1st Grade	SOC_STUD_EMH	0	88	\$10.95	\$963.60
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable						_			
Texas Studies Weekly: My	09/08/2023	Studies Weekly, Inc.	BOVINA ISD	1st Grade	SOC_STUD_EMH	0	34	\$10.95	\$372.30
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable						_			
Texas Studies Weekly: My	08/02/2023	Studies Weekly, Inc.	BRADY ISD	1st Grade	SOC_STUD_EMH	0	70	\$10.95	\$766.50
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable									
Texas Studies Weekly: My	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	1st Grade	SOC_STUD_EMH	0	900	\$10.95	\$9,855.00
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable									
Texas Studies Weekly: My	06/02/2023	Studies Weekly, Inc.	CARTHAGE ISD	1st Grade	SOC_STUD_EMH	0	216	\$10.95	\$2,365.20
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable						_			
Texas Studies Weekly: My	10/06/2023	Studies Weekly, Inc.	CHILTON ISD	1st Grade	SOC_STUD_EMH	0	55	\$10.95	\$602.25
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable								***	****
Texas Studies Weekly: My	11/01/2023	Studies Weekly, Inc.	CLARKSVILLE ISD	1st Grade	SOC_STUD_EMH	0	30	\$10.95	\$328.50
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable								***	****
Texas Studies Weekly: My	08/23/2023	Studies Weekly, Inc.	CROSBYTON CISD	1st Grade	SOC_STUD_EMH	0	10	\$10.95	\$109.50
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable								***	
Texas Studies Weekly: My	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	1st Grade	SOC_STUD_EMH	0	6,000	\$10.95	\$65,700.00
School and Local Community									
STREAMLINED 1 Year									
Digital/1 Year Consumable								***	****
Texas Studies Weekly: My	09/26/2023	Studies Weekly, Inc.	DR M L GARZA-	1st Grade	SOC_STUD_EMH	0	20	\$10.95	\$219.00
School and Local Community	1		GONZALEZ CHARTER						
STREAMLINED 1 Year			SCHOOL						
Digital/1 Year Consumable							2	***	
Texas Studies Weekly: My	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	1st Grade	SOC_STUD_EMH	0	250	\$10.95	\$2,737.50
School and Local Community									
STREAMLINED 1 Year	İ			1		1			

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital/1 Year Consumable									
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	10/16/2023	Studies Weekly, Inc.	ELGIN ISD	1st Grade	SOC_STUD_EMH	0	24	\$10.95	\$262.80
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/26/2023	Studies Weekly, Inc.	EXCELSIOR ISD	1st Grade	SOC_STUD_EMH	0	10	\$10.95	\$109.50
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	1st Grade	SOC_STUD_EMH	0	2,860	\$10.95	\$31,317.00
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	GARLAND ISD	1st Grade	SOC_STUD_EMH	0	1,352	\$10.95	\$14,804.40
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	10/09/2023	Studies Weekly, Inc.	GARNER ISD	1st Grade	SOC_STUD_EMH	0	37	\$10.95	\$405.15
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	GHOLSON ISD	1st Grade	SOC_STUD_EMH	0	25	\$10.95	\$273.75
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	HAWLEY ISD	1st Grade	SOC_STUD_EMH	0	60	\$10.95	\$657.00
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	1st Grade	SOC_STUD_EMH	0	34	\$10.95	\$372.30
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	KOPPERL ISD	1st Grade	SOC_STUD_EMH	0	20	\$10.95	\$219.00
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	07/25/2023	Studies Weekly, Inc.	LEON ISD	1st Grade	SOC_STUD_EMH	0	68	\$10.95	\$744.60
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	LOCKNEY ISD	1st Grade	SOC_STUD_EMH	0	27	\$10.95	\$295.65

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	MEADOWLAND CHARTER DISTRICT	1st Grade	SOC_STUD_EMH	0	3	\$10.95	\$32.85
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	MIAMI ISD	1st Grade	SOC_STUD_EMH	0	20	\$10.95	\$219.00
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	08/14/2023	Studies Weekly, Inc.	MOTLEY COUNTY ISD	1st Grade	SOC_STUD_EMH	0	8	\$10.95	\$87.60
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	1st Grade	SOC_STUD_EMH	0	275	\$10.95	\$3,011.25
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	03/11/2024	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	1st Grade	SOC_STUD_EMH	0	276	\$10.95	\$3,022.20
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	ODEM-EDROY ISD	1st Grade	SOC_STUD_EMH	0	70	\$10.95	\$766.50
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/19/2023	Studies Weekly, Inc.	RICARDO ISD	1st Grade	SOC_STUD_EMH	0	75	\$10.95	\$821.25
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	RICHLAND SPRINGS ISD	1st Grade	SOC_STUD_EMH	0	10	\$10.95	\$109.50
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	06/30/2023	Studies Weekly, Inc.	ROBSTOWN ISD	1st Grade	SOC_STUD_EMH	0	190	\$10.95	\$2,080.50
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	08/02/2023	Studies Weekly, Inc.	TROY ISD	1st Grade	SOC_STUD_EMH	0	130	\$10.95	\$1,423.50
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	10/26/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	1st Grade	SOC_STUD_EMH	0	30	\$10.95	\$328.50
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year	11/03/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	1st Grade	SOC_STUD_EMH	0	50	\$10.95	\$547.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital/1 Year Consumable									
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	11/16/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	1st Grade	SOC_STUD_EMH	0	17	\$10.95	\$186.15
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	1st Grade	SOC_STUD_EMH	0	1,117	\$10.95	\$12,231.15
Texas Studies Weekly: My School and Local Community STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	WYLIE ISD	1st Grade	SOC_STUD_EMH	0	24	\$10.95	\$262.80
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	07/25/2023	Studies Weekly, Inc.	COLUMBUS ISD	1st Grade	SOC_STUD_EMH	0	120	\$19.90	\$2,388.00
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	CROSBY ISD	1st Grade	SOC_STUD_EMH	0	485	\$19.90	\$9,651.50
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	06/30/2023	Studies Weekly, Inc.	LA VERNIA ISD	1st Grade	SOC_STUD_EMH	0	232	\$19.90	\$4,616.80
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	LAKE TRAVIS ISD	1st Grade	SOC_STUD_EMH	0	850	\$19.90	\$16,915.00
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	1st Grade	SOC_STUD_EMH	0	250	\$19.90	\$4,975.00
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	08/02/2023	Studies Weekly, Inc.	MARTINS MILL ISD	1st Grade	SOC_STUD_EMH	0	41	\$19.90	\$815.90
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	PARADISE ISD	1st Grade	SOC_STUD_EMH	0	85	\$19.90	\$1,691.50
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	09/19/2023	Studies Weekly, Inc.	RAYMONDVILLE ISD	1st Grade	SOC_STUD_EMH	0	70	\$19.90	\$1,393.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: My School and Local Community STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	SWEETWATER ISD	1st Grade	SOC_STUD_EMH	0	150	\$19.90	\$2,985.00
Texas Studies Weekly: My School and Local Community STREAMLINED 4 Year Digital/4 Year Consumable	06/25/2023	Studies Weekly, Inc.	KLONDIKE ISD	1st Grade	SOC_STUD_EMH	0	24	\$39.00	\$936.00
Texas Studies Weekly: My School and Local Community STREAMLINED 4 Year Digital/4 Year Consumable	05/30/2023	Studies Weekly, Inc.	MILES ISD	1st Grade	SOC_STUD_EMH	0	40	\$39.00	\$1,560.00
Texas Studies Weekly: My School and Local Community STREAMLINED 4 Year Digital/4 Year Consumable	06/08/2023	Studies Weekly, Inc.	WOODSBORO ISD	1st Grade	SOC_STUD_EMH	0	40	\$39.00	\$1,560.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	ADVANTAGE ACADEMY	3rd Grade	SOC_STUD_EM	0	90	\$10.95	\$985.50
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	AGUA DULCE ISD	3rd Grade	SOC_STUD_EM	0	27	\$10.95	\$295.65
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	ARLINGTON CLASSICS ACADEMY	3rd Grade	SOC_STUD_EM	0	176	\$10.95	\$1,927.20
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	08/10/2023	Studies Weekly, Inc.	BOVINA ISD	3rd Grade	SOC_STUD_EM	0	26	\$10.95	\$284.70
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	10/12/2023	Studies Weekly, Inc.	BRADY ISD	3rd Grade	SOC_STUD_EM	0	70	\$10.95	\$766.50
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	3rd Grade	SOC_STUD_EM	0	932	\$10.95	\$10,205.40
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	CHILTON ISD	3rd Grade	SOC_STUD_EM	0	45	\$10.95	\$492.75
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year	11/01/2023	Studies Weekly, Inc.	CLARKSVILLE ISD	3rd Grade	SOC_STUD_EM	0	40	\$10.95	\$438.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital/1 Year Consumable									
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	CUMBY COLLEGIATE ISD	3rd Grade	SOC_STUD_EM	0	44	\$10.95	\$481.80
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	3rd Grade	SOC_STUD_EM	0	5,000	\$10.95	\$54,750.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	10/17/2023	Studies Weekly, Inc.	DR M L GARZA- GONZALEZ CHARTER SCHOOL	3rd Grade	SOC_STUD_EM	0	26	\$10.95	\$284.70
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	3rd Grade	SOC_STUD_EM	0	255	\$10.95	\$2,792.25
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	10/16/2023	Studies Weekly, Inc.	ELGIN ISD	3rd Grade	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/26/2023	Studies Weekly, Inc.	EXCELSIOR ISD	3rd Grade	SOC_STUD_EM	0	12	\$10.95	\$131.40
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	3rd Grade	SOC_STUD_EM	0	3,042	\$10.95	\$33,309.90
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	GARLAND ISD	3rd Grade	SOC_STUD_EM	0	1,300	\$10.95	\$14,235.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	10/09/2023	Studies Weekly, Inc.	GARNER ISD	3rd Grade	SOC_STUD_EM	0	31	\$10.95	\$339.45
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	GHOLSON ISD	3rd Grade	SOC_STUD_EM	0	23	\$10.95	\$251.85
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	HAWLEY ISD	3rd Grade	SOC_STUD_EM	0	70	\$10.95	\$766.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	3rd Grade	SOC_STUD_EM	0	266	\$10.95	\$2,912.70
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	05/26/2023	Studies Weekly, Inc.	JIM NED CISD	3rd Grade	SOC_STUD_EM	0	135	\$10.95	\$1,478.25
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	KOPPERL ISD	3rd Grade	SOC_STUD_EM	0	20	\$10.95	\$219.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	07/25/2023	Studies Weekly, Inc.	LEON ISD	3rd Grade	SOC_STUD_EM	0	55	\$10.95	\$602.25
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	LOCKNEY ISD	3rd Grade	SOC_STUD_EM	0	32	\$10.95	\$350.40
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	MEADOWLAND CHARTER DISTRICT	3rd Grade	SOC_STUD_EM	0	8	\$10.95	\$87.60
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	MIAMI ISD	3rd Grade	SOC_STUD_EM	0	13	\$10.95	\$142.35
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	08/14/2023	Studies Weekly, Inc.	MOTLEY COUNTY ISD	3rd Grade	SOC_STUD_EM	0	14	\$10.95	\$153.30
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	05/26/2023	Studies Weekly, Inc.	MULLIN ISD	3rd Grade	SOC_STUD_EM	0	10	\$10.95	\$109.50
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	3rd Grade	SOC_STUD_EM	0	260	\$10.95	\$2,847.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	03/11/2024	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	3rd Grade	SOC_STUD_EM	0	269	\$10.95	\$2,945.55
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year	09/29/2023	Studies Weekly, Inc.	ODEM-EDROY ISD	3rd Grade	SOC_STUD_EM	0	65	\$10.95	\$711.75

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital/1 Year Consumable									
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/19/2023	Studies Weekly, Inc.	RICARDO ISD	3rd Grade	SOC_STUD_EM	0	75	\$10.95	\$821.25
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	RICHLAND SPRINGS ISD	3rd Grade	SOC_STUD_EM	0	12	\$10.95	\$131.40
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	06/30/2023	Studies Weekly, Inc.	ROBSTOWN ISD	3rd Grade	SOC_STUD_EM	0	215	\$10.95	\$2,354.25
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	08/02/2023	Studies Weekly, Inc.	TROY ISD	3rd Grade	SOC_STUD_EM	0	140	\$10.95	\$1,533.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	10/26/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	3rd Grade	SOC_STUD_EM	0	35	\$10.95	\$383.25
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	3rd Grade	SOC_STUD_EM	0	50	\$10.95	\$547.50
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	11/16/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	3rd Grade	SOC_STUD_EM	0	20	\$10.95	\$219.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	3rd Grade	SOC_STUD_EM	0	1,076	\$10.95	\$11,782.20
Texas Studies Weekly: Our Expanding Community STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	WYLIE ISD	3rd Grade	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	10/26/2023	Studies Weekly, Inc.	BLOOMINGTON ISD	3rd Grade	SOC_STUD_EM	0	75	\$19.90	\$1,492.50
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	07/25/2023	Studies Weekly, Inc.	COLUMBUS ISD	3rd Grade	SOC_STUD_EM	0	140	\$19.90	\$2,786.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	FRIONA ISD	3rd Grade	SOC_STUD_EM	0	75	\$19.90	\$1,492.50
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	06/30/2023	Studies Weekly, Inc.	LA VERNIA ISD	3rd Grade	SOC_STUD_EM	0	245	\$19.90	\$4,875.50
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	3rd Grade	SOC_STUD_EM	0	250	\$19.90	\$4,975.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	08/02/2023	Studies Weekly, Inc.	MARTINS MILL ISD	3rd Grade	SOC_STUD_EM	0	32	\$19.90	\$636.80
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	09/07/2023	Studies Weekly, Inc.	NAVARRO ISD	3rd Grade	SOC_STUD_EM	0	185	\$19.90	\$3,681.50
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	PARADISE ISD	3rd Grade	SOC_STUD_EM	0	120	\$19.90	\$2,388.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	09/19/2023	Studies Weekly, Inc.	RAYMONDVILLE ISD	3rd Grade	SOC_STUD_EM	0	70	\$19.90	\$1,393.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	SWEETWATER ISD	3rd Grade	SOC_STUD_EM	0	100	\$19.90	\$1,990.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 4 Year Digital/4 Year Consumable	06/25/2023	Studies Weekly, Inc.	KLONDIKE ISD	3rd Grade	SOC_STUD_EM	0	26	\$39.00	\$1,014.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 4 Year Digital/4 Year Consumable	05/30/2023	Studies Weekly, Inc.	MILES ISD	3rd Grade	SOC_STUD_EM	0	40	\$39.00	\$1,560.00
Texas Studies Weekly: Our Expanding Community STREAMLINED 4 Year Digital/4 Year Consumable	06/08/2023	Studies Weekly, Inc.	WOODSBORO ISD	3rd Grade	SOC_STUD_EM	0	40	\$39.00	\$1,560.00
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year	07/17/2023	Studies Weekly, Inc.	ADVANTAGE ACADEMY	5th Grade	SOC_STUD_EM	0	90	\$10.95	\$985.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable									
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	AGUA DULCE ISD	5th Grade	SOC_STUD_EM	0	28	\$10.95	\$306.60
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	BOVINA ISD	5th Grade	SOC_STUD_EM	0	36	\$10.95	\$394.20
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	10/12/2023	Studies Weekly, Inc.	BRADY ISD	5th Grade	SOC_STUD_EM	0	70	\$10.95	\$766.50
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	5th Grade	SOC_STUD_EM	0	967	\$10.95	\$10,588.65
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	CHILTON ISD	5th Grade	SOC_STUD_EM	0	45	\$10.95	\$492.75
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	11/01/2023	Studies Weekly, Inc.	CLARKSVILLE ISD	5th Grade	SOC_STUD_EM	0	40	\$10.95	\$438.00
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	5th Grade	SOC_STUD_EM	0	4,950	\$10.95	\$54,202.50
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	5th Grade	SOC_STUD_EM	0	450	\$10.95	\$4,927.50
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	09/26/2023	Studies Weekly, Inc.	EXCELSIOR ISD	5th Grade	SOC_STUD_EM	0	10	\$10.95	\$109.50
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	5th Grade	SOC_STUD_EM	0	2,990	\$10.95	\$32,740.50
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	GARLAND ISD	5th Grade	SOC_STUD_EM	0	1,326	\$10.95	\$14,519.70

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	10/09/2023	Studies Weekly, Inc.	GARNER ISD	5th Grade	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	GHOLSON ISD	5th Grade	SOC_STUD_EM	0	16	\$10.95	\$175.20
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	5th Grade	SOC_STUD_EM	0	158	\$10.95	\$1,730.10
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	05/26/2023	Studies Weekly, Inc.	JIM NED CISD	5th Grade	SOC_STUD_EM	0	130	\$10.95	\$1,423.50
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	KOPPERL ISD	5th Grade	SOC_STUD_EM	0	20	\$10.95	\$219.00
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	07/25/2023	Studies Weekly, Inc.	LEON ISD	5th Grade	SOC_STUD_EM	0	55	\$10.95	\$602.25
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	LOCKNEY ISD	5th Grade	SOC_STUD_EM	0	30	\$10.95	\$328.50
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	MEADOWLAND CHARTER DISTRICT	5th Grade	SOC_STUD_EM	0	8	\$10.95	\$87.60
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	08/14/2023	Studies Weekly, Inc.	MOTLEY COUNTY ISD	5th Grade	SOC_STUD_EM	0	12	\$10.95	\$131.40
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	MULLIN ISD	5th Grade	SOC_STUD_EM	0	8	\$10.95	\$87.60
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	5th Grade	SOC_STUD_EM	0	220	\$10.95	\$2,409.00
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year	09/19/2023	Studies Weekly, Inc.	RICARDO ISD	5th Grade	SOC_STUD_EM	0	75	\$10.95	\$821.25

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable									
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	06/30/2023	Studies Weekly, Inc.	ROBSTOWN ISD	5th Grade	SOC_STUD_EM	0	200	\$10.95	\$2,190.00
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	08/02/2023	Studies Weekly, Inc.	TROY ISD	5th Grade	SOC_STUD_EM	0	140	\$10.95	\$1,533.00
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	10/26/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	5th Grade	SOC_STUD_EM	0	20	\$10.95	\$219.00
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	5th Grade	SOC_STUD_EM	0	40	\$10.95	\$438.00
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	11/16/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	5th Grade	SOC_STUD_EM	0	22	\$10.95	\$240.90
Texas Studies Weekly: Our Nation STREAMLINED 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	5th Grade	SOC_STUD_EM	0	1,075	\$10.95	\$11,771.25
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	10/26/2023	Studies Weekly, Inc.	BLOOMINGTON ISD	5th Grade	SOC_STUD_EM	0	75	\$19.90	\$1,492.50
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	07/25/2023	Studies Weekly, Inc.	COLUMBUS ISD	5th Grade	SOC_STUD_EM	0	120	\$19.90	\$2,388.00
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	FRIONA ISD	5th Grade	SOC_STUD_EM	0	95	\$19.90	\$1,890.50
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	5th Grade	SOC_STUD_EM	0	250	\$19.90	\$4,975.00
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	08/02/2023	Studies Weekly, Inc.	MARTINS MILL ISD	5th Grade	SOC_STUD_EM	0	44	\$19.90	\$875.60

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	09/18/2023	Studies Weekly, Inc.	MIAMI ISD	5th Grade	SOC_STUD_EM	0	18	\$19.90	\$358.20
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	03/11/2024	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	5th Grade	SOC_STUD_EM	0	81	\$19.90	\$1,611.90
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	PARADISE ISD	5th Grade	SOC_STUD_EM	0	120	\$19.90	\$2,388.00
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	09/19/2023	Studies Weekly, Inc.	RAYMONDVILLE ISD	5th Grade	SOC_STUD_EM	0	53	\$19.90	\$1,054.70
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	09/18/2023	Studies Weekly, Inc.	RICHLAND SPRINGS ISD	5th Grade	SOC_STUD_EM	0	8	\$19.90	\$159.20
Texas Studies Weekly: Our Nation STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	SWEETWATER ISD	5th Grade	SOC_STUD_EM	0	100	\$19.90	\$1,990.00
Texas Studies Weekly: Our Nation STREAMLINED 4 Year Digital/4 Year Consumable	06/25/2023	Studies Weekly, Inc.	KLONDIKE ISD	5th Grade	SOC_STUD_EM	0	27	\$39.00	\$1,053.00
Texas Studies Weekly: Our Nation STREAMLINED 4 Year Digital/4 Year Consumable	05/30/2023	Studies Weekly, Inc.	MILES ISD	5th Grade	SOC_STUD_EM	0	40	\$39.00	\$1,560.00
Texas Studies Weekly: Our Nation STREAMLINED 4 Year Digital/4 Year Consumable	06/08/2023	Studies Weekly, Inc.	WOODSBORO ISD	5th Grade	SOC_STUD_EM	0	40	\$39.00	\$1,560.00
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	ADVANTAGE ACADEMY	4th Grade	SOC_STUD_EM	0	80	\$10.95	\$876.00
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	AGUA DULCE ISD	4th Grade	SOC_STUD_EM	0	36	\$10.95	\$394.20
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year	09/08/2023	Studies Weekly, Inc.	ARLINGTON CLASSICS ACADEMY	4th Grade	SOC_STUD_EM	0	176	\$10.95	\$1,927.20

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable									
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	BOVINA ISD	4th Grade	SOC_STUD_EM	0	31	\$10.95	\$339.45
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	10/12/2023	Studies Weekly, Inc.	BRADY ISD	4th Grade	SOC_STUD_EM	0	60	\$10.95	\$657.00
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	4th Grade	SOC_STUD_EM	0	957	\$10.95	\$10,479.15
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	CHILTON ISD	4th Grade	SOC_STUD_EM	0	45	\$10.95	\$492.75
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	11/01/2023	Studies Weekly, Inc.	CLARKSVILLE ISD	4th Grade	SOC_STUD_EM	0	40	\$10.95	\$438.00
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	4th Grade	SOC_STUD_EM	0	4,950	\$10.95	\$54,202.50
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	08/22/2023	Studies Weekly, Inc.	ELGIN ISD	4th Grade	SOC_STUD_EM	0	230	\$10.95	\$2,518.50
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	10/16/2023	Studies Weekly, Inc.	ELGIN ISD	4th Grade	SOC_STUD_EM	0	48	\$10.95	\$525.60
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/26/2023	Studies Weekly, Inc.	EXCELSIOR ISD	4th Grade	SOC_STUD_EM	0	12	\$10.95	\$131.40
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	4th Grade	SOC_STUD_EM	0	3,198	\$10.95	\$35,018.10
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	GARLAND ISD	4th Grade	SOC_STUD_EM	0	1,404	\$10.95	\$15,373.80

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	10/09/2023	Studies Weekly, Inc.	GARNER ISD	4th Grade	SOC_STUD_EM	0	28	\$10.95	\$306.60
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/08/2023	Studies Weekly, Inc.	GHOLSON ISD	4th Grade	SOC_STUD_EM	0	13	\$10.95	\$142.35
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	07/17/2023	Studies Weekly, Inc.	HAWLEY ISD	4th Grade	SOC_STUD_EM	0	70	\$10.95	\$766.50
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	4th Grade	SOC_STUD_EM	0	303	\$10.95	\$3,317.85
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	05/26/2023	Studies Weekly, Inc.	JIM NED CISD	4th Grade	SOC_STUD_EM	0	125	\$10.95	\$1,368.75
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/29/2023	Studies Weekly, Inc.	KOPPERL ISD	4th Grade	SOC_STUD_EM	0	20	\$10.95	\$219.00
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	07/25/2023	Studies Weekly, Inc.	LEON ISD	4th Grade	SOC_STUD_EM	0	50	\$10.95	\$547.50
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	LOCKNEY ISD	4th Grade	SOC_STUD_EM	0	25	\$10.95	\$273.75
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	MEADOWLAND CHARTER DISTRICT	4th Grade	SOC_STUD_EM	0	8	\$10.95	\$87.60
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	MIAMI ISD	4th Grade	SOC_STUD_EM	0	21	\$10.95	\$229.95
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	08/14/2023	Studies Weekly, Inc.	MOTLEY COUNTY ISD	4th Grade	SOC_STUD_EM	0	12	\$10.95	\$131.40
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year	08/22/2023	Studies Weekly, Inc.	MULLIN ISD	4th Grade	SOC_STUD_EM	0	8	\$10.95	\$87.60

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable									
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	4th Grade	SOC_STUD_EM	0	220	\$10.95	\$2,409.00
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	4th Grade	SOC_STUD_EM	0	45	\$10.95	\$492.75
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	03/11/2024	Studies Weekly, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	4th Grade	SOC_STUD_EM	0	238	\$10.95	\$2,606.10
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/19/2023	Studies Weekly, Inc.	RICARDO ISD	4th Grade	SOC_STUD_EM	0	75	\$10.95	\$821.25
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/18/2023	Studies Weekly, Inc.	RICHLAND SPRINGS ISD	4th Grade	SOC_STUD_EM	0	15	\$10.95	\$164.25
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	06/30/2023	Studies Weekly, Inc.	ROBSTOWN ISD	4th Grade	SOC_STUD_EM	0	215	\$10.95	\$2,354.25
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	08/02/2023	Studies Weekly, Inc.	TROY ISD	4th Grade	SOC_STUD_EM	0	145	\$10.95	\$1,587.75
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	10/26/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	4th Grade	SOC_STUD_EM	0	25	\$10.95	\$273.75
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	11/03/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	4th Grade	SOC_STUD_EM	0	30	\$10.95	\$328.50
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	11/16/2023	Studies Weekly, Inc.	VALERE PUBLIC SCHOOLS	4th Grade	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	4th Grade	SOC_STUD_EM	0	1,041	\$10.95	\$11,398.95

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Studies Weekly: Our State STREAMLINED 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	WYLIE ISD	4th Grade	SOC_STUD_EM	0	24	\$10.95	\$262.80
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	10/26/2023	Studies Weekly, Inc.	BLOOMINGTON ISD	4th Grade	SOC_STUD_EM	0	55	\$19.90	\$1,094.50
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	07/25/2023	Studies Weekly, Inc.	COLUMBUS ISD	4th Grade	SOC_STUD_EM	0	120	\$19.90	\$2,388.00
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	CROSBY ISD	4th Grade	SOC_STUD_EM	0	494	\$19.90	\$9,830.60
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	FRIONA ISD	4th Grade	SOC_STUD_EM	0	95	\$19.90	\$1,890.50
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	06/30/2023	Studies Weekly, Inc.	LA VERNIA ISD	4th Grade	SOC_STUD_EM	0	275	\$19.90	\$5,472.50
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	4th Grade	SOC_STUD_EM	0	250	\$19.90	\$4,975.00
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	08/02/2023	Studies Weekly, Inc.	MARTINS MILL ISD	4th Grade	SOC_STUD_EM	0	41	\$19.90	\$815.90
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	08/24/2023	Studies Weekly, Inc.	PARADISE ISD	4th Grade	SOC_STUD_EM	0	125	\$19.90	\$2,487.50
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	09/19/2023	Studies Weekly, Inc.	RAYMONDVILLE ISD	4th Grade	SOC_STUD_EM	0	70	\$19.90	\$1,393.00
Texas Studies Weekly: Our State STREAMLINED 2 Year Digital/2 Year Consumable	07/06/2023	Studies Weekly, Inc.	SWEETWATER ISD	4th Grade	SOC_STUD_EM	0	100	\$19.90	\$1,990.00
Texas Studies Weekly: Our State STREAMLINED 4 Year Digital/4 Year	06/25/2023	Studies Weekly, Inc.	KLONDIKE ISD	4th Grade	SOC_STUD_EM	0	24	\$39.00	\$936.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Consumable									
Texas Studies Weekly: Our State STREAMLINED 4 Year Digital/4 Year Consumable	05/30/2023	Studies Weekly, Inc.	MILES ISD	4th Grade	SOC_STUD_EM	0	45	\$39.00	\$1,755.00
Texas Studies Weekly: Our State STREAMLINED 4 Year Digital/4 Year Consumable	06/08/2023	Studies Weekly, Inc.	WOODSBORO ISD	4th Grade	SOC_STUD_EM	0	40	\$39.00	\$1,560.00
Texas US Government Student Bundle (1-Yr Digital and Print)	10/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BRACKETT ISD	High School - Soc Studies	SOC_STUD_H	0	30	\$71.01	\$2,130.30
Texas US Government Student Bundle (1-Yr Digital and Print)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CALVIN NELMS CHARTER SCHOOLS	High School - Soc Studies	SOC_STUD_H	0	20	\$71.01	\$1,420.20
Texas US Government Student Bundle (1-Yr Digital and Print)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	High School - Soc Studies	SOC_STUD_H	0	10	\$71.01	\$710.10
Texas US Government Student Bundle (2-Yr Digital & Print)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	High School - Soc Studies	SOC_STUD_H	0	4	\$73.02	\$292.08
Texas US Government Student Bundle (2-Yr Digital & Print)	10/17/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FRIONA ISD	High School - Soc Studies	SOC_STUD_H	0	70	\$73.02	\$5,111.40
Texas US Government Student Bundle (2-Yr Digital & Print)	11/15/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PROGRESO ISD	High School - Soc Studies	SOC_STUD_H	0	150	\$73.02	\$10,953.00
Texas US Government Student Bundle (2-Yr Digital & Print)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STERLING CITY ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$73.02	\$1,460.40
Texas US History 1877- Present Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GANADO ISD	High School - Soc Studies	SOC_STUD_H	0	44	\$16.00	\$704.00
Texas US History 1877- Present Extension (1 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	High School - Soc Studies	SOC_STUD_H	0	1,756	\$16.00	\$28,096.00
Texas US History 1877- Present Extension (1 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LITTLE CYPRESS- MAURICEVILLE CISD	High School - Soc Studies	SOC_STUD_H	0	25	\$16.00	\$400.00
Texas US History 1877- Present Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	High School - Soc Studies	SOC_STUD_H	0	25	\$29.97	\$749.25
Texas US History 1877- Present Extension (2 Year Digital License)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - Soc Studies	SOC_STUD_H	0	30	\$29.97	\$899.10

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas US History 1877- Present Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	High School - Soc Studies	SOC_STUD_H	0	66	\$29.97	\$1,978.02
Texas US History 1877- Present Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARBLE FALLS ISD	High School - Soc Studies	SOC_STUD_H	0	300	\$29.97	\$8,991.00
Texas US History Colonization through Reconstruction, Grade 8 Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GANADO ISD	8th Grade	SOC_STUD_EM	0	60	\$16.00	\$960.00
Texas US History Colonization through Reconstruction, Grade 8 Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	8th Grade	SOC_STUD_EM	0	250	\$29.97	\$7,492.50
Texas US History Colonization through Reconstruction, Grade 8 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	8th Grade	SOC_STUD_EM	0	1,030	\$29.97	\$30,869.10
Texas US History Colonization through Reconstruction, Grade 8 Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	8th Grade	SOC_STUD_EM	0	60	\$29.97	\$1,798.20
Texas US History Colonization through Reconstruction, Grade 8 Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KINGSVILLE ISD	8th Grade	SOC_STUD_EM	0	180	\$29.97	\$5,394.60
Texas US History since 1877 Digital Student Bundle (2 Yr)	06/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BLANKET ISD	High School - Soc Studies	SOC_STUD_H	0	12	\$24.99	\$299.88
Texas US History since 1877 Digital Student Bundle (2 Yr)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CALVIN NELMS CHARTER SCHOOLS	High School - Soc Studies	SOC_STUD_H	0	20	\$24.99	\$499.80
Texas US History since 1877 Digital Student Bundle (2 Yr)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	High School - Soc Studies	SOC_STUD_H	0	11	\$24.99	\$274.89
Texas US History since 1877 Digital Student Bundle (2 Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ECTOR COUNTY ISD	High School - Soc Studies	SOC_STUD_H	0	65	\$24.99	\$1,624.35
Texas US History since 1877 Digital Student Bundle (2 Yr)	10/04/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FABENS ISD	High School - Soc Studies	SOC_STUD_H	0	130	\$24.99	\$3,248.70

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas US History since 1877 Digital Student Bundle (2 Yr)	10/17/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FRIONA ISD	High School - Soc Studies	SOC_STUD_H	0	70	\$24.99	\$1,749.30
Texas US History since 1877 Digital Student Bundle (2 Yr)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	High School - Soc Studies	SOC_STUD_H	0	5	\$24.99	\$124.95
Texas US History since 1877 Digital Student Bundle (2 Yr)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LA VERNIA ISD	High School - Soc Studies	SOC_STUD_H	0	175	\$24.99	\$4,373.25
Texas US History since 1877 Digital Student Bundle (2 Yr)	07/13/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW WAVERLY ISD	High School - Soc Studies	SOC_STUD_H	0	107	\$24.99	\$2,673.93
Texas US History since 1877 Digital Student Bundle (2 Yr)	11/15/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PROGRESO ISD	High School - Soc Studies	SOC_STUD_H	0	150	\$24.99	\$3,748.50
Texas US History since 1877 Digital Student Bundle (2 Yr)	09/25/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ROCKSPRINGS ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$24.99	\$499.80
Texas US History since 1877 Digital Student Bundle (2 Yr)	07/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STANTON ISD	High School - Soc Studies	SOC_STUD_H	0	45	\$24.99	\$1,124.55
Texas US History since 1877 Student Bundle (1-Yr Digital & Print)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	TEXAS EMPOWERMENT ACADEMY	High School - Soc Studies	SOC_STUD_H	0	22	\$71.01	\$1,562.22
Texas US History since 1877 Student Bundle (2-Yr Digital & Print)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STERLING CITY ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$73.02	\$1,460.40
Texas US History since 1877 Student Bundle Digital & Print (3 Yrs)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	GARNER ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$75.03	\$1,500.60
Texas US History since 1877 Student Digital Bundle (3 Yrs)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CENTERVILLE ISD	High School - Soc Studies	SOC_STUD_H	0	3	\$36.48	\$109.44
Texas US History since 1877 Student Digital Bundle (3 Yrs)	09/29/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUSHING ISD	High School - Soc Studies	SOC_STUD_H	0	50	\$36.48	\$1,824.00
Texas US History since 1877 Student Digital Bundle (3 Yrs)	08/16/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	VEGA ISD	High School - Soc Studies	SOC_STUD_H	0	35	\$36.48	\$1,276.80
Texas US History to 1877 Digital Bundle (2-Yr)	06/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BLANKET ISD	8th Grade	SOC_STUD_EM	0	12	\$24.99	\$299.88
Texas US History to 1877 Digital Bundle (2-Yr)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CALVIN NELMS CHARTER SCHOOLS	8th Grade	SOC_STUD_EM	0	65	\$24.99	\$1,624.35
Texas US History to 1877	09/08/2023	School Education Group, a division	CUMBY COLLEGIATE	8th Grade	SOC_STUD_EM	0	15	\$24.99	\$374.85

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital Bundle (2-Yr)		of The McGraw-Hill Companies, Inc.	ISD						
Texas US History to 1877 Digital Bundle (2-Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ECTOR COUNTY ISD	8th Grade	SOC_STUD_EM	0	70	\$24.99	\$1,749.30
Texas US History to 1877 Digital Bundle (2-Yr)	10/17/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FRIONA ISD	8th Grade	SOC_STUD_EM	0	95	\$24.99	\$2,374.05
Texas US History to 1877 Digital Bundle (2-Yr)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	8th Grade	SOC_STUD_EM	0	26	\$24.99	\$649.74
Texas US History to 1877 Digital Bundle (2-Yr)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	JARRELL ISD	8th Grade	SOC_STUD_EM	0	300	\$24.99	\$7,497.00
Texas US History to 1877 Digital Bundle (2-Yr)	06/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LA VERNIA ISD	8th Grade	SOC_STUD_EM	0	275	\$24.99	\$6,872.25
Texas US History to 1877 Digital Bundle (2-Yr)	05/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW BOSTON ISD	8th Grade	SOC_STUD_EM	0	100	\$24.99	\$2,499.00
Texas US History to 1877 Digital Bundle (2-Yr)	09/19/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PILOT POINT ISD	8th Grade	SOC_STUD_EM	0	125	\$24.99	\$3,123.75
Texas US History to 1877 Digital Bundle (2-Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	8th Grade	SOC_STUD_EM	0	100	\$24.99	\$2,499.00
Texas US History to 1877 Digital Bundle (2-Yr)	07/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STANTON ISD	8th Grade	SOC_STUD_EM	0	80	\$24.99	\$1,999.20
Texas US History to 1877 Digital Student Bundle (3 Yrs)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CENTERVILLE ISD	8th Grade	SOC_STUD_EM	0	3	\$36.48	\$109.44
Texas US History to 1877 Digital Student Bundle (3 Yrs)	09/29/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUSHING ISD	8th Grade	SOC_STUD_EM	0	50	\$36.48	\$1,824.00
Texas US History to 1877 Digital Student Bundle (3 Yrs)	07/13/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW WAVERLY ISD	8th Grade	SOC_STUD_EM	0	95	\$36.48	\$3,465.60
Texas US History to 1877 Student Bundle (1-Yr Digital and Print)	10/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BRACKETT ISD	8th Grade	SOC_STUD_EM	0	45	\$71.01	\$3,195.45
Texas US History to 1877 Student Bundle (1-Yr Digital and Print)	07/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	COMFORT ISD	8th Grade	SOC_STUD_EM	0	22	\$71.01	\$1,562.22
Texas US History to 1877 Student Bundle (1-Yr Digital	09/08/2023	School Education Group, a division of The McGraw-Hill Companies,	CUMBY COLLEGIATE ISD	8th Grade	SOC_STUD_EM	0	18	\$71.01	\$1,278.18

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
and Print)		Inc.							
Texas US History to 1877 Student Bundle (1-Yr Digital and Print)	01/29/2024	School Education Group, a division of The McGraw-Hill Companies, Inc.	ETOILE ACADEMY CHARTER SCHOOL	8th Grade	SOC_STUD_EM	0	30	\$71.01	\$2,130.30
Texas US History to 1877 Student Bundle (1-Yr Digital and Print)	07/21/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	HENRIETTA ISD	8th Grade	SOC_STUD_EM	0	48	\$71.01	\$3,408.48
Texas US History to 1877 Student Bundle (1-Yr Digital and Print)	10/12/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PEGASUS SCHOOL OF LIBERAL ARTS AND SCIENCES	8th Grade	SOC_STUD_EM	0	55	\$71.01	\$3,905.55
Texas US History to 1877 Student Bundle (2-Yr Digital and Print)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STERLING CITY ISD	8th Grade	SOC_STUD_EM	0	30	\$73.02	\$2,190.60
Texas World Cultures & Geography Bundle (1-Yr Print & Digital)	10/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BRACKETT ISD	6th Grade	SOC_STUD_EM	0	45	\$71.01	\$3,195.45
Texas World Cultures & Geography Bundle (1-Yr Print & Digital)	01/02/2024	School Education Group, a division of The McGraw-Hill Companies, Inc.	BRIDGEWAY PREPARATORY ACADEMY	6th Grade	SOC_STUD_EM	0	5	\$71.01	\$355.05
Texas World Cultures & Geography Bundle (1-Yr Print & Digital)	07/21/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	HENRIETTA ISD	6th Grade	SOC_STUD_EM	0	24	\$71.01	\$1,704.24
Texas World Cultures & Geography Bundle (1-Yr Print & Digital)	08/31/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	VANGUARD ACADEMY	6th Grade	SOC_STUD_EM	0	46	\$71.01	\$3,266.46
Texas World Cultures & Geography Bundle (1-Yr Print & Digital)	10/12/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ZEPHYR ISD	6th Grade	SOC_STUD_EM	0	7	\$71.01	\$497.07
Texas World Cultures & Geography Bundle (2-Yr Print & Digital)	11/09/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LAMAR CISD	6th Grade	SOC_STUD_EM	0	23	\$73.02	\$1,679.46
Texas World Cultures & Geography Bundle (2-Yr Print & Digital)	10/24/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	MOUNT VERNON ISD	6th Grade	SOC_STUD_EM	0	15	\$73.02	\$1,095.30
Texas World Cultures & Geography Digital Student Bundle (2 Yrs)	08/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CALVIN NELMS CHARTER SCHOOLS	6th Grade	SOC_STUD_EM	0	70	\$24.99	\$1,749.30
Texas World Cultures & Geography Digital Student Bundle (2 Yrs)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	6th Grade	SOC_STUD_EM	0	15	\$24.99	\$374.85
Texas World Cultures & Geography Digital Student Bundle (2 Yrs)	10/17/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FRIONA ISD	6th Grade	SOC_STUD_EM	0	80	\$24.99	\$1,999.20
Texas World Cultures & Geography Digital Student	08/10/2023	School Education Group, a division of The McGraw-Hill Companies,	JARRELL ISD	6th Grade	SOC_STUD_EM	0	300	\$24.99	\$7,497.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Bundle (2 Yrs)		Inc.							
Texas World Cultures & Geography Digital Student Bundle (2 Yrs)	06/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LA VERNIA ISD	6th Grade	SOC_STUD_EM	0	300	\$24.99	\$7,497.00
Texas World Cultures & Geography Digital Student Bundle (2 Yrs)	05/30/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW BOSTON ISD	6th Grade	SOC_STUD_EM	0	80	\$24.99	\$1,999.20
Texas World Cultures & Geography Digital Student Bundle (2 Yrs)	01/25/2024	School Education Group, a division of The McGraw-Hill Companies, Inc.	NUECES CANYON CISD	6th Grade	SOC_STUD_EM	0	24	\$24.99	\$599.76
Texas World Cultures & Geography Digital Student Bundle (2 Yrs)	09/19/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PILOT POINT ISD	6th Grade	SOC_STUD_EM	0	130	\$24.99	\$3,248.70
Texas World Cultures & Geography Digital Student Bundle (2 Yrs)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	6th Grade	SOC_STUD_EM	0	95	\$24.99	\$2,374.05
Texas World Cultures & Geography Digital Student Bundle (3 Yrs)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	6th Grade	SOC_STUD_EM	0	22	\$36.48	\$802.56
Texas World Cultures & Geography Digital Student Bundle (3 Yrs)	10/24/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	MOUNT VERNON ISD	6th Grade	SOC_STUD_EM	0	125	\$36.48	\$4,560.00
Texas World Cultures & Geography Digital Student Bundle (3 Yrs)	07/13/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW WAVERLY ISD	6th Grade	SOC_STUD_EM	0	90	\$36.48	\$3,283.20
Texas World Geography Bundle (1 Yr Print & Digital)	10/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	BRACKETT ISD	High School - Soc Studies	SOC_STUD_H	0	45	\$71.01	\$3,195.45
Texas World Geography Bundle (1 Yr Print & Digital)	10/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CRANE ISD	High School - Soc Studies	SOC_STUD_H	0	30	\$71.01	\$2,130.30
Texas World Geography Bundle (1 Yr Print & Digital)	07/21/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	HENRIETTA ISD	High School - Soc Studies	SOC_STUD_H	0	28	\$71.01	\$1,988.28
Texas World Geography Digital Student Bundle (2 Yr)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CALVIN NELMS CHARTER SCHOOLS	High School - Soc Studies	SOC_STUD_H	0	20	\$24.99	\$499.80
Texas World Geography Digital Student Bundle (2 Yr)	07/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	COMFORT ISD	High School - Soc Studies	SOC_STUD_H	0	65	\$24.99	\$1,624.35
Texas World Geography Digital Student Bundle (2 Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	High School - Soc Studies	SOC_STUD_H	0	12	\$24.99	\$299.88
Texas World Geography Digital Student Bundle (2 Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies,	ECTOR COUNTY ISD	High School - Soc Studies	SOC_STUD_H	0	70	\$24.99	\$1,749.30

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
		Inc.							
Texas World Geography Digital Student Bundle (2 Yr)	10/04/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FABENS ISD	High School - Soc Studies	SOC_STUD_H	0	175	\$24.99	\$4,373.25
Texas World Geography Digital Student Bundle (2 Yr)	09/05/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FORT ELLIOTT CISD	High School - Soc Studies	SOC_STUD_H	0	15	\$24.99	\$374.85
Texas World Geography Digital Student Bundle (2 Yr)	10/17/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FRIONA ISD	High School - Soc Studies	SOC_STUD_H	0	70	\$24.99	\$1,749.30
Texas World Geography Digital Student Bundle (2 Yr)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	High School - Soc Studies	SOC_STUD_H	0	24	\$24.99	\$599.76
Texas World Geography Digital Student Bundle (2 Yr)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LA VERNIA ISD	High School - Soc Studies	SOC_STUD_H	0	289	\$24.99	\$7,222.11
Texas World Geography Digital Student Bundle (2 Yr)	07/13/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW WAVERLY ISD	High School - Soc Studies	SOC_STUD_H	0	75	\$24.99	\$1,874.25
Texas World Geography Digital Student Bundle (2 Yr)	11/15/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PROGRESO ISD	High School - Soc Studies	SOC_STUD_H	0	150	\$24.99	\$3,748.50
Texas World Geography Digital Student Bundle (2 Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	High School - Soc Studies	SOC_STUD_H	0	105	\$24.99	\$2,623.95
Texas World Geography Digital Student Bundle (2 Yr)	09/25/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ROCKSPRINGS ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$24.99	\$499.80
Texas World Geography Digital Student Bundle (2 Yr)	09/14/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	SALADO ISD	High School - Soc Studies	SOC_STUD_H	0	125	\$24.99	\$3,123.75
Texas World Geography Digital Student Bundle (2 Yr)	08/22/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	SNYDER ISD	High School - Soc Studies	SOC_STUD_H	0	45	\$24.99	\$1,124.55
Texas World Geography Digital Student Bundle (2 Yr)	07/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STANTON ISD	High School - Soc Studies	SOC_STUD_H	0	80	\$24.99	\$1,999.20
Texas World Geography Digital Student Bundle (3 Yrs)	08/16/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	VEGA ISD	High School - Soc Studies	SOC_STUD_H	0	35	\$36.48	\$1,276.80
Texas World Geography Print & Digital Student Bundle (3-Yrs)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CENTERVILLE ISD	High School - Soc Studies	SOC_STUD_H	0	15	\$75.03	\$1,125.45
Texas World Geography Print & Digital Student Bundle (3-	11/01/2023	School Education Group, a division of The McGraw-Hill Companies,	CLARKSVILLE ISD	High School - Soc Studies	SOC_STUD_H	0	60	\$75.03	\$4,501.80

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Yrs)		Inc.							
Texas World Geography Student Bundle (2 Yr Digital & Print)	10/04/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FABENS ISD	High School - Soc Studies	SOC_STUD_H	0	25	\$73.02	\$1,825.50
Texas World Geography Student Bundle (2 Yr Digital & Print)	11/09/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LAMAR CISD	High School - Soc Studies	SOC_STUD_H	0	50	\$73.02	\$3,651.00
Texas World History Digital Student Bundle (2 Yr)	09/26/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CALVIN NELMS CHARTER SCHOOLS	High School - Soc Studies	SOC_STUD_H	0	60	\$24.99	\$1,499.40
Texas World History Digital Student Bundle (2 Yr)	07/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	COMFORT ISD	High School - Soc Studies	SOC_STUD_H	0	40	\$24.99	\$999.60
Texas World History Digital Student Bundle (2 Yr)	09/08/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	CUMBY COLLEGIATE ISD	High School - Soc Studies	SOC_STUD_H	0	25	\$24.99	\$624.75
Texas World History Digital Student Bundle (2 Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ECTOR COUNTY ISD	High School - Soc Studies	SOC_STUD_H	0	65	\$24.99	\$1,624.35
Texas World History Digital Student Bundle (2 Yr)	10/04/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FABENS ISD	High School - Soc Studies	SOC_STUD_H	0	200	\$24.99	\$4,998.00
Texas World History Digital Student Bundle (2 Yr)	10/17/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	FRIONA ISD	High School - Soc Studies	SOC_STUD_H	0	85	\$24.99	\$2,124.15
Texas World History Digital Student Bundle (2 Yr)	10/09/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	HARLINGEN CISD	High School - Soc Studies	SOC_STUD_H	0	350	\$24.99	\$8,746.50
Texas World History Digital Student Bundle (2 Yr)	08/10/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	IRA ISD	High School - Soc Studies	SOC_STUD_H	0	18	\$24.99	\$449.82
Texas World History Digital Student Bundle (2 Yr)	08/23/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LA VERNIA ISD	High School - Soc Studies	SOC_STUD_H	0	175	\$24.99	\$4,373.25
Texas World History Digital Student Bundle (2 Yr)	07/13/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEW WAVERLY ISD	High School - Soc Studies	SOC_STUD_H	0	93	\$24.99	\$2,324.07
Texas World History Digital Student Bundle (2 Yr)	11/15/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	PROGRESO ISD	High School - Soc Studies	SOC_STUD_H	0	150	\$24.99	\$3,748.50
Texas World History Digital Student Bundle (2 Yr)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	High School - Soc Studies	SOC_STUD_H	0	80	\$24.99	\$1,999.20
Texas World History Digital Student Bundle (2 Yr)	09/25/2023	School Education Group, a division of The McGraw-Hill Companies,	ROCKSPRINGS ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$24.99	\$499.80

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
		Inc.							
Texas World History Digital Student Bundle (2 Yr)	07/06/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	STANTON ISD	High School - Soc Studies	SOC_STUD_H	0	85	\$24.99	\$2,124.15
Texas World History Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GANADO ISD	High School - Soc Studies	SOC_STUD_H	0	40	\$16.00	\$640.00
Texas World History Extension (1 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	High School - Soc Studies	SOC_STUD_H	0	2,099	\$16.00	\$33,584.00
Texas World History Extension (1 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LITTLE CYPRESS- MAURICEVILLE CISD	High School - Soc Studies	SOC_STUD_H	0	25	\$16.00	\$400.00
Texas World History Extension (1 Year Digital License)	10/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NUECES CANYON CISD	High School - Soc Studies	SOC_STUD_H	0	33	\$16.00	\$528.00
Texas World History Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ATHENS ISD	High School - Soc Studies	SOC_STUD_H	0	575	\$29.97	\$17,232.75
Texas World History Extension (2 Year Digital License)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - Soc Studies	SOC_STUD_H	0	20	\$29.97	\$599.40
Texas World History Extension (2 Year Digital License)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	High School - Soc Studies	SOC_STUD_H	0	65	\$29.97	\$1,948.05
Texas World History Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MARBLE FALLS ISD	High School - Soc Studies	SOC_STUD_H	0	300	\$29.97	\$8,991.00
Texas World History Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW BOSTON ISD	High School - Soc Studies	SOC_STUD_H	0	95	\$29.97	\$2,847.15
Texas World History Student Bundle (1-Yr Print & Digital)	03/11/2024	School Education Group, a division of The McGraw-Hill Companies, Inc.	NEWMAN INTERNATIONAL ACADEMY OF ARLINGTON	High School - Soc Studies	SOC_STUD_H	0	25	\$71.01	\$1,775.25
Texas World History Student Bundle (1-Yr Print & Digital)	10/20/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	TEXAS EMPOWERMENT ACADEMY	High School - Soc Studies	SOC_STUD_H	0	22	\$71.01	\$1,562.22
Texas World History Student Bundle (1-Yr Print & Digital)	10/12/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	ZEPHYR ISD	High School - Soc Studies	SOC_STUD_H	0	1	\$71.01	\$71.01
Texas World History Student Bundle (2-Yr Digital & Print)	11/09/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	LAMAR CISD	High School - Soc Studies	SOC_STUD_H	0	35	\$73.02	\$2,555.70
Texas World History Student	09/29/2023	School Education Group, a division	CUSHING ISD	High School -	SOC_STUD_H	0	50	\$36.48	\$1,824.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital Bundle (3 Yrs)		of The McGraw-Hill Companies, Inc.		Soc Studies					
Texas World History Student Digital Bundle (3 Yrs)	10/24/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	MOUNT VERNON ISD	High School - Soc Studies	SOC_STUD_H	0	145	\$36.48	\$5,289.60
Texas World History Student Digital Bundle (3 Yrs)	08/16/2023	School Education Group, a division of The McGraw-Hill Companies, Inc.	VEGA ISD	High School - Soc Studies	SOC_STUD_H	0	35	\$36.48	\$1,276.80
Texas miVisión Lectura - 1- year Print Consumable + 1- year Online, Grade 1	01/26/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	DIVIDE ISD	1st Grade	SLAR_E	0	1	\$35.47	\$35.47
Texas miVisión Lectura - 1- year Print Consumable + 1- year Online, Grade 1	10/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	1st Grade	SLAR_E	0	40	\$35.47	\$1,418.80
Texas miVisión Lectura - 1- year Print Consumable + 1- year Online, Grade 2	10/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	2nd Grade	SLAR_E	0	40	\$31.47	\$1,258.80
Texas miVisión Lectura - 1- year Print Consumable + 1- year Online, Grade 3	10/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VANGUARD ACADEMY	3rd Grade	SLAR_E	0	50	\$31.47	\$1,573.50
Texas miVisión Lectura - 1- year Print Consumable + 1- year Online, Grade 4	10/02/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VANGUARD ACADEMY	4th Grade	SLAR_E	0	50	\$31.47	\$1,573.50
Texas miVisión Lectura - 1- year Print Consumable + 1- year Online, Grade K	10/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	Kindergarten	SLAR_E	0	40	\$35.47	\$1,418.80
Texas miVisión Lectura, Hardcover + access through SY 2026-27, Grade 3	08/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	3rd Grade	SLAR_E	0	44	\$97.00	\$4,268.00
Texas miVisión Lectura, Hardcover + access through SY 2026-27, Grade 3	10/04/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	3rd Grade	SLAR_E	0	22	\$97.00	\$2,134.00
Texas miVisión Lectura, Print Consumable/ access through SY 2026-27, Grade 5	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	5th Grade	SLAR_E	0	20	\$101.47	\$2,029.40
Texas miVisión Lectura, Print Consumable/ access through SY 2026-27, Grade 5	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LUFKIN ISD	5th Grade	SLAR_E	0	100	\$101.47	\$10,147.00
Texas miVisión Lectura, Print Consumable/access through SY 2026-27, Grade 1	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	1st Grade	SLAR_E	0	20	\$110.47	\$2,209.40
Texas miVisión Lectura, Print Consumable/access through SY 2026-27, Grade 2	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	2nd Grade	SLAR_E	0	20	\$101.47	\$2,029.40
Texas miVisión Lectura, Print Consumable/access through	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	3rd Grade	SLAR_E	0	20	\$101.47	\$2,029.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
SY 2026-27, Grade 3									
Texas miVisión Lectura, Print Consumable/access through SY 2026-27, Grade 3	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LUFKIN ISD	3rd Grade	SLAR_E	0	100	\$101.47	\$10,147.00
Texas miVisión Lectura, Print Consumable/access through SY 2026-27, Grade 4	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	4th Grade	SLAR_E	0	20	\$101.47	\$2,029.40
Texas miVisión Lectura, Print Consumable/access through SY 2026-27, Grade 4	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LUFKIN ISD	4th Grade	SLAR_E	0	100	\$101.47	\$10,147.00
Texas miVisión Lectura, Print Consumable/access through SY 2026-27, Grade K	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	Kindergarten	SLAR_E	0	20	\$110.47	\$2,209.40
Texas myView Literacy - 1- year Online, Grade 4	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NUECES CANYON CISD	4th Grade	ELAR_E	0	20	\$18.47	\$369.40
Texas myView Literacy - 1- year Online, Grade 5	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NUECES CANYON CISD	5th Grade	ELAR_E	0	20	\$18.47	\$369.40
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade K	09/15/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	Kindergarten	ELAR_E	0	20	\$29.47	\$589.40
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade K	10/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	Kindergarten	ELAR_E	0	20	\$29.47	\$589.40
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 1	09/15/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	1st Grade	ELAR_E	0	20	\$29.47	\$589.40
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 1	10/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	1st Grade	ELAR_E	0	20	\$29.47	\$589.40
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 2	09/15/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	2nd Grade	ELAR_E	0	20	\$25.47	\$509.40
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 2	10/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RAUL YZAGUIRRE SCHOOLS FOR SUCCESS	2nd Grade	ELAR_E	0	40	\$25.47	\$1,018.80
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 2	09/05/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VANGUARD ACADEMY	2nd Grade	ELAR_E	0	200	\$25.47	\$5,094.00
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 3	09/19/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ARANSAS PASS ISD	3rd Grade	ELAR_E	0	60	\$25.47	\$1,528.20
Texas myView Literacy - 1- year Print Consumable + 1- vear Online, Grade 3	08/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	3rd Grade	ELAR_E	0	50	\$25.47	\$1,273.50
Texas myView Literacy - 1-	08/24/2023	Savvas Learning Company LLC	RANDOLPH FIELD ISD	3rd Grade	ELAR_E	0	50	\$25.47	\$1,273.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
year Print Consumable + 1- year Online, Grade 3		formerly Pearson K12 Learning							
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 3	09/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RANDOLPH FIELD ISD	3rd Grade	ELAR_E	0	50	\$25.47	\$1,273.50
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 3	09/05/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VANGUARD ACADEMY	3rd Grade	ELAR_E	0	125	\$25.47	\$3,183.75
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 4	08/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	4th Grade	ELAR_E	0	35	\$25.47	\$891.45
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 4	07/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW WAVERLY ISD	4th Grade	ELAR_E	0	10	\$25.47	\$254.70
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 4	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RANDOLPH FIELD ISD	4th Grade	ELAR_E	0	75	\$25.47	\$1,910.25
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 4	09/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RANDOLPH FIELD ISD	4th Grade	ELAR_E	0	75	\$25.47	\$1,910.25
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 4	09/05/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VANGUARD ACADEMY	4th Grade	ELAR_E	0	125	\$25.47	\$3,183.75
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 5	09/19/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ARANSAS PASS ISD	5th Grade	ELAR_E	0	75	\$25.47	\$1,910.25
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 5	08/29/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	5th Grade	ELAR_E	0	30	\$25.47	\$764.10
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 5	07/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW WAVERLY ISD	5th Grade	ELAR_E	0	10	\$25.47	\$254.70
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 5	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RANDOLPH FIELD ISD	5th Grade	ELAR_E	0	75	\$25.47	\$1,910.25
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 5	09/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	RANDOLPH FIELD ISD	5th Grade	ELAR_E	0	75	\$25.47	\$1,910.25
Texas myView Literacy - 1- year Print Consumable + 1- year Online, Grade 5	09/05/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	VANGUARD ACADEMY	5th Grade	ELAR_E	0	125	\$25.47	\$3,183.75
Texas myView Literacy, 4- year Print Consumable + access through SY 2026-27, Grade 4	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	4th Grade	ELAR_E	0	106	\$84.47	\$8,953.82
Texas myView Literacy, 4-	06/30/2023	Savvas Learning Company LLC	CELINA ISD	Kindergarten	ELAR_E	0	64	\$91.47	\$5,854.08

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
year Print Consumable + access through SY 2026-27, Gr. K		formerly Pearson K12 Learning							
Texas myView Literacy, 4- year Print Consumable + access through SY 2026-27, Grade 1	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	1st Grade	ELAR_E	0	40	\$91.47	\$3,658.80
Texas myView Literacy, 4- year Print Consumable + access through SY 2026-27, Grade 2	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	2nd Grade	ELAR_E	0	85	\$84.47	\$7,179.95
Texas myView Literacy, 4- year Print Consumable + access through SY 2026-27, Grade 3	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	3rd Grade	ELAR_E	0	30	\$84.47	\$2,534.10
Texas myView Literacy, Print Consumable/access through SY 2026-27, Grade 5	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	5th Grade	ELAR_E	0	120	\$84.47	\$10,136.40
Texas myView Literacy, access through SY 2026-27, Grade 3	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	3rd Grade	ELAR_E	0	35	\$66.47	\$2,326.45
Texas myView Literacy, access through SY 2026-27, Grade 4	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	4th Grade	ELAR_E	0	170	\$66.47	\$11,299.90
Texas myView Literacy, access through SY 2026-27, Grade 5	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	5th Grade	ELAR_E	0	120	\$66.47	\$7,976.40
Texas myWorld SS Building Our Community en español, Grade 3 Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	3rd Grade	SOC_STUD_EM	0	5	\$24.00	\$120.00
Texas myWorld SS Building Our Community, Grade 3 Extension (1 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	COMFORT ISD	3rd Grade	SOC_STUD_EM	0	78	\$11.00	\$858.00
Texas myWorld SS Building Our Community, Grade 3 Extension (1 Year Digital License)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HENRIETTA ISD	3rd Grade	SOC_STUD_EM	0	70	\$11.00	\$770.00
Texas myWorld SS Building Our Community, Grade 3 Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	JARRELL ISD	3rd Grade	SOC_STUD_EM	0	320	\$11.00	\$3,520.00
Texas myWorld SS Building Our Community, Grade 3 Extension (2 Year Digital License)	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONROE ISD	3rd Grade	SOC_STUD_EM	0	5,791	\$20.00	\$115,820.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas myWorld SS Building Our Community, Grade 3 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DAYTON ISD	3rd Grade	SOC_STUD_EM	0	455	\$20.00	\$9,100.00
Texas myWorld SS Building Our Community, Grade 3 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	3rd Grade	SOC_STUD_EM	0	896	\$20.00	\$17,920.00
Texas myWorld SS Building Our Community, Grade 3 Extension (3 Year Digital License)	09/01/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WILDORADO ISD	3rd Grade	SOC_STUD_EM	0	17	\$23.00	\$391.00
Texas myWorld SS Building Our Nation en español, Grade 5 Extension (1 Year Digital License)	07/25/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SAN ANTONIO ISD	5th Grade	SOC_STUD_EM	0	858	\$14.00	\$12,012.00
Texas myWorld SS Building Our Nation en español, Grade 5 Extension (2 Year Digital License)	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONROE ISD	5th Grade	SOC_STUD_EM	0	750	\$26.00	\$19,500.00
Texas myWorld SS Building Our Nation en español, Grade 5 Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	5th Grade	SOC_STUD_EM	0	5	\$26.00	\$130.00
Texas myWorld SS Building Our Nation, Grade 5 Extension (1 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	COMFORT ISD	5th Grade	SOC_STUD_EM	0	72	\$11.50	\$828.00
Texas myWorld SS Building Our Nation, Grade 5 Extension (1 Year Digital License)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HENRIETTA ISD	5th Grade	SOC_STUD_EM	0	88	\$11.50	\$1,012.00
Texas myWorld SS Building Our Nation, Grade 5 Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	JARRELL ISD	5th Grade	SOC_STUD_EM	0	320	\$11.50	\$3,680.00
Texas myWorld SS Building Our Nation, Grade 5 Extension (1 Year Digital License)	07/25/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SAN ANTONIO ISD	5th Grade	SOC_STUD_EM	0	2,755	\$11.50	\$31,682.50
Texas myWorld SS Building Our Nation, Grade 5 Extension (2 Year Digital License)	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONROE ISD	5th Grade	SOC_STUD_EM	0	4,804	\$21.50	\$103,286.00
Texas myWorld SS Building Our Nation, Grade 5 Extension (2 Year Digital	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DAYTON ISD	5th Grade	SOC_STUD_EM	0	435	\$21.50	\$9,352.50

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
License)									
Texas myWorld SS Building Our Nation, Grade 5 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	5th Grade	SOC_STUD_EM	0	428	\$21.50	\$9,202.00
Texas myWorld SS Building Our Nation, Grade 5 Extension (2 Year Digital License)	09/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NAVARRO ISD	5th Grade	SOC_STUD_EM	0	185	\$21.50	\$3,977.50
Texas myWorld SS Building Our Nation, Grade 5 Extension (2 Year Digital License)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	TEXAS SCHOOL OF THE ARTS	5th Grade	SOC_STUD_EM	0	40	\$21.50	\$860.00
Texas myWorld SS Building Our Nation, Grade 5 Extension (3 Year Digital License)	09/01/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WILDORADO ISD	5th Grade	SOC_STUD_EM	0	17	\$25.00	\$425.00
Texas myWorld SS Here We Are en español, Grade K Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	Kindergarten	SOC_STUD_EM	0	5	\$15.50	\$77.50
Texas myWorld SS Here We Are, Grade K Extension (1 Year Digital License)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HENRIETTA ISD	Kindergarten	SOC_STUD_EM	0	84	\$8.00	\$672.00
Texas myWorld SS Here We Are, Grade K Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	JARRELL ISD	Kindergarten	SOC_STUD_EM	0	50	\$8.00	\$400.00
Texas myWorld SS Here We Are, Grade K Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DAYTON ISD	Kindergarten	SOC_STUD_EM	0	400	\$13.00	\$5,200.00
Texas myWorld SS Here We Are, Grade K Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	Kindergarten	SOC_STUD_EM	0	1,030	\$13.00	\$13,390.00
Texas myWorld SS Here We Are, Grade K Extension (2 Year Digital License)	09/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NAVARRO ISD	Kindergarten	SOC_STUD_EM	0	185	\$13.00	\$2,405.00
Texas myWorld SS Here We Are, Grade K Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW BOSTON ISD	Kindergarten	SOC_STUD_EM	0	105	\$13.00	\$1,365.00
Texas myWorld SS Making Our Way en español, Grade 1 Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	1st Grade	SOC_STUD_EMH	0	5	\$19.00	\$95.00
Texas myWorld SS Making Our Way, Grade 1 Extension (1 Year Digital License)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HENRIETTA ISD	1st Grade	SOC_STUD_EMH	0	72	\$9.50	\$684.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas myWorld SS Making Our Way, Grade 1 Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	JARRELL ISD	1st Grade	SOC_STUD_EMH	0	50	\$9.50	\$475.00
Texas myWorld SS Making Our Way, Grade 1 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DAYTON ISD	1st Grade	SOC_STUD_EMH	0	400	\$16.00	\$6,400.00
Texas myWorld SS Making Our Way, Grade 1 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	1st Grade	SOC_STUD_EMH	0	372	\$16.00	\$5,952.00
Texas myWorld SS Making Our Way, Grade 1 Extension (2 Year Digital License)	09/07/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NAVARRO ISD	1st Grade	SOC_STUD_EMH	0	200	\$16.00	\$3,200.00
Texas myWorld SS Making Our Way, Grade 1 Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW BOSTON ISD	1st Grade	SOC_STUD_EMH	0	95	\$16.00	\$1,520.00
Texas myWorld SS We Are Texas en español, Grade 4 Extension (1 Year Digital License)	07/25/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SAN ANTONIO ISD	4th Grade	SOC_STUD_EM	0	968	\$13.00	\$12,584.00
Texas myWorld SS We Are Texas en español, Grade 4 Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	4th Grade	SOC_STUD_EM	0	5	\$24.00	\$120.00
Texas myWorld SS We Are Texas, Grade 4 Extension (1 Year Digital License)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HENRIETTA ISD	4th Grade	SOC_STUD_EM	0	84	\$11.00	\$924.00
Texas myWorld SS We Are Texas, Grade 4 Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	JARRELL ISD	4th Grade	SOC_STUD_EM	0	315	\$11.00	\$3,465.00
Texas myWorld SS We Are Texas, Grade 4 Extension (1 Year Digital License)	07/25/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	SAN ANTONIO ISD	4th Grade	SOC_STUD_EM	0	3,072	\$11.00	\$33,792.00
Texas myWorld SS We Are Texas, Grade 4 Extension (2 Year Digital License)	06/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CONROE ISD	4th Grade	SOC_STUD_EM	0	5,719	\$20.00	\$114,380.00
Texas myWorld SS We Are Texas, Grade 4 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DAYTON ISD	4th Grade	SOC_STUD_EM	0	445	\$20.00	\$8,900.00
Texas myWorld SS We Are Texas, Grade 4 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	4th Grade	SOC_STUD_EM	0	662	\$20.00	\$13,240.00
Texas myWorld SS We Are Texas, Grade 4 Extension (2 Year Digital License)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROBINSON ISD	4th Grade	SOC_STUD_EM	0	110	\$20.00	\$2,200.00
Texas myWorld SS We Are Texas, Grade 4 Extension (3 Year Digital License)	09/01/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WILDORADO ISD	4th Grade	SOC_STUD_EM	0	15	\$23.00	\$345.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas myWorld SS We Explore People en español, Grade 2 Extension (2 Year Digital License)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HEARNE ISD	2nd Grade	SOC_STUD_EM	0	5	\$19.00	\$95.00
Texas myWorld SS We Explore People, Grade 2 Extension (1 Year Digital License)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	HENRIETTA ISD	2nd Grade	SOC_STUD_EM	0	66	\$9.50	\$627.00
Texas myWorld SS We Explore People, Grade 2 Extension (1 Year Digital License)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	JARRELL ISD	2nd Grade	SOC_STUD_EM	0	50	\$9.50	\$475.00
Texas myWorld SS We Explore People, Grade 2 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DAYTON ISD	2nd Grade	SOC_STUD_EM	0	445	\$16.00	\$7,120.00
Texas myWorld SS We Explore People, Grade 2 Extension (2 Year Digital License)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	2nd Grade	SOC_STUD_EM	0	758	\$16.00	\$12,128.00
Texas myWorld SS We Explore People, Grade 2 Extension (2 Year Digital License)	05/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NEW BOSTON ISD	2nd Grade	SOC_STUD_EM	0	95	\$16.00	\$1,520.00
Texas myWorld SS We Explore People, Grade 2 Extension (3 Year Digital License)	09/01/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WILDORADO ISD	2nd Grade	SOC_STUD_EM	0	15	\$19.00	\$285.00
The Creative Curriculum® for Texas Pre-K Program Print + Digital Access plus Kodo Texas Toolkit (Through SY 2028-29 for 22 students)	11/17/2023	Teaching Strategies LLC	SOUTHWEST ISD	Pre- Kindergarten	PRK_K_SYS	66	1	\$4,250.00	\$4,250.00
The Creative Curriculum® for Texas Pre-K Program Print + Digital Access plus Kodo Texas Toolkit (Through SY 2028-29 for 22 students)	08/10/2023	Teaching Strategies LLC	THE VARNETT PUBLIC SCHOOL	Pre- Kindergarten	PRK_K_SYS	66	2	\$4,250.00	\$8,500.00
The Developing Child Student Bundle (2Yrs Digital and Print)	07/06/2023	McGraw-Hill School Division (Contract Vendor)	JUDSON ISD	High School - Other	HUMAN_SERV	0	30	\$51.21	\$1,536.30
The Developing Child Student Bundle (2Yrs Digital and Print)	10/04/2023	McGraw-Hill School Division (Contract Vendor)	NORTHSIDE ISD	High School - Other	HUMAN_SERV	0	118	\$51.21	\$6,042.78
The HighScope Curriculum Classroom Set (1 set per classroom)	10/12/2023	HighScope Educational Research Foundation	KENEDY ISD	Pre- Kindergarten	PRK_K_SYS	25	1	\$695.00	\$695.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Three Cheers for Pre-K Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DAYTON ISD	Pre- Kindergarten	PRK_K_SYS	400	1	\$4,747.00	\$4,747.00
Three Cheers for Pre-K Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	07/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	Pre- Kindergarten	PRK_K_SYS	400	2	\$4,747.00	\$9,494.00
Three Cheers for Pre-K Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	08/18/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	Pre- Kindergarten	PRK_K_SYS	400	2	\$4,747.00	\$9,494.00
Three Cheers for Pre-K Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	Pre- Kindergarten	PRK_K_SYS	400	10	\$4,747.00	\$47,470.00
Three Cheers for Pre-K Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	09/19/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MESQUITE ISD	Pre- Kindergarten	PRK_K_SYS	400	1	\$4,747.00	\$4,747.00
Three Cheers for Pre-K Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ALEDO ISD	Pre- Kindergarten	PRK_K_SYS	613	1	\$3,597.00	\$3,597.00
Three Cheers for Pre-K Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	10/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	Pre- Kindergarten	PRK_K_SYS	613	6	\$3,597.00	\$21,582.00
Three Cheers for Pre-K Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	08/25/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GRAND PRAIRIE ISD	Pre- Kindergarten	PRK_K_SYS	613	6	\$3,597.00	\$21,582.00
Three Cheers for Pre-K Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	08/31/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GRAND PRAIRIE ISD	Pre- Kindergarten	PRK_K_SYS	613	2	\$3,597.00	\$7,194.00
Three Cheers for Pre-K Comprehensive Package -	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MERCEDES ISD	Pre- Kindergarten	PRK_K_SYS	613	2	\$3,597.00	\$7,194.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Edition (25 Students/Through SY 2028- 29)									
Three Cheers for Pre-K Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	08/10/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MESQUITE ISD	Pre- Kindergarten	PRK_K_SYS	613	2	\$3,597.00	\$7,194.00
Three Cheers for Pre-K Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MESQUITE ISD	Pre- Kindergarten	PRK_K_SYS	613	4	\$3,597.00	\$14,388.00
$ \begin{array}{ccccc} Three & Cheers & for & Pre-K \\ Comprehensive & Package & - \\ Texas & Edition & (25) \\ Students/Through & SY & 2028-29) \\ \end{array} $	06/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PORT NECHES- GROVES ISD	Pre- Kindergarten	PRK_K_SYS	613	2	\$3,597.00	\$7,194.00
Three Cheers for Pre-K Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	09/19/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	PORT NECHES- GROVES ISD	Pre- Kindergarten	PRK_K_SYS	613	1	\$3,597.00	\$3,597.00
Three Cheers for Pre-K Essentials PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BONHAM ISD	Pre- Kindergarten	PRK_K_SYS	25	1	\$4,297.00	\$4,297.00
Three Cheers for Pre-K Essentials Package - Texas Edition (25 Students/Through SY 2028-29)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CELINA ISD	Pre- Kindergarten	PRK_K_SYS	8,471	3	\$3,147.00	\$9,441.00
Three Cheers for Pre-K Essentials Package - Texas Edition (25 Students/Through SY 2028-29)	01/29/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	KILLEEN ISD	Pre- Kindergarten	PRK_K_SYS	8,471	1	\$3,147.00	\$3,147.00
Three Cheers for Pre-K Essentials Package - Texas Edition (25 Students/Through SY 2028-29)	08/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	Pre- Kindergarten	PRK_K_SYS	8,471	10	\$3,147.00	\$31,470.00
Three Cheers for Pre-K Essentials Package - Texas Edition (25 Students/Through SY 2028-29)	10/20/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NORTHSIDE ISD	Pre- Kindergarten	PRK_K_SYS	8,471	6	\$3,147.00	\$18,882.00
Three Cheers for Pre-K Essentials Package - Texas Edition (25 Students/Through	09/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WESLACO ISD	Pre- Kindergarten	PRK_K_SYS	8,471	6	\$3,147.00	\$18,882.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
SY 2028-29)									
USA Studies Weekly - 1565 to the Present-Spanish 1 Year Digital/1 Year Consumable	05/31/2023	Studies Weekly, Inc.	BURLESON ISD	5th Grade	SOC_STUD_EM	0	50	\$10.95	\$547.50
USA Studies Weekly - 1565 to the Present-Spanish 1 Year Digital/1 Year Consumable	10/06/2023	Studies Weekly, Inc.	DALLAS ISD	5th Grade	SOC_STUD_EM	0	4,950	\$10.95	\$54,202.50
USA Studies Weekly - 1565 to the Present-Spanish 1 Year Digital/1 Year Consumable	07/10/2023	Studies Weekly, Inc.	GARLAND ISD	5th Grade	SOC_STUD_EM	0	1,300	\$10.95	\$14,235.00
USA Studies Weekly - 1565 to the Present-Spanish 1 Year Digital/1 Year Consumable	12/07/2023	Studies Weekly, Inc.	HOUSTON ISD	5th Grade	SOC_STUD_EM	0	16	\$10.95	\$175.20
USA Studies Weekly - 1565 to the Present-Spanish 1 Year Digital/1 Year Consumable	08/07/2023	Studies Weekly, Inc.	VICTORIA ISD	5th Grade	SOC_STUD_EM	0	48	\$10.95	\$525.60
USA Studies Weekly - 1565 to the Present-Spanish 1 Year Digital/1 Year Consumable	06/08/2023	Studies Weekly, Inc.	WOODSBORO ISD	5th Grade	SOC_STUD_EM	0	1	\$10.95	\$10.95
USA Studies Weekly - 1565 to the Present-Spanish 1 Year Digital/1 Year Consumable	09/20/2023	Studies Weekly, Inc.	WYLIE ISD	5th Grade	SOC_STUD_EM	0	30	\$10.95	\$328.50
USA Studies Weekly - 1565 to the Present-Spanish 2 Year Digital/2 Year Consumable	05/30/2023	Studies Weekly, Inc.	MARBLE FALLS ISD	5th Grade	SOC_STUD_EM	0	70	\$19.90	\$1,393.00
Universal Handwriting - Beginning Cursive Grade 3 (Print 1YR consumable)	06/05/2023	Universal Publishing	COMSTOCK ISD	3rd Grade	HANDWRITING	0	20	\$7.95	\$159.00
Universal Handwriting - Beginning Manuscript Grade K (Print 1YR consumable)	06/05/2023	Universal Publishing	COMSTOCK ISD	Kindergarten	HANDWRITING	0	20	\$7.95	\$159.00
Universal Handwriting - Manuscript Review and Introduction to Cursive Grade 2 (Print 1YR consumable)	06/05/2023	Universal Publishing	COMSTOCK ISD	2nd Grade	HANDWRITING	0	20	\$7.95	\$159.00
Universal Handwriting - Manuscript Review and Introduction to Cursive Grade 2 (Print 1YR consumable)	10/09/2023	Universal Publishing	COOLIDGE ISD	2nd Grade	HANDWRITING	0	28	\$7.95	\$222.60
Universal Handwriting - Mastering Cursive Grade 5 (Print 1YR consumable)	06/05/2023	Universal Publishing	COMSTOCK ISD	5th Grade	HANDWRITING	0	20	\$7.95	\$159.00
Universal Handwriting - Reinforcing Cursive Grade 4 (Print 1YR consumable)	06/05/2023	Universal Publishing	COMSTOCK ISD	4th Grade	HANDWRITING	0	20	\$7.95	\$159.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Universal Handwriting - Reinforcing Manuscript Grade 1(Print 1YR consumable)	06/05/2023	Universal Publishing	COMSTOCK ISD	1st Grade	HANDWRITING	0	20	\$7.95	\$159.00
Uno, dos, tres Prekinder! Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	08/23/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	DAYTON ISD	Pre- Kindergarten	PRK_K_SYS	450	1	\$5,447.00	\$5,447.00
Uno, dos, tres Prekinder! Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	10/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	EAGLE PASS ISD	Pre- Kindergarten	PRK_K_SYS	450	6	\$5,447.00	\$32,682.00
Uno, dos, tres Prekinder! Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	08/18/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	Pre- Kindergarten	PRK_K_SYS	450	2	\$5,447.00	\$10,894.00
Uno, dos, tres Prekinder! Comprehensive PLUS Package - Texas Edition (25 Students/Through SY 2028- 29)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LA JOYA ISD	Pre- Kindergarten	PRK_K_SYS	450	9	\$5,447.00	\$49,023.00
Uno, dos, tres Prekinder! Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	08/25/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GRAND PRAIRIE ISD	Pre- Kindergarten	PRK_K_SYS	200	5	\$4,297.00	\$21,485.00
Uno, dos, tres Prekinder! Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MERCEDES ISD	Pre- Kindergarten	PRK_K_SYS	200	1	\$4,297.00	\$4,297.00
Uno, dos, tres Prekinder! Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	08/24/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MESQUITE ISD	Pre- Kindergarten	PRK_K_SYS	200	2	\$4,297.00	\$8,594.00
Uno, dos, tres Prekinder! Comprehensive Package - Texas Edition (25 Students/Through SY 2028- 29)	09/19/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	MESQUITE ISD	Pre- Kindergarten	PRK_K_SYS	200	1	\$4,297.00	\$4,297.00
Uno, dos, tres Prekinder! Essentials Package - Texas Edition (25 Students/Through	08/31/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GRAND PRAIRIE ISD	Pre- Kindergarten	PRK_K_SYS	180	1	\$3,747.00	\$3,747.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
SY 2028-29)									
Uno, dos, tres Prekinder! Essentials Package - Texas Edition (25 Students/Through SY 2028-29)	09/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WESLACO ISD	Pre- Kindergarten	PRK_K_SYS	180	5	\$3,747.00	\$18,735.00
Wonders Grade 1, Texas Standard Student Bundle (Print, 4-Yr Digital, 4-Yr Consumable & Classroom Set)	08/23/2023	McGraw-Hill School Division (Contract Vendor)	CROSBYTON CISD	1st Grade	ELAR_E	0	10	\$127.50	\$1,275.00
World Cultures and Geography, TX Edition, Classroom Set of 25 (Print)	09/08/2023	Cengage Learning, Inc./National Geographic Learning	LITTLE CYPRESS- MAURICEVILLE CISD	6th Grade	SOC_STUD_EM	30	1	\$2,900.00	\$2,900.00
Zaner-Bloser Handwriting Texas Edition and Spelling Connections Texas Edition © 2020 Bundle Grade 1 (Consumable Print, 1 Year)	05/26/2023	Zaner-Bloser, Inc.	MULLIN ISD	1st Grade	HANDWRITING	0	10	\$24.99	\$249.90
Zaner-Bloser Handwriting Texas Edition and Spelling Connections Texas Edition © 2020 Bundle Grade 2 (Consumable Print, 1 Year)	05/26/2023	Zaner-Bloser, Inc.	MULLIN ISD	2nd Grade	HANDWRITING	0	10	\$24.99	\$249.90
Zaner-Bloser Handwriting Texas Edition and Spelling Connections Texas Edition © 2020 Bundle Grade 3 (Consumable Print, 1 Year)	05/26/2023	Zaner-Bloser, Inc.	MULLIN ISD	3rd Grade	HANDWRITING	0	5	\$24.99	\$124.95
Zaner-Bloser Handwriting Texas Edition and Spelling Connections Texas Edition © 2020 Bundle Grade 4 (Consumable Print, 1 Year)	05/26/2023	Zaner-Bloser, Inc.	MULLIN ISD	4th Grade	HANDWRITING	0	5	\$24.99	\$124.95
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	06/25/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	1st Grade	HANDWRITING	0	982	\$9.99	\$9,810.18
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	10/13/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	1st Grade	HANDWRITING	0	160	\$9.99	\$1,598.40
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	01/25/2024	Zaner-Bloser, Inc.	COLLEGE STATION ISD	1st Grade	HANDWRITING	0	10	\$9.99	\$99.90
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	06/16/2023	Zaner-Bloser, Inc.	HALLSBURG ISD	1st Grade	HANDWRITING	0	25	\$9.99	\$249.75

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	09/20/2023	Zaner-Bloser, Inc.	LIPAN ISD	1st Grade	HANDWRITING	0	44	\$9.99	\$439.56
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	11/03/2023	Zaner-Bloser, Inc.	MEADOWLAND CHARTER DISTRICT	1st Grade	HANDWRITING	0	3	\$9.99	\$29.97
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	08/10/2023	Zaner-Bloser, Inc.	NORTH LAMAR ISD	1st Grade	HANDWRITING	0	177	\$9.99	\$1,768.23
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	07/17/2023	Zaner-Bloser, Inc.	ROCKPORT-FULTON ISD	1st Grade	HANDWRITING	0	20	\$9.99	\$199.80
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	08/02/2023	Zaner-Bloser, Inc.	SPRING BRANCH ISD	1st Grade	HANDWRITING	0	2,000	\$9.99	\$19,980.00
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	06/25/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	2nd Grade	HANDWRITING	0	1,108	\$9.99	\$11,068.92
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	10/13/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	2nd Grade	HANDWRITING	0	81	\$9.99	\$809.19
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	12/15/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	2nd Grade	HANDWRITING	0	12	\$9.99	\$119.88
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	01/25/2024	Zaner-Bloser, Inc.	COLLEGE STATION ISD	2nd Grade	HANDWRITING	0	10	\$9.99	\$99.90
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	06/16/2023	Zaner-Bloser, Inc.	HALLSBURG ISD	2nd Grade	HANDWRITING	0	20	\$9.99	\$199.80
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	08/10/2023	Zaner-Bloser, Inc.	LITTLE CYPRESS- MAURICEVILLE CISD	2nd Grade	HANDWRITING	0	20	\$9.99	\$199.80
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	11/03/2023	Zaner-Bloser, Inc.	MEADOWLAND CHARTER DISTRICT	2nd Grade	HANDWRITING	0	3	\$9.99	\$29.97
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	08/10/2023	Zaner-Bloser, Inc.	NORTH LAMAR ISD	2nd Grade	HANDWRITING	0	195	\$9.99	\$1,948.05
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	05/30/2023	Zaner-Bloser, Inc.	RAPOPORT ACADEMY PUBLIC SCHOOL	2nd Grade	HANDWRITING	0	70	\$9.99	\$699.30
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	07/17/2023	Zaner-Bloser, Inc.	ROCKPORT-FULTON ISD	2nd Grade	HANDWRITING	0	20	\$9.99	\$199.80
Zaner-Bloser Handwriting	05/26/2023	Zaner-Bloser, Inc.	SANDS CISD	2nd Grade	HANDWRITING	0	22	\$9.99	\$219.78

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Edition © 2020 Grade									
2 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	08/10/2023	Zaner-Bloser, Inc.	SAVOY ISD	2nd Grade	HANDWRITING	0	25	\$9.99	\$249.75
Texas Edition © 2020 Grade									
2 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	08/02/2023	Zaner-Bloser, Inc.	SPRING BRANCH ISD	2nd Grade	HANDWRITING	0	2,000	\$9.99	\$19,980.00
Texas Edition © 2020 Grade									
2 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	09/08/2023	Zaner-Bloser, Inc.	GARNER ISD	2nd Grade	HANDWRITING	0	30	\$34.76	\$1,042.80
Texas Edition © 2020 Grade									
2 (Consumable Print, 4 Year									
Subscription, 13% Discount)									
Zaner-Bloser Handwriting	06/25/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	3rd Grade	HANDWRITING	0	1,031	\$9.99	\$10,299.69
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	10/13/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	3rd Grade	HANDWRITING	0	39	\$9.99	\$389.61
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	01/25/2024	Zaner-Bloser, Inc.	COLLEGE STATION ISD	3rd Grade	HANDWRITING	0	10	\$9.99	\$99.90
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	06/16/2023	Zaner-Bloser, Inc.	HALLSBURG ISD	3rd Grade	HANDWRITING	0	18	\$9.99	\$179.82
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	11/03/2023	Zaner-Bloser, Inc.	MEADOWLAND	3rd Grade	HANDWRITING	0	8	\$9.99	\$79.92
Texas Edition © 2020 Grade			CHARTER DISTRICT						
3 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	08/10/2023	Zaner-Bloser, Inc.	NORTH LAMAR ISD	3rd Grade	HANDWRITING	0	190	\$9.99	\$1,898.10
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	05/30/2023	Zaner-Bloser, Inc.	RAPOPORT ACADEMY	3rd Grade	HANDWRITING	0	70	\$9.99	\$699.30
Texas Edition © 2020 Grade			PUBLIC SCHOOL						
3 (Consumable Print, 1 Year)	05/45/2022	2 51 7	DOGUDODE EU EOU	2.16.1	TI A TIP TIP TIP TIP TIP TIP TIP TIP TIP TIP		250	40.00	# 2 10 5 50
Zaner-Bloser Handwriting	07/17/2023	Zaner-Bloser, Inc.	ROCKPORT-FULTON	3rd Grade	HANDWRITING	0	250	\$9.99	\$2,497.50
Texas Edition © 2020 Grade			ISD						
3 (Consumable Print, 1 Year)	05/45/2022	7 51 7	DO GUADDINGA IAD	2.16.1	***************************************			40.00	011005
Zaner-Bloser Handwriting	07/17/2023	Zaner-Bloser, Inc.	ROCKSPRINGS ISD	3rd Grade	HANDWRITING	0	15	\$9.99	\$149.85
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)	00/10/2022	7 D1 I	GALLOWIGD	2.16.1	TI A NEW TENTO	0	2.5	Φ0.00	#2.40.75
Zaner-Bloser Handwriting	08/10/2023	Zaner-Bloser, Inc.	SAVOY ISD	3rd Grade	HANDWRITING	0	25	\$9.99	\$249.75
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)	00/02/2022	Zanan Diagon I	CDDING DD ANGUIGD	2-10-1	HANDWDIEDIC		2.000	\$0.00	¢10,000,00
Zaner-Bloser Handwriting	08/02/2023	Zaner-Bloser, Inc.	SPRING BRANCH ISD	3rd Grade	HANDWRITING	0	2,000	\$9.99	\$19,980.00
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)	02/07/2024	7 Di I	CINTON ICD	2-1 C- 1	HANDWDIEDIC		150	¢2476	¢5 014 00
Zaner-Bloser Handwriting	03/07/2024	Zaner-Bloser, Inc.	SINTON ISD	3rd Grade	HANDWRITING	0	150	\$34.76	\$5,214.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Texas Edition © 2020 Grade									
3 (Consumable Print, 4 Year									
Subscription, 13% Discount)									
Zaner-Bloser Handwriting	06/25/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	4th Grade	HANDWRITING	0	1,074	\$9.99	\$10,729.26
Texas Edition © 2020 Grade									
4 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	10/13/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	4th Grade	HANDWRITING	0	43	\$9.99	\$429.57
Texas Edition © 2020 Grade									
4 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	01/25/2024	Zaner-Bloser, Inc.	COLLEGE STATION ISD	4th Grade	HANDWRITING	0	10	\$9.99	\$99.90
Texas Edition © 2020 Grade									
4 (Consumable Print, 1 Year)	0.5/4.5/2022	2 21 1	**************************************	41.6.1	W. C. D. W.			40.00	\$240. 5 0
Zaner-Bloser Handwriting	06/16/2023	Zaner-Bloser, Inc.	HALLSBURG ISD	4th Grade	HANDWRITING	0	22	\$9.99	\$219.78
Texas Edition © 2020 Grade									
4 (Consumable Print, 1 Year)	11/02/2022	7 01 1	MET DOM'T THE	41.0.1	HANDWIDIEDIG	0	0	#0.00	Φ 7 0.03
Zaner-Bloser Handwriting	11/03/2023	Zaner-Bloser, Inc.	MEADOWLAND	4th Grade	HANDWRITING	0	8	\$9.99	\$79.92
Texas Edition © 2020 Grade			CHARTER DISTRICT						
4 (Consumable Print, 1 Year)	00/10/2022	7 DI I	NORTHIAMARICR	44 C 1	HANDWIDTENC	0	100	Φ0.00	¢1 000 10
Zaner-Bloser Handwriting	08/10/2023	Zaner-Bloser, Inc.	NORTH LAMAR ISD	4th Grade	HANDWRITING	0	190	\$9.99	\$1,898.10
Texas Edition © 2020 Grade									
4 (Consumable Print, 1 Year) Zaner-Bloser Handwriting	07/17/2023	Zaner-Bloser, Inc.	ROCKPORT-FULTON	4th Grade	HANDWRITING	0	260	\$9.99	\$2,597.40
Zaner-Bloser Handwriting Texas Edition © 2020 Grade	07/17/2023	Zaner-Bioser, Inc.	ISD	4th Grade	HANDWRITING	0	200	\$9.99	\$2,597.40
4 (Consumable Print, 1 Year)			13D						
Zaner-Bloser Handwriting	07/17/2023	Zaner-Bloser, Inc.	ROCKSPRINGS ISD	4th Grade	HANDWRITING	0	20	\$9.99	\$199.80
Texas Edition © 2020 Grade	07/17/2023	Zaner-Bioser, mc.	ROCKSFRINGS ISD	4ui Giade	HANDWRITING	0	20	\$9.99	\$199.00
4 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	03/07/2024	Zaner-Bloser, Inc.	SINTON ISD	4th Grade	HANDWRITING	0	165	\$34.76	\$5,735.40
Texas Edition © 2020 Grade	03/07/2024	Zaner-Bioser, me.	SINTONISD	4th Grade	HAND WRITING		103	φ34.70	φ5,755.40
4 (Consumable Print, 4 Year									
Subscription, 13% Discount)									
Zaner-Bloser Handwriting	11/03/2023	Zaner-Bloser, Inc.	MEADOWLAND	5th Grade	HANDWRITING	0	8	\$9.99	\$79.92
Texas Edition © 2020 Grade	,,		CHARTER DISTRICT				-	4	71717
5 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	08/10/2023	Zaner-Bloser, Inc.	NORTH LAMAR ISD	5th Grade	HANDWRITING	0	165	\$9.99	\$1,648.35
Texas Edition © 2020 Grade		,							. ,
5 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	07/17/2023	Zaner-Bloser, Inc.	ROCKPORT-FULTON	5th Grade	HANDWRITING	0	250	\$9.99	\$2,497.50
Texas Edition © 2020 Grade			ISD						
5 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	07/17/2023	Zaner-Bloser, Inc.	ROCKSPRINGS ISD	5th Grade	HANDWRITING	0	20	\$9.99	\$199.80
Texas Edition © 2020 Grade									
5 (Consumable Print, 1 Year)									
Zaner-Bloser Handwriting	10/18/2023	Zaner-Bloser, Inc.	BIG SPRINGS CHARTER	5th Grade	HANDWRITING	0	30	\$18.98	\$569.40
Texas Edition © 2020 Grade			SCHOOL						
5 (Consumable Print, 2 Year									
Subscription, 5% Discount)									

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Zaner-Bloser Handwriting Texas Edition © 2020 Grade 5 (Consumable Print, 4 Year Subscription, 13% Discount)	03/07/2024	Zaner-Bloser, Inc.	SINTON ISD	5th Grade	HANDWRITING	0	165	\$34.76	\$5,735.40
Zaner-Bloser Handwriting Texas Edition © 2020 Grade K (Consumable Print, 1 Year)	06/16/2023	Zaner-Bloser, Inc.	HALLSBURG ISD	Kindergarten	HANDWRITING	0	20	\$9.99	\$199.80
Zaner-Bloser Handwriting Texas Edition © 2020 Grade K (Consumable Print, 1 Year)	09/20/2023	Zaner-Bloser, Inc.	LIPAN ISD	Kindergarten	HANDWRITING	0	25	\$9.99	\$249.75
Zaner-Bloser Handwriting Texas Edition © 2020 Grade K (Consumable Print, 1 Year)	05/26/2023	Zaner-Bloser, Inc.	MULLIN ISD	Kindergarten	HANDWRITING	0	10	\$9.99	\$99.90
Zaner-Bloser Handwriting Texas Edition © 2020 Grade K (Consumable Print, 1 Year)	08/10/2023	Zaner-Bloser, Inc.	NORTH LAMAR ISD	Kindergarten	HANDWRITING	0	182	\$9.99	\$1,818.18
Zaner-Bloser Handwriting Texas Edition © 2020 Grade K (Consumable Print, 1 Year)	07/17/2023	Zaner-Bloser, Inc.	ROCKPORT-FULTON ISD	Kindergarten	HANDWRITING	0	20	\$9.99	\$199.80
Zaner-Bloser Handwriting Texas Edition © 2020 Grade K (Consumable Print, 1 Year)	08/10/2023	Zaner-Bloser, Inc.	SAVOY ISD	Kindergarten	HANDWRITING	0	25	\$9.99	\$249.75
Zaner-Bloser Handwriting Texas Edition © 2020 Grade K (Consumable Print, 1 Year)	08/02/2023	Zaner-Bloser, Inc.	SPRING BRANCH ISD	Kindergarten	HANDWRITING	0	1,800	\$9.99	\$17,982.00
Zaner-Bloser La escritura Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	06/25/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	1st Grade	SLAR_HNDWRTG	0	127	\$9.99	\$1,268.73
Zaner-Bloser La escritura Texas Edition © 2020 Grade 1 (Consumable Print, 1 Year)	08/02/2023	Zaner-Bloser, Inc.	SPRING BRANCH ISD	1st Grade	SLAR_HNDWRTG	0	900	\$9.99	\$8,991.00
Zaner-Bloser La escritura Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	06/25/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	2nd Grade	SLAR_HNDWRTG	0	161	\$9.99	\$1,608.39
Zaner-Bloser La escritura Texas Edition © 2020 Grade 2 (Consumable Print, 1 Year)	08/02/2023	Zaner-Bloser, Inc.	SPRING BRANCH ISD	2nd Grade	SLAR_HNDWRTG	0	900	\$9.99	\$8,991.00
Zaner-Bloser La escritura Texas Edition © 2020 Grade 3 (Consumable Print, 1 Year)	06/25/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	3rd Grade	SLAR_HNDWRTG	0	115	\$9.99	\$1,148.85
Zaner-Bloser La escritura Texas Edition © 2020 Grade 3 (Consumable Print, 1 Year)	10/13/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	3rd Grade	SLAR_HNDWRTG	0	12	\$9.99	\$119.88
Zaner-Bloser La escritura Texas Edition © 2020 Grade 3 (Consumable Print, 1 Year)	05/26/2023	Zaner-Bloser, Inc.	MULLIN ISD	3rd Grade	SLAR_HNDWRTG	0	1	\$9.99	\$9.99

Title	Transaction	Publisher	District	Grade	Subject Area	Students	Quantity	Unit Price	Extended
	Date	g 21 1	annua nn illari i	2.16	at the things ===	Served	000	# 0.00	Amount
Zaner-Bloser La escritura	08/02/2023	Zaner-Bloser, Inc.	SPRING BRANCH ISD	3rd Grade	SLAR_HNDWRTG	0	800	\$9.99	\$7,992.00
Texas Edition © 2020 Grade									
3 (Consumable Print, 1 Year)	0.6/0.5/0.000	7 DI 1	COLLEGE OF A TION IOD	41.0.1	OL AR INDUMEN	0	100	Φ0.00	#1 0 7 0 0 2
Zaner-Bloser La escritura	06/25/2023	Zaner-Bloser, Inc.	COLLEGE STATION ISD	4th Grade	SLAR_HNDWRTG	0	108	\$9.99	\$1,078.92
Texas Edition © 2020 Grade									
4 (Consumable Print, 1 Year) Zaner-Bloser La escritura	08/02/2023	Zaner-Bloser, Inc.	SPRING BRANCH ISD	Kindergarten	SLAR_HNDWRTG	0	800	\$9.99	\$7,992.00
Texas Edition © 2020 Grade	08/02/2023	Zaner-Bioser, Inc.	SPRING BRAINCH ISD	Kindergarten	SLAK_HNDWKIG	0	800	\$9.99	\$7,992.00
K (Consumable Print, 1 Year)									
digits, Texas, Grade 6	06/30/2023	Savvas Learning Company LLC	HENRIETTA ISD	6th Grade	MATH_EM	0	88	\$22.97	\$2,021.36
Extension (1 Year Print	00/30/2023	formerly Pearson K12 Learning	HENKIETTA ISD	our Grade	WAIT_EW	0	00	\$22.97	\$2,021.30
Consumable + 1 Year Digital		Tornierry Tearson K12 Learning							
License, Print Teacher									
Edition must be purchased									
separately)									
digits, Texas, Grade 6	11/03/2023	Savvas Learning Company LLC	MEADOWLAND	6th Grade	MATH_EM	0	5	\$22.97	\$114.85
Extension (1 Year Print	11/03/2023	formerly Pearson K12 Learning	CHARTER DISTRICT	our Grade		Ŭ	5	Ψ22.57	Ψ111.05
Consumable + 1 Year Digital		Tormorry Tourson 1112 Dearning	em krek bistidet						
License, Print Teacher									
Edition must be purchased									
separately)									
digits, Texas, Grade 7	06/30/2023	Savvas Learning Company LLC	HENRIETTA ISD	7th Grade	MATH_EM	0	88	\$22.97	\$2,021.36
Extension (1 Year Print		formerly Pearson K12 Learning			_				
Consumable + 1 Year Digital		,							
License, Print Teacher									
Edition must be purchased									
separately)									
digits, Texas, Grade 8	06/30/2023	Savvas Learning Company LLC	HENRIETTA ISD	8th Grade	MATH_EM	0	88	\$22.97	\$2,021.36
Extension (1 Year Print		formerly Pearson K12 Learning							
Consumable + 1 Year Digital									
License, Print Teacher									
Edition must be purchased									
separately)									
enVisionMATH Texas 2.0 en	10/20/2023	Savvas Learning Company LLC	COMFORT ISD	5th Grade	MATH_EM	0	1	\$27.97	\$27.97
español, Grade 5 Extension (1		formerly Pearson K12 Learning							
Year Print Consumable + 1									
Year Digital License, Print									
Teacher Edition must be									
purchased separately) enVisionMATH Texas 2.0.	07/12/2022	Common Lorente Common LLC	KENEDY COUNTY	1-4 C 1-	MATH EM	0	12	¢22.07	¢275.64
	07/13/2023	Savvas Learning Company LLC		1st Grade	MATH_EM	0	12	\$22.97	\$275.64
Grade 1 Extension (1 Year Print Consumable + 1 Year		formerly Pearson K12 Learning	WIDE CSD						
Digital License, Print Teacher									
Edition must be purchased									
Edition must be purchased									
separately) enVisionMATH Texas 2.0,	07/26/2023	Savvas Learning Company LLC	ECTOR COUNTY ISD	1st Grade	MATH EM	0	70	\$22.97	\$1,607.90

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital License)									
enVisionMATH Texas 2.0, Grade 1 Extension (3 Year Print Consumable + 3 Year Digital License, Print Teacher Edition must be purchased separately)	10/09/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BIG SANDY ISD	1st Grade	MATH_EM	0	65	\$32.97	\$2,143.05
enVisionMATH Texas 2.0, Grade 2 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ZEPHYR ISD	2nd Grade	MATH_EM	0	5	\$22.97	\$114.85
enVisionMATH Texas 2.0, Grade 2 Extension (3 Year Digital License)	07/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ECTOR COUNTY ISD	2nd Grade	MATH_EM	0	70	\$22.97	\$1,607.90
enVisionMATH Texas 2.0, Grade 3 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	07/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KENEDY COUNTY WIDE CSD	3rd Grade	MATH_EM	0	12	\$22.97	\$275.64
enVisionMATH Texas 2.0, Grade 3 Extension (3 Year Digital License)	07/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ECTOR COUNTY ISD	3rd Grade	MATH_EM	0	70	\$22.97	\$1,607.90
enVisionMATH Texas 2.0, Grade 4 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	07/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KENEDY COUNTY WIDE CSD	4th Grade	MATH_EM	0	14	\$22.97	\$321.58
enVisionMATH Texas 2.0, Grade 4 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ZEPHYR ISD	4th Grade	MATH_EM	0	5	\$22.97	\$114.85
enVisionMATH Texas 2.0, Grade 4 Extension (3 Year Digital License)	07/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ECTOR COUNTY ISD	4th Grade	MATH_EM	0	70	\$22.97	\$1,607.90
enVisionMATH Texas 2.0, Grade 5 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	06/30/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	FT SAM HOUSTON ISD	5th Grade	MATH_EM	0	135	\$22.97	\$3,100.95

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
enVisionMATH Texas 2.0, Grade 5 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	07/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KENEDY COUNTY WIDE CSD	5th Grade	MATH_EM	0	14	\$22.97	\$321.58
enVisionMATH Texas 2.0, Grade 5 Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ZEPHYR ISD	5th Grade	MATH_EM	0	4	\$22.97	\$91.88
enVisionMATH Texas 2.0, Grade 5 Extension (3 Year Digital License)	07/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ECTOR COUNTY ISD	5th Grade	MATH_EM	0	70	\$22.97	\$1,607.90
enVisionMATH Texas 2.0, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	03/11/2024	Savvas Learning Company LLC formerly Pearson K12 Learning	KATY ISD	Kindergarten	MATH_EM	0	2,400	\$27.97	\$67,128.00
enVisionMATH Texas 2.0, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	07/13/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	KENEDY COUNTY WIDE CSD	Kindergarten	MATH_EM	0	14	\$27.97	\$391.58
enVisionMATH Texas 2.0, Grade K Extension (1 Year Print Consumable + 1 Year Digital License, Print Teacher Edition must be purchased separately)	10/16/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	WHEELER ISD	Kindergarten	MATH_EM	0	4	\$27.97	\$111.88
enVisionMATH Texas 2.0, Grade K Extension (3 Year Digital License)	07/26/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ECTOR COUNTY ISD	Kindergarten	MATH_EM	0	50	\$22.97	\$1,148.50
iCEV Agricultural Science Site - Student License (1 Year)	08/10/2023	CEV Multimedia Ltd.	BIG SANDY ISD	High School - Other	AG_FOOD_NATR	0	70	\$10.00	\$700.00
iCEV Agricultural Science Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	BLANCO ISD	High School - Other	AG_FOOD_NATR	0	200	\$10.00	\$2,000.00
iCEV Agricultural Science Site - Student License (1 Year)	07/17/2023	CEV Multimedia Ltd.	HAWLEY ISD	High School - Other	AG_FOOD_NATR	0	15	\$10.00	\$150.00
iCEV Agricultural Science Site - Student License (1	11/06/2023	CEV Multimedia Ltd.	KEENE ISD	High School - Other	AG_FOOD_NATR	0	75	\$10.00	\$750.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Year)									
iCEV Agricultural Science Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	75	\$10.00	\$750.00
iCEV Agricultural Science Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	80	\$10.00	\$800.00
iCEV Agricultural Science Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	150	\$10.00	\$1,500.00
iCEV Agricultural Science Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	100	\$10.00	\$1,000.00
iCEV Agricultural Science Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	330	\$10.00	\$3,300.00
iCEV Agricultural Science Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	100	\$10.00	\$1,000.00
iCEV Agricultural Science Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	200	\$10.00	\$2,000.00
iCEV Agricultural Science Site - Student License (1 Year)	10/09/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	135	\$10.00	\$1,350.00
iCEV Agricultural Science Site - Student License (1 Year)	12/29/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	0	70	\$10.00	\$700.00
iCEV Agricultural Science Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	AG_FOOD_NATR	0	15	\$10.00	\$150.00
iCEV Agricultural Science Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	AG_FOOD_NATR	0	7	\$10.00	\$70.00
iCEV Agricultural Science Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	AG_FOOD_NATR	0	10	\$10.00	\$100.00
iCEV Agricultural Science Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	AG_FOOD_NATR	0	12	\$10.00	\$120.00
iCEV Agricultural Science Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	AG_FOOD_NATR	0	10	\$10.00	\$100.00
iCEV Agricultural Science Site - Student License (1	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	AG_FOOD_NATR	0	30	\$10.00	\$300.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Year)									
iCEV Agricultural Science Site - Student License (1 Year)	10/06/2023	CEV Multimedia Ltd.	NEW BOSTON ISD	High School - Other	AG_FOOD_NATR	0	235	\$10.00	\$2,350.00
iCEV Agricultural Science Site - Student License (1 Year)	08/07/2023	CEV Multimedia Ltd.	ODEM-EDROY ISD	High School - Other	AG_FOOD_NATR	0	75	\$10.00	\$750.00
iCEV Agricultural Science Site - Student License (1 Year)	10/31/2023	CEV Multimedia Ltd.	PREMONT ISD	High School - Other	AG_FOOD_NATR	0	122	\$10.00	\$1,220.00
iCEV Agricultural Science Site - Student License (1 Year)	09/12/2023	CEV Multimedia Ltd.	RAPOPORT ACADEMY PUBLIC SCHOOL	High School - Other	AG_FOOD_NATR	0	18	\$10.00	\$180.00
iCEV Agricultural Science Site - Student License (1 Year)	10/12/2023	CEV Multimedia Ltd.	ROBINSON ISD	High School - Other	AG_FOOD_NATR	0	211	\$10.00	\$2,110.00
iCEV Agricultural Science Site - Student License (1 Year)	07/17/2023	CEV Multimedia Ltd.	ROCKPORT-FULTON ISD	High School - Other	AG_FOOD_NATR	0	130	\$10.00	\$1,300.00
iCEV Agricultural Science Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	STAMFORD ISD	High School - Other	AG_FOOD_NATR	0	104	\$10.00	\$1,040.00
iCEV Agricultural Science Site - Student License (1 Year)	09/19/2023	CEV Multimedia Ltd.	STAMFORD ISD	High School - Other	AG_FOOD_NATR	0	15	\$10.00	\$150.00
iCEV Agricultural Science Site - Student License (1 Year)	09/25/2023	CEV Multimedia Ltd.	WESLACO ISD	High School - Other	AG_FOOD_NATR	0	314	\$10.00	\$3,140.00
iCEV Agricultural Science Site - Student License (1 Year)	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School - Other	AG_FOOD_NATR	0	500	\$10.00	\$5,000.00
iCEV Agricultural Science Site - Student License w/ Certification Voucher (1 Year)	08/24/2023	CEV Multimedia Ltd.	COTULLA ISD	High School - Other	AG_FOOD_NATR	0	100	\$40.00	\$4,000.00
iCEV Agricultural Science Site - Student License w/ Certification Voucher (1 Year)	10/09/2023	CEV Multimedia Ltd.	REAGAN COUNTY ISD	High School - Other	AG_FOOD_NATR	0	45	\$40.00	\$1,800.00
iCEV Agricultural Science Site - Student License w/ Certification Voucher (1 Year)	02/08/2024	CEV Multimedia Ltd.	ROCKSPRINGS ISD	High School - Other	AG_FOOD_NATR	0	3	\$40.00	\$120.00
iCEV Agricultural Science Site - Student License w/ Certification Voucher 100+	10/05/2023	CEV Multimedia Ltd.	AGUA DULCE ISD	High School - Other	AG_FOOD_NATR	0	100	\$20.00	\$2,000.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Students (1 Year)									
iCEV Agricultural Science Site - Student License w/ Certification Voucher 100+ Students (1 Year)	10/12/2023	CEV Multimedia Ltd.	RIO VISTA ISD	High School - Other	AG_FOOD_NATR	0	100	\$20.00	\$2,000.00
iCEV Agricultural Science Site - Teacher License (1 Year, 1 CTE Teacher License)	07/17/2023	CEV Multimedia Ltd.	ROCKPORT-FULTON ISD	High School - Other	AG_FOOD_NATR	1	1	\$750.00	\$750.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	10/09/2023	CEV Multimedia Ltd.	FORNEY ISD	High School - Other	AG_FOOD_NATR	708	5	\$525.00	\$2,625.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	100	1	\$525.00	\$525.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	708	1	\$525.00	\$525.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	330	2	\$525.00	\$1,050.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	150	1	\$525.00	\$525.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	75	1	\$525.00	\$525.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	100	1	\$525.00	\$525.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	230	2	\$525.00	\$1,050.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	AG_FOOD_NATR	46	2	\$525.00	\$1,050.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 10+ Total	07/17/2023	CEV Multimedia Ltd.	ROBINSON ISD	High School - Other	AG_FOOD_NATR	230	3	\$525.00	\$1,575.00
CTE Teacher Licenses)									
iCEV Agricultural Science	09/25/2023	CEV Multimedia Ltd.	WESLACO ISD	High School -	AG FOOD NATR	314	2	\$525.00	\$1,050.00
Site - Teacher License (1	07/23/2023	CE v Manimedia Etd.	WESE/ICO ISD	Other	MO_TOOD_MITK	314	2	ψ323.00	Ψ1,050.00
Year, Discount for 10+ Total				Other					
CTE Teacher Licenses)									
iCEV Agricultural Science	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School -	AG FOOD NATR	500	3	\$525.00	\$1,575.00
Site - Teacher License (1				Other				,	, ,
Year, Discount for 10+ Total									
CTE Teacher Licenses)									
iCEV Agricultural Science	10/05/2023	CEV Multimedia Ltd.	AGUA DULCE ISD	High School -	AG_FOOD_NATR	50	1	\$725.00	\$725.00
Site - Teacher License (1				Other					
Year, Discount for 2 Total									
CTE Teacher Licenses)									
iCEV Agricultural Science	08/10/2023	CEV Multimedia Ltd.	BIG SANDY ISD	High School -	AG_FOOD_NATR	70	1	\$725.00	\$725.00
Site - Teacher License (1				Other					
Year, Discount for 2 Total									
CTE Teacher Licenses)									
iCEV Agricultural Science	08/22/2023	CEV Multimedia Ltd.	BLANCO ISD	High School -	AG_FOOD_NATR	120	1	\$725.00	\$725.00
Site - Teacher License (1				Other					
Year, Discount for 2 Total									
CTE Teacher Licenses)	11/06/2022	CEVIM 12 12 1 1 1	MEENE 10D	TT: 1 G 1 1	AC FOOD NATED	0.2		# 725 00	ф 72 7.00
iCEV Agricultural Science	11/06/2023	CEV Multimedia Ltd.	KEENE ISD	High School -	AG_FOOD_NATR	93	1	\$725.00	\$725.00
Site - Teacher License (1				Other					
Year, Discount for 2 Total									
CTE Teacher Licenses) iCEV Agricultural Science	09/12/2023	CEV Multimedia Ltd.	RAPOPORT ACADEMY	High School -	AG_FOOD_NATR	93	1	\$725.00	\$725.00
Site - Teacher License (1	09/12/2023	CEV Multimedia Ltd.	PUBLIC SCHOOL	Other	AG_FOOD_NATK	93	1	\$723.00	\$723.00
Year. Discount for 2 Total			TOBLIC SCHOOL	Other					
CTE Teacher Licenses)									
iCEV Agricultural Science	07/17/2023	CEV Multimedia Ltd.	REAGAN COUNTY ISD	High School -	AG_FOOD_NATR	25	1	\$725.00	\$725.00
Site - Teacher License (1	07/17/2023	CE v Manimedia Etd.	REAGAIN COCKTT ISD	Other	MO_TOOD_MITK	23	1	Ψ123.00	Ψ723.00
Year. Discount for 2 Total				Other					
CTE Teacher Licenses)									
iCEV Agricultural Science	08/07/2023	CEV Multimedia Ltd.	ODEM-EDROY ISD	High School -	AG FOOD NATR	75	1	\$675.00	\$675.00
Site - Teacher License (1				Other				,	,
Year, Discount for 4 Total									
CTE Teacher Licenses)									
iCEV Agricultural Science	10/31/2023	CEV Multimedia Ltd.	PREMONT ISD	High School -	AG_FOOD_NATR	122	2	\$675.00	\$1,350.00
Site - Teacher License (1				Other					
Year, Discount for 4 Total									
CTE Teacher Licenses)									
iCEV Agricultural Science	10/12/2023	CEV Multimedia Ltd.	RIO VISTA ISD	High School -	AG_FOOD_NATR	100	2	\$675.00	\$1,350.00
Site - Teacher License (1				Other					
Year, Discount for 4 Total									

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
CTE Teacher Licenses)									
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 5 Total	07/17/2023	CEV Multimedia Ltd.	HAWLEY ISD	High School - Other	AG_FOOD_NATR	100	2	\$650.00	\$1,300.00
CTE Teacher Licenses)									
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 5 Total CTE Teacher Licenses)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	AG_FOOD_NATR	40	2	\$650.00	\$1,300.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	08/24/2023	CEV Multimedia Ltd.	COTULLA ISD	High School - Other	AG_FOOD_NATR	100	2	\$625.00	\$1,250.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	10/12/2023	CEV Multimedia Ltd.	SONORA ISD	High School - Other	AG_FOOD_NATR	1	1	\$625.00	\$625.00
iCEV Agricultural Science Site - Teacher License (1 Year, Discount for 7 Total CTE Teacher Licenses)	08/22/2023	CEV Multimedia Ltd.	STAMFORD ISD	High School - Other	AG_FOOD_NATR	104	2	\$600.00	\$1,200.00
iCEV Agricultural Science Site - Teacher License (Subscription through SY 2024-2025, Discount for 10+ Total CTE Teacher Licenses)	10/30/2023	CEV Multimedia Ltd.	LAMAR CISD	High School - Other	AG_FOOD_NATR	60	2	\$1,050.00	\$2,100.00
iCEV Architecture, Construction, Transportation & Manufacturing Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	ARCH_CONSTR	0	150	\$10.00	\$1,500.00
iCEV Architecture, Construction, Transportation & Manufacturing Site - Student License (1 Year)	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School - Other	ARCH_CONSTR	0	150	\$10.00	\$1,500.00
iCEV Architecture, Construction, Transportation and Manufacturing Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	10/09/2023	CEV Multimedia Ltd.	FORNEY ISD	High School - Other	ARCH_CONSTR	315	6	\$525.00	\$3,150.00
iCEV Architecture, Construction, Transportation and Manufacturing Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	ARCH_CONSTR	300	3	\$525.00	\$1,575.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
iCEV Architecture,	07/17/2023	CEV Multimedia Ltd.	ROBINSON ISD	High School -	ARCH CONSTR	50	1	\$525.00	\$525.00
Construction, Transportation	07/17/2023	CE v Multimedia Etd.	KOBINSON ISD	Other	ARCH_CONSTR	30	1	\$323.00	\$323.00
and Manufacturing Site -				Other					
Teacher License (1 Year,									
Discount for 10+ Total CTE									
Teacher Licenses)									
iCEV Architecture.	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School -	ARCH_CONSTR	300	3	\$525.00	\$1,575.00
Construction, Transportation	07/11/2023	CE v Multimedia Etd.	WILIE ISD	Other	ARCH_CONSTR	300	3	\$323.00	\$1,373.00
and Manufacturing Site -				Other					
Teacher License (1 Year,									
Discount for 10+ Total CTE									
Teacher Licenses)									
iCEV Architecture,	10/12/2023	CEV Multimedia Ltd.	SONORA ISD	High School -	ARCH_CONSTR	1	1	\$625.00	\$625.00
Construction, Transportation	10/12/2023	CEV Multimedia Ltd.	SONORA ISD	Other	ARCH_CONSTR	1	1	\$623.00	\$023.00
and Manufacturing Site -				Other					
Teacher License (1 Year,									
Discount for 6 Total CTE									
Teacher Licenses)									
iCEV Business, Marketing,	08/22/2023	CEV Multimedia Ltd.	BLANCO ISD	High School -	MARKETING	0	55	\$10.00	\$550.00
	08/22/2023	CEV Multimedia Ltd.	BLANCOISD	0	MARKETING	0	33	\$10.00	\$550.00
Finance, IT & Media Site -				Other					
Student License (1 Year)	11/07/2022	CEVALL' 1' L.1	EL VOLAN EIEL DO IOD	II. 1 C 1 1	DUC MOME AD	0	200	¢10.00	¢2.000.00
iCEV Business, Marketing,	11/07/2023	CEV Multimedia Ltd.	ELYSIAN FIELDS ISD	High School -	BUS_MGMT_AD	0	200	\$10.00	\$2,000.00
Finance, IT & Media Site -				Other	M				
Student License (1 Year)	10/00/2022	CEVALL' 1' L.1	DICLEGIDE IGD	II. 1 C 1 1	DUC MOME AD	0	<i>(7</i>	¢10.00	¢.70.00
iCEV Business, Marketing,	10/09/2023	CEV Multimedia Ltd.	INGLESIDE ISD	High School -	BUS_MGMT_AD	0	67	\$10.00	\$670.00
Finance, IT & Media Site -				Other	M				
Student License (1 Year)	10/20/2022	CEVALL' 1' L.1	HMANED CIGD	II. 1 C 1 1	INFO TECH	0	45	¢10.00	¢450.00
iCEV Business, Marketing,	10/30/2023	CEV Multimedia Ltd.	JIM NED CISD	High School -	INFO_TECH	0	45	\$10.00	\$450.00
Finance, IT & Media Site -				Other					
Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School -	MARKETING	0	350	\$10.00	\$3,500.00
iCEV Business, Marketing,	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	0	MARKETING	0	350	\$10.00	\$3,500.00
Finance, IT & Media Site -				Other					
Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	II: -1 C -11	DUC MOME AD	0	125	\$10.00	¢1 250 00
iCEV Business, Marketing,	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	BUS_MGMT_AD M	0	125	\$10.00	\$1,250.00
Finance, IT & Media Site -				Other	IVI				
Student License (1 Year) iCEV Business, Marketing,	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School -	FINANCE	0	14	\$10.00	\$140.00
	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	0	FINANCE	0	14	\$10.00	\$140.00
Finance, IT & Media Site -				Other					
Student License (1 Year)	09/24/2022	CEV Multimedia Ltd.	LOCKNEY ISD	II: -1 C -11	FINANCE	0	23	\$10.00	¢220.00
iCEV Business, Marketing,	08/24/2023	CEV Multimedia Ltd.	LUCKNEY ISD	High School -	FINANCE	0	23	\$10.00	\$230.00
Finance, IT & Media Site -	1			Other					
Student License (1 Year)	10/21/2022	CENT Modeling 1' To 1	DDEMON'E 10D	III:-h C 1 1	DIIC MOME AD			¢10.00	ф г го 00
iCEV Business, Marketing,	10/31/2023	CEV Multimedia Ltd.	PREMONT ISD	High School -	BUS_MGMT_AD	0	55	\$10.00	\$550.00
Finance, IT & Media Site -				Other	M				
Student License (1 Year)	00/04/2026	CENTAL II THE	DARODORE AGISSISI	TT: 1 G 1 :	DIIG MOME 15		50	#10.00	#500.00
iCEV Business, Marketing,	08/24/2023	CEV Multimedia Ltd.	RAPOPORT ACADEMY	High School -	BUS_MGMT_AD	0	50	\$10.00	\$500.00
Finance, IT & Media Site -		1	PUBLIC SCHOOL	Other	M				

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Student License (1 Year)									
iCEV Business, Marketing, Finance, IT & Media Site - Student License (1 Year)	09/12/2023	CEV Multimedia Ltd.	RAPOPORT ACADEMY PUBLIC SCHOOL	High School - Other	BUS_MGMT_AD M	0	3	\$10.00	\$30.00
iCEV Business, Marketing, Finance, IT & Media Site - Student License (1 Year)	10/12/2023	CEV Multimedia Ltd.	ROBINSON ISD	High School - Other	BUS_MGMT_AD M	0	78	\$10.00	\$780.00
iCEV Business, Marketing, Finance, IT & Media Site - Student License (1 Year)	09/15/2023	CEV Multimedia Ltd.	SANFORD-FRITCH ISD	High School - Other	INFO_TECH	0	60	\$10.00	\$600.00
iCEV Business, Marketing, Finance, IT & Media Site - Student License (1 Year)	10/12/2023	CEV Multimedia Ltd.	SONORA ISD	High School - Other	BUS_MGMT_AD M	0	10	\$10.00	\$100.00
iCEV Business, Marketing, Finance, IT & Media Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	STAMFORD ISD	High School - Other	BUS_MGMT_AD M	0	34	\$10.00	\$340.00
iCEV Business, Marketing, Finance, IT & Media Site - Student License (1 Year)	09/25/2023	CEV Multimedia Ltd.	WESLACO ISD	High School - Other	BUS_MGMT_AD M	0	893	\$10.00	\$8,930.00
iCEV Business, Marketing, Finance, IT & Media Site - Student License (1 Year)	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School - Other	BUS_MGMT_AD M	0	50	\$10.00	\$500.00
iCEV Business, Marketing, Finance, IT & Media Site - Student License (Subscription through SY 2024-2025)	08/24/2023	CEV Multimedia Ltd.	COTULLA ISD	High School - Other	BUS_MGMT_AD M	0	50	\$20.00	\$1,000.00
iCEV Business, Marketing, Finance, IT & Media Site - Student License (Subscription through SY 2024-2025)	09/19/2023	CEV Multimedia Ltd.	HARLINGEN CISD	High School - Other	BUS_MGMT_AD M	0	25	\$20.00	\$500.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, 1 CTE Teacher License)	10/09/2023	CEV Multimedia Ltd.	JIM NED CISD	High School - Other	INFO_TECH	20	1	\$750.00	\$750.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, 1 CTE Teacher License)	08/24/2023	CEV Multimedia Ltd.	LOCKNEY ISD	High School - Other	FINANCE	23	1	\$750.00	\$750.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, 1 CTE Teacher License)	08/24/2023	CEV Multimedia Ltd.	RAPOPORT ACADEMY PUBLIC SCHOOL	High School - Other	BUS_MGMT_AD M	50	1	\$750.00	\$750.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 10+ Total CTE	11/07/2023	CEV Multimedia Ltd.	ELYSIAN FIELDS ISD	High School - Other	BUS_MGMT_AD M	1,243	4	\$525.00	\$2,100.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Teacher Licenses)									
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 10+ Total CTE	09/19/2023	CEV Multimedia Ltd.	HARLINGEN CISD	High School - Other	BUS_MGMT_AD M	25	1	\$525.00	\$525.00
Teacher Licenses) iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	BUS_MGMT_AD M	125	5	\$525.00	\$2,625.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	MARKETING	350	2	\$525.00	\$1,050.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	07/17/2023	CEV Multimedia Ltd.	ROBINSON ISD	High School - Other	BUS_MGMT_AD M	1,243	2	\$525.00	\$1,050.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/25/2023	CEV Multimedia Ltd.	WESLACO ISD	High School - Other	BUS_MGMT_AD M	1,243	9	\$525.00	\$4,725.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School - Other	BUS_MGMT_AD M	1,243	2	\$525.00	\$1,050.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	10/05/2023	CEV Multimedia Ltd.	AGUA DULCE ISD	High School - Other	BUS_MGMT_AD M	50	1	\$725.00	\$725.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	08/22/2023	CEV Multimedia Ltd.	BLANCO ISD	High School - Other	BUS_MGMT_AD M	55	1	\$725.00	\$725.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	09/15/2023	CEV Multimedia Ltd.	SANFORD-FRITCH ISD	High School - Other	INFO_TECH	60	1	\$725.00	\$725.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 4 Total CTE Teacher Licenses)	11/16/2023	CEV Multimedia Ltd.	LA GRANGE ISD	High School - Other	BUS_MGMT_AD M	225	1	\$675.00	\$675.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 4 Total CTE Teacher Licenses)	10/31/2023	CEV Multimedia Ltd.	PREMONT ISD	High School - Other	BUS_MGMT_AD M	225	1	\$675.00	\$675.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 4 Total CTE Teacher Licenses)	10/12/2023	CEV Multimedia Ltd.	RIO VISTA ISD	High School - Other	BUS_MGMT_AD M	225	1	\$675.00	\$675.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 5 Total CTE Teacher Licenses)	07/17/2023	CEV Multimedia Ltd.	HAWLEY ISD	High School - Other	BUS_MGMT_AD M	20	1	\$650.00	\$650.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 5 Total CTE Teacher Licenses)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	FINANCE	15	1	\$650.00	\$650.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 5 Total CTE Teacher Licenses)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	BUS_MGMT_AD M	15	1	\$650.00	\$650.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	08/24/2023	CEV Multimedia Ltd.	COTULLA ISD	High School - Other	BUS_MGMT_AD M	60	1	\$625.00	\$625.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	10/09/2023	CEV Multimedia Ltd.	INGLESIDE ISD	High School - Other	BUS_MGMT_AD M	67	2	\$625.00	\$1,250.00
iCEV Business, Marketing, Finance, IT and Media Site - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	10/12/2023	CEV Multimedia Ltd.	SONORA ISD	High School - Other	BUS_MGMT_AD M	60	1	\$625.00	\$625.00
iCEV Business, Marketing, Finance, IT and Media Site -	08/22/2023	CEV Multimedia Ltd.	STAMFORD ISD	High School - Other	BUS_MGMT_AD M	34	2	\$600.00	\$1,200.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Teacher License (1 Year, Discount for 7 Total CTE Teacher Licenses)									
iCEV Career Exploration Site - Middle School - Student License (1 Year)	08/10/2023	CEV Multimedia Ltd.	BIG SANDY ISD	7th Grade	CAREER_DEV_M	0	50	\$10.00	\$500.00
iCEV Career Exploration Site - Middle School - Student License (1 Year)	10/17/2023	CEV Multimedia Ltd.	BLOOMING GROVE ISD	7th Grade	CAREER_DEV_M	0	100	\$10.00	\$1,000.00
iCEV Career Exploration Site - Middle School - Student License (1 Year)	08/07/2023	CEV Multimedia Ltd.	ODEM-EDROY ISD	7th Grade	CAREER_DEV_M	0	60	\$10.00	\$600.00
iCEV Career Exploration Site - Middle School - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	7th Grade	CAREER_DEV_M	2,610	13	\$525.00	\$6,825.00
iCEV Career Exploration Site - Middle School - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	08/10/2023	CEV Multimedia Ltd.	BIG SANDY ISD	7th Grade	CAREER_DEV_M	50	1	\$725.00	\$725.00
iCEV Career Exploration Site - Middle School - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	10/17/2023	CEV Multimedia Ltd.	BLOOMING GROVE ISD	7th Grade	CAREER_DEV_M	100	2	\$725.00	\$1,450.00
iCEV Career Exploration Site - Middle School - Teacher License (1 Year, Discount for 4 Total CTE Teacher Licenses)	08/07/2023	CEV Multimedia Ltd.	ODEM-EDROY ISD	7th Grade	CAREER_DEV_M	60	1	\$675.00	\$675.00
iCEV Career Exploration Site - Middle School - Teacher License (1 Year, Discount for 5 Total CTE Teacher Licenses)	07/17/2023	CEV Multimedia Ltd.	HAWLEY ISD	7th Grade	CAREER_DEV_M	70	1	\$650.00	\$650.00
iCEV Career Exploration Site - Middle School - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	10/12/2023	CEV Multimedia Ltd.	SONORA ISD	7th Grade	CAREER_DEV_M	1	1	\$625.00	\$625.00
iCEV Career Exploration Site - Middle School - Teacher License (1 Year, Discount for 7 Total CTE Teacher Licenses)	08/29/2023	CEV Multimedia Ltd.	ODEM-EDROY ISD	7th Grade	CAREER_DEV_M	60	3	\$600.00	\$1,800.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
iCEV Career Exploration Site - Student License (1 Year)	08/29/2023	CEV Multimedia Ltd.	STOCKDALE ISD	High School - Other	CAREER_DEV_H	0	65	\$10.00	\$650.00
iCEV Career Exploration Site - Student License (1 Year)	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School - Other	CAREER_DEV_H	0	50	\$10.00	\$500.00
iCEV Career Exploration Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	11/07/2023	CEV Multimedia Ltd.	ELYSIAN FIELDS ISD	High School - Other	CAREER_DEV_H	250	5	\$525.00	\$2,625.00
iCEV Career Exploration Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School - Other	CAREER_DEV_H	250	1	\$525.00	\$525.00
iCEV Career Exploration Site - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	08/29/2023	CEV Multimedia Ltd.	STOCKDALE ISD	High School - Other	CAREER_DEV_H	65	1	\$725.00	\$725.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	10/17/2023	CEV Multimedia Ltd.	BLOOMING GROVE ISD	High School - Other	ED_TRAINING	0	100	\$10.00	\$1,000.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	12/14/2023	CEV Multimedia Ltd.	BRADY ISD	High School - Other	HOSP_TOURISM	0	290	\$10.00	\$2,900.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	11/07/2023	CEV Multimedia Ltd.	ELYSIAN FIELDS ISD	High School - Other	HOSP_TOURISM	0	100	\$10.00	\$1,000.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	10/09/2023	CEV Multimedia Ltd.	INGLESIDE ISD	High School - Other	ED_TRAINING	0	25	\$10.00	\$250.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	HUMAN_SERV	0	30	\$10.00	\$300.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	ED_TRAINING	0	12	\$10.00	\$120.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	08/07/2023	CEV Multimedia Ltd.	ODEM-EDROY ISD	High School - Other	HOSP_TOURISM	0	75	\$10.00	\$750.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	10/31/2023	CEV Multimedia Ltd.	PREMONT ISD	High School - Other	HUMAN_SERV	0	20	\$10.00	\$200.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	10/12/2023	CEV Multimedia Ltd.	ROBINSON ISD	High School - Other	ED_TRAINING	0	20	\$10.00	\$200.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	10/12/2023	CEV Multimedia Ltd.	SONORA ISD	High School - Other	HUMAN_SERV	0	58	\$10.00	\$580.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
iCEV Family & Consumer Sciences Site - Student License (1 Year)	08/22/2023	CEV Multimedia Ltd.	STAMFORD ISD	High School - Other	HOSP_TOURISM	0	81	\$10.00	\$810.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	09/25/2023	CEV Multimedia Ltd.	WESLACO ISD	High School - Other	HUMAN_SERV	0	205	\$10.00	\$2,050.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	08/29/2023	CEV Multimedia Ltd.	WHEELER ISD	High School - Other	ED_TRAINING	0	4	\$10.00	\$40.00
iCEV Family & Consumer Sciences Site - Student License (1 Year)	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School - Other	HUMAN_SERV	0	75	\$10.00	\$750.00
iCEV Family & Consumer Sciences Site - Student License (Subscription through SY 2024-2025)	08/24/2023	CEV Multimedia Ltd.	COTULLA ISD	High School - Other	HUMAN_SERV	0	50	\$20.00	\$1,000.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, 1 CTE Teacher License)	08/29/2023	CEV Multimedia Ltd.	WHEELER ISD	High School - Other	ED_TRAINING	4	1	\$750.00	\$750.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	10/17/2023	CEV Multimedia Ltd.	BLOOMING GROVE ISD	High School - Other	ED_TRAINING	100	2	\$725.00	\$1,450.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 3 Total CTE Teacher Licenses)	12/14/2023	CEV Multimedia Ltd.	BRADY ISD	High School - Other	HOSP_TOURISM	25	2	\$700.00	\$1,400.00
icEv Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 4 Total CTE Teacher Licenses)	08/07/2023	CEV Multimedia Ltd.	ODEM-EDROY ISD	High School - Other	HOSP_TOURISM	75	1	\$675.00	\$675.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 4 Total CTE Teacher Licenses)	10/31/2023	CEV Multimedia Ltd.	PREMONT ISD	High School - Other	HUMAN_SERV	70	1	\$675.00	\$675.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 4 Total CTE Teacher Licenses)	10/12/2023	CEV Multimedia Ltd.	RIO VISTA ISD	High School - Other	HUMAN_SERV	70	1	\$675.00	\$675.00
iCEV Family and Consumer Sciences Site - Teacher	07/17/2023	CEV Multimedia Ltd.	HAWLEY ISD	High School - Other	HUMAN_SERV	20	1	\$650.00	\$650.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
License (1 Year, Discount for 5 Total CTE Teacher Licenses)									
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 5 Total CTE Teacher	08/22/2023	CEV Multimedia Ltd.	KNIPPA ISD	High School - Other	ED_TRAINING	6	1	\$650.00	\$650.00
Licenses) iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	08/24/2023	CEV Multimedia Ltd.	COTULLA ISD	High School - Other	HUMAN_SERV	100	3	\$625.00	\$1,875.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	10/09/2023	CEV Multimedia Ltd.	INGLESIDE ISD	High School - Other	ED_TRAINING	25	2	\$625.00	\$1,250.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 6 Total CTE Teacher Licenses)	10/12/2023	CEV Multimedia Ltd.	SONORA ISD	High School - Other	HUMAN_SERV	58	1	\$625.00	\$625.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 7 Total CTE Teacher Licenses)	08/22/2023	CEV Multimedia Ltd.	STAMFORD ISD	High School - Other	HOSP_TOURISM	81	2	\$600.00	\$1,200.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	11/07/2023	CEV Multimedia Ltd.	ELYSIAN FIELDS ISD	High School - Other	HUMAN_SERV	480	2	\$525.00	\$1,050.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	ED_TRAINING	20	1	\$525.00	\$525.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/26/2023	CEV Multimedia Ltd.	KILLEEN ISD	High School - Other	HUMAN_SERV	30	1	\$525.00	\$525.00
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher	07/17/2023	CEV Multimedia Ltd.	ROBINSON ISD	High School - Other	HUMAN_SERV	480	4	\$525.00	\$2,100.00

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Licenses)									
iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher	09/25/2023	CEV Multimedia Ltd.	WESLACO ISD	High School - Other	HUMAN_SERV	480	3	\$525.00	\$1,575.00
Licenses) iCEV Family and Consumer Sciences Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher	07/11/2023	CEV Multimedia Ltd.	WYLIE ISD	High School - Other	HUMAN_SERV	480	2	\$525.00	\$1,050.00
Licenses) iCEV Health Science Site - Student License (1 Year)	11/07/2023	CEV Multimedia Ltd.	ELYSIAN FIELDS ISD	High School - Other	HLTH_SCIENCE	0	50	\$10.00	\$500.00
iCEV Health Science Site - Student License (1 Year)	10/09/2023	CEV Multimedia Ltd.	INGLESIDE ISD	High School - Other	HLTH_SCIENCE	0	55	\$10.00	\$550.00
iCEV Health Science Site - Student License (1 Year)	08/07/2023	CEV Multimedia Ltd.	ODEM-EDROY ISD	High School - Other	HLTH_SCIENCE	0	75	\$10.00	\$750.00
iCEV Health Science Site -	08/22/2023	CEV Multimedia Ltd.	STAMFORD ISD	High School -	HLTH_SCIENCE	0	11	\$10.00	\$110.00
Student License (1 Year) iCEV Health Science Site - Student License (1 Year)	09/25/2023	CEV Multimedia Ltd.	WESLACO ISD	Other High School - Other	HLTH_SCIENCE	0	205	\$10.00	\$2,050.00
iCEV Health Science Site - Teacher License (1 Year, 1 CTE Teacher License)	12/13/2023	CEV Multimedia Ltd.	CUSHING ISD	High School - Other	HLTH_SCIENCE	25	1	\$750.00	\$750.00
iCEV Health Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	11/07/2023	CEV Multimedia Ltd.	ELYSIAN FIELDS ISD	High School - Other	HLTH_SCIENCE	1,603	1	\$525.00	\$525.00
iCEV Health Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	10/09/2023	CEV Multimedia Ltd.	FORNEY ISD	High School - Other	HLTH_SCIENCE	1,603	11	\$525.00	\$5,775.00
iCEV Health Science Site - Teacher License (1 Year, Discount for 10+ Total CTE Teacher Licenses)	09/25/2023	CEV Multimedia Ltd.	WESLACO ISD	High School - Other	HLTH_SCIENCE	205	9	\$525.00	\$4,725.00
iCEV Health Science Site - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	11/06/2023	CEV Multimedia Ltd.	KEENE ISD	High School - Other	HLTH_SCIENCE	25	1	\$725.00	\$725.00
iCEV Health Science Site - Teacher License (1 Year, Discount for 2 Total CTE Teacher Licenses)	08/29/2023	CEV Multimedia Ltd.	STOCKDALE ISD	High School - Other	HLTH_SCIENCE	100	1	\$725.00	\$725.00
iCEV Health Science Site - Teacher License (1 Year,	12/14/2023	CEV Multimedia Ltd.	BRADY ISD	High School - Other	HLTH_SCIENCE	25	1	\$700.00	\$700.00

\$675.00 \$1,250.00 \$600.00 \$5,700.00
\$1,250.00 \$600.00
\$1,250.00 \$600.00
\$600.00
\$600.00
\$600.00
\$600.00
, , , , , ,
, , , , , ,
, , , , , ,
, , , , , ,
\$5,700.00
\$5,700.00
\$5,700.00
\$5,700.00
\$1,780.00
φ1,700.00
\$2,250.00
\$1,575.00
\$3,675.00
\$1,050.00
\$1,050.00
\$1,030.00
\$49.80
\$49.80
\$49.80
_

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
iScience Texas Grade 6 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	09/14/2023	McGraw-Hill School Div (Contract Vendor)	ision COMQUEST ACADEMY	6th Grade	SCIENCE_EMH	0	7	\$24.90	\$174.30
Science Texas Grade 6 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	07/06/2023	McGraw-Hill School Div (Contract Vendor)	ision LA JOYA ISD	6th Grade	SCIENCE_EMH	0	2,400	\$24.90	\$59,760.00
iScience Texas Grade 7 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	09/15/2023	McGraw-Hill School Div (Contract Vendor)	ision BENJAMIN ISD	7th Grade	SCIENCE_EMH	0	4	\$24.90	\$99.60
iScience Texas Grade 7 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	09/14/2023	McGraw-Hill School Div (Contract Vendor)	ision COMQUEST ACADEMY	7th Grade	SCIENCE_EMH	0	1	\$24.90	\$24.90
iScience Texas Grade 7 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	05/26/2023	McGraw-Hill School Div (Contract Vendor)	ision JIM NED CISD	7th Grade	SCIENCE_EMH	0	115	\$24.90	\$2,863.50
iScience Texas Grade 7 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	07/06/2023	McGraw-Hill School Div (Contract Vendor)	ision LA JOYA ISD	7th Grade	SCIENCE_EMH	0	2,280	\$24.90	\$56,772.00
iScience Texas Grade 7 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	08/23/2023	McGraw-Hill School Div (Contract Vendor)	ision SULPHUR BLUFF ISD	7th Grade	SCIENCE_EMH	0	14	\$24.90	\$348.60
iScience Texas Grade 8 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	09/15/2023	McGraw-Hill School Div (Contract Vendor)	ision BENJAMIN ISD	8th Grade	SCIENCE_EMH	0	7	\$24.90	\$174.30
Science Texas Grade 8 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	09/14/2023	McGraw-Hill School Div (Contract Vendor)	ision COMQUEST ACADEMY	8th Grade	SCIENCE_EMH	0	1	\$24.90	\$24.90
iScience Texas Grade 8 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	05/26/2023	McGraw-Hill School Div (Contract Vendor)	ision JIM NED CISD	8th Grade	SCIENCE_EMH	0	115	\$24.90	\$2,863.50
iScience Texas Grade 8 Student Bundle-Standard (1 Yr Consumable & 1 Yr Digital)	07/06/2023	McGraw-Hill School Div (Contract Vendor)	ision LA JOYA ISD	8th Grade	SCIENCE_EMH	0	2,280	\$24.90	\$56,772.00
iScience Texas Grade 8 Student Bundle-Standard (1 Yr Consumable & 1 Yr	08/23/2023	McGraw-Hill School Div (Contract Vendor)	ision SULPHUR BLUFF ISD	8th Grade	SCIENCE_EMH	0	14	\$24.90	\$348.60

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
Digital)									
myPerspectives Texas English Language Arts - 1- year Online, Grade 6	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	NUECES CANYON CISD	6th Grade	ELAR_M	0	30	\$17.97	\$539.10
myPerspectives Texas English Language Arts - 1- year Print Consumable + 1- year Online, Grade 6	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GATEWAY CHARTER ACADEMY	6th Grade	ELAR_M	0	37	\$23.97	\$886.89
myPerspectives Texas English Language Arts - 1- year Print Consumable + 1- year Online, Grade 6	05/31/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LEXINGTON ISD	6th Grade	ELAR_M	0	85	\$23.97	\$2,037.45
myPerspectives Texas English Language Arts - 1- year Print Consumable + 1- year Online, Grade 7	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GATEWAY CHARTER ACADEMY	7th Grade	ELAR_M	0	45	\$23.97	\$1,078.65
myPerspectives Texas English Language Arts - 1- year Print Consumable + 1- year Online, Grade 7	05/31/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LEXINGTON ISD	7th Grade	ELAR_M	0	75	\$23.97	\$1,797.75
myPerspectives Texas English Language Arts - 1- year Print Consumable + 1- year Online, Grade 8	09/19/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ARANSAS PASS ISD	8th Grade	ELAR_M	0	65	\$23.97	\$1,558.05
myPerspectives Texas English Language Arts - 1- year Print Consumable + 1- year Online, Grade 8	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GATEWAY CHARTER ACADEMY	8th Grade	ELAR_M	0	37	\$23.97	\$886.89
myPerspectives Texas English Language Arts - 1- year Print Consumable + 1- year Online, Grade 8	05/31/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	LEXINGTON ISD	8th Grade	ELAR_M	0	95	\$23.97	\$2,277.15
myPerspectives Texas English Language Arts - 4- year Print Consumable + access through SY 2026-27, Grade 6	10/06/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GREENWOOD ISD	6th Grade	ELAR_M	0	50	\$90.97	\$4,548.50
myPerspectives Texas English Language Arts - Bronze: Digital (through SY 2027-28), Grade 10	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - ELA	ENGLISH_H	0	70	\$66.97	\$4,687.90
myPerspectives Texas English Language Arts - Bronze: Digital (through SY 2027-28), Grade 11	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - ELA	ENGLISH_H	0	20	\$66.97	\$1,339.40

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
myPerspectives Texas English Language Arts - Bronze: Digital (through SY 2027-28), Grade 12	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - ELA	ENGLISH_H	0	110	\$66.97	\$7,366.70
myPerspectives Texas English Language Arts - Bronze: Digital (through SY 2027-28), Grade 12	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - ELA	ENGLISH_H	0	20	\$66.97	\$1,339.40
myPerspectives Texas English Language Arts - Bronze: Digital (through SY 2027-28), Grade 9	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - ELA	ENGLISH_H	0	90	\$66.97	\$6,027.30
myPerspectives Texas English Language Arts - Gold: 1-year Print Consumable/1-year Digital, Grade 10	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GATEWAY CHARTER ACADEMY	High School - ELA	ENGLISH_H	0	32	\$27.97	\$895.04
myPerspectives Texas English Language Arts - Gold: 1-year Print Consumable/1-year Digital, Grade 11	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GATEWAY CHARTER ACADEMY	High School - ELA	ENGLISH_H	0	29	\$27.97	\$811.13
myPerspectives Texas English Language Arts - Gold: 1-year Print Consumable/1-year Digital, Grade 12	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GATEWAY CHARTER ACADEMY	High School - ELA	ENGLISH_H	0	37	\$27.97	\$1,034.89
myPerspectives Texas English Language Arts - Gold: 1-year Print Consumable/1-year Digital, Grade 9	09/08/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	GATEWAY CHARTER ACADEMY	High School - ELA	ENGLISH_H	0	36	\$27.97	\$1,006.92
myPerspectives Texas English Language Arts - Hardcover + Silver: Hardcover Class Set + Digital (through SY 2027-28), Grade	08/28/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BLUFF DALE ISD	High School - ELA	ENGLISH_H	0	20	\$98.97	\$1,979.40
myPerspectives Texas English Language Arts - Silver: Hardcover Class Set + Digital (through SY 2027- 28), Grade 11	10/12/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	High School - ELA	ENGLISH_H	0	48	\$98.97	\$4,750.56
myPerspectives Texas English Language Arts, Consumable + access through SY 2026-27, Grade 6	09/15/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	BENJAMIN ISD	6th Grade	ELAR_M	0	1	\$93.97	\$93.97

Title	Transaction Date	Publisher	District	Grade	Subject Area	Students Served	Quantity	Unit Price	Extended Amount
myPerspectives Texas English Language Arts, Hardcover + access through SY 2026-27, Grade 6	07/17/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROCKPORT-FULTON ISD	6th Grade	ELAR_M	0	35	\$96.97	\$3,393.95
myPerspectives Texas English Language Arts, Hardcover + access through SY 2026-27, Grade 7	09/18/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	ROCKPORT-FULTON ISD	7th Grade	ELAR_M	0	30	\$96.97	\$2,909.10
myPerspectives Texas English Language Arts, access through SY 2026-27, Grade 6	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	6th Grade	ELAR_M	0	115	\$64.97	\$7,471.55
myPerspectives Texas English Language Arts, access through SY 2026-27, Grade 7	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	7th Grade	ELAR_M	0	110	\$64.97	\$7,146.70
myPerspectives Texas English Language Arts, access through SY 2026-27, Grade 8	08/22/2023	Savvas Learning Company LLC formerly Pearson K12 Learning	CRANDALL ISD	8th Grade	ELAR_M	0	170	\$64.97	\$11,044.90
			Total Allot	ment Funds Disb	ursed to Publishers		508,398		\$11,705,697.76